Compact Cylinder

eries CQ2

012, 016, 920, 925, 032, 940, 850, 063, 880, 6100, 125, 6140, 6160 0180, 200

With a short overall length, the space saving cylinder helps
to make various jigs and equipment more compact.

Variations
- q Bore size Standard
Series Action Style (mm) stroke (mm) Page o
Standard Single rod 12, 16,20, 25 | |012,016/510 30 ]
820, 625/5t0 50 [ 1. {
] CQ2 32, 40, 50, 63 [To32. 0405 10 100 [] | ~+28 '\
o= — Double 80, 100 950 to 9100/10 to 100 \\
— acting | | pouble rod 12,16, 20, 25 | |©12,016/5t0 30 -
p— . . - ._‘_‘_‘_'_‘ b 20, ©40/5 10 50 fouef 1 ..
= y — cQ2w L4 4 - 32, 40, 50, 63 232, ;40/5 to 100 ke
= — 80, 100 050 to 6100/1010 100
T ;
= . Spring 12, 16, 20
N Single N
%\ - — N9 L imiextend —@—@—9—0——0—0—9—0—@ 25,32, 40 01210040510 L 1 462
acting ca2 50 250/10, 20
; . 12, 316/5 to 30 —
Non-rotating rod Single rod 12,16,20 0 o et
. T cazk 00 00096 25,32,40 M5 oa055 10100 [] 17480
-2 e o Double 50, 63 50, 963/10 to 100
*"'_‘_':‘ ._"‘-"‘""?_"’ acting Double rod 12, 16, 20 012, 516/5 10 30
; r’j p— — —0 90 @ L L 25 32 40 [™920,040/5t050 == 1-494
1 CQ2KW 50’ 63! 50, 263/10 to 50 ~
Axial piping D i 12’ 16’ 2()7 25 212, 916/5 to 30
ouble| | Single rod 220, 625/5 to 50
Centralized piping) | i [ L A 4 L A 4 L 4 4 82, 40, 50, 63,532, 040/5 10 100 [T] 17206
( PP g) acting cap2 80, 100 050 to 9100/10 to 100
= e . Spring 12, 16, 20
h-- / :@ — Smgle I return/extend —@—@ @ @ 25, 32, 40 _@;/‘100@;8/5' 104 1.514
= g acting cQP2 = p ) .
i i 125, 14
Large bore size || ggg'e rod *—0-0-0-9 168’ O L 10t0300 M 1-524
y g —
1;%_ - —- L Double rod 0009 125, 140 I 10t0300 K 1-508
T cQ2w 160
Q — Double
| acting .
iy, — Sndered|, o o o 9@ 180,200 = 1010300 [ 1653
‘Q\:,;; @." 4
¥ Double rod -
— = casw —0—0—0—0@ 180,200 = 1010300 = 1-537
Long stroke Double| | Single rod 82,40, 50
VDO PO o 999 0o 63,80 [ 12510300 | 1-542 .
e acting cQ2 100 —
Anti-lateral load |__|Double| | Single rod 22 ;18, 50 e oansioin | 1 ee
- acting CcQ20S 1070 050 to @100/10 to 100
LY —
_—

Applicable Auto Switch

D-A70/A80, D-A73C/A80, D-A90
D-A70H/A80H, D-A79W, D-A90CIV

D-F70/J79, D-F70V, D-J79C, D-F70OW/J79W, D-F70WV,
D-F7BA, D-F700F, D-F7NT, D-F9OJ, D-FOOOW, D-F9C1V, D-FOOOWV

Reed switch

Solid state switch

1-425



Compact Cylinder/Standard: Double Acting Single Rod

Series CQ2

012, 9616, 9820, 025, 832, 040, 650, 063, 680, 100

How to Order

caz|B| |20 —30%
NN
Y, M CDQ2[B| ||20|| 30|D| rA73|S

[ ® Number of
auto switches

Thread Port

(232 t0 100) Auto switch =1 2
— | Re(PT) Without auto switch | .
E G(PF) (Cylinder built-in magnet) n n
—  Refer to table below for auto switch
model no. :
. . ¢ Body option
~. With auto switch e . - Standard (Rod end female thread)
N (Built-in magnet) ® Action
M . - F Rear boss mount
ounting e D | Double acting C | With rubber bumper @
B T;ro:rg]h -h(;le (tStanda:;i) F I;ront ffllange M Rod end male thread
A oth enas tappe G ear flange .  Combination of body option is possible.
L Foot D Double clevis ¢ Cylinder stroke (mm) CM, FC, FM, FCM
*Mounting brackets are shipped not assembled with the cylinder Refer to p.1-427 for standard and Note3) Air-hydro with rubber bumper is not
yinaer. intermediate stroke. available.
Style @ These auto switches have been changed !
5 - Contact SMC or view www.smcworld.com
= eumate FON=MIN  FONV=MINV
Note|-1l) The bores for a)ilr-h dro are FOP=M9P FIPV=MIPV
oootoatoo | FOB=M9B  F9BV=MIBV
N Bore size Applicable Auto switches
) 12 12mm 40 40mm - | S Load voltage Rail mounting | Direct mounting | Lead wire™(m)
) ) . - .
16 16mm 50 50mm Style| Special function :fnl:;a é (gvt::gll?t) e G 12 to 5100 232 to 6100 05 | 3|5 Nonel Ap;l)g;:gble
) 20 20mm 63 63mm £ Perp. | In-line | Perp. | Inline | (&) || @) |(N)
7 25 | 25mm 80 | 80mm el — | sv | — | — | aren | asev | a%s | @ |@|—|—|1c | —
32 32mm 100 | 100mm . § | — T 200v | A72 | A72H — — e e —|—
iping @ 5 romrmet a3 |asn | — | — [o [@|@]—| —
Piping ¢ 2 12v | 100y F———t—— ° o=
— Screw-in piping @ s AJ3VE WAIS Relay
F With One-touch fitting @ § 2| 2wire gy |31V | <100V | A0 | ABOH | ASOV | A90 ® |®@ — —|IC |pc
- o $ 12v | — | A73C | — — — | o 0|00 —
Note 2) The tubes for the built-in One-touch Connector[ "5
fittings are @32 to @63. They cannot be = 5V,12V| <24V | A80C — — — ® 000
used for the air-hydro. Diagnostic (2 colour)| Grommet| 3 — | — | A7T9W | — — — ® 0 — | —| —
T~ Mounting Bracket Part No. 3 wire v, 12V F7NV | F9 | — | — | @ @0/~ iC
\ i Double (NPN) 12v — | — [Fonv | Fon [ @ [@]—[—[—
B?:srf]')ze Foot® | Flange | clevis © rommet| | 3 wire 5, 12V Fev [ Frp | — | — (@ [@[O]—[ic
(PNP) — — | FPV | FoP | @ |@|—|—
/ 12 CQ-Lo12 | CQ-F012 | CQ-DO12 == | 8 — — e el0O—
/ - | | —_—
;G gO tO;G gg E0;6 gg 30;6 - 2 wire 12v — — | FBV | FB | @ (@ —|—
0 Q-L020 -F020 -D020 2 Connector J79C — — — o 000
25 | CQ-L025 | CQ-F025 | CQ-D025 H ol 3wire 5V, 12V FZNWV | F79W | — — | ®@ |®@|O|—| I Relay
32 CQ-L032 | CQ-F032 | CQ-D032 g Diacnostc S| (NPN) [24V[12v | — — — [Fonwv| Fonw | ® @O |—| — |pic
40 CQ-L040 | CQ-F040 | CQ-D040 g (2 (?olour) 3 wire 5V, 12V — [ Fpw | — — ® @ O—| Ic
50 CQ-L050 | CQ-F050 | CQ-D050 g (PNP) — — |Fopwv| FoPw | ® |®@|O|—
63 | CQ-L063 | CQ-FO63 | CQ-D063 S— 12v F7BWV | J7ow |FeBwv| FoBw | @ |@ [O[—| —
80 €Q-L080 | CQ-F080 | CQ-DO80 Water resistant (2 colour) wire — F7BA | — FOBA | — (@ |O|—
~. 100 | CQ-L100 | CQ-F100 | CQ-D100 With timer 3wire (NPN) — [ | — [ — [—]@[O[-] .
N Note 4) 2 pcs. per cylinder should be ordered when foot With diagnostic output (2 colour) ) W — F79F — — ® 0 O|—
| brackets are required. Latch with diagnostic 4 wire
Note 5) Each package contains the following parts. output (2 colour) (NPN) — - F7LF - - ® |0 O —|—
Foot, Flange: Body mounting bolt N
Double clevis: Clevis pin, C shape snap ring #Lead wire length 0.5m......—  (Example) ABOC ~ 5m--c-eeeoe Z (Example) AB0CZ
for axis, body mounting bolt fe] AR L (Example) ABOCL None---- N (Example) ASOCN
Note 6) Package for double clevis contains clevis pin «Solid state switches marked with a “(O” are manufactured upon receipt of order.

and snap ring.

| Refer to p.1-430 for parts No. of auto switch mounting brackets.

1-426

O

SVC



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

=
.
| — \/: i
o
1Q —
i
JIS symbol symbo

Rear boss mount

I

Double acting: Single rod

Allowable Kinetic Energy

Style
Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Mountin Through-hole (Standard)| @ @ o o o ® o (] o [ )
Both ends tapped | @ e o | o [ ) ® | O o o (]
Built-in magnet [ ) o [ ) o o o [ ) o o [
Q 1
g piping |SCTeWNSle| M5 | M5 | M5 | M5 ﬁ’}g( | | e | s | e | o
g With Ong-touch fiting | — | — | — | — [06/4@| 06/4 | 08/6 | 08/6 | — | —
Rod end male thread [ J ® O o [ J ® | © ] o [ J
With rubber bumper o ® O o o o o o o o
Rear boss mount o e o o o ® O ® O @
Gyl —|— | e|®e| o o @ |0 |0 @
Mounting
Bothendstapped| — | — | @ | @ | @ | ® | © | ®@ | ©® | @
£ |Built-in magnet - - ® | & e e e e o o
>
g Piping |Screw-instyle| — | — | M5 | M5 “1’}2’(” 18 | 174 | 14 | 38 | 3/8
Rod end male thread - | — | ® | & | & & e e o e
Rear boss mount — | — ) o [ ) [ ) [ ) [ ) [ ] [ ]

Note 1) Among those without an auto switch, only the 5mm stroke uses M5 piping.
Note 2) Among those with a built-in fitting, the 5mm stroke with the 832 bore has the same outer dimensions as

the 10mm stroke.

Specifications
Style Pneumatic (Non-lube) Air-hydro
Fluid Air Turbine oil M
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper

None

Rod end thread

Female thread

Tolerance of rod end thread

JIS class 2

Refer to p.1-428 for allowable kinetic
energy.

Standard Stroke

Tolerance of stroke length

+1.0
0

Mounting

Through-hole

Piston speed

50 to 500mm/s

‘ 5 to 50mm/s

Note 1) Refer to precautions.

Note 2) For applications involving lateral loads, refer to the "Lateral Load Resistant Style" on p.1-552

Minimum Operating Pressure

Unit: MPa

Bore size (mm)

12 | 16

20 [ 25 | 32 | 40 | 50 | 63 | 80 | 100

Pneumatic (Non-lube)

0.07

0.05

Air-hydro

— 0.18 \

0.10

Intermediate Strokes

Pneumatic
Bcz;a;i)ze Standard stroke (mm)
12,16 5,10, 15, 20, 25, 30
20, 25 5,10, 15, 20, 25, 30, 35, 40, 45, 50
32,40 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
50 to 100 | 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

« Refer to p.1-532 when stroke exceeds standard range.

Air-hydro
Bore size Standard stroke (mm)
5,10, 15, 20, 25, 30, 35,
20,25 40, 45, 50
5,10, 15, 20, 25, 30, 35,
32,40 40, 45, 50, 75, 100
50, 63 10, 15, 20, 25, 30, 35, 40,
80, 100 45, 50, 75, 100

Style Standard body Exclusive body (-XB10)
Model N Refer to "How to Order" for Specify "-XB10" at the end of the

odel No. standard model No. on p.1-426 | standard model No. shown on p.1-426
Method Intermediate strokes at 1mm Intermediate strokes at 1mm

increments are available by using
a spacer with standard stroke
cylinders.

increments are available by using an
exclusive body for required stroke.

Stroke range

Bore size Stroke range Bore size Stroke range
12,16 1to 29 12,16 6 to 29
20, 25 1to 49 20, 25 6 to 49

3210 100 1099 32, 40 61099

50 to 100 11 t0 99

Example

Model No.: CQ2B50-57D
A 18mm width spacer is
installed in the standard
CQ2B50-75D.

B dimension is 115.5mm.

Model No. CQ2B50-57D-XB10
Makes an exclusive body for
57mm stroke.

B dimension is 97.5mm.

1) Consult us when intermediate strokes with a spacer are required for 40 to @100 rubber bumper

models.

2) Reference values for length dimensions are different in case of 832 to 100 exclusive body models
(-XB10) with a stroke exceeding 50mm.
Calculate length dimensions by deducting from those of 75 or 100mm stroke models.

3) Refer to long stroke styles of CQ2 (P.1-542) for strokes exceeding the stroke range.

Z;SNIC

1-427



Series CQ2

A\ Precautions

A\ Caution

(2 Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),

’ Snap Ring Installation/Removal \

because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a

(D For installation and removal, use an
appropriate pair of pliers (tool for installing a

C snap ring).

C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Allowable Kinetic Energy

Allowable Lateral Load at Rod End

Table 1: Load weight and Piston speed

[J] 1J = 0.102kgf/m

Bore size (mm) 12 |16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
fl:"e"::;::g’ywzﬂe 0.022/0.038|0.055| 0.09 | 0.15 | 0.26 | 046 | 0.7 | 1.36 | 2.27
Wi ubberbunet 4 14310,075(0.110| 0.18 | 0.29 | 052 | 0.91 | 1.54 | 271 | 454
allowable kinetic energy: Eb
Kinetic energy E(J)=(m1+2$2)v2
m1: Weight of cylinder operating part kg
m2: Load weight kg
. V: Piston speed m/s
" Table 2: Weight of cylinder operating part/Without magnet ~ unit: g
) Bore Cylinder stroke (mm)
C o (mm) 10 | 15 | 20 | 25 | 30 | 385 | 40 | 45 | 50 | 75 | 100
12 7181011 -] -|-|-|-]-
16 M {18 (15[ 17 19| - | = | = | -] - | -
20 |15 |18 |21 |24 |27 |31 |34 |37 |40 |44 | - | -
25 |24 |28 |33 |37 |42 |46 |51 |55|60|64| — | —
32 |45 |52 |60 |68 |76 |84 |92 [100(107|115|170|209
- 40 |64 |72 |80 | 88 | 96 | 104 | 112|119 127 135|190 | 229
\ 50 | — |117|129|141|153| 166|178 | 190 [202| 214|300 | 361
) 63 | — |153|165 177|190 |202 | 214 | 226 | 239 | 251 | 337 | 398
/ 80 | — |270|289 308|327 |347 | 366 | 385 | 404 | 423 | 557 | 653
7 100 | — |487|515|543 (570|598 | 625 | 653 | 681 | 708 | 901 [1038
Table 3: Weight of cylinder operating part/With magnet  unit:
Bore Cylinder stroke (mm)
(mm)| 5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 [ 100
12 [ 8|9 |10 |12[13| - || -|-]-1]-
16 |16 |18 |20 |22 |24 |26 | - | = | - | = | - | -
N 20 |28 |31 |34 |37 |40 |44 |47 |50 |53 |56 | — | —
25 |44 |48 |53 |57 |62 |66 |71 |75(80 |84 | — | -
| 32 | 78|86 | 93 101|109 | 117|125 | 133|140 | 148|187 | 227
/ 40 [109|117|125|133 (140|148 | 156 | 164 [ 172|180 | 219 | 258
" 50 | — |187|199 211|223 236|248 | 260 | 272|285 | 346 | 407
63 | — |254|266 278|290 | 303|315 |327 [339 352 | 413|474
80 | — |433|453 472|491 (510|530 |549 568 | 587 | 683 | 778
100 | — | 741|768 (796|823 (851|879 | 906 | 934 | 962 [1099|1236
Table 4 Unit: g
— Bore (mm) 12 (16 (20 | 25 | 32 | 40 | 50 | 63 | 80 |100
' Rogeng  |Maetead/ 15| 3 [ 6 |12 ] 2627|5353 [120]175
male thread | Nut 1|2 |4 |8 |17|17[32 (32|49 |116
With rubber bumper o0 |-2|-3|-3|-7|-9(-18(-31|-56

Calculation example: CDQ2B32-20DCM
* Cylinder weight: CDQ2B32-20D

-------- 101g

 Option weight: Rod end male thread -~ 43g
: With rubber bumper - -39

141g

1-428

Without auto switch (anti-lateral)

200

100

50
40

30
20

Allowable lateral load W(N)

= T~
o~ [T~ T——__lo100
C \\ ~_| \1
LN I ————_1 280
I~ o~ I
Q I~ l\\\ 250
| - ~ 1
= N~ T—— @40
:\\\\\’ \\\ 32
- \ \ \6?5
N \
\ ~_ 220
r 216 |
NS
= 212

0 10 20 30 40 50 60 70 80 90 100
Stroke St(mm)

With auto switch (anti-lateral)

200

100

50
40

30
20

Allowable lateral load W(N)

~
= ]
E |
E T~ T o0
C T [T e
\ \\ ‘
r \\\\ T— | 063
\\\ \\ I
I~ —— 250 |
= — 1
O I O e g e 4
C \\\\gzs ~ [ 032
N P~920
%]
L N \‘
N o2

0 10 20 30 40 50 60 70 80 90 100
Stroke St(mm)

M
|
|

LJ

(Mounting orientation: Lateral)
w




Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

(o[

Theoretical Force Unit: N Weight Unit: g
Bore size . Operating pressure (MPa) Bore size Cylinder stroke (mm)
(mm) Operation 0.3 0.5 0.7 (mm) 5 |10 |15 |20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100
12 IN 25 42 59 12 29 |35 |41 |47 |54|60| - | - | -|-]-]-
ouT 34 57 79 16 42|50 |59 |67 |76|8 | - | -|-|-]-1]-
. IN 45 75 106 20 63 | 75 | 88 | 101 | 114|127 | 140 | 152 [ 165 | 178 | - | -
ouT 60 101 141 25 86 | 100 | 115 | 129 | 144 | 158 | 173 | 187 [ 202 | 216 | - | -
o IN 71 118 165 32 131 | 152 | 173 | 193 | 214 | 235 | 256 | 277 | 297 | 318 | 471 | 576
ouT 94 157 220 40 206 | 229 | 252 | 275 | 298 | 321 | 344 | 367 | 390 | 413 | 597 | 717
3 IN 113 189 264 50 — | 369 | 405 | 441 | 477 | 514 | 550 | 586 | 622 | 659 | 951 | 1139
ouT 147 245 344 63 — | 538|579 | 620 | 661 | 702 | 742 | 783 | 824 | 865 | 1213 | 1424
- IN 181 302 422 80 — | 997 | 1064 | 1132 | 1200 | 1268 | 1336 | 1404 | 1471 | 1539 | 2111 | 2446
ouT 241 402 563 100 — | 1738 | 1829 | 1920 | 2011 | 2101 | 2192 | 2283 | 2374 | 2464 | 3269 | 3729
i IN 317 528 739
ouT 377 628 880
s IN 495 825 1150 Option Weight Unit: g
ouT 589 982 1370 Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
63 IN 841 1400 1960 Both ends tapped 2 2 6 6 6 6 6 | 19 | 45 | 45
ouT 935 1560 2180 Rod end Male thread portin | 1.5 | 3 6 |12 |26 | 27 | 53 | 53 120|175
80 IN 1360 2270 3170 male thread | 12|48 |17|17|32]|32|49 116
ouT 1510 2510 3520 Rear boss mount 0713 2 | 3 | 5| 7 |13 |25 |45| 96
100 IN 2140 3570 5000 With rubber bumper olo|—2|-3|-3|-7|-9]|-18|-31|-56
ouT 2360 3930 5500 With One-touch fitting -l -l - -l12]12]21]21| -] -
Foot mounting (including bolt) | 55 | 67 | 164 | 186 | 143 | 155 | 243 | 324 | 696 | 1062
Mounting Bolt for CQ2 Front flange (including bolt) | 57 | 69 | 139 | 161 | 180 | 214 | 373 | 559 | 1056 | 1365
- Rear flange (including bolt) | 54 | 65 | 133 | 152 | 165 | 198 | 348 | 534 | 1017 | 1309
Special long bolt for through-hole mounting is available. Double clevis (pin, snap ring, bolt) | 32 | 39 | 88 | 123|151 | 196 | 393 | 554 | 1109 | 1887
How to Order: Specify the required bolts. Calculation Example: CQ2D32-20DCM
Example) Bolt M3 X 25¢ 4pcs. « Cylinder weight: CQ2B32-20D

* Option weight: Both ends tapped -

1= ) Mouning bolt Rod end male thread -
T—t;!:é_ With rubber bumper

- =39

71 (DO TN el (oL — 151g

‘ D L'{-:'_ 390g
Model No. C D | Mounting bolt Model No. C D Mounting bolt Model No. C D | Mounting bolt
CQ2B12-5D 25 M3 X 25¢ CQ2B32-5D 30 M5 X 30 ¢ CQ2B63-10D 50 M8 X 50 ¢
-10D 30 X30¢ -10D 35 X35¢ -15D 55 X55¢
-15D 6.5 35 X35¢ -15D 40 X40¢ -20D 60 X 60¢
-20D : 40 X40¢ -20D 45 X45¢ -25D 65 X 65¢
-25D 45 X45¢ -25D 50 X50¢ -30D 70 X70¢
-30D 50 X50¢ -30D 9 55 X55¢ -35D 145 | 75 X75¢
CQ2B16-5D 25 | M3X25¢ -35D 60 X 60¢ -40D 80 X80¢
-10D 30 X30¢ -40D 65 X65¢ -45D 85 X85¢
-15D 5 35 X35¢ -45D 70 X70¢ -50D 90 X90¢
-20D 40 X40¢ -50D 75 X75¢ -75D 125 X125¢
-25D 45 X45¢ -75D 110 X110¢ -100D 150 X150¢
-30D 50 X50¢ -100D 135 X135¢ CQ2B80-10D 55 | M10X55¢
CQ2B20-5D 25 | M5X25¢ CQ2B40-5D 35 | M5X35¢ -15D 60 X 60¢
-10D 30 X30¢ -10D 40 X40¢ -20D 65 X65¢
-15D 35 X35¢ -15D 45 X45¢ -25D 70 X70¢
-20D 40 X40¢ -20D 50 X50¢ -30D 75 X75¢
-25D 75 45 X45¢ -25D 55 X55¢ -35D 15 80 X80¢
-30D ’ 50 X50¢ -30D 75 | 60 X60¢ -40D 85 X85¢
-35D 55 X55¢ -35D 65 X65¢ -45D 90 X90¢
-40D 60 X 60¢ -40D 70 X70¢ -50D 95 X95¢
-45D 65 X65¢ -45D 75 X75¢ -75D 130 X130¢
-50D 70 X70¢ -50D 80 X80¢ -100D 155 X 155¢
CQ2B25-5D 30 | M5X30¢ -75D 115 X115¢ CQ2B100-10D 65 | M10 X 65¢
-10D 35 X35¢ -100D 140 X 140¢ -15D 70 X70¢
-15D 40 X40¢ CQ2B50-10D 45 M6 X 45 ¢ -20D 75 X75¢
-20D 45 X45¢ -15D 50 X50¢ -25D 80 X80¢
-25D 95 50 X50¢ -20D 55 X55¢ -30D 85 X85¢
-30D : 55 X55¢ -25D 60 X 60¢ -35D 155 | 90 X90¢
-35D 60 X60¢ -30D 65 X65¢ -40D 95 X95¢
-40D 65 X65¢ -35D 125 | 70 X70¢ -45D 100 X 100¢
-45D 70 X70¢ -40D 75 X75¢ -50D 105 X105¢
-50D 75 X75¢ -45D 80 X80¢ -75D 140 X 140¢
-50D 85 X85¢ -100D 165 X165¢

-75D 120 X120¢
-100D 145 X145¢

1-429

O
<

e



Series CQ2

Construction

=,
1
.

g="

—r Rear boss mount
N _
7/ H
Basic
With One- touch fitting Rod end male thread
Component Parts
No. Description Material Note No. Description Material Note
@ | Cylinder tube Aluminum alloy Hard anodized @ | BumperB Resin
@ | Piston* Aluminum alloy Chromated Guide boss ring Aluminum alloy Hard anodized 220 to 100
. Stainless steel 012 to 025 @ | One-touch fitting 232 to 963
® | Piston rod* -
Carbon steel 932 to 9100, Hard chrome plated (2| Piston seal NBR
@ | Collar Aluminum bearing alloy | @12 to 940, Anodized @ | Rod seal NBR
Aluminum alloy casting | 50 to 2100, Chromated, plated Gasket NBR
® | Snap ring Carbon tool steel Phosphate coating
(® | Bushing Lead bronze casting For 950 or larger
@ | Rod end nut Carbon steel Nickel plated
Bumper A Urethane
Replacement Parts: Seal Kits Replacement Parts: Seal Kits
Style B9re Kit No. Contents Style B‘ore Kit No. Contents
size size
12 CQ2B12-PS 20 CQ2BH20-PS
16 CQ2B16-PS 25 CQ2BH25-PS
20 ggz:ggz: Air-hydro Zi CQ2BH32-PS Kits include items (2,
- 25 - Kits include items @2, CQ2BH40-PS @ and @ from the
Pneumatic 32 CQ2B32.PS style 50 CQ2BH50-PS
style CQPBA0PS (@3 and (@ from the o3 table above.
40 - table above. CQ2BH63-PS
50 CQ2B50-PS 80 CQ2BH80-PS
63 CQ2B63-PS 100 CQ2BH100-PS
80 CQ2B80-PS * Seal kits consist of items (2, 13 and (9 contained in one kit, and can be ordered using the
100 CQ2B100-PS order number for each respective tube bore size.

Auto Switch Mounting Brackets Parts No.

[Stainless steel mounting bolt set]
The set of stainless steel mounting screws (with nuts) described below
is available and can be used depending on the operating environment.
(The spacers for auto switches must be ordered separately, as they are

not included.)
BBA2: For D-A7/A8/F7/J7 types
The stainless steel bolts described above are used when the D-F7BA

Bore size| Mounting Not Applicable switch
(mm) _ pracket part No. ote Reed switch Solid state switch
12/16 *Switch mounting screw D-F70, J79
BQ-1 (M3X 8¢ D-F70V
20/25 oSquare nut D-A7|:|, A80 D-J79C
_ _ D-A73C, A80C D-F700W, J79W
32/40 *Switch mounting screw | D-A70H, A80H D-F70O0WV
50/63 Ba-2 |(M3X109 D-A79W D-F7BA
80/100 *Switch spacer D-F700F
<Switch ' .
Switch mounting nut D-F7NT
1-430 ZS\VC

type switch is shipped mounted on a cylinder. When the switches are
shipped as individual parts, the BBA2 set is included.



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Clean Series

Copper Free

m CQZB‘ Bore size H Stroke ‘D(M)

Clean series
10—Relief style
11—Vacuum style

The rod portion of the actuator

012, 016, 920, 025, 032,
040, 050, 063

has a double seal construction,

and a relief port is provided to discharge the exhaust air directly
outside of the clean room. Thus, it can be used in a Class 100

20— CQ2B ‘ Bore size H

Stroke | D (C)(M)

212,
063,

I)opper free series

To eliminate influences of copper
manufacturing processes, copper
used as component parts.

216, 020, 925, 632, 040, 650,
080, 100

ions or halogen ions during CRT
and fluorine materials are not

clean room.
=
== 'ﬂjf--
.\‘ /jff
Specifications Specifications
Action Double acting single rod Action Double acting single rod
Cylinder bore size 012, 016, 020, 825, 632, 040, 650, 063 Cylinder bore size 012, 916, 620, 25, 032, 940, 050, 63, 080, 2100
Proof pressure 1.5MPa Proof pressure 1.5MPa
Max. operating pressure 1.0MPa Max. operating pressure 1.0MPa
Rubber bumper None (M Rubber bumper With, Without
Piping method Screw-in piping Piping method Screw-in piping
Piston speed 50 to 500mm/s Piston speed 50 to 500mm/s

Mounting

Through-hole

Mounting

Through-hole, Both ends tapped

Auto switch

Attachable

Auto switch

Attachable

Note 1) @12 with switch: With rubber bumper (Standard)

Construction

Water Resistant

10-CQ2 Series
(Double seal)

Relief port

11

Bushing

A relief port is provided in the area
between the double rod seals to
discharge the exhaust air outside of
the clean room. Thus, the amount
of dust generated has been
reduced to 1/20 of that of an
ordinary cylinder.

11-CQ2 Series
(Single seal/Vacuum adsorption)

Vacuum port
(Vacuum adsorption)

ﬁ ﬁ Bushing

CDQ2 ‘Mounting‘ ‘ Bore size‘

Stroke ‘D‘ Option ‘ F7BAL | -XC6

With auto switch
(Built-in magnet)

Made to
Order

Water resistant 2 colour
indication solid state
switch

Water resistant cylinder

R

Seal NBR (Nitril rubber)

)

Seal FKM (Fluoro rubber)

T !:-:" Rod seal
Z'\

Structurally identical to the "10-"
series, the outer rod seal has been
removed to evacuate through the
vacuum port. This draws out any
external air from the clearance
between the rod and the cover to
practically eliminate the generation
of external dust. This should be
used in an application that requires
an even higher level of cleanliness
than the "10-" series.

This is ideal for use in a machine tool environment exposed to coolant.

It is also well suited for use in areas in
processing equipment or car washers.

which water splashes, such as food

Specifications

Action

Double acting Single rod

Bore size (mm)

020, 925, 632, 940, 650, 863, 680, 100

Cushion

None

Auto switch mounting

Rail mounting (D-F7BAL)

Made to Order Piston rod,

Rod end nut: Stainless steel (—XC6)

O

* Specifications except mentioned above are same as standard basic.

1-431



Series CDQ2

Auto Switch Specifications

Refer to p.6-15 for details of auto switch.

L)

Al Minimum Strokes for Auto Switch Mounting (mm)
) \V D-A70H
) i -\ —— D-A70) D-A80H D-F7O0W
- ) Number | D-F70V | D-A80 D-F70] D-J79W
\ P of auto | D-79C | D-AT3C |DEIEWY D979 | D-ATOW | b p7pay | D-FTLE | DAS
- switches | D-FSCIV | D-A80C D-F9B D-F79F :
‘ D-A9CIV D-FoP u
:zy— D-FOOOW Saebas
o 1pc. 5 5 10 15 15 20 25 10
2pcs. 5 10 15 15 20 20 25 10
Applicable Auto Switch
Style Auto switch model Electrical entry (Function)
D-A701/A80 Grommet (Perpendicular)
D-A7C0H/A80H Grommet (In-line)
212 to 100
Reed switch D-A73C/AB0C Connector i
D-A79W Grommet (2 colour, Perpendicular)
D-A9] Grommet (In-line)
D-A9C1V Grommet (Perpendicular) 032100100
D-F701/J79 Grommet (In-line)
D-F700V Grommet (Perpendicular)
— D-J79C Connector
N D-F7O0W/J79W Grommet (2 colour, In-line)
- 212 to 100
D-F7O0WV Grommet (2 colour, Perpendicular)
. D-F7BAL Grommet (2 colour, Water resistant, In-line)
Solid state — - -
switch D-F79F Grommet (2 colour, With diagnosis output, In-line)
D-F9BAL Grommet (2 colour, Water resistant, In-line)
D-F7NTL Grommet (With timer, In-line)
D-FoOI Grommet (In-line)
D-FOCIV Grommet (Perpendicular)
D-FOCOW Grommet (2 colour, In-line) 032 t0 2100
D-FOIWV Grommet (2 colour, Perpendicular)
[ . D-F7LF Grommet (2 colour, Latch with diagnostic output, In-line)
) /A Precautions
7
Weight Unit: g Option Weights Unit: g
Bore Cylinder stroke (mm) Bore size (mm) 12 |16 |20 | 25 | 32 | 40 | 50 | 63 | 80 |100
(mm){ 5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped 1 1|1 3| 3|6|6|6|19]|45]45
12 | 47 |54 |60 |67 | 74180 | - |- |-]-|-1]-+- Rodend |Malethread| 1.5 12 | 26 | 27 | 53 | 53 [120|175
16 73 | 82 | 92 [ 101|110 | 119 | - - - - - - male thread| Nyt 1 17 117 132 (32 | 49 [116
e 20 | 109|122 | 136|150 | 164 | 178 | 191 | 205 | 219 | 233 | — - Rear boss mount 07113 2 5 7 1132545 96
25 | 144 | 161|178 | 195 | 211 | 228 | 245 | 262 | 278 | 295 | - | - With rubber bumper | 0 | —1 | -2 | -3 | -3 | —7 | -9 |—18|-31|-56
1 211
| 32 90 232 | 252 | 273 | 294 | 315 | 335 | 356 | 377 | 482 | 587 With One-touch fitting | — | — | — | — | 12 |12 |21 |21 | - | —
/ 4 282 | 305 | 328 | 351 | 375 | 398 | 421 | 444 | 467 | 490 | 610 | 730 : :
/ 0 Foot (including bolt) | 49 | 62 |147|169|143|155|243| 324|696 |1062
g 50 — | 487 | 523 | 559 | 595 | 632 | 668 | 704 | 740 | 777 | 965 [1153 - -
Front flange (including bolt) | 54 | 67 |131]|153 (180|214 |373|559 1056|1365
63 - | 696 | 737 | 778 | 819 | 860 | 901 | 941 | 982 |1023|1235|1446
Rear flange (including bolt) | 52 | 63 |124|144| 165|198 | 348|534 |1017{1309
80 — |1258(1325|1393|1461|1529|1597|1665|1732|1800 (2135|2469 Double clov
ouple clevis
100 | - |2118]2209(2299|2390|2481 2572 2662|2753 | 2844|3304 | 3764 (including pin, snap ring, boty | 29 | 35 | 78 | 11411511196 393|554 1109/1887
Weight/Auto Switch Mounting Bracket Calculation example: CDQ2D32-20DCM If auto switches are to be
: : + Cylinder weight: CDQ2B32-20D - 2529  installed, the weight that
~ Part No. BoreloizoNs [Woiht() + Option weight: Both ends tapped - 6g corresponds to the numberof
N BQ-1 012 to 825 1.5 auto switches and mounting
\ Rod end male thread -+ 43¢ b
\ BQ-2 232 to 6100 15 - rackets to be used must be
With rubber bumper - - added.
Double clevis
1-432 4 S\VC



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Construction

) ®@@ ® @
A 1

\

|
\Auto switch

Replacement Parts: Seal Kits

Components Parts

No Description Material Note
(@ | Cylinder tube Aluminum alloy Hard anodized
(2 | Piston Aluminum alloy Chromated
® | Piston rod Stainless steel 212 to 925
Carbon steel 232 to @100, Hard chrome plated
@ | collar Aluminum bearing alloy 232 to 340, Anodized
Aluminum alloy casting| 50 to 2100, Chromated, plated
® | Snap ring Carbon tool steel Phosphate coating
(® | Bushing Lead bronze casting For @50 or larger
(@ | Magnet
Piston seal NBR
(© | Rod seal NBR
(0 | Gasket NBR

Replacement Parts: Seal Kits

Series e S Kit No. Contents Series Bore size Kit No. Contents

(mm) (mm)

12 CQ2B12-PS 20 CQ2BH20-PS

16 CQ2B16-PS 25 CQ2BH25-PS

20 CQ2B20-PS 32 CQ2BH32-PS Kits include items ®
25 CQ2B25-PS Kits include items (®), Air-hydro 40 CQ2BH40-PS © and 0 from the ’

Pneumatic 32 CQ2B32-PS ® and @0 from the 50 CQ2BH50-PS table above

40 CQ2B40-PS table above. 63 CQ2BH63-PS '

50 CQ2B50-PS 80 CQ2BH80-PS

63 CQ2B63-PS 100 CQ2BH100-PS

80 CQ2B80-PS #Seal kits consist of items (®), (9 and (0 contained in one kit and can be ordered using the
100 CQ2B100-PS order number for each respective tube bore size.

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through hole mounting

is available as option.

How to Order: Specify the required bolts.
Example) Bolt M3 X 35¢ 2pcs.

Mounting bolt

Model (¢} D [Mounting bolt Model (¢} D |[Mounting bolt Model C D |Mounting bolt

CDQ2B12-5D 35 | M3 X35¢ CDQ2B32-5D 40 | M5X40¢ CDQ2B63-10D 60 M8 X 60¢
-10D 40 X 40¢ -10D 45 X45¢ -15D 65 X 65¢

-15D 55 45 X 45¢ -15D 50 X50¢ -20D 70 X70¢

-20D : 50 X 50¢ -20D 55 X 55¢ -25D 75 X75¢

-25D 55 X 55¢ -25D 60 X 60¢ -30D 80 X 80¢

-30D 65 X 60¢ -30D 9 65 X 65¢ -35D | 145 | 85 X 85¢
CDQ2B16-5D 40 | M3 X40¢ -35D 70 X70¢ -40D 90 X 90¢
-10D 45 X 45¢ -40D 75 X75¢ -45D 95 X 95¢

-15D 8 50 X50¢ -45D 80 X80¢ -50D 100 X 100¢

-20D 55 X 55¢ -50D 85 X 85¢ -75D 125 X125¢

-25D 60 X 60¢ -75D 110 X110¢ -100D 150 X 150¢

-30D 65 X 65¢ -100D 135 X 135¢ CDQ2B80-10D 65 | M10 X 65¢
CDQ@2B20-5D 40 | M5X40¢ CDQ@2B40-5D 45 | M5X45¢ -15D 70 X70¢
-10D 45 X 45¢ -10D 50 X50¢ -20D 75 X75¢

-15D 50 X 50¢ -15D 55 X 55¢ -25D 80 X 80¢

-20D 55 X 55¢ -20D 60 X 60¢ -30D 85 X 85¢

25D | 495 | 60 X 60¢ -25D 65 X 65¢ -35D 15 90 X 90¢

-30D ' 65 X 65¢ -30D 75 70 X70¢ -40D 95 X 95¢

-35D 70 X70¢ -35D 75 X75¢ -45D 100 X 100¢

-40D 75 X75¢ -40D 80 X 80¢ -50D 105 X 105¢

-45D 80 X 80¢ -45D 85 X 85¢ -75D 130 X130¢

-50D 85 X 85¢ -50D 90 X 90¢ -100D 155 X 155¢
CDQ2B25-5D 40 M5 X 40¢ -75D 115 X 115¢ CDQ2B100-10D 75 | M10 X 75¢
-10D 45 X 45¢ -100D 140 X 140¢ -15D 80 X 80¢

-15D 50 X 50¢ CDQ2B50-10D 55 | M6 X 55¢ -20D 85 X 85¢

-20D 55 X 55¢ -15D 60 X 60¢ -25D 90 X 90¢

-25D 95 60 X 60¢ -20D 65 X 65¢ -30D 95 X 95¢

-30D : 65 X 65¢ -25D 70 X70¢ -35D | 15.5 | 100 X 100¢

-35D 70 X70¢ -30D 75 X75¢ -40D 105 X 105¢

-40D 75 X75¢ -35D 125 | 80 X80¢ -45D 110 X110¢

-45D 80 X 80¢ -40D 85 X 85¢ -50D 115 X 115¢

-50D 85 X85¢ -45D 90 X90¢ -75D 140 X 140¢

-50D 95 X 95¢ -100D 165 X 165¢

-75D 120 X120¢
-100D 145 X 145¢
% SVC 1-433

e



Series CQ2
012 to 025

—
\ Both ends tapped: CQ2A
/ O1Thead . R R
— " ™ Both ends tapped  (1m)
—— - |/ T B .
Standard (Through-hole)/CQ2B I - } ‘E[:;')Zf" o1 |R
I[ 16 Me |7
i - 20 M6 |10
25 M6 |10
H thread effective depth C 4-gN through
Q -'-:- 2-M5 "8-00 counter bore
(Port size)
1
oy —+ \ +

oD
™
L/
|
N
M
z
M
E

|
\ L B+Stroke K
A+Stroke M
DU ~S——
Rear boss mount
Rear boss mount (m)
Bore
*@‘— ,JI.\ f‘é‘ e G Th9
. e s 12 (15| 1530
N\ 16 |1.5| 20505
\ 20 2 | 1330
25 | 2| 1590
Note) Rod side with guide boss:
e G Option (Specify -XC36 at
L end of model no.)
Rod end male thread
H1
——\ Rod end male thread (mm)
\
Bore
L
— (mm) Ci1| X H1 1
‘ﬂ - 12 |9 [105] M5 |14
_ -~ 16 [10[12]| Me |[155
™ Fod end nut /"Cﬁ" 20 |12]14| M8 |185
Hodendnut’ 25 |15 [175 [M10X 125|225
| X
/ L1
Standard (mm)
Bore Strokerange | A | B | ¢ [ D | E | F H I | k| L |M™m]|N 0 Q| z
(mm) (mm)
12 5to 30 20517 | 6 | 6 | 25 | 5 M3 32 | 5 | 35 |155| 3.5 [65Depth35| 7.5 | —
16 5 to 30 22 (185 8 | 8 | 29 | 55 M4 38 | 6 | 35| 20 | 35 [65Depth35] 8 | 10
- 20 5 to 50 24 [195] 7 | 10 | 36 | 55 M5 47 | 8 | 45 |255]| 55 [9Depth7| 9 | 10
BN 25 5 to 50 275[225| 12 | 12 | 40 | 55 M6 52 | 10 | 5 | 28 | 55 [9Depth7| 11 | 10

' Note) Dimensions of model with rubber bumper are same as mentioned above.
«Refer to p.1-442 for rod edge nut and optional bracket.

Refer to p.1-427 for calculation of cylinder
Q length with intermediate stroke.

1-434

O
:



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Foot/CQ2L

B + Stroke
r Special cap bolt

‘ XY Sy X |LG
|LS+Stroke |
A+Stroke

— -
Rod end male thread

Front flange/CQ2F
L B+Stroke | FX | \2-0FD
L A+Stroke L FZ

B+Stroke l FT

A+SIFOEE

bolt

| B+Stroke
CL+Str0Re

A+Stroke

-—

O

FOOt (mm)
Bore |Strokerange | a | g | | |L1|LD|LG|LH|LS|LT|[X|LY|LZ| X | Y
(mm) (mm)
12 5t030 |353|17(135(24 (45|2.8|17| 5 | 2 |34 (295(44| 8 |45
16 5t030 [36.8/185(135(255(4.5|2.8| 19 (6.5| 2 |38 (335(48| 8 | 5
20 5t050 [41.2|195(145(285(6.6| 4 |24 (7.5(|3.2|48 (42|62 |9.2|5.8
25 51050 |44.7|225|15(325(6.6| 4 |26 (7.5(3.2|52 |46 | 66 |10.7|5.8
Front flange (mm)
Bore |Strokerange| » | g |Fp|FT|FV|FX|FZ| L | L1
(mm) (mm)
12 5t030 |305[/17 |4.5|5.5| 25|45 |55 |135| 24
16 510 30 32 1185/4.5(/5.5| 30| 45| 55 |[135] 255
20 5to 50 34 [195(6.6| 8 [ 39|48 |60 |145| 285
25 5to50 [375]225|/6.6| 8 |42 |52|64|15| 325
Rear flange (mm)
*All dimensions except "A",
Bore |Strokerange| » | | |4 | "L* and "L1"are same as
(mm) (mm) rod side flange type.
12 5to 30 26 [3.5| 14
16 5t030 |275/3.5[155
20 5to 50 32 (4.5|185
25 5t050 |3565| 5 [225
Double clevis (mm)
Bore | Stoke | 5 | g |cp|cL|cT|culew|cx|cz| L [L1| N |RR
(mm) (mm)
12 5t030 |405|17 | 5 [345| 4 | 7 |14| 5 |10|3.5|14 M4 6
16 5t030 [43(185| 5 |37 | 4 |10|15|6.5|12|3.5[155| M4 6
20 5t0o50 |51(195| 8 (42| 5 |12|18| 8 |16 |4.5(185] M6 9
25 5to50 |575(|225|10 (475| 5 |14|20(10(20| 5 [225| M6 10
« Refer to p.1-442 for rod end nut and optional brackets.
=% Clevis pin and snap ring are contained.
1-435



Series CDQ2

61 2 tO Q25 With Auto Switch

Standard (Through-hole)/CDQ2B

Aulu switch
AN
\\
\\
N
of |
= P
|
?
| \
Q [f L2 W
la £
L B + Stroke (Pun sice)
——ta— -
A + Stroke

Both ends lapped: CDQ2A
Urtiean R

[l

| .2ad wire iallimun
Lending radlus 10

s

N Both ends tapped (mm)
AV S o1
| _Z/ |/ Bore O1 R
| | (mm)
12 M4 7
16 M4 7
o 20 M6 10
. 25 M6 10
22

F INrgad eTecive 0epm L

\

b 2z ol dnough
4-00 counfer bore

Rear boss mount (i

Rear boss mount Bore | g | Thg
(mm)
12 |15 1590
- i 16 [15] 20350
20 2 | 183364
25 2 | 1580
\utel Rou side with guive
— % Juss: Option (Speuify
- = -XC36" at 2nu of
2]
nodel No )
G
e Rod end male thread |,
Roud end mmale thread
Bore oyl x|  Hi o |Ls
(mm)
H 12 9 105 M5 14
N o— 16 10| 12 M6 15.5
A 20 [12]14 M8  [185
25 15175 M10 X 1.25 | 225
)
.
/" Ci
Rod enc nut -~
— x
L1
Auto switch shown above is D-A73 and J-A80. -
Refer to 0.1-444 for auto switch mounting >osition
and mounting neight.
Standard (mm)
Bore Strokerange | A | B | ¢ | D | E | F H K| L|M[N o} a|s|ulv
(mm) (mm)
12 5to 30 31.5| 28 6 6 32 | 6.5 M3 5 3.5 | 22 | 3.5 |65Depth35| 11 |355|19.5| 25
16 510 30 34 |305| 8 8 38 | 55 M4 6 3.5 | 28 | 3.5 |65Depth35] 10 [41.5]|225| 29
20 5 to 50 36 |31.5]| 7 10 47 | 5.5 M5 8 45 | 36 | 55 |9Depth7|10.5| 48 |24.5| 36
25 5 to 50 375|325 12 12 52 | 5.5 M6 10 5 40 | 5.5 |9Depth7| 11 |53.5|27.5| 40
\lote 2) Dimensions with rubber bumper are same as standard shown above.
+Refer to p.1-442 for rod end 1ut and optional brackets.
\ote 3) Refer to 0.1-427 for zalculation >f cylinder ength with intermediate stroke.
- V
1-436 & S\VC



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Foot /CDQ2L Foot (mm)
L

. B+ Stroke Bore | Stroke range

) (mm) (mm)
Special cap bolt I ” 12 51030 |463]28|135(24 |4.5|2.8[17 16| 2 |34 |205] 44| 8 |4.5

16 5t030 |488|305/135(255/4.5(2.8| 19 |185| 2 |38 (335/48| 8 | 5
20 5to 50 |532(31.5/145(285/6.6| 4 |24 [195/3.2| 48 |42 |62 |9.2|5.8
25 5t050 |54.7|325|15325/6.6| 4 |26 |175/3.2| 52 | 46 | 66 [10.7|5.8

X X, LG
LS+5Stroke
A+Stroke

Rod end male thread

Rod end nut”

L1
Front flange/CDQ2F Front flange (mm)
aﬁ’rﬁ 3"0(‘::’:;“93 A|B |[FD|FT|FV|FX|Fz| L |L1
12 | 51030 |415]28|4.5]55]| 254555 |135] 24
/M Rod end 16 5to 30 44 |305(4.5(5.5| 30 | 45 | 55 | 135|255
_H S male thread 20 | 5t050 |46315|6.6] 8 |39 | 48|60 145]285
= @\@ 25 | 5t050 |475|325|6.6] 8 |42 |52 6415|325
5 fL ot
o —or— 1 (@)= &
_ e o ||
1-f q} Rod end nut ,[
FT ' L1
L B+Stroke Al
. A+Stroke |
Rear flange/CDQ2G Rear flange (mm)
*#All dimensions except "A",
Rod end Bore |Stroke range A|L|L1 "L" and and "L1" are same
male thread (mm) (mm) as Rod side flange type.
2-0FD 12 | 51030 |37]35[14
L — Rod end nut* 16 | 5t030 |395|3.5[155
’[_ A B . B 20 5t050 |44 |4.5/185
7
I ® 1 @f 25 | 51050 45| 5 |25
MR o -—0
[ I 1
\ L | B+Stroke _Fr
i . A+Stroke |
- D le clevi
Double clevis/CDQ2D ouble clevis (m)
oN (?:r:% S‘“’(ﬁr;‘;"ge A | B |cp|cL|cT|culew|ex|cz| L [L1| N |RR
Sapbolt 12 | 51030 |515[28] 5 [455] 4 | 7 [14]| 5 [10[35[14] Mt |6

4
Axis 49 16 | 51030 |55(305] 5 49| 4 [10]15[6.5[12[35[165] M4 |6
20 | 5t050 |63[315] 8 [54|5 [12]18] 8 [16]4.5[185] Ms |9
25 | 5t050 |675[325[10]s75] 5 [14]20[10[20] 5 [225] M6 [10

«Refer to p.1-442 for rod end nut and optional brackets.
#+Clevis pin and snap ring are contained.

U
B+Stroke RR

CL+Stroke
A+Stroke

Rod end
male thread

Rod end nut*

1-437

O
<



Series CQ2/CDQ2
Q32 tO Qso With Auto Switch

For those without auto switches, refer to the dimension chart
because their A, B, F, P and Q dimensions will differ.

Both ends tapped: CDQ2A
R R

Otthreadp—= =
—_—

H thread effective depth C
4-gN through
8-00 counter bore

Both ends tapped (mm)

ﬂ_ Bore
R
a 2-p F (mm) o
(Port size) 32 M6 10
40 M6 10
/: N 50 M8 14
7 i
Lead wire minimum
a ;'v f f bending radius 10 + 7
E W = @" Auto switch -
D-A7/IA8 K
M
E J
S
L B+ Stroke
A+Stroke Rear boss mount (mm)
—~ Bore
\ Rear boss mount w (mm) | T°
AN g 32 | 2o
7 + W = 40 28 3 050
50 | 3550
_ H
Auto switch
D-A9/F9
2
Rod end male thread Rod end male thread (mm)
Hi Bore
(mm) Ci| X H1 L1
N I 32 |205(235| M14X 1.5 |285
h 40 |205|235( M14X 1.5 (285
(2 50 |26 |285| MI8X 1.5 |35
L e Rod end nut* / Ci
X
L1
- Built-in One-touch fitting (mm)
{Piping tube O.D.
/TP : Bore |7, lpr| v |wi
Bk S (mm)
L/ | 32 [13] 6 |%65]59
—— e 40 |[13] 6 [405]66
. E{B M@ B 50 |16] 8 | 50|82
,,,//’ k
) Standard Auto switch shown above is D-A73 and D-A80. Refer to p.1-444 for auto switch mounting position and mounting height. (mm)
Bore Stroke range Without auto switch With auto switch
(mm) mm ~ [A[B[F] P Ja|A][B]F] P Joa|C°|P|E| H KM
5 30 | 23 5.5 M5 11.5
32 10 to 50 75 1/8 105 40 | 33 | 7.5 1/8 105| 13 | 16 | 45 M8 60 |45 |14 | 7 34
75, 100 40 | 33 i .
40 2lo50 el 18 | 11 |465|395]| 8 178 |11 | 13|16 |52 | M8 |69 | 5 | 14| 7 |40
10 to 50 38.5[30.5
—~ 50 75 100 485405 10.5 1/4 10.5 [48.5[40.5|10.5 1/4 105| 15 | 20 | 64 [M10X1.5| 86 7 17 | 8 50
N
\ Bore
(mm) N (0] S u VA Note 1) Dimensions of style with rubber bumper are same as standard shown above.
| * Refer to p.1-442 for rod end nut and optional bracket.
Note 2) Because the method for calculating the longitudinal dimension of the intermediate stroke varies between
L 32 5.5 |9Depth7|58.5|31.5| 14 the spacer-installed style and the special body (-X10) style, refer to p.1-427 for details.
40 5.5 |9Depth7| 66 | 35 | 14
50 6.6 |11 Depth8| 80 | 41 | 19

1-438

O
:



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

| P YoV VY ] lalaYaYall Foot (mm)
L B ook B Strok W/o auto switch| With auto switch
ore roKe range 0 auto SWILC! 1th auto SwWITCH
) J (mm) (mm) AIBILS| A|BILS L |L1|{LD|LG|LH|LT|LX|LY
+ 5t050 [472] 23 | 7
E Special 32 5500 Tora s 7572 % | 17 |17 |%8566) 4 |30 32|57 |57
E ] cap bolt a0 51050 NTA8 156371095 235| 17 |%85[6.6| 4 | 33[3.2| 64 |64
50 (030 BT 6671405 175| 18 435 9 | 5 |39 (32|79 |78
(mm)
L LG (?:r:]e) Lzl x|y
LS+Stroke
A+Stroke 32 71|112(5.8
Rod end male thread 40 |78 (112| 7
4 50 |95|147] 8
|
Fod end nut q::m
—— L1
Front flange (mm)
Without With auto
, (?T?rrne) Stro(kr:nr]a)nge auto switch switchB FD|FT|FV|FX FZ| L |L1| M
= —— ] LNy | T
= A | 7 51050 | 4023
J:__ 7 I:, 32 75700 [ 20 a3 50 |33 |5:5| 8 |48 |56 65|17 |35 34
Tigs L) B | 51050 |465[295
:},}]’r —\.\ 5 =g 40 75100 Teeslace] 5|%5(55| 8 |54 |62 72|17 35|40
L]0 H 10t0 50 [ 485305
L — ot ,__m-u@ﬁf 50 75. 900 Toeala0z]5(405/66| 9 |67 |76 89 | 18|435) 50
h 4-pFD
L B+Stroke | FX_
A-+Stroke F
Rod end male thre:iﬁjf I
Rear flange mm)
Stroke range| Without | With auto +All dimensions except “A”, “L”
Bore (mm) 9lauto switeh swich | | | L1 [ ang“L1" are same as fod side
(mm) 5 1o 50 :?8 A flange mounting type.
32 75700 8 48 | 7 [285
5t050 | 445
40 75700 T s45 | 545 | 7 |85
101050 | 47.5
_ 50 75.9700 T ar2 | 575 | 8 [335
L| B+Stroke Ti
A+Stroke -!
Double clevis (mm)
f Bore gt itch | Wi i
f roke range | W/o auto switch | With auto switch
|., Applicable to rear flange (mm) |~ m) [ A]BoL] a8 [oL|P|CT|CYOW|OX %) b
+ mounting and double 32 21050 80281500 7| 35 160 |10| 5 14|20 18(36| 7 |285
| clevis mounting y
' ' qo [ 51050 1685129505851 795 595685/ 10| 6 |14|22| 18|36 | 7 |285
| 75,100 |785[395[68.5 ">~ | -
50 (101050 {8091305,865 905405765\ 14| 7 |20 28| 22| 44| 8 |85
CT 4N (mm)
T Cap bolt Bore O
= 0CD hole H10 (mm)
— Tk Al o 32 | M |10
-
I ———————— 40 M6 10
— E 50 Mg |14
| Gu # Refer to p.1-442 for rod end nut and optional brackets.
-ITJ-— BES:E{(S%&Q———-C& ii ** Clevis pin and snap ring are contained.
+Stroke * The diagram shows with an auto switch, which may be deleted if unnecessary.
ZS\NC 1-439



Series CQ2/CDQ2
0063 10 G100 with auto switen  FoLoce ot auto awiches,rfer to e dimonsir

N
\ Both ends tapped: CQ2A, CDQ2A Both ends tapped (mm)
/ Owthread\\_‘ R _ R (Bnglq,]e) o R
- _‘f___f e z3 63 Mo |18
i 80 Mi2 |22
LIS
Standard (Through-hole) e 100 | w2 |22

o

H thread effective dapth C 2-P F

=U /" &aN through ! ;;f (Port size)

1l ] /' /%00 counter bore
7
J'f
? o KL Fan)
. R = L
Lead wire miniric G/I — ——
bending radus 10 /- :
_Auto switch / 5
L — Rear boss mount (nm)
! A+Stroke Bore The
Rear boss mount (mm)
~ 63 35 _3 062
\ 80 43 Jos2
‘ 100 | 59 8074
ey Note 1) Rod side with guide boss:
Vi T 2 Option (Specify “XC36” at
) Sl L [ end of model no.)
Rod end male thread |
A2 Rod end male thread (mm)
Bore
S N (mm) Ci| X H1 L1
63 26 [285| M18 X 1.5 [335
) 80 |325(355] M22 X 15 |435
: S 100 (325[355| M26 X 1.5 |435
S
Rod end nut
Built-in One-touch fitting (mm)
2Py
j-’ {Piping tube 0.D.) (?r?rl;le) Z1|P1| V [W1
3 63 16| 8 |56.5| 95
. /
\\; T
Standard Auto switch shown above is D-A73 and D-A80. Refer to p.1-444 for auto switch mounting position and mounting height. (mm)
Bore Head side with quide boss | W/o auto switch | With auto switch c b E F H | J K L M N p aQ s
(mm) (mm) AlB|A]B ©
63 191e58 2412554 |46 | 15 | 20 | 77 [105| M10 [108| 7 |17 | 8 |60 | o |wuDenios| 14 |15 | 93
- 80 101050 1535 435 63.5(535| 21 | 25 | 98 [125| Mi6 [132| 6 |22 | 10 | 77 | 11 |msDepn1as] 38 | 16 1125
N\ 10 to 50 65 | 53
\ 100 75 100 75 | 63 75 | 63 | 27 | 30 | 117 | 13 M20 156 | 6.5 | 27 | 12 | 94 | 11 [17.5Depth 135 3/8 23 (1325
‘ mm Note 2) Dimensions of style with rubber bumper are same as standard shown above.
/ Bore # Refer to p.1-442 for rod end nut and optional brackets.
) (mm) u z Note 3) Refer to p.1-427 for calculation of cylinder length with intermediate stroke.
63 475] 19
80 57.5| 26
100 67.5| 26
- 7
1-440 ZS\VC



Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Foot/CQ2L, CDQ2L Rear flange/CQ2G, CDQ2G

_L__ Ba+Stioke . fenm —t

Special
cap bolt
/

7

| Beswoe 1

oy

Rod end male
thread

s ILL B+Stroke | cw |mR|
P b CL+Siroke 2 i
e o AsStoke |
Rod end male 7
thread

_ |

\
i
| L7 \

|/ |

Rod end male thread

| )i /
Rod end nut /| Rod end nut :I i [
Foot (mm) Rear flange mm)
Bore |Strok Wlo auto switch | With auto switch Strok W/o auto switch | With auto switch *All dimensions except
o | TATB TAls]|L|L|LP[Le|LH|Ls|LT|Lx 3‘1’;; i A | L|Li | AL and Lt are
d sid
63 |[1Qt050 1622136 | 7y | 46 |18 |435/ 11| 5 |46]20(32| 95 101050 53 63 |8 @5 \ fangetpe.
75,100 | 72.0| 46 - - - 63 75, 100 63 -
101050 | 75 |435 10 t0 50 64.5
80 75900 Tae Teas] 85 | 535 |20|585| 13| 7 | 59|285|4.5| 118 80 [75.700 o 745 |10 (435
10t050 | 88 | 53 10 to 50 76
100 75500 T oo aa 98 | 63 | 22585 13| 7 | 71|29 6 | 137 100 75900 o 86 |12 435
gsrrr?) Strilr(sr;a)nge izl x|y Double clevis (mm)
10 to 50 Bore |Stroke range|W/o auto switch| With auto switch
63— 2500—915(113]162| 9 mm)| mm) | Al B | A]B |CDCL|CT|CU[CW|CX|CZ| L
80 121050 1114| 140|195 11 63 (121050188 1 95 | o5 | 46 |14|84| 8 |20|30|22|44] 8
100 (21880 14351 162| 23 | 125 80 | 121080 10951455 1195 | 535 | 18 |1015| 10| 27 | 38| 28 | 56| 10
101050 | 132 | 53
100 28501921231 142| 63 |22 |120| 13 |31 |45 |32 |64 | 12
Front flange (mm)
Bore |Stroke range|W/o auto switch | With auto switch Bore |Stroke range
mm | mm [ ATB | AaTs |P°FT|FYFXFZIL LM mm | mm L] N |RR
10t050 | 54 | 36 10 t0 50
63 RS0 T os Taa] 64 | 46 | 9 | 9 |80|92]108] 18 |435| 60 63 3150 Bs| w0 |14
101050 | 635435 10 t0 50
80 R oateae 735 | 535 | 111199 |116]134| 20 |835| 77 80 —3GE 45| we |18
101050 | 75 | 53 10 to 50
100 —2'S50 52 Tag ] 85 | 63 |11 11117|136|154| 22 535 | 94 100 2550 —ms| e |22

*Refer to p.1-442 for rod end nut and optional brackets.
*Clevis pin and snap ring are contained.

1-441

O
<



Series CQ2

Accessories

Single knuckle joint

Double knuckle joint

,/ I-G012, I-Z015A

1-G02,

1-G03

1-G04, I-G05
-G08, I-G10

MM @NDH1eo
A

Y-G012, Y-Z015A
Y-G02, Y-GO3

Y-G04, Y-G05
Y-G08, Y-G10

@ND hole H10 oND hole H10

axis ¢9 MM /W
A

E—— /
/ -y - : L | ?ﬁ;\'\
N =T - (7
ol TN 5 L\ [l ol
ﬁ al - i L“L' A\ S &
|_Adl_us [ nx A1l U
NX LM L L NZ L
[::" A
Material: Rolled steel Material: Cast steel Material: Rolled steel Material: Cast steel
(mm) (mm)
Part No.|®2%*| A | At | Ev | Li | MM |"Ri| Ut | NDwio | NX Part No. | ™15 | A [A1| Er|Li| MM |"Ri|U1 [NDHio| NX NZLparti?\lo_
G012 | 12 |[215] 6 |010/ 16 | M5 |[6.3| 7 | 579 | 5292 Y-GO12 | 12 [21.5 6 |00 16| M5 [6.3] 7 | 598 5254|10|u6] IY-G012
1-Z015A | 16 | 32 | 8 |O012| 25 | M6 |8.1| 14| 53¢ |6.4233 Y-Z015A| 16 |28 |11 |012/21| M6 |8.1]10| 5°0°6.5232(12|16|1Y-J015
1-G02 20 | 34 |85 |0O16] 25 M8 [10.3[11.5] 8*5%¢ | 852 Y-G02 20 |34(85|016/25| M8 [103]115] 8°0%% 8234|161 |1Y-G02
- 1-G03 25 | 41 [10.5|0020| 30 [M10X1.25[12.8] 14 [10*5%® [ 10253 Y-G03 25 |41 (105|320 30 | M10X1.25 |128] 14 [10°0%%%| 10-34|20%6] IY-G03
N 1-G04 [32,40| 42 | 14 |@22| 30 [M14X15] 12 | 14 [10*5%® | 18252 Y-G04 |32, 40| 42 | 16 |@22| 30 | M14X15 | 12 | 14 [10°5%%® 18293|36415] IY-G04
‘ -GO5 |50, 63| 56 | 18 |@28| 40 |[M18X 1.5 16 | 20 [14*3°7° | 22232 Y-G05 |50, 63| 56 | 20 @28 40 | M18X 1.5 | 16 | 20 [1475°7°| 22253 | 44|58 IY-G05
1-G08 80 |71 | 21 (938 50 |M22X 15| 21 | 27 |18*597° | 28252 Y-G08 80 |71]23|@38|50 | M2X15|21 |27 [18°5°7°| 2855|5664 IY-G08
1-G10 100 | 79 | 21 |@44| 55 |M26 X 1.5| 24 | 31 |22*0%* | 32252 Y-G10 | 100 |79 |24 |o44] 55 | M26X 15 | 24 | 31 [22*3%¢] 32703 64| 72| IV-G10

=Knuckle pin and snap ring are contained.

\ Knuckle pin (Common with double clevis pin) \

Rod end nut

\
) </ 3!
7 i 1] 5
mi | ¢ Ll.m
T.F )
t o — L - ;t H
— Material: Carbon steel Material: Carbon steel
™ (mm) (mm)
Bore size . Bore size
Part No. (mm) Dd9 L d ¢ | m t Snap ring Part No. (mm) d H B C
/  _Y-Go12 12 52008 |14.6| 4.8 [10.2| 1.5 | 0.7 |For axis C shaped 5 NTJ-015A 12 M5 4 8 9.2
1Y-J015 16 5200 [16.6]4.8|12.2| 1.5 | 0.7 |Foraxis C shaped 5 NT-015A 16 M6 5 10 11.5
1Y-G02 20 23042 | 21 [ 7.6 [16.2] 1.5 | 0.9 [For axis C shaped 8 NT-02 20 M8 5 13 15.0
1Y-G03 25 102555 [25.6| 9.6 | 20.2 | 1.55 | 1.15 | For axis C shaped 10 NT-03 25 M10 X 1.25 6 17 19.6
1IY-G04 | 32,40 1029992 [41.6] 9.6 | 36.2 | 1.55 | 1.15 [For axis C shaped 10 NT-04 32, 40 M14 X 1.5 8 22 25.4
IY-G05 | 50, 63 1429950 150.6 | 13.4 | 44.2 | 2.05 | 1.15 | For axis C shaped 14 NT-05 50, 63 M18 X 1.5 11 27 31.2
1Y-G08 80 182093 | 64 | 17 |56.2 | 2.55 | 1.35 [For axis C shaped 18 NT-08 80 M22 X 1.5 13 32 37.0
1Y-G10 100 22709% | 72 | 21 | 64.2| 2.55 | 1.35 | For axis C shaped 22 NT-10 100 M26 X 1.5 16 41 47.3
~
\
1-442 .
7}



Compact Cylinder/Standard: Double Acting Single Rod Series CQZ

Joint for CQ2/032 to 100

A type mounting bracket

(S 1
L
l"% [ T
o) =5 3 #)>
=) ul L=
71
Y 4- kR
hY 74 ]
F
E B
Bore size
Part No. (mm) B oD E F M Ti T2
YA-03 | 32,40 18 | 6.8 16 6 42 6.5 10
YA-05 | 50, 63 20 9 20 8 50 6.5 12
. . YA-08 80 26 11 25 10 62 8.5 16
———e
Applicable bore size YA-10| 100 | 31 | 14 [ 30 | 12 | 76 | 105 18
. 03 For 32, 40 : :
Mounting bracket o5 For 250, 063 Part No.|BO®Size | o | | |\ | Weight
YA | A type mounting bracket 08 For 280 (mm) ©
YB |B type mounting bracket 10 For 3100 YA-03 | 32,40 | 6 | 18 | 56 55
YU Joint YA-05 | 50,63 22 | 67 100
YA-08 80 10 28 83 195
YA-10 100 12 36 | 100 340
Allowable Eccentricity mm
Bore size 032 ‘ 240 ‘ 250 ‘ 063 | 280 | 9100 B type mou nting bracket
Eccentricity +1 +1.5 +2
Play 0.5
<How to Order>
¢ Ajoint is not included with the A or B type mounting brackets, and
they must be ordered together. f)\ S
(Example) \j
For bore size 940 Part No. no i -
« A type mounting bracket part No.------w-ve.. YA-03 'd - == > i\_'vl o
+ Joint YU-03 -
Iz Hl1
N g
Joint Part No. —
Bere oe Joint part No. Applicable mounting bracket Weight §la“ﬁ'%c§5ﬁ%g;%%gf2 J ] T3]
(mm) A bracket B bracket (9) E LB
232, 40 YU-03 YA-03 YB-03 25
250, 63 YU-05 YA-05 YB-05 40
080 YU-08 YA-08 YB-08 90 Part No. B‘E;ﬁnj')ze B |eD| E | J | M o
0100 YU-10 YA-10 YB-10 160
— YB-03| 32,40 |12 | 7 |25 | 9 | 34 11.5 Depth 7.5
F=]
= H
8 b
E (With locking) YB-05 50, 63 12 9 32 11 42 14.5 Depth 8.5
= vB-0s| 80 |16 | 11| 38 | 13 | 52 18 Depth 12
o = i 3— o
ol TR, & YB-10 100 19 | 14 | 50 | 17 | 62 21 Depth 14
uT L Part No. Bore size T T v W s Weight
¢ (mm) (9
UA Cc
i . YB-03 | 32,40 6.5 10 18 | 50 11 80
PartNo. | BYes |UA|C | i || H K| L |ur "
YU-03 032, 040 17 |11 [ 158 | 14 M8 8 7 6 | 25 YB-05 50,63 6.5 12 22 60 14 120
YU-05 250, 263 1713|198 | 18 M10 10 7 6 | 40 YB-08 80 8.5 16 28 75 18 230
YU-08 280 22120 (24823 M16 13| 9 8 | 90
YU-10 0100 |26(26|298|28| M20 |14 |11 | 10 [160 ViR 1 1 . A28
GS\VC 1-443



Series CDQ2

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A70
D-A80

o012 to 025

| I B

232 to 0100

D-A70H
D-A80H
D-F70
D-J79
D-F70W
D-J79W
D-F70F
D-F7NT
D-F7BAL

1>
]

D-A73C
D-A80C
D-J79C

o012 to 025

D-A79W
D-F7O0WV
D-F70IV

R

£

232 to o100

1-444

D-A90
D-F9OI

D-A9C1V
D-FoCIV
D-FoCOWV

=l

D-FOOOW




Compact Cylinder/Standard: Double Acting Single Rod Series CDQZ

Auto Switch Mounting Position (mm)
D-F79W
D-A7CH/A80H D-F7BA D-FOOW
) D-A73C/A80C D-F70W D-A9C] D-F9I )
Bore size | D-A70/AB0 |p oy y7g Rgatil D-F70F D-A9CV D-FOCIV gﬁggﬁv
(mm) D-F700VI79C D-J79W A
D-F7O0WV
A B A A A B A B A B A B
12 45 5.5 5 6 2 3 9 10 - - - - - -
16 75 5 8 55 5 25 12 9.5 - - - - - -
20 75 6.5 8 7 5 4 12 11 - - - - - -
25 75 8 75 5 45 12 1.5 - - - - - -
32 9.0 9.5 6.5 6.5 35 | 135 | 105 8 5 12 9 11 8
40 13 85 | 135 9 10.5 6 17.5 13 12 75 16 1.5 15 10.5
50 11 115 | 115 12 8.5 9 15.5 16 10 10.5 14 14.5 13 13.5
63 135 | 145 14 15 11 12 18 19 125 | 135 | 165 | 175 | 155 | 165
80 17.5 18 18 18.5 15 155 | 22 | 225 | 165 17 | 205 | 21 195 | 20
100 21 24 | 215 | 245 | 185 | 215 | 255 | 285 | 20 23 24 27 23 26
Auto Switch Mounting Height (mm)
D-A70H D-J79W
D-A80H D-F7BAL
_ D-A73C D-F70V D-FoIV D-FOOW
Bore size | D-A7C1/A80 gj;gm B-IE;E;L R D.F7owy | D79 D-A79W D-A9CV | [ rocwv | D-FeBAL
(mm)
D-F70W
u u u u U u u u u
12 19.5 20.5 26.5 23 26 22 - - -
16 225 23.5 29.5 26 29 25 - - -
20 245 25.5 31.5 28 31 27 - - -
25 27.5 28.5 345 31 34 30 - - =
32 315 32,5 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 415 37.5 30.5 325 30
50 41 42 48 445 475 435 36.5 38.5 36
63 475 485 545 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 745 71 74 70 60 62 59.5
Auto Switch Mounting
Mount the auto switch as figure below.
012 to 925 032 to 6100
Auto switch mounting screw % Auto switch mounting screw % Watchmaker's
(M3 X 8¢) (M3 X 10¢) 2 > screw driver
25 &
‘ Lock screw
Auto switch spacer | &> £,
- I
I’
J
iz
Square nut Auto switch

mountlng nut

/\

O
<

1-445

e



Compact Cylinder/Standard: Double Acting Double Rod

How to Order

Series CQ2W

012, 016, 920, 925, 032, 940, 650, 063, 80, 6100

CQ2wW

CDQ2W

20

30

| 1 1]

20

30

D
[ 1 ]
D

A73

S

l [ o Number of
Thread Port auto switches
(232 to 2100) Auto switch =1 2
— | Re(PT) Without auto switsh ——= | 1
E G(PF) (Built-in magnet) n n
# Refer to table below for auto switch
model No. .
o Body option
—
\ With auto switch ® ¢ Action — Stanldard (Rod end femalethregd)
\ (Built-in magnet) Mounting ¢ 5T Doubie 35rg Cc With rubber bumper )
B |Through-hole (standard) L Foot M Rod end male thread
A | Both ends tapped F Flange ; C:)m;)in;tiogbof bt?dy optiofn (CM)ri]s zosslible.
ote ubber bumper for air-nyaro 1s
* Mounting brackets are shipped not assembled with the ® Stroke (mm) not available.
cylinder. Stvl m Refer to Standard stroke table T " tohes h b " dj
ee 1- ese auto switches have been change:
- y on p.1-447 Contact SMC or view www.smcworld.com
o ;:i‘;gi"ﬁ) FON=MON  FONV=MONV
- FOP=M9P  FOPV=M9IPV
Note ) Alhydro bore size: . FOB=M9B  FIBV=M9BV
Applicable Auto Switches
) “‘\\ Bore size s s | Electrical :_g Wiring Load voltage Re}'ilzmour;t(i)r:)g Dir:’;t mou:;i;g Lead wire (m)* Applicable
tyle| Special function 9o ol2to o 032to o 05 | 3|5 [None
12 12mm 40 | 40mm ent (Output) load
16 16mm 50 50mm Y2 pe b Perp. | Inline | Perp. | In-line | (&) | (L) |(@)|(N)
| 3 wire
) 20 | 20mm 63 | 63mm Euvneny| | BV | T | —— | A76H | A%V | A% | @ @ | — — | IC | —
L / 25 25mm 80 80mm § — | — [ 200V | A72 | A72H | — — ® |0 —|—
32 32mm 100/ 100mm S Grommet A73 | A73H | — — o 06— —
= 12v | 100V
% [ | — — A93V A93 o0 |—|— Rela
Piping ® 2 2| 2wire gy 212V <100V | ABO | ABOH | ASOV | A90 ® & —|—|C PLny
—— & 8 12v| — [amc| — | — [ — o |o]e[e]—
= Screw-in piping ComectorT'e viv|<oav|[asoc | — | — | — [o |e]e]|e@]
F With One-touch fitting ) DiagnosTe = Wi <
Note 2) B iz of I ith One-touch fit (2 colour) Grommet| 2 —_ — | AT9W - — — ® 0 |—|—|—
ote ore size of type wi ne-touch fitting: K _ — 7
232 to 063 3 wire 5V, 12V F7NV | F79 ® 0O IC
e Air-hydro is not available. (NPN) 12v — — |FNV | FN | @ @ — | —| —
h G 3 wire 5V, 12V F7PV F7P — — ® (@O|—| IC
Mounting Bracket Part No. — fommet| | (PNP) — | — |Fpv | For | @ |@|—|—
| Bore size F7BV | J79 — — ® & O|—|
J (mm) Foot (4 Flange . 2 wire 12v — | — |Fv | roB | @ [@]—[—
12 CQ-L012 CQ-F012 § Connector J79C — — — [ L IL AL
16 CQ-L016 | CQ-Fo16 & g| dwre | MU FTNWVIFTOW | — | — | @ @0-]C |,
20 CQ-L020 | CQ-F020 | Diagnostic > |[_(NPN) \1/21\2/\/ — | — |[FeNwv|FoNnw | @ |@ [O|—| — |p(c
25 CQ-L025 | CQ-F025 2| (2colou) 3o . — |FPW | — | — | @ |® 8 —|©
32 CQ-L032 | CQ-F032 8 (PNP) TELT | S : : o
Ly €Q-L040 CQ-F040 Water resistant (2 colour) ot 2 wire e F7ﬂv 4 ;ZQBVAV Fgﬂv : l;gszv — | @|O|—
50 | CQ-L050 | CQ-FO50 e P ek - I
Wire — - — - -
63 CQ-L063 | CQ-F083 —h tmer : 5V, 12v ic
- Disgnostic output (2 colour) ) — F79F — — ® 0| O —
~ 80 CQ-L080 CQ-F080 - - 4 wire
N Diagnostic output (NPN) . . F7LF o o e lel0o—| —
100 CQ-L100 CQ-F100 Latch (2 colour)
Note 4) When ordering foot type brackets, 2pcs. *Lead wire length ~ 0.5m-.--- — (Example) ABOC ~ 5m --eeeeevee Z (Example) AB0OCZ
should be ordered for each cylinder. Mo L (Example) ABOCL None:--:-- N (Example) ABOCN

Note 5) The parts included with each mounting

bracket are as follows.
Foot, Flange: Body mounting bolts.

1-446

* Solid state switches marked with a “O” are manufactured upon receipt of order.

Refer to p.1-447 for part No. of auto switch mounting brackets.

O

SVC



Compact Cylinder/Standard: Double Acting Double Rod Series CQZ W

JIS symbol
Double acting: Double rod

A\ Caution
| Snap Ring Installation/Removal |

(D For installation and removal, use an
appropriate pair of pliers (tool for installing
a C snap ring).

* Exercise caution even when using an
appropriate pair of pliers (tool for installing a C
snap ring), because of the possibility of the
snap ring becoming detached from the tip of
the pliers (tool for installing a C snap ring) and
flying away, which could injure humans or
damage the peripheral equipment.

After installing the snap ring, make sure that it
is placed securely in the ring groove before

supplying air.
| Mounting

(D When removing a load, be sure to secure the

wrench flats of the piston rod on the load side.

@ If this is done without securing the piston rod
on the load side, be aware that the coupled
(screwed-in) portion of the piston rod could
become loosened.

Style

Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Mounting Through hole (Standard) | @ [ ) [ [ [ [ [ J [ [ o
Bothends tapped| @ | @ [ (] [ ( [ ] [ J [ [ J
.% Built-in magnet ® & 6 o o o o o o o

1
§ ~ |Screw-instyle| M5 | M5 | M5 | M5 w | s | 1a | 1a | a8 | a8

2 | Piping 18
& Onetouchfiing] — | — | — | — |06/4®| 06/4 | 08/6 | 08/6 | — | —
Rod end male thread ®  ©o | © ® & o | o o o o
With rubber bumper e o | o ® e o o o o o
| Throughhole (Standerd) | — | — | @ [ [ ( [ o [ ] [ J

Mounting

° Bothendstapped| — | — | @ ( [ (] [ [ J o [ J
E>‘ Built-in magnet — | — | @® ® o o | o o o o

1 1
'32 Piping [Screw-instyle| — | — M5 | M5 :V}g( ) 1/8 | 1/4 | 1/4 | 3/8 | 3/8
Rodendmalethread | — | — | @ | @ | @ | @ | ©@ | © O | ©

Note 1) Without auto switch, 5stroke: M5
Note 2) Built-in fitting: Dimensions of 832, 5stroke are same as cylinder tube with 10 stroke.

Specifications

Style Pneumatic (Non-lube) Air hydro
Fluid Air Turbine oil ®
Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Ambient and fluid
temperature

Without auto switch: —10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper

None

|

Rod end thread

Female thread

Tolerance of rod end thread

JIS class 2

Tolerance of stroke length

+1.0
0

Mounting Through-hole
Piston speed 50 to 500mm/s 5 to 50mm/s
m Note 3) Refer cautions on use.
Minimum Operating Pressure Unit: MPa

Bore size (mm) 12 16 20 25 32 40 50 63 80 100
Pneumatic (Non-lube) | 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05
Air-hydro - - 0.18 | 0.18 | 0.18 | 0.10 | 0.10 | 0.10 | 0.10 | 0.10

Allowable Kinetic Energy Unit: J

Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Standard 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
With rubber bumper 0.043 | 0075 | 0.11 | 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 454

Standard Stroke
Pneumatic (Non-lube) (mm) Air-hydro (mm)
Bore size Standard stroke Bore size Standard stroke
12,16 5,10, 15, 20, 25, 30 20, 25 5,10, 15, 20, 25, 30,
5 10 15 20 25. 30 32,40 35, 40, 45, 50
20,25 35, 40, 45, 50 50, 63 10, 15, 20, 25, 30,
5,10, 15, 20, 25, 30, 80, 100 35, 40, 45, 50, 75, 100
Hay 35, 40, 50, 75, 100
50, 63 10, 15, 20, 25, 30,
80, 100 35, 40, 45, 50, 75, 100

Auto Switch Mounting Bracket Part No.

Bore size | part No. Note .Appllcable swn(.:h :
(mm) Reed switch Solid state switch
12. 16  Switch mounting screw D-F70, J79
’ D-F700V
20,25 | BG (M3X89) D-A7, A8 -
’ ¢ Square nut D-J79C
, - D-A73C, A8BOC D-F700W, J79W
32, 40 * Switch mounting screw D-A700H, ASOH D-E70WV
50,63 | po2 | (M3X109 D-A79W D-F7BA
80. 100 » Switch spacer D-F70OF
’ * Switch mounting nut D-F7NT

O

1-447

/

/



g

N

Series CQ2W

Theoretical Force Unit: N Weight Unit: g
Bore size Operating pressure(MPa) Bore size Cylinder stroke(mm)
(mm) 0.3 0.5 0.7 (mm) 5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100
» 2 12 42 |49 |56 |63 |70 |77 | - | - | - | - | - | -
2 s 59 16 59 |68 | 77 |86 | 95 |104] — | - | - | - | - | -
16 45 75 106 20 89 | 104 | 119 | 134 | 149 | 164 | 179 | 194 | 209 | 224 | - | —
20 71 118 165 25 119 | 136 | 153 | 170 | 187 | 204 | 221 | 238 | 255 | 272 | — | —
25 113 189 264 32 192 | 220 | 244 | 268 | 292 | 316 | 340 | 364 | 388 | 412 | 532 | 652
o1 > 22 40 292 | 323 | 354 | 385 | 416 | 447 | 478 | 509 | 540 | 571 | 726 | 881
B 8 30 50 - | 528 | 573 | 618 | 663 | 708 | 753 | 798 | 843 | 888 | 1113 | 1338
40 317 528 739 63 — | 676|714 | 753 | 792 | 831 | 870 | 909 | 948 | 987 | 1182 | 1377
50 495 825 1150 80 — | 1241 | 1325 | 1409 | 1493 | 1577 | 1661 | 1745 | 1829 | 1913 | 2333 | 2753
63 841 1400 1960 100 — | 2106 | 2225 | 2344 | 2463 | 2582 | 2701 | 2820 | 2939 | 3058 | 3653 | 4248
80 1360 2270 3170
100 2140 3570 5000 Option Weights Unit: g
Bore size (mm) |12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 |100
Both ends tapped 2 2 6 6 6 6 | 6 | 19|45 | 45
Rodend |Maetread] 3 | 6 | 12 | 24 | 52 | 54 | 106 | 106 | 240 | 350
malethread| Nut | 2 | 4 | 8 |16 |34 | 34 | 64 | 64 | 98 | 232
Rubber bumper 0 0|-2|-2]|-3]|-7|-12|-20|-34|-57
One-touch fitting - -] -] =|12|12|2t|21| - | -
Foot (including bolt)| 57 | 71 |170|195|159 | 171|267 | 349|735 [1117
Mou nting Bolt for CQ2WB Flange (including bolt) | 57 | 69 | 139|161 | 180|214 | 373|559 | 1056|1365
Calculation example: CQ2WF32-20DCM
Special long t?olt forlthrough-ho.le mounting is available as option. « Gylinder weight: CQ2WB32-20D -
How to Order: Specify the required bolts « Option weight: Both ends tapped
Example) Bolt M3 X 35 ¢ 4pcs. Rod end nut
Ve Mounting bolt With rubber bumper
— Flange
<
D
Model C D | Mounting bolt Model C D | Mounting bolt Model (o} D | Mounting bolt
CQ2WB12-5D 35 | M3X35¢ CQ2WB32-5D 35 | M5X35¢ CQ2WB63-10D 55 | M8X55¢
-10D 40 X40¢ -10D 40 X40¢ -15D 60 X 60 ¢
5D | o, | 45 X45¢ -15D 45 X45¢ -20D 65 X65¢
-20D : 50 X50¢ -20D 50 X50¢ -25D 70 X70¢
-25D 55 X55¢ -25D 55 X55¢ -30D 75 X75¢
-30D 60 X 60¢ -30D | oo 60 X 60¢ -35D | 135 | 80 X 80¢
CQ2WB16-5D 35 | M3X35¢ -35D : 65 X65¢ -40D 85 X 85 ¢
-10D 40 X40¢ -40D 70 X70¢ -45D 90 X 90¢
15D | . | 45 X 45 ¢ -45D 75 X75¢ -50D 95 X 95 ¢
-20D : 50 X50¢ -50D 80 X80¢ -75D 130 X130¢
-25D 55 X 55 ¢ -75D 115 X115¢ -100D 155 X 155 ¢
-30D 60 X 60 ¢ -100D 140 X140 ¢ CQ2wB80-10D 60 | M10 X 60 ¢
CQ2WB20-5D 30 X30¢ CQ2WB40-5D 45 | M5X45¢ -15D 65 X 65 ¢
-10D 35 X35¢ -10D 50 X50¢ -20D 70 X70¢
-15D 40 X40¢ -15D 55 X55¢ -25D 75 X75¢
-20D 45 X45¢ -20D 60 X 60 ¢ -30D 80 X 80¢
-25D 6 50 X50¢ -25D 65 X 65 ¢ -35D | 125 | 85 X 85¢
-30D 55 X 55¢ -30D - 70 X70¢ -40D 90 X 90¢
-35D 60 X 60 ¢ -35D 75 X75¢ -45D 95 X95¢
-40D 65 X 65 ¢ -40D 80 X80¢ -50D 100 X100 ¢
-45D 70 X70¢ -45D 85 X85¢ -75D 135 X135¢
-50D 75 X75¢ -50D 90 X90¢ -100D 160 X 160 ¢
CQ2WB25-5D 35 | M5X35¢ -75D 125 X125¢ CQ2WB100-10D 70 | M10X70¢
-10D 40 X40¢ -100D 150 X150 ¢ -15D 75 X75¢
-15D 45 X45¢ CQ2wB50-10D 55 | M6 X55¢ -20D 80 X 80¢
-20D 50 X50¢ -15D 60 X 60 ¢ -25D 85 X 85¢
-25D 8 55 X 55 ¢ -20D 65 X 65 ¢ -30D 90 X 90¢
-30D 60 X 60¢ -25D 70 X70¢ -35D | 13 95 X95¢
-35D 65 X 65 ¢ -30D 75 X75¢ -40D 100 X100 ¢
-40D 70 X70¢ -35D | 12,5 |80 X80¢ -45D 105 X 105¢
-45D 75 X75¢ -40D 85 X85¢ -50D 110 X110¢
-50D 80 X80¢ -45D 90 X90¢ -75D 145 X 145¢
-50D 95 X95¢ -100D 170 X170 ¢
-75D 130 X130¢
-100D 155 X 155¢
- 7
1-448 & S\VC



Compact Cylinder/Standard: Double Acting Double Rod Series CQZ W

Construction

Standard With rubber bumper

Component Parts

No. Description Material Note
(D |Cylinder tube Aluminum alloy Hard anodized
@ |Piston Aluminum alloy Chromated
. Stainless steel 012 10 925
@ |Piston rod A Carbon steel 232 to 8100, Hard chromated
N Stainless steel 012 to 925
@ |Piston rod B Carbon steel 232 to @100, Hard chrome plated
® |Collar Aluminum bearing alloy 212 to 940, Anodized
Aluminum alloy casting | 850 to 8100, Chromated, plated
® |Snap ring Carbon tool steel Phosphate coating
(7 |Bushing Lead bronze casting For @50 or larger
(® |Rod end nut Carbon steel Nickel plated
® |Bumper Urethane
(0 |One-touch fitting 232 to 963
@*Rod seal NBR
1| Piston seal NBR
3| Tube gasket NBR
(9 | Piston gasket NBR

Replacement Parts: Seal Kits (Pneumatic)

Bore size (mm) Kit No. Contains

12 CQ2WB12-PS Replacements Parts: Seal Kits (Air-hydro)
16 CQ2WB16-PS Bore size (mm) Kit No. Contains
20 CQ2WB20-PS 20 CQ2WBH20-PS
25 CQ2WB25-PS 25 CQ2WBH25-PS
32 CQ2WB32-PS Kits include items (0, (2 and @3 32 CQ2WBH32-PS
40 CQ2WB40-PS from the table above. 40 CQ2WBH40-PS Kits include items @9, 2 and 43
50 CQ2WB50-PS 50 CQ2WBH50-PS | from the table above.
63 CQ2WB63-PS 63 CQ2WBH63-PS
80 CQ2WB80-PS 80 CQ2WBH80-PS

100 CQ2WB100-PS 100 CQ2WBH100-PS

= Seal kits consist of items @, 12 and (3 contained in one kit, and can be ordered
using the kit number for each respective tube bore size.

Copper Free

20—CQ2WB| Boresize |~ Stroke |D (C) (M) Specifications
T l_‘ Action Double acting double rod
Copper free 812, 016, 020, 625, 832, 040, 250 Bore size 012, 016, 020, 025, 032, 040, 050, 063, 880, 100
263, 080, 2100 Proof pressure 1.5MPa
To eliminate influences of copper ions or halogen ions during Max. operating press. 1.0MPa
CRT manufacturing processes, copper and fluorine materials Rubber bumper None
are not used as component parts. Piping Screw-in piping
Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Attachable
% SMC 1-449



Series CDQ2
Auto Switch Specifications

* Refer to p.6-15 for details of auto switch.

L)

-

o b e o) Minimum Strokes for Auto Switch Mounting (mm)
“ /" - B -
A D-A7CH
D-A70 g
= Nmberof oy | o-Agg D-ae0 iy
¥ H q - -
el auto | j7c |D-A73C |DFTOWV 5" 179" | b a70w |D-F7BAL | D-F7LF | D-FoN
switches D-A80C |D-FICIWV | o
D-FOIV | p.A9CV D-FOB D-F79F
How to Order g D-F9P D-FO9BAL
Refer to p.1-446 for How to Ord i D-FSCW
elerto p.1-446 forHow to rder. 1 5 5 10 15 15 20 25 10
2 5 10 15 15 20 20 25 10
Weight Unit: g Option Weights Unit: g
Bore Cylinder stroke (mm) Bore size (mm) 12 |16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 |100
(mm) 5 (10| 15|20 | 25| 30| 35|40 |45 | 50 | 75 | 100 Both end tapped 1 1 3 3 6 6 6 | 19 | 45 | 45
12 55 |63 |71 |79 |87 |95 | — - | = - - - Rod end Male thread| 3 6 |12 |24 | 52 | 54 106|106 | 240 | 350
16 | 88|99 [110]121/132|143| — | — | — | = | = | = malethread | Nut | 2 | 4 | 8 | 16 | 34 | 34 | 64 | 64 | 98 |232
20 [135|152|169|186 |203 | 220|237 254 |271|288| — - Rubber bumper 0 0|-2|-2|-3|-7|-12|-19|-34|-54
25 [182|199|216|233|250 | 267|284 |301|318|335| — — One-touch fitting — - — — |12 |12 |21 |21 | — =
32 |247|271|295|319|343|367|391|415|439|463|487 | 511 Foot (including bolt)| 52 | 65 | 153 177|159 | 171|267 | 349|735 1117
40 [370|401 /432|463 |494 | 525|556 | 587|618 | 649 680|711 Flange (including bolt) | 54 | 67 | 131|153 180|214 | 373|559 |1056|1365
— 50 — |647|692|737|782|827|872|917 | 962 1007|1052 | 1097 Calculation example: CDQ2WF32-20DCM  If auto switches are to be installed,
63 | — |833|872|911|950|989|1028|1067|1106 |1145|1184|1223 + Cylinder weight: CDQ2WB32-20D-—- 319g  the weight that corresponds to the
* Option weight: Both ends tapped - 6g humber of auto switches and
) 80 | — |1500 1584|1668 | 1752|1836 1920|2004 |2088 | 2172|2256 | 2340 Rod end male thread . 86g  Mounting brackets to be used
100 | — |2501|2620|2739 |2858| 2977|3096 | 3215|3334 | 3453|3572 | 3691 With rubber bumper.... —3g  Must be added.
. . . Front flange -------c-eveo- 180
Weight/Auto Switch Mounting Bracket s 5883
Part No. Bore size | Weight (g)
BQ-1 012 to 925 15
BQ-2 232 to 100 1.5
Construction
BN ® OO Q7 @O ®
VvVl /s, T [l Component Parts
) Vo | i L Y No.| Description Material Note
/ '\‘ / } / | f (1 |Cylinder tube Aluminum alloy Hard anodized
S \ - @ |Piston Aluminum alloy Chromated
L \ Stainless steel 212 to 925
1 3 H
‘\ @ |Piston rod A Carbon steel 232 to @100, Hard chrome plated
; Stainless steel 212 to 925
_] — - — — @ |Piston rod B Carbon steel 232 to @100, Hard chrome plated
- ® |col Aluminum bearing alloy 212 to @40, Anodized
oflar Aluminum alloy casting| @50 to @100, Chromated
X ® |Snap ring Carbon tool steel Phosphate coating
— — (@ |Bushing Lead bronze casting For @50 or larger
™ (® [Magnet — —
(©*|Rod seal NBR
| 10*| Piston seal NBR
Y. @*| Tube gasket NBR
Auto switch @ |Piston gasket NBR
Replacement Parts: Seal Kits (Pneumatic) Replacement Parts: Seal Kits (Air-hydro)
Bore size (mm) Kit No. Contents Bore size (mm) Kit No. Contents
12 CQ2WB12-PS 20 CQ2WBH20-PS
16 CQ2WB16-PS 25 CQ2WBH25-PS
20 CQ2WB20-PS 32 CQ2WBH32-PS
~ 25 CQ2WB25-PS 40 CQawBH40-Ps |  Kits include items ), 10 and @
N e i i @) from the table above.
32 caawBaz-ps | Kitsinclude items ®, 10 and 1 50 CQ2WBH50-PS
| from the table above.
40 CQ2WB40-PS 63 CQ2WBH63-PS
50 CQ2WB50-PS 80 CQ2WBH80-PS
63 CQ2WB63-PS 100 CQ2WBH100-PS
80 CQ2WB80-PS * Seal kits consist of items (9, 10 and @) contained in one kit, and can be ordered using
100 CQ2WB100-PS the kit number for each respective tube bore size.

* Seal kits consist of items (9, 0 and () contained in one kit, and can be ordered using

the kit number for each respective tube bore size.

1-450

O

SVC



Compact Cylinder/Standard: Double Acting Double Rod Series CDQZ W

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through-hole mounting is available as option. B )
i . Mounting bolt
How to Order: Specify the required bolts.

Example) Bolt M3 X 40 ¢ 4pcs. |

LC.

D .
Model C D Mounting bolt Model C D Mounting bolt Model C D Mounting bolt
CDQ2wB12-5DC 40 M3 X 40¢ CDQ2WB32-5D 45 M5 X 45 ¢ CDQ2wB63-10D 65 M8 X 65 ¢
-10DC 45 X45¢ -10D 50 X50¢ -15D 70 X70¢
-15DC 50 X50¢ -15D 55 X55¢ -20D 75 X75¢
200c| 61 55 X 55 ¢ 20D 60 X60¢ 25D 80 X80¢
-25DC 60 X60¢ -25D 65 X65¢ -30D 85 X85¢
-30DC 65 X65¢ -30D 6.5 70 X70¢ -35D 135 90 X90¢
CDQ2WB16-5D 45 M3 X 45¢ -35D ' 75 X75¢ -40D 95 X95¢
-10D 50 X50¢ -40D 80 X80¢ -45D 100 X100¢
-15D 55 X55¢ -45D 85 X85¢ -50D 105 X105¢
200 | 7° 60 X60¢ -50D 90 X90¢ -75D 130 X130¢
-25D 65 X65¢ -75D 115 X115¢ -100D 155 X155¢
-30D 70 X70¢ -100D 140 X140¢ CDQ2wB80-10D 70 M10X70¢
CDQ2wB20-5D 45 M5 X 45 ¢ CDQ2WB40-5D 55 M5 X 55¢ -15D 75 X75¢
-10D 50 X50¢ -10D 60 X 60¢ -20D 80 X80¢
-15D 55 X55¢ -15D 65 X65¢ -25D 85 X85¢
-20D 60 X 60¢ -20D 70 X70¢ -30D 90 X90¢
-25D 9 65 X65¢ -25D 75 X75¢ -35D 125 95 X95¢
-30D 70 X70¢ -30D 7 80 X80¢ -40D 100 X100 ¢
-35D 75 X75¢ -35D 85 X85¢ -45D 105 X105¢
-40D 80 X80¢ -40D 90 X90¢ -50D 110 X110¢
-45D 85 X85¢ -45D 95 X95¢ -75D 135 X135¢
-50D 90 X90¢ -50D 100 X100¢ -100D 160 X160 ¢
CDQ2WB25-5D 45 M5 X 45 ¢ -75D 125 X 125¢ CDQ2WB100-10D 80 | M10X80¢
-10D 50 X50¢ -100D 150 X150¢ -15D 85 X85¢
-15D 55 X55¢ CDQ2wB50-10D 65 M6 X 65 ¢ -20D 90 X90¢
-20D 60 X60¢ -15D 70 X70¢ -25D0 95 X95¢
-25D 8 65 X65¢ -20D 75 X75¢ -30D 100 X100¢
-30D 70 X70¢ -25D 80 X80¢ -35D0 13 105 X105¢
-35D 75 X75¢ -30D 85 X85¢ -40D 110 X110¢
-40D 80 X80¢ -35D 12.5 90 X90¢ -45D 115 X115¢
-45D 85 X85¢ -40D 95 X95¢ -50D 120 X120¢
-50D 90 X90¢ -45D 100 X100¢ -75D 145 X145¢
-50D 105 X105¢ -100D 170 X170¢

-75D 130 X130¢
-100D 155 X155¢

1-451

O
<



Series CQ2W/CDQ2W

Auto Switch Mounting Position (at Stroke End) and Mounting Height

.
\ D-A70] D-A7CH, D-A80H D-A73C D-A79W
\‘ D-A80 D-F70, D-J79 D-A80C D-F70WV
% D-F70W, D-J79W D-J79C D-F70V
/ D-F70F, D-F7NTL
7 D-F7BAL
=y
212 to 925 .
232 to 5100
1=
AllTET s
T
N D-FOIV
D-FOOIWV
B
i —-)
e O
LA
Auto Switch Mounting Position (mm)
R —
_/’ Bore |D-A7CVA80 |oproc28C | pazow | p-F7OF | DASDH | D-FOO I p korwy
L D-F70, J79 D-A9CV | D-F9OIV
(mm) D-FTV. J79C D-J79W D-F9BAL
’ D-F70WV
Al B|A[B|[A]B|A[B[A]B|[A]B][A]SB
12 4.5 10 5 10.5 2 7.5 9 45| — | — | — | — | — | —
16 75 | 10.5 8 11 5 8 12 15 — ] = =] — | — | —
20 [ 75| 13 | 8 [185] 5 [105] 12 (176 — | — | — | — | — | —
25 7.5 13 8 18.5 5 105 12 |176 | — | — | — | — | — | —
32 9 185 | 95 14 6.5 11 135 | 18 8 125 | 12 | 165 | 11 15.5
. 40 13 19 135|195 | 105 | 16.5 | 17.5 | 23.5 12 18 16 22 15 21
™~ 50 11 | 215|115 | 22 8.5 19 | 155 | 26 10 | 205 | 14 | 245 | 13 | 235
\ 63 13.5 | 205 | 14 21 11 18 18 25 | 125 | 195|165 | 235 | 155 | 22.5
) 80 175 | 29 18 | 295 | 15 | 265 | 22 | 335|165 | 28 | 205 | 32 | 195 | 31
| 100 [ 21.0 [ 315 32 [185| 290 | 255 36 | 20 | 30.5| 24 | 345 | 23 | 335
/ . . .
- Auto Switch Mounting Height (mm)
DAGON DASBAL
a g D-A73C |D-F70V D-FOV | D-FOIW
Bore |D-ATLUABD |D-F7CI" D-FTCIE | pyenc |n 7y | D-979C | D-A79W | DASCV \o'comuy | copan
(mm)
D-F70W
U u U U U U U U U
12 19.5 20.5 26.5 23 26 22 — — —
16 22,5 23.5 29.5 26 29 25 — — —
™ 20 24.5 25.5 31.5 28 31 27 — — —
A 25 275 285 345 31 34 30 — — —
| 32 31.5 32.5 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 41.5 37.5 30.5 32.5 30
50 41 42 48 44.5 47.5 43.5 36.5 38.5 36
63 47.5 48.5 54.5 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 74.5 71 74 70 60 62 59.5

1-452 Z; SNC






Series CQ2W/CDQ2W
61 2 tO Q25 Without Auto Switch

.

3

J

— ~

Standard (Through-hole)/CQ2WB

2-M5

/(Port size)

Both ends tapped: CQ2WA

Ot thread

R

r—-

R

-

T

Width across flats K

Both ends tapped (mm)

2-H thread effective depth C

(Opposite side, too)

(Er‘r‘]’r;e) o1 |R
12 M4 7
16 M4 7
20 M6 10
25 M6 10
4-gN through

8-00 counter bore

/ o/ + + 1
il
%}_ o o, (5 - AN é_I N[ = w
Y A=
N
~ + ] +
\
) L B+Stroke L+Stroke
A+2 (Stroke) M Rod end male thread (mm)
E (‘?ﬁ;f) At|Ci|  Hi |Li| X
12 |532] 9 M5 14 1105
Rod end male thread 16 |57 |10 M6 155] 12
20 (63|12 M8 185 | 14
2_H; 25 |74|15| M10X 1.25 [225 |175
N — ; —
\ h
\ —r—4— — —
Y Fan VA
) 1 o o |
7 /L/ A\
Ci c
Rod end nut* =\ Rod end nut*
X
Li L1+Stroke
Ai1+2 (Stroke)
. N
| Standard (mm)
/" Bore (mm) Stroke range (mm)| A B C D E H | K L M N (0] Q Zz
12 51030 322 |252| 6 6 25 M3 32 5 3.5 [ 15.5| 3.5 |6.5Depth3.5| 10 -
16 510 30 33 | 26 8 8 29 M4 38 6 35 | 20 | 3.5 [6.5Depth35| 10 | 10
20 5to 50 35 | 26 7 10 | 36 M5 47 8 45 |255| 55 | 9Depth7 | 9.5 | 10
25 5to 50 39 | 29 | 12 | 12 | 40 M6 52 | 10 5 28 | 55 | 9Depth7 | 11 10
Note) Dimensions of model with rubber bumper are same as standard shown above.
* Refer to p.1-442 for rod end nut and mounting bracket.
~.

1-454

O
:



Compact Cylinder/Standard: Double Acting Double Rod SeriesCQZ W/ CD 02 W

Foot/CQ2WL

Special cap bolt
—_—

L B+Stroke

L+Stroke

I |

G

RS
LS+Stroke |
p———
A+2 (Stroke) .
Rod end male thread (mm)
Bore size
Rod end male thread Rod end nut* e Al | L
Rod end nut* , \ 12 |732| 24
‘\ = j 16 | 77 [255
—
- 3 20 83 |28.5
HHE - GH1F 25 94 | 325
(O . C
| L L1+Stroke
A1+2 (Stroke)
FOOt (mm)
Bore (mm) Stroke range(mm) | A B L LD | LG | LH | LS | LT | LX | LY | LZ X Y
12 51to 30 522(252(135| 45| 28 | 17 |132| 2 | 34 |295| 44 | 8 | 45
16 5to 30 53 | 26 |135| 45 |28 | 19 | 14 | 2 | 38 [335| 48 | 8 5
20 5to 50 55 | 26 |145|66 | 4 | 24 | 14 | 32| 48 | 42 | 62 | 9.2 | 5.8
25 5 to 50 59 | 29 | 15 |66 | 4 | 26 | 14 |32 | 52 | 46 | 66 |10.7| 5.8
Flange/CQ2WL
| LF |
| FT |
|_ L1 B+Stroke | L2+Stroke
A+2 (Stroke) |
Rod end male thread (mm)
Bore size
mm) | A1 | L8| L4
Rod end male thread 12 632 24 | 14
Rod end nut* | 1 Rod end nut* 16 67 |25.5|15.5
\ T ! / 20 73 | 285|185
; =~ 25 84 | 325|225
| p—
|
|
. . L4+Stroke
N A1+2 (Stroke) i
Flange (mm)
Bore (mm) Stroke range(mm) | A B FD | FT | FV | FX | FZ | 11 L2
12 5to 30 422|252 | 45 | 55| 25 | 45 | 55 |13.5| 3.5
16 5to 30 43 | 26 | 45 |55 | 30 | 45 | 55 |13.5]| 35
20 5to 50 45 | 26 |66 | 8 | 39 | 48 | 60 |145]| 45
25 5to 50 49 | 29 (66| 8 | 42 | 52 | 64 | 15 | 5

* Refer to p.1-442 for rod end nut and mounting brackets.

1-455



Series CQ2W/CDQ2W

61 2 to Q25 With Auto Switch

Auto switch

I

[\

Standard (Through-hole)/CDQ2WB

O1 thread

Both ends tapped: CDQ2WA

R

Both ends tapped (mm)

R

Z

77 7

(Er‘gr'r% o1 R
12 Ma | 7
16 Ma | 7
20 M6 | 10
25 M6 | 10

Lead wire minimum
bending radius 10

2 width across

2-H thread effective depth C
/ {Also back side)

2-M5 flats K o
/(Portside) / ' /_ ,
o - - - - o 72\ W) A
@ / | & NS K
~ X
N\ @ @ | S \ 2-6N through
\ ‘ 4-a0 counter bore
Q Q '| K
| - -
- L | B+stroke L+stroke O M
L
—L A+2 stroke ] / E
Rod end male thread
BN Rod end nut” Rod end male thread (mm)
2-H1
\ ('?T‘]’rf) Ar|Ci| Hi L] X
/ (] 12 [604]| 9 | M5 |14 [105
S 1 11 1 1 16 |67[10] Ms [155[12
= - 4 4| 20 [75|12] M8 |[185]14
/—4 ./ 25 84 | 15 | M0X1.25 | 22.5] 17.5
Rod end nut *
T - G1 ‘—01'-—-
Auto switch shown above is D-A73 and X X
D-A80. I — |
Refer to p.1-444 for auto switch mounting L1 = L1+stroke
— position and mounting height. A142 stroke
~ A
) Standard (mm)
] / Bore (mm) |[Strokerangemm)] A | B [ ¢ [ D | E H K| L|M|N o Q| s |u|yv
12 510 30 394324 | 6 6 32 M3 5 3.5 | 22 | 3.5 |6.5Depth3.5/10.5|35.5|19.5| 25
16 510 30 43 | 36 8 8 38 M4 6 3.5 | 28 | 3.5 |6.5Depth3.5| 10 | 41.5|22.5| 29
20 510 50 47 | 38 7 10 | 47 M5 8 45 | 36 | 5.5 | 9Depth7 |10.5| 48 [245| 36
25 5to 50 49 | 39 12 12 | 52 M6 10 5 40 | 5.5 | 9Depth7 | 11 [53.5|27.5| 40
Note 1) Dimensions of model with rubber bumper are same as standard shown above.
«Refer to p.1-442 for rod end nut and optional brackets.
~.

1-456

O



Compact Cylinder/Standard: Double Acting Double Rod Series CD 02 W

Foot/CDQ2WL

L
Special cap bolt I-_ |

N

N,

B+5troke

11

Fan
o

. L+Stroke _

Lx

-

- ==/
= [

LS+ Stroke
A+2 (Stroke)

Rod end male thread

Rod end nut*

Rod end nut*

/
/.

ol o

©

i

H ~EH

L1 3

0 B

L1+ Stroke

Rod end male thread (mm)

L A1+2 (Stroke)
Foot (mm)
Bore (mm) |Stroke range (mm)| A B L |[LD|LG|LH|LS|LT |LX|LY|LZ| X Y
12 5t030 |59.4|32.4|135|45 |28 | 17 |204| 2 | 34 |295| 44 | 8 | 45
16 510 30 63 | 36 |135| 45|28 | 19 | 24 | 2 38 |33.5| 48 8 5
20 5 to 50 67 | 38 [145]66 | 4 | 24 | 26 | 32| 48 | 42 | 62 | 92|58
25 5to 50 69 | 39 | 156 |66 | 4 |26 | 24 |32 | 52 | 46 | 66 |10.7| 5.8
Flange/CDQ2WF
2-0FD
: g % e (lj,_ ]
Lo o{-- G S (@ =i
_ |
_FT
L1, B+Stroke 1 2+Stroke [
A+2 (Stroke)
Rod end nut* f Rod end nut*
Rod end male thread R s
L4+Stroke
A1+2 (Stroke)
Flange (mm)
Bore (mm) [Stroke range (mm)| A B |FD | FT | FV | FEX | FZ | L1 L2
12 5t030 |49.4|32.4| 45 |55| 25 | 45 | 55 [13.5]| 3.5
16 510 30 53 | 36 |45 |55| 30 | 45 | 55 [13.5]| 3.5
20 510 50 57 | 38 | 66| 8 | 39 | 48 | 60 |14.5| 4.5
25 5to 50 59 | 39 |66 | 8 | 42 | 52 | 64 | 15 5

«Refer to p.1-442 for rod end nut and optional brackets.

O
<

(Brr?rrr% A1 | L1
12 804 | 24
16 87 | 25.5
20 95 | 28,5
25 104 | 32.5

Rod end male thread (mm)

(?T?r;?) A1 | L3 | L4
12 704 24 | 14
16 77 |255]15.5
20 85 | 285|185
25 94 1325|225

1-457



Series CQ2W/CDQ2W
Q32 to QSO With Auto Switch

For those without auto switches, refer to the dimension chart
because their A, B and P dimensions will differ.

. Standard (Through-hole)/CQ2WB, CDQ2WB Both ends tapped(mm)
Bore
O1 R
Both ends tapped: CQ2WA (mm)
B Orthread R_ R_ 32 M6 10
i 40 M6 10
o 50 M8 14
ML L
e | B s AR
2-H thread effective depth C
(Opposite side, too) op
U  4-0N through . /(Port size_)-_'
8-00 counter bore a f Q
—— 2 wiath across flats K
/ \
Leadvite | T—aSHH o B £ - Q
minimum o _] = s[ \j T =
bending radius 10
Auto switch
D-A7, A8 L+
L B 1 stroke |
s A+stroke
AN Rod end male thread Rod end male thread (mm)
\ Rod end nut Rod end nut e Without auto switch With auto switch
2-H1 scaicoereer Y A A
AN
. - (MM) o6 oress] 550 75 | 80 1o 100|505t or less] 55 to 75 [80 10 100
- : ) O LingE 32 | 875+ | 4705 | 1975 | 975 | 4725 | 1975
| ! stroke i i stroke i i
. Auto switch L Ct | 1 Ct 97+ 107+
D-A9, F9 | L X 40 stroke sk A stroke 2 Al
L1 L1+stroke
— 107.5 117.5
Alsstroke - 50 ok’ | 1925 | 217.5 | 1059F | 1925 | 2175
Built-in One-touch fitting/e32 to 50 Bore | o o ] .
L (mm) 1 1 1
\\ h 32 20.5 M14 X 1.5 285 | 235
) (Plping tube 0.0 40 | 205 Mi4 X 15 285 | 235
/ 50 26 M18 X 1.5 33.5 28.5
- 4//
Built-in One-touch fitting (mm)
Bore size|Without auto switch| With auto switch Z1 P
(mm) v Wi v Wi
32 38 60.5 36.5 59 13 6
Auto switch shown above is D-A73 and D-A80. Refer to p.1-444 for auto 40 = L G 200 12 :
™ switch mounting position and mounting height. 50 50 82 50 82 16 8
) Standard (mm)
/ Without auto switch With auto switch
B Bore (mm) A B P A B P
50st. or less| 55to 75 | 80to 100 |50st. or less| 55to 75 | 80 to 100 5st. 10to 100 |50st. or less| 55to 75 | 80to 100 [50st. orless| 55to 75 | 80to 100 |5 to 100st.
44,5+ 30.5+ 54.5+ 40.5+
32 stroke 129.5 154.5 stroke 115.5 140.5 M5 1/8 stroke 129.5 154.5 stroke 115.5 140.5 1/8
54+ 40+ 64+ 50+
40 STae 139 164 Siroke 125 150 1/8 1/8 SiToke 139 164 SiToke 125 150 18
56.5+ 40.5+ 66.5+ 50.5+
50 stroke 1415 166.5 stroke 125.5 150.5 1/4 1/4 stroke 141.5 166.5 stroke 125.5 150.5 1/4
~.
\\‘ Bore (mm) C|D|E H Il |J|K|L|[M|N (0] QS |U|Z Q Note) Dimensions of model with rubber bumper are
| 32 13|16 45| M8 |60 |4.5|14 | 7 |34 |5.5|9Depth7 125|585 |315 | 14 same as standard as shown above.
| * Refer to p.1-442 for rod end nut and optional
/ 40 13 |16 | 52 M8 69| 5 (14| 7 |40 (5.5|9Depth7| 14 |66 |35 | 14 brackets.
- 50 1520 (64| M10 (86| 7 |17 | 8 |50 |6.6|11Depth8| 14 |80 | 41 | 19
- V
1-458 & S\VC



Compact Cylinder/Standard: Double Acting Double Rod Series CD 02 W

Foot/CQ2WL, CDQ2WL L e Y L+Stroke _

£ 5
. i Y
ﬁ CT— iI |'
Spelial |, 1 I
cap bolt, X1yl YLX|[LG
| DA - i
L A+Stroke
Rod end nut — 1: Rod end nut Rod end male thread (mm)

Without auto switch| With auto switch
Bore A B

(mm) 505t T55t0 | 8010 | 50st. |55 t0 |80 to
orless| 75 | 100 [orless| 75 | 100

32 [ 1925 | 2175 e | 1925 | 2175 | 38.5
40 |lie | o | o7 |ie | 202 | 27 | 385

L1

] Ens L1+Stroke 50 [0+ 2125 | 2875 ['oens | 2125 [ 2875 | 435
. Al+Stroke -
Foot (mm)
Bore ST Without auto switch With auto switch
{nm) i) A B LS A B LS
50storless| 55t075 | 80to 100 [ 50storless| 55to75 | 80to 100 | 50storless| 551075 | 8010100 | 50storless| 55to75 | 80to 100 |50storless| 55t0 75 | 8010 100 | 50storless| 55075 | 80to 100
32 51050,75,100 | Stas | 1495 | 1745 | 305+ | 1155 | 1405 | 105+ | 995 | 1245 | 74521 1495 | 1745 | 2052 1155 [ 1405 | 245+ | 995 | 1245
40 51050,75,100 | sumre | 159 | 184 | 0% | 125 | 150 [ 24+ | 109 | 134 | Z4x | 159 | 184 | %% | 125 | 150 | 4 | 109 | 134
50 101 76.5 + 40.5 + 175+ 86.5 + 50.5 + 275+
050,75, 100 | cooxe | 1615 | 1865 | srore | 1255 | 150.5 | stroke | 1025 | 127.5 | choxe | 161.5 | 1865 | dpoke | 1255 | 1505 | stroxe | 1025 | 127.5
(mm)
Bore (mm) L|{LD|LG|LH|LT|LX|LY|LZ| X | Y
32 17 | 66| 4 | 30 |32 |57 |57 | 71 |[11.2] 58
40 17 | 66| 4 | 33 |32 |64 | 64 | 78 [11.2] 7
50 18| 9 | 5 |39 |32 |79 | 78| 95 [147] 8
Flange/CQ2WF, CDQ2WF e
-,#J.":.Elg- - | E——————
(o7 m S E—
= S i | - — = -
e ﬁfé§ I
S I\ . |
oy .| | B— |
| Jr—sta N R, | [ Fr J
L 111 B L2+Stroke
4-pLD i -
| Fx e L A+Stroke -
L FZ
Rod end nut I N Rod end nut
C—t -
—_— ;h Rod end male thread (mm)
_ | l B . Without auto switch | With auto switch
e —————————— [ I ore Al Al
] . ‘ (MM) 505 Tss10 [ 8010 505t [55 10 [80 10 2| =
— — orless| 75 | 100 |orless| 75 | 100
S ———— 32 |75+ | 1825 | 2075 |'9a+( 1825 | 2075 | 38.5 | 28.5
| La+Stroke _‘ 40 [0 [awes] o7 | Gige [ 19 [ 217 [385 285
. A1+Stroke S 50 |\ZS| 204 | 2275|135 +| 2025 | 2275 | 435|335
Flange (mm)
Without auto switch With auto switch
Bore Stroke range A B A B FDO | FT |FV |[FX | Fz | L1 | L2 | m
(mm) (mm)
50storless| 550 75 | 80 to 100 | S0storless| 551075 | 80to 100 |S0storless| 551075 | 80to 100 | S0storless| 55t0 75 | 80 to 100
32 51050,75,100 | %5 | 1305 | 1645 | 25 | 1155 | 1405 | S5: | 1395 | 1645 | 22¢ | 1155|1405 |55 | 8 | 48 | 56 | 65 | 17 | 7 | 34
40 51050,75,100 | ofi | 149 | 174 | 08 | 125 | 150 | gupe | 149 | 174 | 20| 125 | 150 |55 | 8 |54 [ 62 |72 |17 | 7 | 40
50 101050, 75,100 | %55 [ 1515 | 1765 | e | 1255 | 1505 | e | 1515 | 1765 | Se | 1255|1505 | 6.6 | 9 |67 | 76 | 89 | 18 | 8 | 50
«Refer to p.1-442 for rod end nut and optional brackets.
ZSMC 1-459



Series CQ2W/CDQ2W
663 tO 61 00 With Auto Switch

For those without auto switches, refer to the dimension
chart because their A and B dimensions will differ.

Both ends tapped: CQ2WA, CDQ2WA

Onthread |
\

Standard (Through-hole)/CQ2WB, CDQ2WB

2P
i,ﬂ( Port size)

Q

2 width across flats K

y

4

eD

T

'

X

g
4

B

L+Stroke

A+ Stroke

Q

2-
.;(Pon size}

P

Q

Rod end nut

2-H1

1
Lead wire minimum

bending radius 10/

Ar + Stroke

Built-in One-touch fitting

2-P1

/(Piping' tube O.D)
I

)

ol

N7 N

— &

Auto switch /|

D-A7/A8

Both ends tapped (mm)

R R =
ore 01 R
. (mm)
= ; 63 Mi0 |18
80 M2 |22
ﬂ— 100 M2 |22
2-H thread effective depth C
/" {Also back cover)
=l /' 4-N through
I ] / /B-00 counter bore
I r
= ____ ____ _nale thread (mm)
Without auto switch | With auto switch
Bore Al Al
(mm) 50st. | 55to | 80 to | 50st. | 55 to | 80 to
orless| 75 100 |orless| 75 100
63 99| 194 | 219 | LS| 194 | 219
80 138 | 003 | 248 |18 | 203 | 248
100 1470+ | 2325 | 2575 15024 1 2325 | 257.5
3 (mm)
. ALito gwitch
D-AS/FS
Erairz ci H1 L] x
(mm)
63 26 | M18X 1.5 |33.5(28.5
80 32.5| M22X 1.5 |43.5(|35.5
100 32.5| M26 X 1.5 (43.5|35.5
v
Built-in One-touch fitting (mm)
- Bore |z 1Py | v Wy
N (mm)
: 63 [16] 8 [565|95

Auto switch shown above is D-A73 and D-A80. Refer to p.1-444 for auto switch mounting position and mounting height.

£

#Built-in One-touch fitting,
032, 5stroke: Dimensions
are same as 10stroke
cylinder tube.

Standard (mm)
Without auto switch With auto switch
Bore Stroke range A B A B
(mm) (mm) 50st. |55t0 |80to | 50st. [55to | 80to | 50st. [55t0 |80to | 50st. |55to0 |80 to
orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100
63 101050, 75, 100| 351, | 143 | 168 | g2t | 127 | 152 | 81 | 143 | 168 | $2r, | 127 | 152
80 101050, 75, 100| site | 156 | 181 | it | 136 | 161 | Stro | 156 | 181 | St | 136 | 161
100 1010 50, 75, 100| &3 | 169.5 | 1945 | 805+ | 1455 | 170.5 | 25 | 169.5 | 1945 | 205 | 1455 | 1705
(mm)
Bore (mm) C| D E H | J K L M N (0] P Q| S U | w
32 15 | 20 | 77 M10 103 | 7 17 8 60 9 | 14Depth 105 1/4 15.5| 93 | 475| 19
40 21 25 | 98 M16 132 | 6 22 | 10 | 77 | 11 [17.5Depth 135 3/8 18 | 1125 | 57.5| 26
50 27 | 30 | 117 M20 156 | 6.5 | 27 | 12 | 94 | 11 [17.5Depth 135 3/8 22 |1325| 67.5| 26
Q Note 1) Dimensions of model with rubber bumper are same as standard shown above.
* Refer to p.1-442 for rod end nut and optional brackets.

1-460

O

SVC



Compact Cylinder/Standard: Double Acting Double Rod Series CQZ W

Foot/CQ2WL, CDQ2WL
L s

L+Stroke

=n

=S

|
|
I ‘ 1 l
i o,
A
LH

Special _/’. | ‘[ [
cap bolt, LX 1Y Y[ X | |L | L Lx 4| 4-oLD
i o e N iz N
_ A+Stroke J
= — S
Bodendnun, ] Rod end nut Rod end male thread (mm)
: : Without auto switch| With auto switch
283 A1 A L1
(mM)  "5ost 155 10 [80 to | 50st |55 to 80 1o
orless| 75 | 100 |orless| 75 | 100
63  |dB5%e| 214 | 239 [sivie| 214 | 239 |435
I T 80 ool 243 | 268 |i%ie| 243 | 268 |53.5
' L]  AtsStroke | L1+Stroke _,‘ 100 |75 [252.5| 277 |Sise| 2525 | 2775 | 53.5
Foot (mm)
Without auto switch With auto switch
Bore Stroke range A B LS A B LS
(mm) (mm) 50st |55to | 80to | 50st |55to | 80to | 50st |55to [80to | 50st [55t0 [80to | 50st |55to |80to | 50st |55 to | 80 to
orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100
63 51050,75,100 | siore | 163 | 188 | gione | 127 | 152 | oiShe| 101 | 126 | 305, | 163 | 188 |2k, | 127 | 152 | 257, | 101 | 126
80 51050,75,100 | gt | 176 | 201 | b, | 136 | 161 [c2bro | 106 | 131 | o0 | 176 | 201 |GShr. | 136 | 161 |gohi.| 106 | 131
100 101050, 75,100 | 2045% 1 1895 | 2145 | 895% | 1455 | 1705 | E53% | 1115 | 1365 | St | 189.5 | 2145 | 205 | 1455 | 1705 | S83% | 1115 | 1365
mm
Bore (mm) L |LD|LG|LH|LT|LX]|LY|LZ X Y
63 18 | 11 5 46 | 3.2 | 95 |91.5/113|16.2| 9
80 20 | 13 7 59 | 45 | 118|114 | 140 |19.5| 11
100 22 | 13 7 71 6 | 137 136|162 | 23 |12.5

Flange/CQ2WF, CDQ2WF

_'__

=== Rod end it Rod end male thread (mm)
Without auto switch| With auto switch
Bore Ad Al 13| La

(mm)  [5ost [65 10 [80 to | 50st |55 to [80 1o
orless| 75 | 100 [orless| 75 | 100

63 |dike| 204 | 229 |25 204 | 209 [43.5 | 335
80 |8 233 | 258 |25 233 | 258 [53.5 | 435

__ . 100 | Ijlis]2425]267.5|4i05%|242.51267.5| 535 | 435
Flange (mm)
Without auto switch With auto switch
Bore Stroke range A B A B
(1) i) FD | FT |FV |[FX |FZ | L1 | L2 | M
50st |55to | 80to | 50st |55to | 80to | 50st [55t0 |80to | 50st |55to |80 to
orless| 75 100 |orless| 75 100 |orless| 75 100 |orless| 75 100
32 101050, 75,100 | o8k, | 153 | 178 |2t | 127 | 152 |8 | 153 | 178 |22, | 127 [ 152 | 9 | 9 |80 | 92 [108| 18 | 8 | 60
40 101050,75,100 | sotte | 166 | 191 | bty | 136 | 161 |ooke | 166 | 191 | O, 136 | 161 | 11 | 11 | 99 [116 [134 | 20 | 10 | 77
50 101050,75,100 | Se3 | 1795 | 2045 | 895+ | 1455 | 1705 | 45+ | 1705 | 2045 | J05% | 1455 (1705 | 11 | 11 |117 [ 136 | 154 | 22 | 12 | 94

SVC 1-461

O



Compact Cylinder/Standard: Single Acting Spring Return/Extend

Series CQ2

012, 616, 920, 025, 632, 640, 650

P v oo suicn
-

How to Order

CQ2(B|20 10

N el I
20 H10

CDQ2 A73

© Number of auto

Thread Port switches
(232 to @50) Auto switch = 2
— | Re(PT) Without auto switch -
E G(PF) (Built-in magnet) n n

*Refer to table below on auto switch model no.

— . . .
N With auto switch @ e Body option
Built-in magnet :
( anet) @ Action — Standard
Mounting ® S |[Single acting spring return F Rear boss mount
B |Through-hole (Standard) ~ F |  Front flange T |[Single acting spring extend M Rod end male thread
A |Both ends tapped G Rear flange *Combination of body option is possible. (Ex.) FM
L Foot D | Double clevis o (mm) -
- ) : ) ) These auto switches have been changed
*#Mounting brackets are shipped not assembled with the cylinder. .
m Refer to standard stroke table on p.1-463 Contact SMC or view www.smcworld.com
FON=MON FONV=MINV
l FOP=M9P FOPV=M9PV
Bore size 3 FOB=M9B FOBV=M9BV
N 2| 12mm Applicable Auto Switches
&ﬂ 5 » Load voltage Rail mounting Direct mouting Lead wire (m)* i
%zgi Style| Special function E|90Vi03|§ éang . . 212 to 6100 932 to 6100 05 | 3|5 [None Ap;l)g;:gble
: 3—232& eny || (Outpud Perp. [ in-line | Perp. [ indine | ©) | 1)@ [N
y mm .
7 20| 40mm ‘Eqsu,WV\ngiN) —| 58 | — | — |A76H | A%V | A% | ® |@ —|—|IC | —
50 | 50mm - Ves — | —— [ 200V | A72 | A72H | — — | ® e — | —
= Grommet ooy AT | A73H | — — | ®o @@ —|—
Piping @ & : || 12v — | — | A%V | A3 | @ |@—|—
— Screw-in piping § No| 2 wire 2av 5V,12V | <100v | A80 | A80H | Agov A90 e le—|—|Ic Rsll_ag,
F Built-in One touch fitting ) comector P V| — |asc| — | — | — |@ ejee —
Note 1) Built-in One-touch fitting: Bore size 832 to @50. No .12v| <24V | ABOC | — — — | ®e|®ejeje C
Diagnostic (2 colour)| Grommet |Ves — | — | AT9wW — — — e 0| —|—| —
[ Mounting Bracket Part No. ?vav’lrri .12y FINV | F79 | — | — | @ |@[O|—|IC
\ 12V — | — —|——
Bore size @ Double 3w 12 Fﬁv T L —
(mm) | Foot® | Flange | gioyige G| | 320 , F7PV | F7P ® @0|—|rc
I PNP — — FOPV | F9P —|—
12| CQ-L012 | CQ-FO12 | CQ-DO12 T : : S
S/ 16 | CQ-L016 | CQ-FO16 | CQ-D016 2 wire 12v — | — Tlreev | o8 | @ @ ——|
20 CQ-L020 | CQ-F020 | CQ-D020 $ — — —
= Connector J79C o o0 o
25 CQ-L025 | CQ-F025 | CQ-D025 3 3 wire EYREY FINWY | Frow | — — ®|®o|—|ic
32 CQ-L032 | CQ-F032 | CQ-D032 g Yes| (NPN) |24V[q2v | — — — [Fonwv| Fonw | @ | @O |—| — |Relay,
- - - Di ti PLC
40 CQ-L040 | CQ-F040 | CQ-D040 % (;3;23: 3 wire 5V, 12V — [ Epw | — — ® |®lo|—| Ic
50 CQ-L050 | CQ-F050 | CQ-D050 @ (PNP) — — |Fopwv| Forw | @ |@|O |—
Note 2) When ordering foot brackets, 2pcs. Grommet o wi 12V F7BWV | J79W |FoBWV | FoBW | @ |@|O |—| —
. wire
should be _ordered fo_r each Cy“nder'_ Water resistance (2 colour)| — F7BA — FOBA | — (@|O|—
- Note 3) The parts included with each mounting — 2 wira (VPN — — — — —
. . bracket are as follows. With timer wire (NPN) . F7NT @O c
Foot, flange/Body mounting bolts Diagnostc output (2 colour) 4 wire ' — | Fr9F | — — |®e |@|O]|—
Double clevis/Clevis pin, C shaped Latch with diagnostic NPN _ — | FLF | — — | o |@lO|=| —
snap ring for axis, Body mounting bolt output (2 colour) (NP
Note 4) Clevis pin and snap ring is included for #Lead wire length 0.5m----- — (Example) ABOC ~ 5m-eeeeeee Z (Example) A80CZ
double clevis. 3Meeeenenne L (Example) ABOCL None-:-- N (Example) ABOCN

#Solid state switches marked with "O" are manufactured upon receipt of order.

1-462

O



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Model
Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | s0
Through-hole (Standard)| @ [ ) [ ] o ] ] o
Mounting
Both ends tapped | @ [ J o o o (] (]
o | Built-in magnet o [ J ([ J ([ J (] (] ([
] %)
5 Screw-in style M5 M5 M5 M5 M5 1/8 1/4
2| Piping s
o With built-in One-touch fitting| ~ — - - - | 06/4@ | 06/4 | 28/6
Rod end male thread o [ J o (] ([ [ ([
Rear boss mount [ ) [ ) o o ] [ ] o

Note 1) Without auto switch: 5stroke type=M5

Specifications

Note 2) With built-in fitting: Dimensions of bore size @32 5stroke are same as 10stroke model.

Model Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper

None

Rod end thread

Female thread

JIS symbol
Single acting/ Single acting/ Tolerance of rod end thread JIS class 2
spring return spring extend 1o

Tolerance of stroke length

0

7AV/_\ Mounting

Through-hole

Piston speed

50 to 500mm/s

A . Standard Stroke unitt mm  Theoretical Force Unit: N
Caution Bore size (mm) Standard stroke : Bore size | Operating pressure (MPa)
. . Action
| Snap Ring Installation/Removal & 15 20 (i) 03 | 05 | 07
ey 5,10
(D For installation and removal, use an et 12 21 a4 66
appropriate pair of pliers (tool for installing a 50 10, 20 c 16 45 86 126
~ C snap ring). 2 20 79 142 205
(2) Exercise caution even when using an > 25 126 | 224 | 323
appropriate pair of pliers (tool for installing a . . &
C snap ring), because of the possibility of the Minimum Operatlng Pressure unit: MPa & 32 211 372 533
snap ring becoming detached from the tip of ) Single acting 40 338 589 841
the pliers (tool for installing a C snap ring) Bore size (MM) | (spring retum, Spring extend) o
and flying away, which could injure humans 12 0.95 535 928 | 1316
or damage the peripheral equipment. - 12 14 31 48
After installing the snap ring, make sure that 16 0.25 16 24 54 85
it is placed securely in the ring groove before 20 0.18 2
supplying air. . g 20 71 118 | 165
25 0.18 g 25 113 189 264
32 0.17 é 32 181 302 422
(7]
40 0.15 40 317 | 528 | 739
50 0.13 50 495 825 1150
Allowable Kinetic Energy Unit: J
Bore size (mm) 12 16 20 25 32 40 50 63 80 100
Kinetic energy 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
% SVC 1-463



Series CQ2

Weight Unit: g Option Weights Unit: g
™ . Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
Y Ation [ Boresize (mm) 5 10 15 20 Both ends tapped 2| 2|6 |6|6|6]6
| 12 29 35 - - Fod end male freag Ve tead] 1.5 1 3 [ 6 |12 [ 26 [ 27 | 63
) / c 16 42 51 - — Nut 1 2 4 8 17 | 17 | 32
7 3 20 63 76 - - Rear boss mount 0713 2 | 3 | 5| 7 | 13
= 25 87 101 - _ One-touch fitting -1 =1=1T66 |105
g_ 32 131 152 - — Foot 55 | 67 | 164 | 186 | 143 | 155 | 243
@ 40 206 229 - - Front flange (including bolt) 57 | 69 | 139|161 | 180 | 214 | 373
50 - 369 - 441 Rear flange (including bolt) 54 | 65 | 133|152 | 165 | 198 | 348
12 29 35 - - Double clevis (including pin, snap ring, bolt) | 32 | 39 | 88 | 123 | 151 | 196 | 393
5 16 43 50 - - _
§ 20 67 78 ~ ~ Calculation example: CQ2D32-10SM
i o5 92 104 _ _ @ Cylinder weight: CQ2B32-10S ---vrvevverereisirinniiiniiinins 152g
-g 32 141 158 - - @ Option weight: Both ends tapped --- - 69
@ 40 216 235 - - Rod end male thread - -43g
50 - 399 — 460 Double CleVis -+«teeveersureennieniiiiiiiniiens 151g
3529

Auto Switch Mounting Bracket Part No.

£

] Bore size Part No. Note .Applicable SW"?h i [Stainless steel mounting bolt set]
- N (mm) Reed switch Solid state switch The set of stainless steel mounting screws (with nuts)
¢ Switch mounting screw D-F70O, J79 described below is available and can be used
12,16 BQ-1 (M3 X 8¢) D-F7OOV depending on the operating environment.
20,25 « Square nut D-A7, A8 D-J79C (The spacers for auto switches must be ordered
« Switch mounting screw D-A73C, A80C D-F700W, J79W separately, as they are not included.)
M3 X 10¢) D-A70H, A80H D-F700WV BBA2: For D-A7/A8/F7/J7
32,40 BQ-2 « Switch spacer D-A79W D-F7BAL The stainless steel bolts described above are used
50 « Switch rr?ounting nut D-F700F when the D-F7BAL switch is shipped mounted on
D-F7NTL a cylinder. When the switches are shipped as individual
parts, the BBA2 set is included.
" Mounting Bolt for CQ2
) Special long bolt for through-hole mounting is available as option.
/ How to Order: Specify the required bolts
L Example) Bolt M3 X 25 ¢ 4 pes.
— Mounting bolt R T Mounting bolt
[EE—— s
| 1
kel - il
Spring return S — Spring extend LD
. Model C D Mounting bolt Model C D Mounting bolt
™ CQ2B12-5S 65 25 M3 X 25¢ CQ2B12-5T 65 25 M3 X 25¢
‘ -10S ) 30 X30¢ -10T ) 30 X30¢
) CQ2B16-5S 5 25 M3 X 25¢ CQ2B16-5T 5 25 M3 X 25¢
J -10S 30 X30¢ -10T 30 X30¢
CQ2B20-5S 75 25 M5 X 25 ¢ CQ2B20-5T 75 25 M5 X 25 ¢
-10S ) 30 X30¢ -10T ) 30 X30¢
CQ2B25-5S 30 M5 X 30 ¢ CQ2B25-5T 30 M5 X 30 ¢
-10S 9.5 35 X35¢ -10T 9.5 35 X35¢
CQ2B32-5S 9 30 M5 X 30¢ CQ2B32-5T 9 30 M5 X 30 ¢
-10S 35 X35¢ -10T 35 X35¢
CQ2B40-5S 75 35 M5 X 35 ¢ CQ2B40-5T 75 35 M5 X 35 ¢
-10S ) 40 X40¢ -10T ) 40 X40¢
™ CQ2B50-10S 45 M6 X 45¢ CQ2B50-10T 45 M6 X 45 ¢
205 | % [ &5 X 55 ¢ 20T | 5 [ &5 X 55 ¢
1-464 Z;SVC



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ W

Construction

Spring return Spring extend

Port size M5 X 0.8

Rear boss mount Rod end male thread With One-touch fitting

=5 B M=

Component Parts Component Parts

No. Description Material Note . )
(D |Cylinder turz)e Aluminum alloy Hard anodized No. Description Material Note
@*|Piston Aluminum alloy Chromated Piston seal NBR
Stainless steel 212 t0 825 (B) Rod seal NBR
. Carbon steel 232 to 850, Hard chrome plated Gasket NBR
@ |Piston rod Aluminum bearing alloy | 12 to 940, Anodized Rebl t Parts: Seal Kit
@ |Collar Aluminum alloy casting | 50, Chromated, coated eplacement Faris: Sea Ins
® Snap. ring Carbon tool steel Phosphate coating Series Bore size Kit No. Contents
(® |Bushing Lead bronze casting Used for only 250
(@ |Return spring Piano wire Zinc chromated 12 CQ2B12-S-PS
Bronze element Sintered metal BC In case of port size 16 CQ2B16-S-PS
(@ |Snap ring Carbon tool steel Rc(PT)1/8, 1/4 20 CQ2B20-S-PS Kits include items (),
10 |Plug with fixed orifice Alloy steel In case of port size M5 i
@ |Rod end nut Carbon steel Nickel plated Pneumatic 25 CQ2B25-5-PS 5 and (8 from the
(12 |Guide boss ring Aluminum alloy 220 to 850, Anodized 32 CQ2B32-5-PS table above.
(3 |One-touch fitting —_ 232 to @50 40 CQ2B40-5-PS
* Spring extend type (T type) piston and piston rod are combined. (Stainless steel) 50 CQ2B50-S-PS

* Seal kits consist of items (4, @5 and (6 contained in one kit, and can be ordered
using the order number for each respective tube bore size.

Copper Free
Specifications
— i S
20 CQZB’ Bore size H Stroke |3(M) Action Single acting single rod
TCopper free 012, o1 6, G20, 625, ¢32’ 940, 250 Cylinder bore size 212, 916, 820, 825, 832, 940, 050,
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
. . . . i Rubber bumper None
To eliminate influences of copper ions or halogen ions during Pioi —
. . . iping Screw-in piping
CRT manufacturing processes, copper and fluorine materials -
are not used as component parts Piston speed 50 to 500mm/s
P P ’ Mounting Through-hole
Auto switch Mountable

O
<

1-465



Series CDQ2

|

A

uto Switch Specifications

- Minimum Strokes for Auto Switch Mounting (mm)
D-A7CH
D-A70] D-A8OH D-F70W
D-F7CV | D-A80 D-F70 D-J79W
humberof | pyzec | D-A73C DT | D78 | D-a7ow | DF7BAL| DAY
auloswithes | p_poryy | D-A8OC |- B-Egg D-F79F .
D-A9CV D-FOOW D-FO9BAL
1 5 5 10 15 15 20 10
2 5 10 15 15 20 20 10
Weight Unit: g Option Weights Unit: g
- Bore size Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
i
(mm) 5 10 15 20 Both ends tapped 1 1 3 3 6 6 6
12 48 54 - = Rod end Male thread | 1.5 3 6 12 | 26 | 27 | 53
c 16 74 83 - - male thread | Nut 1 2 4 8 17 | 17 | 32
= 20 109 123 - - Rear boss mount 0.7 | 1.3 2 5 7 13
= 25 146 | 162 | - - One-touch fitting - =17 -1-=15%81%8 105
£ 32 190 | 211 - - Foot (including bolt) 49 | 62 | 147 | 169 | 143 | 155 | 243
2 40 282 305 - - Front flange (including bolt)| 54 | 67 | 131 | 153 | 180 | 214 | 373
~ 50 - 487 — 559 Rear flange (including bolt) | 52 63 | 124 | 144 | 165 | 198 | 348
\ 12 53 | 70 - - Double clevis 29 | 35 | 78 | 114 | 151 | 196 | 393
\ 16 73 82 ~ ~ (including pin, snap ring, bolt)
2 20 122 | 133 Calculation example) CDQ2D32-10SM £ auto switches are to be installed, the
g — — * Cylinder weight: CDQ2B32-10S --------- 211g  weight that corresponds to the number
o 25 160 175 — — * Option weight:  Both ends tapped ------- 6g of auto switches and mounting
g 32 200 | 217 _ _ Rod end male thread---- 439 brackets to be used must be added.
a5 Double clevis ........... 151g
(%) 40 292 311 - - 411g Weight/Auto Switch Mounting Bracket
50 — 517 — 578 Part No. |Applicable bore size| Weight g
BQ-1 | 012 to 925 1.5
BQ-2 | 032t0o 050 | 1.5
~~ Construction
) Spring return Spring extend
/ ®® aﬁ?.‘-' OIORONONGR DR @
L \[// //
e LAz
' i
L I
|
1 [
Port size M5 X 0.8
S
. Auto switch
_/ Component Parts Auto switch -
No. Description Material Note . ,
@ |Cylinder tube Aluminum alloy Hard anodized alon ISl Ll Note
(2 |Piston Aluminum alloy Chromated 12| Pistonseal |NBR
) Stainless steel 212 to 825 (3| Rod seal NBR
3 )
® |Piston rod Carbon steel 032 to 950, Hard chrome plated Gasket NBR
® Aluminum bearing alloy 212 to 940, Anodized .
Coliar Aluminum alloy casfing | 950, Chromated, coated Replacement Parts: Seal Kits
~. (® [Snap ring Carbon tool steel Phosphate coating . . .
N (® |Bushing Lead bronze casting Used for only @50 Series Bore size KitiNo: Contents
‘ — - - - -
(@ |Return spring Piano wire Zinc chromated
® |Bronze element | Sintered metal BC In case of port size 12 CQ2B12-PS
© [Snap ring Carbon tool steel 178, 1/4 16 CQ2B16-PS - _
{0 |Plug with fixed orifice | Lead bronze casting | In case of port size M5 20 CQ2B20-PS Kits include items (2,
@ |Magnet [— Pneumatic 25 CQ2B25-PS (@3 and (9 from the
* Piston and piston rod of spring extend type (T type) bore size 820 or larger are combined. 32 CQ2B32-PS table above.
(Stainless steel) 40 CQ2B40-PS
50 CQ2B50-PS

1-466

Q)

SN

+ Seal kit consist of item (2, 13 and 14 contained in one kit, and can be ordered using the
order number for each respective tube bore size.



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CDQZ

Mounting Bolt for CDQ2 with Auto Switch

Special long bolt for through hole mounting is

Spring return

Spring extend

available as option. Model C D Mountin ;
; . ) g bolt Model Cc D Mounting bolt
How to Order: Eszrﬂ%;?%giqﬂgeg 32'252' ocs CDQ2B12:5S [ | 35 | M3X35¢ CDQ2B12:5T [ . | 40 | M3X40¢
' -108| & 40 X 40 ¢ -10T ) 45 X 45¢
. CDQ2B16-5S 40 M3 X 40 ¢ CDQ2B16-5T 40 M3 X 40 ¢
Sp”ng retl{g_i Mounting bolt -10S & 45 X45¢ -10T & 45 X45¢
N e CDQ2B20-5S 105 40 M5 X 40 ¢ CDQ2B20-5T 105 40 M5 X 40 ¢
i -10S| 45 X 45 ¢ 10T | 45 X 45 ¢
CDQG2B25-58 | o | 40 M5 X 40 ¢ CDQ2B25-5T | o . | 40 M5 X 40 ¢
-10S| ~ 45 X 45 ¢ 10T | ™ 45 X 45 ¢
CDQ2B32:55 | 40 M5 X 40 ¢ CDQ2B32-5T | 40 M5 X 40 ¢
Spring extend _ -10S 45 X45¢ -10T 45 X45¢
T /1‘“"“""“9 bolt “CDQ2B40-5S s | 45 | M5x45¢ CDQ2B40-5T | _ | 45 | W5x45¢
e -10S| ~ 50 X 50 ¢ 10T | © 50 X 50 ¢
Tai—_, CDQ2B50-10S 55 M6 X 55 ¢ CDQ2B50-10T 55 M6 X 55 ¢
.C 20S| 125 [es5 X 65 ¢ 20T | %5 [es5 X 65 ¢
- —_— D -
Auto Switch Mounting Position (at Stroke End) and Mounting Height
D-A70 D-A70H D-J79 D-F70F D-A73C D-A79W
D-A80 D-A80H D-F7TOW D-F7NTL D-A80C D-F7O0WV
D-F70] D-J79W D-F7BAL D-J79C D-F7C1V
012 to 925 6
A
f//ﬁ:_%‘\‘{ =
N\ B
L4
032 to 950
D-A91V
D-FoC1V
D-F9COWV
032 to 850 B
II
@ — &
LA
Auto Switch Mounting Position Auto Switch Mounting Height (mm)
D-A70H D-A70H
D-A80H D-A80H
D-F7TOW D-FOOIW D-J79
Bore | D-A70]|D-A80C D-A9C] | D-FOJ D-A70 D-A73C |D-F70V | _ ) D-F9OIV | D-F9OW
(mm) |D-A80 |D-F701 |D-A7OW |D-FTOF |5 yory | p.pgryy |D-FOOWV D-A80| 377w D-A0C | AT D-J79C |D-A7OW|D-ASCV | coryy | .FoBAL
D-J79 D-J79W D-F9BAL -J79
D-F7OWV D-F7BAL
D-F700V D-F70F
D-J79C D-FINTL
A|B|A|B|A|B|A|B|A|B|A|B|A|B U U U U U U U U U
45(55|5 |6 |2|3|9]10
12 (10) (103) (75) 45) e el el el el 19.5 20.5 26.5 23 26 22 — — —
75| 5 8 |55 5 25|12 |95
16 65| |6 |05 @ |@s|ay|os| — |~ |~ |||~ el I I (R = B e
20 7565 8 7 4 |12 1| —|—|—|—|—|— 24.5 25.5 315 28 31 27 — — —
25 75| 7 8 |75 4512 |15 — | — | —|— | — | — 27.5 28.5 34.5 31 34 30 — — —
32 9 6 |95/65(65(35|135(105| 8 51112 9 |11 | 8 31.5 32.5 38.5 35 38 34 27 29 26.5
40 13 |8.5|135( 9 (105 6 [175|13 |12 |7.5| 16 |115]| 15 |10.5 35 36 42 38.5 415 B85 30.5 32.5 30
50 11 (115|115 12|85| 9 |155]| 16 | 10 [105| 14 [145| 13 |135 41 42 48 44.5 47.5 43.5 36.5 38.5 36
ZS\VC 1-467



Series CQ2
612 tO g25 Spring Return without Auto Switch

Both ends tapped: CQ2A
Both ends tapped (mm)

w R R Bore
- Standard (Through-hole): CQ2B V4 omm | 9" |R
! 12 M4 7
L AL 2o T we T
20 M6 10
) _ﬂ:__ _ 25 M6 10

H thread effective depth C 4-oN through
-F- M5 8-00 counter bore
(Port size)
\ i
o7 +H- + 1
o — r,'( - N =] w
@ :f& 5

- |
A L B e -.l(——
A M
E
Rear boss mount (mm
Rear boss mount (mm)
Bore | G| Tho
(mm)
12 (15| 15 30
16 [1.5] 20 dos
o 20 | 2| 1350
. _ W I S 25 | 2| 1580
N A\ s
- '//
G
Rod end male thread Rod end male thread (mm)
Bore o x| i L1
(mm)
Hi 12 |9 [105] M5 14
—_ 16 |10[12| M6 15.5
e 20 [12[14| M8 18.5
A AR 25 [15[175] M0X125 | 22.5
L)
/ C1
Rod end nut* .~
X
L1
Standard (mm)
Bore A B
(mm) 5st | 10st | 5st | 10st| © D E F H ! K L M N = z
— 12 255(305| 22 | 27 | 6 25 | 5 M3 32 | 5 | 35 |155| 3.5 |65Depth35| -
N 16 27 | 32 |235|285| 8 8 | 29 | 55 M4 38 | 6 | 35| 20 | 35 [65Depth35| 10
\ 20 29 | 34 |245(295]| 7 0| 3 | 55 M5 47 | 8 | 45 | 255 | 55 |9Depth7| 10
25 325|875 |275|325| 12 2 | 40 | 55 M6 52 | 10 | 5 | 28 | 55 |9Depth7| 10
+ Refer to p.1-442 for rod end nut and optional brackets.
1-468 ZS\VC



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L Foot (mm)
L B Special cap bolt Bore A B LS
e e L L1 |LD|LG|LH LT [LX|LY [LZ| X | Y
/ (mm) | 5st | 10st | 5st | 10st e 5st | 10st
12 [403[453| 22 | 27 |135| 24 [45[28 |17 [ 10 [ 15| 2 | 34 [205] 44 | 8 |45
16 | 41.8]468[235|285(135/255]45 (28| 19 [115/165] 2 |38 335/ 48| 8 | 5
20 [ 462|51.2| 245|295 [145(285| 66| 4 | 24 [125(175[32 |48 [ 42|62 |92 |58
25 | 49.7]547|275|325| 15 |325|66| 4 | 26 [125(175[32 | 52 | 46 | 66 | 10758
- LG
|l
Rod end male thread
I
[
Rod end nut* |
Front flange/CQ2F Front flange (mm)
Bore A B
FD|FT|FV|FX|FZ| L |L1
(mm) | 5t | 10st| st | 10st
12 |355[405] 22 | 27 |45 [55| 25 | 45 | 55 [135] 24
16 37 | 42 |235[285] 45 | 55| 30 | 45 | 55 [ 135|255
20 39 | 44 |245|295] 66| 8 |39 | 48| 60 [145[285
25 |425(475[275|325|66 | 8 [42 | 52 | 64 | 15 [325
Rear flange/CQ2G Rear flange  (mm)
B A (*Dimensionsaresame as rod )
e Ll side flange except A, L and L1.
(mm) | 5st | 10st
12 3113 |35] 14
A 16  [325(375] 35 | 155
ix
20 37 | 42 | 45 185
25 |405|455] 5 |225
Rod end male thread
1T
L
Ll
Rod end nut* |
L]
Double clevis/CQ2D Double clevis (mm)
cT el Bore A B CL
=~ / Cap bolt D T w|cx|cz| L |L| N |RR
L CD hole H10 (mm) [sst [10st| st [10st] 2 st [1ost| O | YO X |©
7] [ axisdo 12 [455[505] 22 [ 27 | 5 [295[4a5] 4 | 7 [14 |5 [10]35]14] m |6
-
E - ’_ ‘} 16 48 | 53 [235(285| 5 |42 (47| 4 |10 [15[65] 12 |35 [155] M4 6
| ] 20 56 | 61 [245(295) 8 [47 |52 | 5 |12 |18 | 8 | 16 |45|185] Me 9
25 |625(675(27.5(32.5| 10 |525(57.5] 5 [ 14 |20 | 10 | 20 | 5 [225| M6 10
| | cu = Refer to p.1-442 for rod end nut and option brackets.
L E;TN 7l RR =x Clevis pin and snap ring are contained.
L CL
| A
Rod end male thread
Fiodend_nﬂt* |
le L1
ZSVC 1-469




Series CDQ2
012 t0 825 spring Return  with Auto switch

.

\

/ Standard (Through-hole)/CDQ2B

Auto switch

T

Both ends tapped: CDQ2A

01 thread R

([

Lead wire minimum
bending radius 10

Both ends tapped (mm)
Bore 01 R
(mm)

12 M4 7
16 M4 7
20 M6 10
25 M6 10

H thread effective depth C

.
N\ \i M5 2-gN through
\ L B (Port size) 490 counter bore
A
Rear boss mount
Rear boss mount (mm)
D r Bore | | Tho
) (mm)
. 12 (15| 15 804
N 16 [1.5] 20 Sos
. 20 2| 13 80
p: %" 25 2 15_8,043
| & - E
- &l
G
Rod end male thread
_ Rod end nut* Rod end male thread (mm)
\\
‘ Bore 1ol x| Hi L
Hi1 (mm)
- 12 9 [105] M5 14
J 6] 16 |10|12]| M6 15.5
7 4 20 [12]|14 M8 18.5
= - 25 | 15|175| M0X125 | 22.5
e/
Auto switch shown above is D-A73 and D-A80. Cr
Refer to p.1-444 for auto switch mounting position
and mounting height. X
L1
Standard (mm)
~ Bore B
N\ (mm) 5st [1ost| 5st [tost| C | P | B[ F H KILMN © il
| 12 36.5|415| 33 | 38 | 6 | 6 | 32|65 M3 5 |3.5| 22 |3.5|6.5Depth 3.5/355|19.5 | 25
| 16 39 | 44 |355|405| 8 | 8 |38 |55 M4 6 |3.5| 28 |3.56.5Depth 3.5/41.5]|22.5 | 29
20 41 | 46 |365|415| 7 | 10|47 |55 M5 8 [45]36|55| 9Depth7 | 48 |245] 36
25 42.5|47.5|37.5|425|12 |12 |52 | 5.5 M6 10 | 5 | 40 |5.5| 9 Depth 7 |53.5]|27.5| 40
* Refer to p.1-442 for rod end nut and optional bracket
- 7
1-470 & S\VC



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CDQ2II__

Foot (mm) <
Special cap bolt. Eoe | A B [ui|w|ia|tn—S ir|ix |y | iz] x| v
(mm) | 5st [10st| 5st | 10st Bst [10st
12 |51.3]56.3] 33 | 38 |135] 24 [4.5/2.8| 17] 21| 26 34 (205|448 |45
16  |53.8(58.8(35.5/405/135(25.5/ 4.5/ 2.8] 19 [235/285| 2 |38 |335| 48| 8 | 5
20  |58.2|63.2|365]41.5/145]285/6.6| 4 | 24|245[2953.2/48 | 42 | 62]|9.2|5.8
25  |59.7)64.7|37.5425| 15 |325(6.6| 4 | 26|225|27.5/3.2|52 | 46 | 66[10.7/5.8
Rod end male thread
_Rod end nut*
L1
Front flange/CDQ2F
Front flange (mm)
Rod end male thread Bore A B
FD | FT
2-0FD (mm) | 5st | 10st| Bst | 10st FVIFX|FZ) L L
| 1 gt 12 |465|515] 33 | 38 | 45|55 | 25| 45 | 55 |135] 24
- i-\[ ] r 16 | 49 | 54 [355]405| 45 | 55| 30 | 45 | 55 | 135|255
%@ _) 20 | 51|56 |365/41.5/ 66| 8 | 30| 48 | 60 [145[285
& s I @::_ X 25  |525|575|37.5|425] 66 | 8 | 42 | 52 | 64 | 15 325 ‘
B _‘——__‘ @“(J{j‘ Rod end nut® /
LT \
C B LBV
A
Rod end male thread Rear flange  (mm) . ':‘
B A (* Dimensions except A, L and L1> \
el Ll L are same as rod flange type.
Rod end nul* (mm) b5st | 10st
- 12 [464]514] 35| 14
16 |445)495] 35 | 155
20 |49 |54 |45/[185
25  |505(555| 5 |225
a“
Double clevis/CDQ2D
cT 2 i
[' 1 __|. f"CaP Boit guble cLews . - (mm)
/. 8CO hole H10 ore
D T W
1 | axisd9  (mm) |[sst[10st] 5st [10st c Bst | 10st cricujewiexjcz) L jLrj N |RR
%_ 6 12 [565/61.5/33 |38 | 5 [505(555] 4 | 7 |14 5 |10[35[ 14| M4 |6
b [ - 16 |60 | 65 355/405) 5 |54 |50 | 4 [ 1015 (65|12 [35(155] M4 | 6
e oy miinn 20 |68 |73 (365415 8 |59 64| 5 |12] 18| 8 |16]45/185] M6 | 9
NI 5 cu 25  |725|775|37.5]425| 10 |625(67.5| 5 | 14 [ 20 | 10|20 | 5 [225] M6 | 10
L] B CW _RH 3efer to p.1-442 for rod end nut and option bracket.
c'}\ — Clevis pin and snap ring are contained.
Rod end male
thread
Rod end nut® /
LU
ZS\C 1-471



Series CQ2/CDQ2
ﬂ32 o ﬁ50 Spring Return__ with Auto Switch

Refer to dimensions table since dimensions of A, B, F
and P are different when auto switch is not mounted.

Both ends tapped: CDQ2A

01 thread R R
/ Standard (Through-hole)/CQ2B, CDQ2B | ] Both ends tapped mm
L ot 1 Bore
B O1 R
(mm)
ﬂ_‘—‘"—-"—‘-'—-"" 32 M6 10
H thread efiective depth C 40 M6 10
P F_ =U 4-gN through 50 M8 14
(Port size) j 1 8-n0 counter bore
N 1
o JT Ny o
A Y
Lead wire minimum
bending radius 10 /
[ Auto switch
‘ D-AT/AB
M
L B E
A s
Rear boss mount Rear boss mount(mm)
Bore The
(mm)
[ 32 | 21350
Y an 2 40 289
W 'E -2.052
50 350062
Auto switch
A2

Rod end male thread (mm)

Hi B
m | o lci| x| Hi L
(mm)
32 [205]235| M14X 1.5 |285
Auto switch shown above is D-A73 and D-A80. 40 205235 M14 X 15 [285
Refer to p.1-444 for auto switch mounting
position and mounting height. 50 26 |285| M18X 1.5 |335

Rod end nut .~

With built-in One-touch fitting/e32 to 850

With built-in One-touch fitting (mm)

v P Bore |7 1 py | v |wi
(Piping tube O.D.)", (mm)
@—“‘—’ 32 [13] 6 [%5|59
' @ﬂ A\ 40 [13]6 |u
N\ | 5] 665
g/ }E&. Ei@ 50 |16] 8 |50]82
f@—;r IS———
Wi
Standard (mm)
Without auto switch With auto switch
e A B F P A B
(mm) F P
5st 10 20 5st 10 20 5st 10 20 5st 10 20 5st 10 20 5st 10 20
32 35 40| — |28 33| —[55]|75 w | 18 | — |45 | 50| — | 38|43 — |75 118
40 415|465 — |345(|395| — | 8 | 8 | — 1/8 — |515 (565 — [445(|495| — | 8 18
50 — | 485|585 — |405(505| — [105(105] — 1/4 — | 585|685 505 60.5 105 | 1/
N Bore (mm) c| D E H | J K L M N 0 S U Z Refer to p.1-442
32 13 | 16 | 45 M8 60 | 45| 14 | 7 | 34 | 55|9Depth7 585|315 14 for rod end nut and
| option bracket.
40 13 | 16 | 52 M8 69 | 5 |14 | 7 | 40| 55|9Depth7]| 66 | 35 | 14
50 15 | 20 | 64 M10 86| 7 | 17| 8 | 50| 6.6 |11 Depth 8| 80 | 41 | 19
- 7=
1-472 ZS\VC



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L. CDQ2L Foot (mm)
L B Without auto switch With auto switch
_ (?T:’r:f) A B LS A B LS
5st| 10 | 20 | 5st| 10 | 20 | 5st{ 10 | 20 | 5st| 10 | 20 |5st| 10 | 20 | 5st| 10 | 20
— Special cap 32 |s25[572] — |28]33| — [12]17] = |622]67.2] — [38]43] — [22]27] -
= 40  [58.7]63.7] — [34.5(39.5| — [18.5[235] — [68.7[73.7] — [as.5a0.5] — [28.5[33.5] —
50 | — |66.7]76.7] — [405[505] — [17.5[27.5| — [76.7]86.7] — [50.5]60.5] — [7.5[375
o 1 ' ’ Bore (mm) | L |L1[LD|LG|LH|LX|LY|LZ| X | ¥
XX o xoLe I+J\'4'LLD 32 |17s]66] 4 |30[57|57|71]112[58
cod ;;-:gmale hread o 40 |17/385(66| 4 |33|64|64|78112] 7
_ \ 50 |18435 9 | 5 [39|79]78]95[147] 8
B
el
_Rod end nut* 7 —51:_:'_'—/
B
Front flange/CQ2F, CDQ2F
Front flange (mm)
Without auto switch With auto switch
E‘r £ (?T?r:; A B A B
2 Is 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 10
32 |45|50| —|28]33| - |55|60] — [38]43] —
-£ 40  |515[56.5 — [345[30.5] — [61.5]66.5| — [44.5]49.5] —
| ; 4-0FD 50 | — |58.5/68.5) — 405505 — [68.5|78.5] — [50.5/60.5
A Bore (mm) [FD|FT[FV[FX[FZ[ L [L1] M

Rod end male thread 32 |55| 8 |48(56|65|17(385/34

40 |[55| 8 [54|62|72|17(385/40
50 [6.6| 9 |67|76|89|18435/50

Rod end nut

Rear flange/CQ2G, CDQ2G

Rear flange (mm)

| Wlo auto switch | W/ auto switch (* Dimensions except A, L and |-1)
Bore size are same as rear flange type.

(mm) A B L|L1
5st| 10| 20 | 5st| 10 | 20
32 |43|48|— |53|58| — | 7 |285
40 [49.5/54.5| — |59.5(64.5| — | 7 [285

Rod end male ’ 'Il? 50 | — |57.5/67.5| — |67.5/77.5 8 |33.5
l

thread

|
Rod end n_ut/ —

L1

Double clevis (mm)
Double C|EViSICQZD, CD02D 8 Without auto switch With auto switch
4-N (n?:) A B CL A B CL

5st[ 10 | 20 | 5st| 10 | 20 | 5st| 10 [ 20 [5st| 10 | 20 |5st| 10 | 20 | 5st| 10 | 20
32 |65|70| —|28|33| — |55|60| —|75|80| —|38|43| —|65|70| —

8CD hole H10

axis d9
40 [735/785| — [39.5/39.5| — |63.5|68.5| — |83.5|88.5| — |44.5/149.5| — [73.5[78.5| —
50 — |90.5(100.5] — |40.550.5| — |76.5/86.5| — |1005/110.5/50.5/50.5(60.5| — (86.5/96.5
Bore (mm) [CD|CT|CU|CW|CX|CZ| L [L1| N |RR
32 |10|5(14|20|18(36| 7 [285] M6 |10
40 |10| 6 (14|22|18(36| 7 [285/ M6 |10
50 |14|7 |20|28|22(44| 8 (335] M8 |14

Rodend male [ 7/
thread * Refer to p.1-442 for details of rod end nut and optional bracket.
| (™ [ =x Clevis pin and snap ring are attached.

Rod end nut*

L

SVC 1-473

O



Series CQ2/CDQ2
Q12 to ﬁ25 Spring Extend  without Auto Switch

A\
| Both ends tapped: CQ2A Both ends tapped (mm)
Otthread R R Bore
// Standard (Through-hole)/CQ2B — \* " mm | O | R
7 7 12 M4 7
e 16 M4 7
n—_ 25 M6 | 10

Q M5 H thread effective depth C 4-gN through

(Port size) 8-00 counter bore

o7 + +

o ——
|
+ +

r__ﬂ%.
T
O

Rear boss mount (mm)
Rear boss mount Bore | o Tho
(mm)
12 1.5 15850
16 |1.5| 20350
20 | 2| 1350

25 2 | 15800
—_ Note 1) Front boss mount is
“\ optional specification.

(Specify “-XC36" at the
end of model number.)

@

Rod end nut * Rod end male thread Rod end male thread I(_mm)
Bore 1
Hi om [C1X] M T
12 | 9 [105] M5 |19]24
& 16 [10[12] M6 [205|255
1 B 20 [12[14] M8 |235|25
T | | 25 |15 |175|M10X1.25|275|325
o/
C1
/ X
7 L1
Standard (mm)
Bore A B L
(mm) b5st | 10st | 5st | 10st G2 = H gk 5st | 10st bl © e
12 305|405| 22 | 27 | 6|6 |25 M3 32| 5| 85 | 13.5 |155|356.5Depth 35/ 7.5 | —
16 32 | 42 | 2352858 |8 |29 M4 38| 6| 85 | 13.5|20|35(6.5Depth 35| 8 |10
~ 20 34 | 44 |245|295|7 10|36 M5 478 | 95 | 145 |%5/55/9Depth 7| 9 |10
N 25 375|475 | 27.5 | 32.5 [12[12]40 M6 52[10| 10 | 15 |28|55|9Depth 7| 11 [10

« Refer to p.1-442 for details of rod end nut and optional bracket.

1-474

O
:



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

L

bi

Rod end nut

fH—

7
Rod end nut* | /

B
i"_ T Special cap bolt
. /

Foot/CQ2L

H ____{EED_—__ L

Rod end nut |

L
Front flange/CQ2F
—H S :
FT | l
L .._A B | X | \2—«3FD
— — - Lk
Rod end nut
s |
I
7 _
Rod end nut *
poteatl/
Rear flange/CQ2G
00 | | |
o Otgra B
QLo | . o
FX Y L L B FT
L FZ \2eFD [ " A N
Rod end nut
Rod end nut *| /
CT 4N
~ 7/ Capbott
: z%DgolgHﬂ}
ol axis d9
Leu]
L B CWRR
cL
A -

Foot (mm)
Bore A B L L1 LS
LD|LG|LH LT|LX|LY|LZ| X | Y
(mm) | 5st |10t 5st [10st| 5st |10st| 5st |10st S 5st |10st
12 |45.3[55.3) 22 | 27 |185(23.5) 29 | 34 [4.5(28| 1710 | 15| 2 | 34 [29.5] 44 | 8 |45
16 |46.8/56.8/23.528.5/18.5/23.5/30.535.5| 4.5 | 2.8 | 19 [11.5/165 2 | 38 (33548 | 8 | 5
20  |51.2061.2/24.5(29.519.5(24.5|335(38.5 6.6 | 4 | 24 [12.5[175(3.2| 48 | 42 | 62 [9.2|5.8
25  |54.7|64.7|27.5(32.5] 20 | 25 |37.5(42.56.6 | 4 | 26 [12.5[17.5]3.2| 52 | 46 | 66 [10.7] 5.8
Front flange (mm)
Bore A B L L1
FD|FT|FV|FX|FZ
(mm) | 5st [10st] st |10st 5t |10st| 5st [10st
12 |405[50.5) 22 | 27 |45|55] 25 | 45 | 55 |18.5/23.5] 29 | 34
16 | 42|52 23528545 (55| 30 | 45 | 55 [18.5/23.530.5/35.5
20 | 44|54 |245(29.5/6.6] 8 |39 | 48 | 60 [19.524.533.5/38.5
25  |475|57.5[27.5(32.5/6.6 | 8 |42 |52 | 64 | 20 | 25 |37.5425
Rear flange (mm)
* Dimensions except A, L and L1
Bore A L Lt ( are same as front flange. )
(mm) | 5st |10st| 5st |10st| 5st [10st
12 | 36|46 |85(135 19| 24
16  |37.5(47.585 [13.5/20.5(25.5
20 |42 |52|95/(145[235/285
25  |455|55.5| 10 | 15 [27.5/32.5
Double clevis (mm)
Bore A B CL L L1
CcD cTlculcw|cx|cz N |RR
(mm) [ 5st [10st] 5st [10st] | 5st [10st 5st |10st| Bst |10st
12 |505(60.5 22 | 27 | 5 |445/545] 4 | 7 [14]| 5 [10|85[135/19|24| M4 |6
16 | 53|63 235(285| 5 [47 |57 | 4 |10 [ 156512 |85 (135205255 M4 | 6
20 | 61|71 [245(205] 8 |52[62] 5 [12] 18| 8 | 16]9.5]145[235(285] M6 | 9
25  |67.5(77.5[27.532.5] 10 [57.5[67.5] 5 | 1420 [ 10|20 | 10| 15 [27.5[325] M6 [ 10

N

* Refer to page p.1-442 for details of rod end nut and optional brackets.
## Clevis pin and snap ring are attached.

1-475



Series CDQ2
Q1 2 to Q25 Spring Extend  with Auto Switch

Both ends tapped: CDQ2A

Oithread _ R R
-~ Standard(Through-hole)/CDQ2B B i > Both ends tapped (mm)

— I | Bore 01 R

(mm)
W 12 M4e | 7
] 16 Me | 7

20 M6 10
25 M6 10
L 22
Lead wire minimum '—" )
Auto switch bending radius 10 11 H thread effective depth C

7F-! ﬁ

M5
(Port size) \
LE ...\\ - %
©
-
\
| Q 2-aN through
40 counter bore
- L B |
] R ’
Rear boss mount Rear boss mount (mm)
Bore | G| Tho
(mm)
12 [1.5) 15 3us
— 16 [1.5] 20 Jose
N - 20 2| 13 8o

ﬁ. ?:) 25 2 15 _8,043
'E Note 1) Rod side end boss type is

optional specification.

/’ (Specify "-XC36" at the

end of model number.)

Rod end male thread Rod end male thread (mm)
* Bore L1
Rod end nut (mm) Ci| X Hi st | 1080
- 12 9 |105 M5 19 | 24
™ Hi
N 16 10[12 M6 205 | 255
) ‘s 20 1214 M8 235 | 285
RNl N - 25 15 [175] MI0X1.25 | 275 | 325
/ 3 LY
Above auto switch: D-A73 and A80. ..._C_‘...‘
Refer to p.1-444 for auto switch mounting X
position and mounting height. |
|
Standard type (mm)
Bore A B L
D | E H K M| N Vv
~ (mm) 5st | 10st | 5st | 10st C 5st | 10st © ajs|v
N 12 459 | 5569|374 424 | 6 | 6 | 32 M3 5 | 85 | 135 |22 |3.5|65Depth35| 11 | 355[195| 25
16 44 54 (355|405 8 | 8 | 38 M4 6 | 85 | 135 |28 |3.5[65Depth35| 10 | 415|225 29
20 46 56 [36.5|415| 7 |10 | 47 M5 8 | 95 | 145 |36 |5.5| 9Depth7 [10.5| 48 | 245 | 36
Ve 25 475|575 |375|425 |12 | 12 | 52 M6 10| 10 15 |40 | 55| 9Depth7 | 11 |535)|27.5| 40
# Refer to p.1-442 for details of rod end nut and optional brackets.
- V
1-476 & S\VC



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CDQZ

L B Foot/CDQ2L
: M Special cap bolt
i L
Eu.ﬂ-i .
L l:ji?-—l-' i!ﬁ LTz " \aelD
Rod end male thread Redend nut *

—

Rod end male thread

Rod end nut *

L1

Rod end male thread

— Rod end nut *

T
[T}V

2N
CT / Capbolt
</ _eCDholeHi0

] 3 r axis d9

~ 4

|

|9
=
-y

I

Rod end male thread

4

| /
/!
/

!
A L

Rod end nut */

Foot (mm)
Bore A B L L1 LS
(mm) | 5st |10st| 5st | 10st| 5st | 10st] 5st | 10st LD| LG 5st [ 10st R EENE
12 60.770.7)137.4|42.4{18.5(23.5] 29 | 34 [45[28| 17 |21 [ 26| 2 | 34295 44 | 8 |45
16 |58.8)68.8]35.540.5{18.5[23.5[30.5[35.5] 4.5 | 2.8 | 19 |235/28.5| 2 | 38 33.5( 48 | 8 | 5
20  [63.2]73.2(36.5/41.5[19.524.5/335/38.5) 6.6 | 4 | 24 [24.5(29.5{ 32| 48 | 42 | 62 [ 9.2 | 5.8
25  |64.7]74.7]37.542,5] 20 | 25 |37.5/42.5) 6.6 | 4 | 26 [22.5(27.5] 3.2 | 52 | 46 | 66 [10.7| 5.8
Front flange (mm)
Bore A B L L1
(mm) | 5st | 10st| 5st | 10st FD| FT|FVIFX|FZ 5st | 10st | 5st | 10st
12 559659 37442445 | 55| 25 | 45 | 55 [185[235] 29 | 34
16 54 | 64 [35.5(40.5| 45 | 55| 30 | 45 | 55 [18.5]235(30.5|355
20 56 | 66 [36.5(41.5]66 | 8 | 39 | 48 | 60 |19.5]24.5]335|385
25 575|67.5|37.5[425|66 | 8 | 42 | 52 | 64 | 20 | 25 | 375|425
1]
Rear flange (mm)
Bore A L L (*Dimensions except A, L and L1>
are same as rear flange type.
(mm) | 5st | 10st| st | 10st | 5st | 10st
12 51461485 [135] 19 | 24
16 495595 | 85 |135]20.5|255
20 54 | 64 | 9.5 [14.5]235)285
25 555655| 10 | 15 |27.5]|325
Double clevis (mm)
Bore A B CL L
(mm) | 5st | 10st | 5st | 10st co 5st | 10st crjcujewjexjez 5st | 10st
12 659759 (374 (424 5 |59.9|699| 4 | 7 [ 14| 5 |10 [85|135
16 65 | 75 [355(405| 5 | 59 | 69 | 4 [ 10 | 15 [ 65| 12 | 85 |135
20 73 | 83 [365(415] 8 |64 | 74| 5 [ 12| 18| 8 | 1695|145
25 775|875(37.5[425] 10 |67.5|77.5| 5 | 14 | 20 | 10 [ 20 | 10 | 15
Bore L1 * Refer to p.1-442 for details of rod end
N RR nut and optional brackets.
(mm) | st | 10st ## Clevis pi d i ttached
pin and snap ring are attached.
12 19 | 24 M4 6
16 205|255 M4 6
20 235|285| M6 9
25 275|305 M6 10

O
<

1-477

N



Series CQ2/CDQ2
032 t0 050 Spring Extend winawoswion i e

Both ends tapped (mm)
?:rf O1 R
Both ends tapped: CQ2A/CDQ2A ()
Otthread R R 32 M6 10
w1 1nre _\ i L 40 M6 10
\ Standard (Through-hole)/CQ2B, CDQ2B 50 TERED
) ; Lead wire minimum
= = bending radius 10
pendingracus 19
 —
\ _Auto switch
— . 1
' D-Av, AB H thread effective depth C
2 P =l /" 4-oN through
[/ (Port size) /fmbﬁ
F 7 llll g7
| / '|\ A
s t }Lt\?
{ @ {& y
oy - -
[ Lx Rear boss mount (mm)
- _ s
L B -——E J Bore Tho
e (mm)
A 5 RS ———
32 | 21904
Rear boss mount 40 | 28 5
50 358062

Note 1) Front boss mount is
optional specification.
(Specify "-XC36" at the
end of model number.)

D

b 5

Auto switch
D-A9/F9
2
IS R nd male thr
H°d end male thread Rod end male thread (mm)
1
e Bore L1
— m) | S X M et Trost[20st
[ | B 32 205235 |M14X15[335]385 | —
I i@ 40  [205[235|M14X 15 (335385 | —
P 50 |26 [285|M18X1.5| — |435 |535
Rod end nut * Ci ‘
X
Built-in One-touch fitting/e32 to 650 = Built-in One-touch fitting (mm)
Fl
_,/’(F"iping tube 0.0)) Bore |- |p,|v [wi
:—;/_—_| (mm)

WA 32 |13 365 | 59

. 6
[r}—@ ~ 40 [13] 6 [405]665
I 50 |16] 8 |50]|82

Above auto switch: D-A73/A80
Refer to p.1-444 for auto switch
setting position and mounting height.

Standard T (mm)

Bore Without auto switch With auto switch
(mm) A B P Q A B p Q
5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | 5st | 10 | 20 | &st [ 10 | 20
32 40 (|50 | — |28 |33 | — [ M5 |[w | — | 115|105 — |50 |60 | — | 38|43 | — 1/8 105
40 465 | 565 | — | 45 [ 395 | — 1/8 — |11 [ 11| — [ 565|665 | — [445 45| — 1/8 11
50 — | 685 [ 785 — | 405|505 | — [ 1/4 — | 105|105 | — [685[885] — |505]605 1/4 105
Bore |\ ¢ |p|E| H RS L M|N| O |s|ulz
(mm) 5st | 10 | 20
32 13 | 16 | 45 M8 60 |45|14 |12 |17 | — |34 | 5.5|9Depth7| 585 |315 | 14
40 13 | 16 | 52 M8 69 | 5 |14 |12 |17 | — |40 | 5.5|9Depth7| 66 | 35 | 14
50 15120 | 64 M10 86 | 7 [17 | — [18 | 28 |50 | 6.6 [11Depth8] 80 | 41 | 19

m * Refer to p.1-442 for details of rod end nut and optional brackets.

1-478

O
:



Compact Cylinder/Standard: Single Acting Spring Return/Extend Series CQZ

Foot/CQ2L. CDQ2L Foot (mm)
L B B Without auto switch With auto switch
(r:r:]e) A B LS A B LS
5st| 10 | 20| 5st| 10 | 20 | 5st| 10 [ 20 | 5st| 10| 20 | 5st| 10 | 20 | 5st| 10 | 20
Special cap 32 [5720672] — [28 (33| — [12]17 | — |67.2]772] — |38 [43 | — [22 |27 —
&g B=——  bot 40 [637737| — [345(395] — [185(235| — |73.7(83.7| — |445(495] — |285(335] —
5 ) 50 | — [767]9.7| — |405/505) — [175)275] — [86.7[1067] — [50.5(605| — [27.5]375
: g Bore L L1
|\ 1
: x|y & [v/x !LG (mm) [5st] 10] 20 [ st] 10 |20 | 0| -G|LH| X |LY|LZ| X ¥
L £ 32 |22 |27 - |435485| — |66 4 | 3057|5771 11258
) 40 |22 |27 | — |435(485| — |66 4 | 33|64 (6478|112 7
_ 50 | —|28[38|—|535(635| 9 | 5|39|79|78)95 |147] 8
T
Rod end nut q —
od end nut, = '
Front flange/CQ2F, CDQ2F Front flange (mm)
Bore Without auto switch With auto switch
j e ) (mm) A B A B FD|FT|FV|FX|FZ
- - E— 9@‘ / B 5st| 10 [ 20 | 5st| 10 [ 20 [ 5st| 10 [ 20 | 5st| 10 | 20
G e——— P\ R 32 |50|60| —|28[33| —[60[70|—[38]43|—|55|8 |45]56]65
T e | s &) 40 [565(665) — [345(305) — [665|765] — [445(495| — |55] 8 |54 (62|72
1= {?@ @% 50 | — [68.5]885] — |405(505) — |785/985) — |505/605/6.6] 9 |67 | 76 | 89
— 1 AN S|
IFT 4-aFD Bore L L1
L . B Eé_ (mm) |5st| 10| 20 |5st| 10 | 20 i
- B 32 22|27 | — |435[485| — | 34
Rod end male thread In 40 |22 |27 | — [435[485| — | 40
I 50 |—|28|38| — (535|635 50
1
A\
‘;.ZF‘L |
Rod end nut /1| “—_—_—)
Rod end nut L
Rear flange (mm)
Rear ﬂangeICQZG, CDQ2G W/o auto switch| With auto switch (* Dimensions except )
Bore L L1 AL and L1 are same
(mm) A B as front flange.

5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20 | 5st| 10 | 20
32 |48(58) —|58|68|— |12[17|— [335]385] —
40 |455|64.5) — [645|745) — | 12 [ 17 | — |335[385) —

50 67.5(87.5 775(975| — | 18 | 28 435(535
Rod end nut |_ A Double clevis (mm)
L1 Bore Without auto switch With auto switch
. A B CL A B CL
mm
Double CIeVIS/CQZD’ CDQZD oT  an (mm) 5st| 10| 20 | 5st| 10 | 20 |5st| 10 [ 20 | 5st| 10| 20 | 5st| 10 | 20 | 5st| 10 | 20
T~ /Capbolt 32 |70/80| —|28]33|—|60[70|— [80/90| —|38[43|—|70(80]|—
! oD hole H10 40 785|885 — |34.5/39.5| — |685|78.5 — [88.598.5] — [44.5[49.5| — |785/|885| —
= ,,r" axis d9 50 — [100.5/1205] — [40.5{50.5] — |86.5/106.5] — [1105]1305] — [50.5{60.5| — |96.5/116.5
_ Bore L + Refer to p.1-444 for details of rod
- CD|CT|culcw|cx|cz end nut and optional brackets.
ja | (mm) 5st] 10| 20  :x Clevis pin and snap ring are
32 [10]5 |14[20(18(36|12|17] — attached.
B 6%}?»:{ 40 (10| 6 |14|22|18 (36| 12(17| —
s 50 [14] 7 [20]28| 22 44| -] 18] 28
Rod end nut _
ZSVC 1-479



Compact Cylinder Non-rotating Rod: Double Acting Single Rod

Series CQ2K

o012, 916, 920, 025, 632, 640, 650, 063

How to Order

caz2k[Bl20 H30

I I

R Jcocak(lea] e

—A73||S

OO

Thread Port I ¢ Number of auto
(232 to @63) switches
— | Re(PT) Auto switch — 2
E | G(PF) Without auto switch s | 1
— (Built-in magnet) n n
With auto switch = Refer to below table for selection of
(Built-in magnet) auto switch. .
— N i d e ® Body option
N on-rotating ro . ® Action — | Standard (Rod end female thread)
Mounting e i F
Through-hole (Standard) D | Double acting Rear boss mount
B 9 21210 063 c With rubber bumper
A | Both ends tapped (only 212 with switch)
L Foot 240, 850 M Rod end male thread
F Front flange 263 L Cyllnder stroke (mm) *Body combination is possible.
G Rear flange Refer to Standard Stroke Table FM
D Double clevis on p.1-481
“*Mounting brackets are shipped not assembled with
the cylinder.
Bore size e
. 12“]  12mm 32 | 32mm
N 16 | 16mm 40 | 40mm Applicable Auto Switches
\ 20 | 20mm 50 | 50mm = - - - - —
) e . Load voltage Rail mounting Direct mounting Lead wire"(m) :
| 25 25mm 63 63mm Style| Special function Az 38 puring 212 to 963 232 to 063 05 | 3| 5 [None apolicace
entry || (Output) DC AC : load
/ Q = Perp. | In-line | Perp. | In-line | (&) | D) | (@) |(N)
- O When 12 with s ) Eoney| —| 5v | — | — | A7eH | Asev | A% | @ (@ |—|—|ic | —
ote en ¢12 with switch is required, — — _ =
the body option should be with rubber Grommet Yes 200V |WRA72 728 LI
bumper (C). S A73 | A73H | — — | o |®o|@®|—| —
Ex)CDQ2KB12-30DC = — 12V 100V T hgav | 93 | @ |@ | —|—
- ] —
Piping B No| 2wire | [svrev[<t00v| Aso [ ason | asov | aso | @ [@|—[—] c iy
— Screw-in piping & Comedt Yes 12V | — | A73C — — — o 0 0 o —
onnectorf=—1
F With built-in One-touch fitting No 5V,12V | <24V | A80C = = = ® (0 0|0
Diagnostic (2 colour) | Grommet|Yes — | — | A7TOW | — = = o0 —|—| —
N Q 3 wire 5V, 12V F7NV | F79 — — | ® |®@|O|—|1Ic
\ (NPN) 12V — — FONV FON o0 —|—|—
Note 2) Bore size with built-in One-touch fitting is from 3 wire 5V, 12V F7PV F7P — — ® @ O|—| Ic
032 to 63. Grommet PNP .
) _ (PNP) — — | FPV | FoP | @ (@ |—|—
/ . — _ —
Mounting Bracket Part Number F7BV | J79 ® 00—
< 2 wire 12v — — | FBV | FB | @ (@ |—|—
?T?: Foot® | Flange |Double clevis ©) § Connector J79C | — - — | e @00
(mm) H 3wire 5V, 12V FINWV | F7oW | — — | ®@ |®@|O|—|Ic Relay
gg gg-ll:ggg ggiggg gggggg ‘%' Diagnostic "Len [24v[aav | [ — — |FoNWV| FoNw | @ |@ [O|—| — |pic
-| - - »
B | (2colour) 3 wire 5V, 12V — | FPW | — — | ® |®@|O|—]|Ic
63 | CQ-L063 | CQ-F063 | CQ-D063 s (PNP) — — |FoPWV | FoPw | ® (@ |O|—
Grommet o wi 12V F7BWV | J79W |FO9BWV | FoBW | @ |®@ (O |—| —
_ Wa(tzercg?ghsrt)ant wire — F7BA — FOBA | — (@ |O|—
N\ Note 3) When ordering foot brackets, 2pcs. should be D‘:V&:‘tl'c"gﬁ{ = §wire (NPN) 5V 12V — | Ttr || — — | — |80~ ¢
\ ordered for each cylinder. B oo - 4 wire — | F79F | — — | ® |®@O|—
Note 4) The attached parts for each brackets are as Latch with diagnostic
follows. output (2 cog\our) (NPH) - = | #F | = — | ®|®O|—|—
Foot, Flange: Body mounting bolt
Double clevis: Clevis pin, C shape snap fing Lead wire length 0.5m------- —  (Example) A80C [ Z (Example) A80CZ
for axis, Body mountign bolt BMeeeereeeenes L (Example)A80CL None.----- N (Example) ASOCN

Note 5) A clevis pin and snap ring are packed with

the double clevis. Solid state switches marked with a "(O" are manufactured upon receipt of order.

1-480

O

SVC



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CQZK

Vv ﬂ.y-'
— Rl
U
Symbol
Non-rotating rod
/A\ Caution

’ Snap Ring Installation Removal

(D For installation and removal, use an appropriate pair
of pliers (tool for installing a C snap ring).

(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Bore size (mm) 12 16 20 25 32 40 50 63
| Through-hole (Standard) | @ [ J [ J [ J [ J [ [ [
Mounting
Both ends tapped | — — — — — [ J (] (]
o | Built-in magnet ® (] (] o (] (] (] (]
K] . m
E |Piping|Screw-in style | M5 M5 M5 M5 1'\//:35 1/8 1/4 1/4
[0
£ With buittn One-touch fiting — — — — 06/4@ | 26/4 28/6 28/6
Rod end male thread o o o [ J [ J [ J [ J [ J
Rear boss mount { ] o o o o o o o

Note 1) When requiring style without auto switch, only 5 stroke uses M5.
Note 2) When requiring style with built-in fitting, dimensions of 32 and 5stroke are same as 10stroke.

Standard Specifications

Style Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C(No freezing)

Rubber bumper None
Rod end thread Female thread
Rod end tolerance JIS class 2
Stroke length tolerance 0

Mounting

Through-hole

Piston speed

50 to 500mm/s

Mounting

(1 When removing a load, be sure to secure the flats of
the piston rod on the load side.

(2 If this is done without securing the piston rod on the
load side, be aware that the coupled (screwed-in)
portion of the piston rod could become loosened.

(3 Using a non-rotating rod cylinder

* Avoid using the air cylinder in such a way that
rotational torque would be applied to the piston rod. If
rotational torque is applied, the non-rotating guide will
deform, causing a loss of non-rotating accuracy. Use
the chart below as a guide for the allowable rotational
torque ranges.

Allowable Kinetic Energy Unit: J
Bore size (mm) 12 16 20 25 32 40 50 63 80 100

Allowable kinetic energy | 0.022 | 0.038 | 0.055 | 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27

Minimum Operating Pressure uni vpa Standard Stoke Unit: mm

Bore size (mm) (12|16 {20 (25|32 | 40

50|63

Bore size Standard stoke

Min. operating press | 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05

0.05 | 00!

5 12,16 |5, 10, 15, 20, 25, 30

Non-rotating Accuracy

20, 25
32, 40

5, 10, 15, 20, 25, 30, 35, 40, 45, 50
5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

50, 63 | 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

Bore size (mm) [12]16 202532405063
o ° o Refer to p.1-427 for int diate strokes.
glg(l:'lqu(t%tlng 1+ +1 +0.8 m efer to p or intermediate strokes

Theoretical Force

Allowable 12 (16 |20 |25 | 32 | 40 | 50 | 63

torque
04/15|2.0|25|45|45(45|45

kgf-cm or less
* Operate the cylinder in such a way that the load to the
piston rod is always applied in the axial direction.

Unit: N
Bore size |Operating| Operating pressure (MPa) Bore size [Operating| Operating pressure (MPa)
(mm) | direction| 0.3 0.5 0.7 (mm) | girection| 0.3 0.5 0.7
IN 25 42 59 IN 181 302 422
12 ouT 34 57 79 32 ouT 241 402 563
IN 45 75 106 IN 317 528 739
16 ouT 60 101 141 40 ouT 377 628 880
IN 71 118 165 IN 495 825 1150
20 ouT 94 157 220 50 ouT 589 982 1370
IN 113 189 264 IN 841 1400 | 1960
25 ouT 147 245 344 63 ouT 935 1560 | 2180
ZS\C 1-481



.

\

)

— ~

/

/'/

Series CQ2K

Weight Unit: g Option Weights Unit: g
Bore size Cylinder stroke (mm) Bore size (mm) 12 |16 | 20 | 25 | 32 | 40 | 50 | 63
(mm) 5 |10 [15|20| 25|30 | 35|40 |45 |50 | 75 |100 Both ends tapped - - - - - 6 6 | 19
12 6067|7481 (88|95 | - |—-|—-|—-|—-|- Rod end male | Male thread| 1.5 | 3 6 | 12 | 26 | 27 | 53 | 53
16 58 (67 |76 85|94 (103 — | — | - | - | = | - thread Nut 1 4 17 | 17 | 32 | 32
20 103|117 (131|145|159|173|187|201 |215(229| — | — Rear boss mount 071113 2 5 7 13 | 25
25 137 (152|167 (182|197 (212|227 |242|257 |272| — | — One-touch fitting - - - — 12|12 |21 | 21
32 203 (223243263 |283|303|323|343|363|383|403|423 Foot (including bolt) - - - — — | 154 | 242 | 323
40 215|238 261|284 |307| 330|353 |376|399 |422| 445|468 Front flange (including bolt) | — - - - - | 213 | 372 | 558
50 — |381|418|455|492|529 | 566|603 (640|677 (714|751 Rear flange (including bolt) | — - - - — | 198|348 | 534
63 — |550(592 (634 |676|718|760|802|844 |886|928|970 Double clevis (pin, snap ring, bolt) | — - - - — | 196 | 393 | 554
Calculation example: CQ2KD40-20D  « Basic weight: CQ2KA40-20D -+ 284g
* Additional weight: Both ends tapped -+ 69
Rod end male thread---44g
Double clevis -+« 1969
. 530g
Construction
Basic (912 to 932) Basic (940 to 963)
® @® ® B @ B /? ®
) |
\ I / |/
4l
i ol H
e —H
® &
Rear boss mount With One-touch fitting 5, @) Rod end male thread
] I . : ;
| i
.
=}
S H
Component Parts
No. Description Material Note No. Description Material Note
@ | Cylinder tube Aluminum alloy Hard anodized (3 | Piston seal NBR
(2) | Piston Aluminum alloy Chromated (9 | Rod seal NBR
. Stainless steel 212 to 825 (5 | Tube gasket NBR
® | Pistonrod Carbon steel 232 t0 9100, Hard chrome plated
Brass 212, Nickel plated Replacement Parts: Seal Kits
@ | Rod cover - - - -
Aluminum alloy 216 to 32, Anodized Bore size Kit No Note Bore size Kit No Note
® | Collar Aluminum alloy 240 to 863, Anodized (mm) ) (mm) )
® | Snap ring Carbon tool steel Phosphate coating 12 CQ2KB12-PS| A set of 32 CQ2KB32-PS | A set of
(@ | Bushing Qil impregnated sintered alloy 216 to 963 16 CQ2KB16-PS| above 40 CQ2KB40-PS| above
(8) | Hex. socket head cap screw Alloy steel 212 to @32, Nickel plated 20 CQ2KB20-PS| nos. (3, 50 CQ2KB50-PS | nos. (3,
(@ | Hex. socket set screw Alloy steel 240 to 963, Nickel plated 25 CQ2KB25-PS| (4 and (5. 63 CQ2KB63-PS | (9 and (5.
10 | Rod end nut Carbon tool steel Nickel plated
D | End boss ring Aluminum alloy | 20 to 63, Hard anodized
12 | One-touch fitting — 232 to 963
- 7
1-482 ZSVC



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CQZK

Mounting Bolt for CQ2KB

Special bolt for through-hole mounting of CQ2KB is available Rear mounting Front mounting
as option. ) ) tﬂ_‘ Mounting bolt tﬂ_
How to Order: Specify the required bolts. —_—
Example) Bolt M3 X 30 ¢ 2pcs. Eﬁ W%-
|C C! |
L D D
Model C | D | Mountingbolt C' | D' | Mounting bolt Model C | D | Mountingbolt C' | D' | Mounting bolt
CQ2KB12-5D 30 | M3X30¢ 30 | M3X30¢ CQ2KB40-5D 35| M5X35¢ 35| M5X35¢
-10D 35 X35¢ 35 X35¢ -10D 40 X40¢ 40 X40¢
-15D 6.5 40 X40¢ 6.5 40 X40¢ -15D 45 X45¢ 45 X45¢
-20D 45 X45¢ 45 X45¢ -20D 50 X50¢ 50 X50¢
-25D 50 X50¢ 50 X50¢ -25D 55 X55¢ 55 X55¢
-30D 55 X55¢ 55 X55¢ -30D 75 60 X 60¢ 75 60 X 60¢
CQ2KB16-5D 30 | M3X30¢ 30 | M3X30¢ -35D 165 X65¢ 165 X65¢
-10D 35 X35¢ 35 X35¢ -40D 70 X70¢ 70 X70¢
-15D 40 X40¢ 40 X40¢ -45D 75 X75¢ 75 X75¢
-20D 5 45 X45¢ 5 45 X45¢ -50D 80 X80¢ 80 X80¢
-25D 50 X50¢ 50 X50¢ -75D 115 X115¢ 115 X115¢
-30D 55 X55¢ 55 X55¢ -100D 140 X 140¢ 140 X 140¢
CQ2KB20-5D 35| M5X35¢ 35| M5X35¢ CQ2KB50-10D 45 | M6 X45¢ 45 | M6 X45¢
-10D 40 X40¢ 40 X40¢ -15D 50 X50¢ 50 X 50¢
-15D 45 X45¢ 45 X45¢ -20D 55 X55¢ 55 X55¢
-20D 50 X50¢ 50 X50¢ -25D 60 X 60¢ 60 X60¢
-25D 8 55 X55¢ 95 55 X55¢ -30D 65 X 65¢ 65 X65¢
-30D 60 X 60¢ 60 X60¢ -35D 125 70 X70¢ 125 70 X70¢
-35D 65 X65¢ 65 X65¢ -40D T 75 X75¢ T 75 X75¢
-40D 70 X70¢ 70 X70¢ -45D 80 X80¢ 80 X 80¢
-45D 75 X75¢ 75 X75¢ -50D 85 X85¢ 85 X85¢
-50D 80 X80¢ 80 X80¢ -75D 120 X120¢ 120 X120¢
CQ2KB25-5D 40 | M5X40¢ 35| M5X35¢ -100D 145 X 145¢ 145 X145¢
-10D 45 X45¢ 40 X40¢ CQ2KB63-10D 50 | M8 X50¢ 50 | M8 X50¢
-15D 50 X50¢ 45 X45¢ -15D 55 X55¢ 55 X55¢
-20D 55 X55¢ 50 X50¢ -20D 60 X 60¢ 60 X 60¢
-25D 10 60 X60¢ 6.5 55 X55¢ -25D 65 X65¢ 65 X65¢
-30D 65 X65¢ 60 X 60¢ -30D 70 X70¢ 70 X70¢
-35D 70 X70¢ 65 X 65¢ -35D 145( 75 X75¢ 145| 75 X75¢
-40D 75 X75¢ 70 X70¢ -40D 80 X80¢ 80 X80¢
-45D 80 X80¢ 75 X75¢ -45D 85 X85¢ 85 X85¢
-50D 85 X85¢ 80 X 80¢ -50D 90 X90¢ 90 X90¢
CQ2KB32-5D 40 | M5X40¢ 40 | M5X40¢ -75D 125 X125¢ 125 X125¢
-10D 45 X45¢ 45 X45¢ -100D 150 X 150¢ 150 X 150¢
-15D 50 X50¢ 50 X50¢
-20D 55 X55¢ 55 X55¢
-25D 60 X 60¢ 60 X 60¢
-30D 85 65 X 65¢ 10 65 X65¢
-35D ~ 170 X70¢ 70 X70¢
-40D 75 X75¢ 75 X75¢
-45D 80 X80¢ 80 X80¢
-50D 85 X85¢ 85 X85¢
-75D 120 X120¢ 120 X120¢
-100D 145 X 145¢ 145 X145¢

Copper Free

20 — CQZKB’ Bore size H Stroke ‘ D (M) Specifications
T Action Double acting single rod
Copper Free Series 216, 020, 225, 032, Cylinder bore size 016, 820, 825, 332, 840, 650, 363
240, 050, 263 Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Rubber bumper None

To eliminate influences of copper ions or halogen ions during

. . . Pipin Screw-in pipin
CRT manufacturing processes, copper and fluorine materials .p 9 PP
Piston speed 50 to 500mm/s
are not used as component parts. ,
Mounting Through-hole
Auto switch Mountable

1-483

O
<

e



Series CDQ2K

Auto Switch Specifications

* Refer to p.6-15 for details of auto switch.

L)

Minimum Strokes for Auto Switch Mounting (mm)
P D-A7CH
D-F7OV | DAL e D-g7oW
. D-A80 D-F7O0wV | D-F70 . D-A9]
amgz‘zﬁ’cﬁés D-J79C | D-A73C D-J79 D-A79W | D-F7BAL | D-F7LF
D-FOCIV | D-A80C D-FOCOWV g::gg D-F79F D-F9N
D-A9[1V D-FOOIW D-F9BAL
1 5 10 15 15 20 25 10
2 10 15 15 20 20 25 10
Weight unitg Option Weights Unit g
Bore Cylinder stroke (mm) Bore size (mm) 12 16 | 20 | 25 | 32 | 40 | 50 | 63
(mm) | 5 [ 10 |15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped - - - - 6 6 | 19
12 77 |83 |89 |95 |101]107| — | - | - | - | - | - Rod end Male thread | 1.5 | 3 6 | 12 | 26 | 27 | 53 | 53
16 86 | 94 |102|110|118[126| — | — | - | = | = | = male thread | Nut 1 2 4 8 | 17 | 17 | 32 | 32
20 138 | 152 | 166 | 180 | 194 | 208 | 222 | 236 | 250 | 264 | — - Rear boss mount 07 | 1.3 2 3 5 7 13 | 25
25 178 | 194 | 210 | 226 | 242 | 258 | 274 | 290 | 306 | 322 | — — With One-touch fitting - - - — 12 12 21 21
32 236 | 256 | 276 | 296 | 316 | 336 | 356 | 376 | 396 | 416 | 516 | 616 Foot (including mounting bolt) | — — - — - 154 | 242 | 323
40 253 | 276 | 299 | 322 | 345 | 368 | 391 | 414 | 437 | 460 | 575 | 690 Front flange (including mounting bolt) - - - - - 213 | 372 | 558
50 — | 464 | 501|538 | 575 | 612 | 649 | 686 | 723 | 760 | 945 [1130 Rear flange (including mounting bolt) | — - - - - 198 | 348 | 534
) 63 — | 654|696 | 738 | 780 | 822 | 864 | 906 | 948 | 990 |1200(1410 Double clevis (including pin, snap ring and bolt) |~ — - - — - 196 | 393 | 554
- \ Calculation example: CDQ2KD40-25DM When auto switch is mounted, add the
« Basic weight: ~ CDQ2KB40-25D-- weightl of number of auto switches and
« Additional weight: Both ends tapped- mounting brackets.
Rod end male thread g
DOUDIE ClEVIS +++vvrrerrvevees 1969 Weight/Auto Switch Mounting Bracket
591g Part No. Bore size  |Weightg
BQ-1 012 to 025 1.5
BQ-2 32 to 063 1.5
Construction
o012 to 025 032 240 to 063
™ ®BEOBD DROD
\ N VYL /
\ % |-
\ N\ ‘f
/ \ )
[ ™~ ’/ \ Auto switch
//' -
Component Parts Replacement Parts: Pneumatic (Non-lube)
No. Description Material Note Bore size Kit N c
(1 | Cylinder tube Alluminum alloy Hard anodized (mm) it No. ontents
@ | Piston Alluminum alloy Chromated 12 CQ2KB12-PS
. Stainless steel 212 to @25 16 CQ2KB16-PS
3 .
® | Piston rod Carbon steel 932 to 963, Hard chrome plated 20 CQ2KB20-PS 'It<|ts m]fl\uglg
® | o Brass 212, Nickel plated 25 CQ2KB25-PS ! QZ‘S@% v
od cover Alluminum alloy 016 t0 032, Anodized 32 CQ2KB32-PS ‘;” I\};tr‘;"
- \ ® | Collar Alluminum alloy 240 to 963, Anodized 40 CQ2KB40-PS the left table.
® | Snap ring Carbon tool steel Phosphate coating 50 CQ2KB50-PS
@ | Bushing Qil impregnated sintered alloy 216 to 963 63 CQ2KB63-PS
® | Bolt W?th hex. hole Alloy steel g12to ”25.’ Nickel plated = Seal kits consist of items (12, 43 and (4 contained in one kit, and can be
© | Bolt with hex. hole Alloy steel 232, Nickel plated ordered using the order number for each tube bore size.
10 | Set screw with hex. hole Alloy steel Nickel plated, 40 to 263
) | Magnet —
(2 | Piston seal NBR
3 | Rod seal NBR
(% | Tube gasket NBR
1-484 & S\NC



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

Mounting Bolt for CDQ2KB with Auto Switch

Special long bolt for through-hole mounting of CDQ2KB Rear mounting Front mounting

is available. H — N i

How to Order: Specify the required bolts
Example) Bolt M3 X 35 ¢ 2pcs.

Mounting bolt

Mounting bolt A
C

D D'
Model © D Mounting bolt =l D' Mounting bolt Model C D Mounting bolt C' D' Mounting bolt
CDQ2KB12-5DC 35 M3 X35¢ 40 M3 X 40¢ CDQ2KB32-40D 85 M5 X 85 ¢ 85 M5 X 85 ¢
-10DC 40 X40¢ 45 X45¢ -45D 90 X90¢ 90 X90¢
-15DC 5.5 45 X45¢ 55 50 X50¢ -50D 8.5 95 X95¢ 10 95 X95¢
-20DC ’ 50 X50¢ ) 55 X55¢ -75D 120 X120¢ 120 X120¢
-25DC 55 X55¢ 60 X60¢ -100D 145 X145¢ 145 X145¢
-30DC 60 X60¢ 65 X65¢ CDQ2KB40-5D 45 M5 X 45 ¢ 45 M5 X 45 ¢
CDQ2KB16-5D 40 M3 X40¢ 45 M3 X 45¢ -10D 50 X50¢ 50 X50¢
-10D 45 X45¢ 50 X50¢ -15D 55 X55¢ 55 X55¢
-15D 8 50 X50¢ 8 55 X55¢ -20D 60 X60¢ 60 X60¢
-20D 55 X55¢ 60 X60¢ -25D 65 X65¢ 65 X65¢
-25D 60 X60¢ 65 X65¢ -30D 75 70 X70¢ 75 70 X70¢
-30D 65 X65¢ 70 X70¢ -35D ’ 75 X75¢ ’ 75 X75¢
CDQ2KB20-5D 40 M5 X 40¢ 45 M5 X 45 ¢ -40D 80 X80¢ 80 X80¢
-10D 45 X45¢ 50 X50¢ -45D 85 X85¢ 85 X85¢
-15D 50 X50¢ 55 X55¢ -50D 90 X90¢ 90 X90¢
-20D 55 X55¢ 60 X60¢ -75D 115 X115¢ 115 X115¢
-25D 105 50 X60¢ 75 65 X65¢ -100D 140 X 140¢ 140 X140¢
-30D ’ 65 X65¢ ’ 70 X70¢ CDQ2KB50-10D 55 M6 X 55 ¢ 55 M6 X 55 ¢
-35D 70 X70¢ 75 X75¢ -15D 60 X 60¢ 60 X60¢
-40D 75 X75¢ 80 X80¢ -20D 65 X65¢ 65 X65¢
-45D 80 X80¢ 85 X85¢ -25D 70 X70¢ 70 X70¢
-50D 85 X85¢ 90 X90¢ -30D 75 X75¢ 75 X75¢
CDQ2KB25-5D 40 M5X40¢ 45 M5 X 45 ¢ -35D | 125 | 80 X80¢ 125 | 80 X80¢
-10D 45 X45¢ 50 X50¢ -40D 85 X85¢ 85 X85¢
-15D 50 X50¢ 55 X55¢ -45D 90 X90¢ 90 X90¢
-20D 55 X55¢ 60 X60¢ -50D 95 X95¢ 95 X95¢
-25D 95 60 X60¢ 6.5 65 X65¢ -75D 120 X120¢ 120 X120¢
-30D ’ 65 X65¢ ) 70 X70¢ -100D 145 X 145¢ 145 X145¢
-35D 70 X70¢ 75 X75¢ CDQ2KB63-10D 60 M8 X 60 ¢ 60 M8 X 60 ¢
-40D 75 X75¢ 80 X80¢ -15D 65 X 65¢ 65 X65¢
-45D 80 X80¢ 85 X85¢ -20D 70 X70¢ 70 X70¢
-50D 85 X85¢ 90 X90¢ -25D 75 X75¢ 75 X75¢
CDQ2KB32-5D 50 M5 X 50 ¢ 50 M5 X 50 ¢ -30D 80 X80¢ 80 X80¢
-10D 55 X55¢ 55 X55¢ -35D | 145 | 85 X85¢ 145 | 85 X85¢
-15D 60 X60¢ 60 X60¢ -40D 90 X90¢ 90 X90¢
-20D 8.5 65 X65¢ 10 65 X65¢ -45D 95 X95¢ 95 X95¢
-25D 70 X70¢ 70 X70¢ -50D 100 X 100¢ 100 X100¢
-30D 75 X75¢ 75 X75¢ -75D 125 X125¢ 125 X125¢
-35D 80 X80¢ 80 X80¢ -100D 150 X 150¢ 150 X150¢

Auto Switch Mounting Bracket Part No.

Borelsize Applicable switch
Part No. Not
(m) antivo ote Reed switch Solid state switch
* Switch mounting D-F701, J79
12/16 BQ-1 (M3 X 8¢ D-F700V
20/25 .S t
quare nu D-A70J, A8O D-J79C
. . D-A73C, A80C D-F700W, J79W
52140 ¢ Switch mounting D-A7C0H, ASOH D-F700WV
BQ2 | (M3X109 D-A79W D-F7BAL
50/63 * Switch spacer D-F700F
¢ Switch mounting nut D-F7NTL

[Mounting screw set made by stainless steel]
Following stainless steel mounting screw set (included nut) is provided. Use them in accordance with environment.
(Auto switch interface is not included. Order it separately)
BBA2: For D-A7/A8/F7/J7
When D-F7BAL mounted on cylinder is required, the stainless steel screw mentioned above is used at
shipping. When auto switch unit is shipped, BBA4 is attached.

O

SVC 1-485



Series CDQ2K

Auto Switch Mounting Position (at Stroke End) and Mounting Height

\ D-A701 D-A70H D-F70W D-A73C D-A79W
\‘ D-A80 D-A80H D-J79W D-A80C D-F70WV
| D-F70 D-F70F D-J79C D-F700V
/ D-J79 D-F7NTL

D-F7BAL

g 212 to 025

232 to 963
7
_A.J. i J_.E
D-A901V
D-FOOIV
— @32 to 063 D-FOIV -
\\ » - -
o= =
He_o
LA
[ Auto Switch Mounting Position (mm)
N\ D-ATOHIAGOH D-F7BAL D-FOIW
Bore | D-A7D |DATOMIC | pazew |DE7OR | D-ASD | D-FOO | plramuy
‘ i) D-A80 |D-F70ID-JT9FTOV D-J79W D-A9(1V D-FOOV | p_FoBAL
Y, DITSC D-F70WV
= A B A B A B A B A B A B A B
12 9.5 5.5 10 6 7 3 14 10 — — — — — —
16 12.5 5 13 5.5 10 25 17 9.5 = = = = = =
20 155 | 6.5 16 7 13 4 20 11 — — — — — —
25 15.5 7 16 7.5 13 4.5 20 | 115 | — = = = = =
32 18 6 185 | 6.5 | 165 | 35 | 225 | 105 | 17 5 21 9 20 8
40 13 85 | 13.,5 9 10.5 6 175 | 13 12 7.5 16 | 115 | 15 | 105
50 11 115 [ 115 | 12 8.5 9 155 | 16 10 [ 105 | 14 [145 | 13 | 135
63 135 | 145 14 15 11 12 18 19 125 | 135 ] 16,5 | 17.5 | 155 | 16.5
. Auto Switch Mounting Height (mm)
) D-A7CIH/A8OH/F70
' D-A7O D-A73C |D-F70V D-FOV [D-FOOIW
J i D-J79/FTOWNTOW |- ¢ D-J79C |D-A79W|D-A9CIV " -
D-A80 | e F7OFFINTL | D-A8OC | D-FTOWV D-FOCIWV|D-F9BAL
u U u U U u U U u
19.5 20.5 26.5 23 26 22 — — —
22.5 23.5 29.5 26 29 25 — — —
24.5 25.5 31.5 28 31 27 — — —
275 285 34.5 31 34 30 — — —
31.5 32.5 38.5 35 38 34 27 29 26.5
35 36 42 38.5 41.5 37.5 30.5 32.5 30
— 41 42 48 44.5 47.5 43.5 36.5 38.5 36
) 47.5 48.5 54.5 51 54 50 40 42 39.5

1-486

O
:






Series CQ2K
61 2 tO Q25 Without Auto Switch

.

N\

012, 16
Standard (Through-hole)/CQ2KB
35 35 0
7 =
N 4‘/ [=]
N
020, 925
- 5.5 7
=
1 _ @
7/ L
2-M5 H thread effective depth C
onnection port)
:{ F 2-@N through
! nilal
Q h\
[ am— ] \
v T 7 r;
i N ) A v
. y ~ \ —
3 L j; B RAN= S {f/ by , €
[=}]
_ n . 1
i i A—. ‘=TT :
] J N5 d .
/ O\, Piston rod cross
- ct'
e M section
s B
L B+Stroke E
A+Stroke
Rear boss mount (mm)
— Rear boss mount B
N\ G Th9
(mm)
12 [1.5] 15 Joss
/ ﬂ_l- 16 [1.5] 20 Joso
V2 - o 2 20 2| 13 S
L I'LI. hd hd 5 25 2| 15 Jous
G
-
Rod end male thread Rod end male thread (mm)
_ Bore 1ol Hi || x
~ (mm)
\ A 12 |9 M5 [14]105
PV, 16 |10] M6 |155]12
| = 20 |12 M8  [185]14
/ '—L, = | 25 | 15| MI0X1.25 | 225|175
T -
C1
Rod end nut * .~ X o
L1
Standard (mm)
Bore Stroke range
o ) A|B|C|D|E]|F|G H I | K| L|[M|NI|Q Th9
~.
N 12 5 to 30 55| 22| 6 25| 5 |15 M3 32 |52|85(155|8.5[125| 15 804
\ 16 5 to 30 27 |235| 8 | 8 |29 55|15 M4 38 | 6 |35[20 (35|13 | 20 8us
20 5to 50 32 |275| 7 |10 | 36 |55 2 M5 47 | 8 | 45(255|55 |17 | 13 8o
/ 25 5 to 50 355305| 12 [ 12 | 40 | 55| 2 M6 52 |10 | 5 | 28 |55| 19 | 15 304
- * Refer to p.1-442 for details of rod end nut
and optional bracket.
1-488 ZS\VC



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZ K

61 2 to Q25 With Auto Switch

Standard (Through-hole)/CDQ2KB

Lead wire minimum bending radius 10

Auto switch

212, 616

8.5 3.5
.~ |
([P
220, 625

15 -E’-

2-M5
(Connection port)
/ fop
@ 1 ) [
ﬁ — E) —_ —
° i !
Piston rod cross
section
Q F
——
G
L B+Stroke ov
A+Stroke
Rear boss mount
Ml e o2
] © @1 &
G
Rod end male thread
Hi
‘am |
iy - Rod end male thread (mm)
1 Bore oyl h1 L1 x
(mm)
Rod end nut * C1 12 9 M5 14 1105
* Above auto switch: D-A73/A80. X 16 |10 M6 |155|12
Refer to p.1-486 for of auto switch 20 12 M8 185 14
mounting position and mounting height. IS B 25 15 | M10X1.25 |225[17.5
Standard (mm)
Bore Stokerange | p | g | ¢ |p|E|F |G H K|L|mM|[N[Q|[s| T |u|vV
(mm) (mm)
12 5 to 30 365/33| 6 | 6 |32[65]|15 M3 523522 (35|16 |355| 155043 [195]| 25
16 510 30 39 [355] 8 | 8 [38|55]|1.5 M4 6 [3.5/28 35|15 |415 20_8_052 225| 29
20 5to 50 44 1395 7 [ 1047 |55 2 M5 8 |45|36|55(185| 48 13,8_043 245| 36
25 5 to 50 455140512 [ 12 |52 |55 2 M6 10| 5 |40 [5.5] 19 |535 15-8(043 27.5] 40
* Refer to p.1-442 for rod end nut and optional bracket.
ZS\C 1-489

y



Series CQ2K
632 Without Auto Switch

5.5 i

[ H git [=}]
mf 3|
T
2-1/8 (2-m5) "
(Connection port)
4] s 2 M8 thread
19.5(20.5 7.5 (5.5) effective depth 13 2-05.5 through
7 0@0
fo @' : ]
; ‘// ?6\} o]
P
B ) ‘! e
. o\8 e
‘y
+ -+
Piston rod cross section 0
2 34
7 B+Stroke 45 45
A+Stroke 49.5 _
Note 1) ( ): at stroke 5mm
Rear boss mount &
os
&
° (mm)
”—I- ! Stroke range A B
| _{ ! ) + 5 to 50 39 32
U_L \J \J 75,100 49 42
2
Rod end nut Rod end male thread
M4 X 1.5 od end male threa
20.5
23.5
28.5
2-06 36.5

With built-in One-touch

Fitting/e32

/ (Piping tube O.D.)

Fi

G} B

e @

59

013

N

1-490 SVC

O

When with built-in auto switch is required, dimensions of 5 stroke are same as 10 stroke.
* Refer to p.1-442 for details of rod end nut and optional bracket.




Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZK

632 With Auto Switch

55

-

f~

L

e

M8 thread effective depth 13
19.5 2-1/8 Z5 =315 2 - 5.5 through
{Connection port)
/: @\J d
: : 5 i R -
ol = Jan o a — = &L
s N =l oo, -
— N -
Lead wire minimum bending racius 10 Lar)
Autc switch o
5 D-A7/AB a4 &
7 42+ 8troke | 45 4.5 Vs
49+8Stroke 58.5 o {
{
Rear boss mount 2
&
<)

i

Piston rod cross
section 7
Auto switch |
5 D-A9/F9 L
N
Rod end nut Rod end male thread
M14 X 1.5
205 ‘/
23.5 !
28.5 \.
With built-in One-touch fitting/032
2-06 36.5
(Piping tube O.D.)
oo e
L] S
: o \
.
59 B

* Refer to p.1-442 for details of rod end nut and optional bracket.

1-491

O
<

e



Series CQ2K/CDQ2K
640 tO Q63 With Auto Switch

(For those without auto switches, refer to dimensions table
because dimensions of A and B vary.)

'\ Standard (Through-hole)/CDQ2KB

J

e

Otthread R R

\,

=

Both ends tapped: CDQ2KA

Htvead effective depth C

Both ends tapped (mm)

Bore

(mm) O1 R
40 M6 10
50 M8 14
63 M10 18

Q 2P F =U / 4-oN through
{comectonpar) [ 1 7 /800 counter bore
/ — oy / ;
S e +
o I .(90) "{\@— i ;
~Z — il i
(22} - j - Py
= 7 R <i ] —T =W
X o= S S R T
' - Leadwie minmum ./ P ﬁiﬁ;
Piston rod cross bending radus 10,/ T i
section _Auto switch,” |
D-AT/A8 L:L
B+Stroke . E ~J
A+Stroke . -
- Rear boss mout
Rear boss mount (mm)
) Bore
J 2 Th9
== N
« 0
Auto switch 50 350062
D-A9/F9 _ 63 | 3550
2
Rod end male thread
Rod end nut
H _
o S\
N
] ﬁvﬁ Rod end male thread (mm)
) l[ Bore ol m [L1x
: 1 | (mm)
/' X 40 20.5| M14 X 1.5 |28.5|23.5
[ L1 50 26 | M18X1.5[33.5/28.5
63 26 | M18X 1.5 |33.5/28.5
With built-in One-touch fitting
2-P+ (Piping Tube 0.D.) 2-P1V
—_ \ .ﬂ-‘f‘
\ 7 With buittin One-touch fitting (vm)
= Bore | 2 |y | v |wi
! (mm)
/ ——— 40 |13 6 405665
m——— 50 16| 8 |50 |82
63 16| 8 |565] 95
Standard (mm)
. W/o auto |With auto
Boresize | Strokerange | switch | switth | ¢ |p |E |F| H |1 |J|K|L|[M|N| O P a|s| me |u|z
(mm) (mm) A|lB|A|B
~
N 5 to 50 36.5]29.5 0
40 75. 100 465]395 465395 13 |16 |52 | 8 |M8X125|69 | 5 |14 | 7 | 40 |5.5|9 Depth7 1/8 1166 | 28 55 | 35| 14
10 to 50 38.5]30.5 0
50 75. 100 485|405 485(405( 15|20 | 64 (105 M10X15|86 | 7 |18 | 8 | 50 [ 6.6 |11 Depth 8 1/4 10.5| 80 | 350062 | 41 | 19
10 to 50 44 | 36 0
63 75. 100 54 | 46 54 |46 | 15|20 | 77 [105|M10X 1.5 (103| 7 [ 18| 8 [ 60 | 9 |14 Depth 105 1/4 15 | 93 | 35_g g |475| 19
m * Refer to p.1-442 for details of rod end nut and optional brackets.
- V
1-492 ZS\VC



Compact Cylinder/Non-rotating Rod: Double Acting Single Rod Series CDQZ K

Footl(EQZKL, CDQ2KL

B+Stroke

1

Special cap
bolt

X 9

LG

LS+Stroke
A+Stroke

Rod end nut

4-gLD

L1

Front flange/CQ2KF, CDQ2KF

T N

—

Li
—-1*:; 4

B+Stroke

FV

N w1 K

\_4-0FD

FX

A+Stroke

FZ

Rod end male thread

Rod end nut

VY

/L/

L1

Rear flange/CQ2KG, CDQ2KG

g
X

L]
ANE"
VY

FV

@
\§

L\ )

4-oFD

L B+Stroke

Rod end male thread

Rod end nut_/

L1

A+Stroke

Double clevis/CQ2KD, CDQ2KD

O an

Cap bolt

Rod end male thread

Rod

endnut -/

i

Q
c

o
<

B+Stroke

CL+Stroke

A+Stroke

O

oCD hole H10
axis d9

Foot (mm)
Bore | Stroke |W/o auto switch |With auto switch
mm) | (mm) [A]B]LS|A|B]|LS L |Li|LD|LG|LH|LX|LY
5t0 50 |[53.7]29.5]|135
40 75, 100 |63.7] 395 | 23.5 63.7|395|235| 17 [385(6.6| 4 | 33|64 |64
10t0 5056.7 305 | 7.5
50 75, 100 | 66.7 | 405 | 17.5 66.7|405|175( 18 [435| 9 | 5 | 39|79 |78
10t0 50622 36 | 10
63 75,100 | 722 46 | 20 722|46 |20 | 18 [435[ 11| 5 | 46|95 |915
(mm)
Bore zl x|y
(mm)
40 78 (12| 7
50 |95|147| 8
63 |113]162] 9
Front flange (mm)
W/o auto |With auto
Bore | Stroke |"suitch | switch |Fp | FT|Fv [FX|Fz| L [L1| M
(mm) | (mm) A |B|A|B
40 $5t°1%% ggg ‘;gg 56.5(395|5.5| 8 |54 |62 |72 |17 |385| 40
10 to 50485 | 305
50 75, 100 | 585 | 40.5 585(405|6.6| 9 |67 |76 |89 | 18 |435| 50
10to 50| 54 | 36
63 75,100 | 64 | 46 64|46 9 | 9 |80|92|108|18|435| 60
Rear flange (mm)
- + Dimensions except A, L
Bore | Stroke v‘g&%ﬁo Ws'twhi%r’]to and L1 are same as
oW SWICR L | L front fl. t
(mm) (mm) A A ront flange type.
a0 220 ‘5‘2'2 545 | 7 |25
50 [B580-25 575 [ us
o9 [B%ae2 w0 [o]ss
Double clevis (mm)
Bore | Stroke |Without auto switch|With auto switch
(mm) | (mm) [A]BJCL| A]B|CL CD|CT|CU|CW|CX|CZ| L | L1
5to0 50 |68.5]29.5|585
40 75, 100 | 785395 | 68.5 785395 (685(10| 6 |{14|22|18(36| 7 285
‘;%tc;gg ggg ig: sg: 90.5[405(76.5|14| 7 [20|28(22|44| 8 335
10t050/88 |36 | 74
63 75,100 | o8 | 46 | 84 98 |46 | 84 [14| 8 |20(30|22|44| 8 [335
Bore N RR * Refer to p.1-442 for details of rod end nut
(mm) and optional brackets.
#3# Clevis pin and snap ring are packed with
40 M6 10 double clevis type.
50 M8 14
63 M10 14

1-493



Series CQ2KW

ICompact Cylinder/Non-rotating Rod: Double Acting Double Rod
012, 916, 020, 925, 632, 40, 650, 063

How to Order

caz2kw|Bl20l H3o

| [ 1 |

[ [ Icpazkw [B][20] a0

—A73|S

1O HO

_ l |
Thread Port ¢ Number of
(232 to @63) auto switches
— | Re(PT) Auto switch = 2
_E | GPF) Withoutauto switch ~~ § | 1
(Built-in magnet) n n
With auto switch ® * Refer to below table for selection of
, (Built-in magnet) Moun“ng [ auto switch model no.
o N B |Through-hole (Standard) | g12 to 063
A | Both ends tapped e Body option
L F'I:;Ote 240 to 063 ¢ Action — | Standard (Rod end female thread)
P 9 Doubls actn c With rubber bumper
* Mounting brackets are shipped not assembled D u ing (only f12 with switch)
with the cylinder.
. d le thread
¢ Cylinder stoke (mm) M__| Rod end male threa
l L. Refer to standard stroke table
Bore size Piping ® on p.1-495
Bl aon — -in pipi These auto switches have been changed
12 12mm E With iﬁ?r:egnlz :)clzg?ﬁttin @ Contact SMC or view www.smcworld.com
16 | 16mm u 9 FON=MIN  FONV=MINV
20 20mm Note 1) Bore size with built-in One-touch FOP=M9P FOPV=M9PV
I fitting is 232 to ©63.
N 25 25mm FOB=M9B FOBV=M9BV
\ %ﬂ Applicable Auto Switches
%‘518% S Load voltage Rail mounting | Direct mounting | Lead wire (m) *
. . Electrical| §| Wiring Applicable
/ — Style| Special function & 212 to 063 232 to 063 05 | 3|5 [None]
i Output load
L. / 63| 63mm enty | £ ek e (e Perp. | Inline | Perp. | In-line | (&) || @) [(N)
3 wire
Eqivney] —| Y | — — | A76H | A%V | A% | ® @|—|—|IC | —
- Ves —| — [ 200V | A72 | A72H — — o 0 —|—
8 Grommet A73 |ATBH | — | — (@0 |@|@|—| —
S - 12v | 100V
3 || — — | A3V | A3 | @ (@ —|— Rela
3 Nof 2wire | . [5V,12V|<100v| A80 | ASOH | ASOV | A% | @ |@|—|—|IC PLCy!
£ . IVes 12v | — | A73C | — — — | o |®oj®|® —
N NG siv|<2av [Asoc | — | — | — o |@|@|@]IC
T Diagnostic (2 colour) |Grommet |Yes — | — | A7TOW | — — — ® 0| || —
3 wire 5V, 12V F7NV | F79 — — | ® |@|O|—|IC
(NPN) 12V — — |FNV| FON | @ (@|—|—| —
/ Grommet 3 wire 5V, 12V F7PV F7P — — ® (@/O|—| IC
Y, (PNP) — — | F9PV | FP | @ (@ |—|—
g F7BV | J79 i — | ®e |®@|O|—|
. 2 wire 12v — — F9BV F9B o 0| |—
2 Connector J79C — — — [ K 2K 2K
z 3 wire 5V, 12V F7TNWV | F79W | — — |®e |@|O|—]|IC Relay,
2 Diagnost "s| (veN) [24V) 12v | — [ — | — |renwv| Fonw | @ [@]O[—] — |pic
3 lagnostic
g (2 colour) 3 wire w12 — ATl — — ® 0/~ IC
S (PNP) — — |FOPWV|FPW | @ (@ (O |—
Grommet X 12v F7BWV | J79W |F9BWV | F9BW | @ (@ | O|— | —
™ . Water resistant (2 colour) 2 wire — |FBA| — |FoBA| — |@|O]|—
With timer 3wire (NPN) . — | FINT | — — |- ®0/-[
Diagnostic output (2 colour) 4 wire ' — F79F — — ® 00—
Latch with
diagnostic output (2 colour) (NPN) 7 | REER e — ® o —

* Lead wire length ~ 0.5m----- — Example) A80C 5m......... Z Example) AB0CZ
3Meceeeeee L Example) ABOCL  None---- N Example) ABOCN
* Solid state switches marked with a “ () ” are manufactured receipt of order.

1-494

O

SVC



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CQZ K W

Symbol

Non-rotating rod/Double Rod

G4

A\ Caution

Snap Ring linstallation/Removal

(D For installation and removal, use an appropriate pair

~ of pliers (tool for installing a C snap ring).

(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Mounting

(D When removing a load, be sure to secure the wrench
flats of the piston rod on the load side.

(2 If this is done without securing the piston rod on the
load side, be aware that the coupled (screw-in)
portion of the piston rod could become loosened.

(3) Using a non-rotating rod cylinder

* Avoid using the air cylinder in such a way that
rotational torque would be applied to the piston rod. If
rotational torque is applied, the non-rotating guide will
be deformed, causing a loss of non-rotating accuracy.
Use the chart below as a guide for the allowable
rotational torque ranges.

Rotating torque. |912|216 |220|225|232|240 (250 063
kgfcmorless |0.4|1.5|2.0|2.5|4.5|4.5/4.54.5

* Operate the cylinder in such a way that the load to the
piston rod is always applied in the axial direction.

Style

Bore size (mm) 12 16 20 25 32 40 50 63

| Through-hole (Standard) | @ [ J [ J [ J [ J [ J [ J [ J

Mounting

Both ends tapped | — — — — — [ J [ J (]

-% Built-in magnet [ J [ J [ J [ J [ J . o [ J [ J
§ Piping |Screw-in style | M5 M5 M5 M5 Y/'{? 1/8 1/4 1/4
One-touch fitting — — — — | 26/4® @6/4 28/6 8/6

Rod end male thread (] [ ] [ ] [ [ ] [ [ J [ J

Note 1) Without auto switch: M5
Note 2) When the style with built-in fitting is required, dimensio

Standard Specifications

ns of 832, 5 stroke are same as 10 stroke.

Style Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Without auto switch: —10°C to 70°C (No freezing)

Ambient and fluid temperature

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper None )
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance +10

Mounting

Through-hole

Piston speed

50 to 500mm/s

Note 3) 612, with switch: Rubber bumper is standard.

Minimum Operating Pressure  unit: MPa

Non-rotating Accuracy

Bore size (mm) | 12 (16 |20 |25 |32 |40 | 50 | 63

Bore size (mm) [ 12[ 1620 [ 25 |32 [40[50 63

Min o629 1007|007 | 0.05 | 005 | 0.05 | 0.05] 0.05 | 0.05 Moy | x2  #1° 08°
Allowable Kinetic Energy Unit: J

Bore size (mm) 12 16 20 25 32 40 50 63 80 | 100
Standard 0.022 | 0.038 | 0.055| 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
Standard Stroke Unit: mm
Bore size Standard stroke
12,16 5,10, 15, 20, 25, 30
20, 25, 32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
50, 63 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Force Unit: N
Bore size Operating pressure (MPa) Bore size Operating pressure (MPa)
(mm) 0.3 0.5 0.7 (mm) 0.3 0.5 0.7
12 25 42 59 32 181 302 422
16 45 75 106 40 317 528 739
20 71 118 165 50 495 825 1150
25 113 189 264 63 841 1400 1960
ZS\VC 1-495



Series CQ2KW

Weight Unit: g Option Weights Unit: g
~. Bore size Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63
A (mm) 5 |10 ] 1520 [ 2530 ]35]40] a5 | 50 Both ends tapped — === — 16161
\ Rod end male |Malethread| 3 6 12 24 | 52 54 | 106 | 106
/ 12 62 | 69 | 76 |83 |90 | 97 | — | — | — | — thread Nut 2 | 4 | 8 |16 | 34| 34 | 64 | 64
16 62 73 84 | 95 | 106 | 117 | — — — — One-touch fitting — — — — 12 12 21 21
20 101 | 116 | 131 | 146 | 161 | 176 | 191 | 206 | 221 | 236 Foot — | — | — | — | — |155]243 324
Flange — | — | — | — | 214 | 373 | 559
25 138 | 155 | 172 | 189 | 206 | 223 | 240 | 257 | 274 | 291
Calculation example: CQ2KWA40-20DM  Basic weight: CQ2KWB40-20D
32 242 | 266 | 290 | 314 | 338 | 362 | 386 | 410 | 434 | 458 Additional weight: Both ends tapped
40 349 | 380 | 411 | 442 | 473 | 504 | 535 | 566 | 597 | 628 Rod end male thread-
50 — | 548 | 593 | 638 | 683 | 728 | 773 | 818 | 863 | 908
63 — [ 772 | 811 | 850 | 889 | 928 | 967 [1006|1045|1084
. Construction
212 to 932 240 to 063
PBHO®OBO @BOOOH @
‘\/ | | / l,r'? || I |Ir / / ."r
. e N AR o RN Vo / / | [ | X S
® @ ® O @B @6 1@ \ i wr /S
A [ / ' ! i j / /
\ Vo If Vol / /
N, 7 ) /
1y / /
&n | — — _ -
| i ‘ — ]
| N_'_,..__.___,v-v-""
/ \ | \.\
|r Y
h | : T AN
® ® an @ / \
- o I/ Y
AN
@ )
. - A4
With fitting 14 Rod end male thread
= =
| ' ® ! [
Y
- "
’ =111 . ?—q
B | — " /?__ _ - i [ — i
——
| . -
—
T Component Parts
No. Description Material Note No Description Material Note
(» | Cylinder tube Aluminum alloy Hard anodized ® Piston seal NBR
/,‘ @ | Piston Aluminum alloy Chromate 6 | Rod seal for non-rotating NBR
® | piston A Stainless steel 212 to 825 @ Rod seal NBR
= ston Carbon steel 232 to 963, Hard chrome plated a® Gasket NBR
i () Pist ket
@ | Piston B Stainless steel 212 to 925 19 Iston gaske NBR 232 to 63
Carbon steel 232 to 963, Hard chrome plated
® | Rod cover Brass 212, Nickel plated Replacement Parts: Seal Kits
Aluminum alloy 16 to 832, Anodized B 5 .
® | Collar for non-rotating Aluminum alloy 240 to 963, Anodized (mm) Kit No. Note
> | collar Aluminum beating alloy | 612 to 940, Anodized P COZKWB12.PS
~ Aluminum alloy casting | @50 to 863, Chromated, coated 16 CQ2KWB16-PS
A\ ® | Snap ring Carbon tool steel Phosphate coating 20 CQ2KWB20-PS
(@ | Bushing for non-rotating | Oil impregnated sintered alloy 216 to 063 25 CQ2KWB25-PS A set of above nos.
@ | Bushing Lead bronze casting @50, 963 32 CQ2KWB32-PS @, @, @ and (9.
@D | Hex. socket head cap screw Alloy steel 212 to @32, Nickel plated 40 CQ2KWB40-PS
2 | Hex. socket set screw Alloy steel 240 to 263, Nickel plated 50 CQ2KWB50-PS
@ | Rod end nut Carbon steel Nickel plated 63 CQ2KWB63-PS
@ | One-touch fitting — 232 to 963 *Seal kits are sets consisting of items @, @, @ and (8, which can be ordered using the

1-496

O

SVC

order number for each cylinder bore size.



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CQZKW

Mounting Bolt for CQ2KWB

Special bolt for through-hole mounting of CQ2KWB — Mounting at non-rotating side
is available as option.
How to Order: Specify the required bolts fﬂ _\Ad Mounting bolt

Example) Bolt M3 X 40 ¢ 2 pcs. —

Model C D |[Mountingbolt — C' D' | Mounting bolt Model C D Mounting bolt
CQ2KwB12-5D 40 | M3X40¢ 40 | M3X40¢ CQ2KWB40-5D 45 M5 X 45 ¢
-10D 45 X45¢ 45 X45¢ -10D 50 X50¢
-15D 8.3 |50 X50¢ g5 [ 50 X50¢ -15D 55 X55¢
-20D 55 X55¢ 55 X55¢ -20D 60 X60¢
-25D 60 X 60¢ 60 X60¢ -25D 7 65 X 65¢
-30D 65 X65¢ 65 X65¢ -30D 70 X70¢
CQ2KWB16-5D 40 | M3X40¢ 40 | M3X40¢ -35D 75 X75¢
-10D 45 X45¢ 45 X45¢ -40D 80 X80¢
-15D 75 50 X50¢ 75 50 X50¢ -45D 85 X85¢
-20D ' 55 X55¢ ' 55 X55¢ -50D 90 X90¢
-25D 60 X60¢ 60 X 60¢ CQ2KWB50-10D 55 M6 X 55 ¢
-30D 65 X65¢ 65 X65¢ -15D 60 X 60¢
CQ2KWB20-5D 40 | M5X40¢ 40 | M5X40¢ -20D 65 X65¢
-10D 45 X45¢ 45 X45¢ -25D 70 X70¢
-15D 50 X50¢ 50 X50¢ -30D 12.5 75 X75¢
-20D 55 X55¢ 55 X55¢ -35D 80 X80¢
-25D 6.5 60 X 60¢ 8 60 X60¢ -40D 85 X85¢
-30D 65 X65¢ 65 X65¢ -45D 90 X90¢
-35D 70 X70¢ 70 X70¢ -50D 95 X95¢
-40D 75 X75¢ 75 X75¢ CQ2KWB63-10D 55 M8 X 55 ¢
-45D 80 X80¢ 80 X80¢ -15D 60 X 60¢
-50D 85 X85¢ 85 X85¢ -20D 65 X65¢
CQ2KWB25-5D 45 | M5X45¢ 45 | M5X45¢ -25D 70 X70¢
-10D 50 X50¢ 50 X50¢ -30D 13.5 75 X75¢
-15D 55 X 55¢ 55 X55¢ -35D 80 X80¢
-20D 60 X 60¢ 60 X60¢ -40D 85 X85¢
-25D 8.5 65 X65¢ 4 65 X65¢ -45D 90 X90¢
-30D 70 X70¢ 70 X70¢ -50D 95 X95¢
-35D 75 X75¢ 75 X75¢
-40D 80 X80¢ 80 X80¢
-45D 85 X85¢ 85 X85¢
-50D 90 X90¢ 90 X90¢
CQ2KwWB32-5D 50 | M5X50¢ 45 | M5X45¢
-10D 55 X55¢ 50 X50¢
-15D 60 X 60¢ 55 X55¢
-20D 65 X65¢ 60 X60¢
-25D 11 70 X70¢ 75 65 X65¢
-30D 75 X75¢ ' 70 X70¢
-35D 80 X80¢ 75 X75¢
-40D 85 X85¢ 80 X80¢
-45D 90 X90¢ 85 X85¢
-50D 95 X95¢ 90 X90¢

Copper Free

20 —CQ2KWB | Bore Size |- Stroke |D (M) Specifications
T ) L Action Double acting double rod
Copper Free Series 216, 920, 925, 632, 640, 050, 063 Cylinder bore size 016, 920, 025, 032, 040, 050, 063
. . . . . Proof Pressure 1.5MPa
To eliminate influences of copper ions or halogen ions during -
. . . Max. operating pressure 1.0MPa
CRT manufacturing processes, copper and fluorine materials
Rubber bumper None
are not used as component parts. — P
Piping Screw-in piping
Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable

1-497

O
<

e



Series CDQ2KW
Auto Switch Specifications

x Refer to p.6-15 for details of auto switch.

L)

)
53';"

Minimum Strokes for Auto Switch Mounting (mm)
: / D-A70] DA D-F70O0W
i — H D-A80 D-A80H
i / Numberof | PF70V | B-AB0 | r7owy | DFTO DJTSW
! oo el . D-J79C D-J79 D-A79W | D-F7BAL | D-F7LF | D-F9N
\‘ P \ auto switches D-A80C | D-F9COWV | p-FoB D-F79F
- D-FOLIV | p.agmiv D-FoP D F7g AL
. D-A90) D-FoLIW -F9
[y y
\ 1 5 5 10 15 15 20 25 10
(jyﬁ‘ 2 5 10 15 15 20 20 25 10
Weight Unit: g Option Weights Unit: g
Bore size Cylinder stroke (mm) Bore size (mm) 12 (16 | 20 | 25 | 32 | 40 | 50 | 63
(mm) 5 10| 15|20 |25 |30 | 35| 40 | 45 | 50 Both ends tapped — | =] =l =|=1638s 6 | 19
12 82 |90 | 98 |106 | 114|122 — | — | — | — Rod end male |Malethread| 3 | 6 | 12 | 24 | 52 | 54 | 106 | 106
16 103 | 114 | 125|136 | 147|158 | — | — | — | — thread Nut 2 | 4| 8 |16|34 34| 64|64
20 169 | 186 | 203 | 220 | 237 | 254 | 271 | 288 | 305 | 322 With fitting — | == =|12]12]|21 |21
25 231 | 248 | 265 | 282 | 299 | 316 | 333 | 350 | 367 | 384 Calculation example: CDQ2KWA40-20DM  Add each weight of auto switches
32 270 | 294 | 318 | 342 | 366 | 390 | 414 | 438 | 462 | 486 «Basicweight  CDQ2KWB40-20D -~+-551g gcvﬁcfﬂglslrglrzgré)éiicrlgswhen auto
40 458 | 489 | 520 | 551 | 582 | 613 | 644 | 675 | 706 | 737 * Additional weight Egtgl :ﬁéjmgﬁﬁ?ead ----- 5 gg '
50 — | 680 | 725 | 770 | 815 | 860 | 905 | 950 | 995 | 1040 6459
63 — | 906 | 945 | 984 [1023]|1062|1101]1140|1179]1218 . . .
Weight/Auto Switch Mounting Bracket
Part No. Bore size Weight (g)
BQ-1 012 to 925 1.5
BQ-2 232 to 063 1.5
Construction
212 to 925 032 040 to 063

REO® BO
AR T T

NV
® \jis : I
| . N /

S - .
—— Y — | -
p
lU—‘I 12
X Auto switch
a3 |
Component Parts
NO. Description Material Note NO. Description Material Note
(1 | Cylinder tube Aluminum alloy Hard anodized (5 |Piston seal NBR
(2) | Piston Aluminum alloy Chromated (1® |Rod seal for non-rotating NBR
. Stainless steel 212 to 925 (7 |Rod seal NBR
@ | Piston rod A Carbon steel 032 to 63, Hard chrome plated (3 |Gasket NBR
. Stainless steel 012 to 925 (19 |Piston gasket NBR 232 to 863
) Y
@ | Piston rod B Carbon steel 032 to 963, Hard chrome plated
Brass 212, Nickel plated . i
® | Rod cover : plate Replacement Parts: Seal Kits
Aluminum alloy 216 to 32, Anodized Bore size
® | Collarfor non-rotating |  Aluminum alloy 240 to @63, Anodized (mm) Kit No. Note
@ | collar AIumilnum bearing alnloy 012 to @40, Anodized 12 CQ2KWB12-PS
Aluminum alloy casting | @50 to 963, Chromated, coated 16 CQ2KWB16-PS
(® | Snap ring F)arbon toql steel Phosphate coating 20 CQ2KWB20-PS
© Bushing for non-rotating | Oil impregnated sintered .<’i||0y 216 to 963 o5 CQ2KWB25-PS A set of above nos.
{0 | Bushing Lead bronze casting 250, g63 a2 CQ2KWB32-PS @, (9, @ and 8.
(1) | Hex. socket head cap screw Alloy steel 212 to 625?, Nickel plated 40 CQ2KWB40-PS
(2 | Hex. socket head cap screw Alloy steel 232, Nlcke.l plated 50 CQ2KWB50-PS
3 | Hex. socket set screw Alloy steel 240 to 963, Nickel plated 63 CQ2KWB63-PS
i | Magnet — - - - - ‘ N -
* Seal Kits are sets consisting of items (5, (6, @ and @8, which can be ordered using the
order number for each cylinder bore size.
- 7
1-498 & S\NC



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CD 02 K W

Mounting Bolt for CDQ2KWB with Auto Switch

Special bolt for through-hole mounting of
CDQ2KWB is available as option.

Mounting at non-rotating side

How to Order: Specify the required bolts. Mounting bolt -
Ex.) Bolt M3 X 40 ¢ 2 pcs. Mounting bolt ' [ W
lc c' |
D v
Model C D Mounting bolt C' D' Mounting bolt Model C D Mounting bolt
CDQ2KWB12-5DC 40 M3 X 40 ¢ 45 M3 X 45 ¢ CDQ2KWB40-5D 55 M5 X 55 ¢
-10DC 45 X45¢ 50 X 50¢ -10D 60 X60¢
-15DC | o4 | 50 X50¢ o4 |55 X55¢ -15 65 X65¢
-20DC | — 55 X55¢ : 60 X 60¢ -20D 70 X70¢
-25DC 60 X60¢ 65 X65¢ -25 7 75 X75¢
-30DC 65 X 65¢ 70 X70¢ -30D 80 X80¢
CDQ2KWB16-5D 45 M3 X 45 ¢ 50 M3 X 50 ¢ -35D 85 X85¢
-10D 50 X50¢ 55 X 55¢ -40D 90 X90¢
-15D | . | 55 X55¢ , | 60 X 60¢ -45D 95 X95¢
-20D ’ 60 X 60¢ . 65 X65¢ -50D 100 X100 ¢
-25D 65 X65¢ 70 X70¢ CDQ2KWB50-10D 65 M6 X 65 ¢
-30D 70 X70¢ 75 X75¢ -15D 70 X70¢
CDQ2KWB20-5D 45 M5 X 45 ¢ 55 M5 X 55 ¢ -20D 75 X75¢
-10D 50 X50¢ 60 X60¢ -25D 80 X80¢
-15D 55 X55¢ 65 X 65¢ -30D 12.5 85 X85¢
-20D 60 X 60¢ 70 X70¢ -35D 90 X90¢
-25D 9 65 X 65¢ 11 15 X75¢ -40D 95 X95¢
-30D 70 X70¢ 80 X80¢ -45D 100 X100 ¢
-35D 75 X75¢ 85 X85¢ -50D 105 X 105¢
-40D 80 X80¢ 90 X90¢ CDQ2KWB63-10D 65 M8 X 65 ¢
-45D 85 X85¢ 95 X95¢ -15D 70 X70¢
-50D 90 X90¢ 100 X 100 ¢ =20 75 X75¢
CDQ2KWB25-5D 45 M5 X 45 ¢ 55 M5 X 55 ¢ -25D 80 X80¢
-10D 50 X50¢ 60 X60¢ -30D 135 85 X85¢
-15D 55 X55¢ 65 X 65¢ -35D 90 X90¢
-20D 60 X 60 ¢ 70 X70¢ -40D 95 X95¢
-25D 8 65 X 65 ¢ 10 15 X75¢ -45D 100 X100 ¢
-30D 70 X70¢ 80 X80¢ -50D 105 X 105¢
-35D 75 X75¢ 85 X85¢
-40D 80 X80¢ 90 X90¢
-45D 85 X85¢ 95 X95¢
-50D 90 X90¢ 100 X100 ¢
CDQ2KWB32-5D 60 M5 X 60 ¢ 55 M5 X 55¢
-10D 65 X 65¢ 60 X 60¢
-15D 70 X70¢ 65 X65¢
-20D 75 X75¢ 70 X70¢
-25D 11 80 X80¢ ,5 | 75 X75¢
-30D 85 X85¢ . 80 X80¢
-35D 90 X90¢ 85 X85¢
-40D 95 X95¢ 90 X90¢
-45D 100 X100 ¢ 95 X95¢
-50D 105 X 105¢ 100 X100¢
Auto Switch Mounting Bracket Part No.
i Applicabl itch
Bore size Part No. Note : pplicable swi C. :
(mm) Reed switch Solid state switch
12116 5O . S'\\AN:;t?:ountlng screw D-F701, J79
20/25 .(Square :jt D-A70], ASO D-F70V
D-A73C, A80C D-J79C
. . D-A7CH, ASOH D-F700W, J79W
* Switch mounting screw D-A79W D-F7OWV
32/40 BQ-2 (M3X10¢) D-F7BAL
50/63 * Switch spacer D-F70F
¢ Switch mounting nut D-F7NTL
* Mounting screw set made by stainless steel
Following stainless steel mounting screw set (including nut) is provided. Use them in accordance
with environment. (Auto switch interface is not included. Order it separately.)
BBA2: For D-A7/A8/F7/J7
When D-F7BAL mounted on cylinder is required, the stainless steel screw mentioned above is used
at shipping. When auto switch unit is shipped, BBA2 is attached.
%SNC 1-499



Series CDQ2KW

Auto Switch Mounting Position (at Stroke End) and Mounting Height

.

\ D-A70] D-A7CH D-F7O0W D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7O0WV
| D-F70 D-F7LF D-J79C D-F700V

/ D-J79  D-F7NTL

- D-F7BAL

012 to 025

=l

032 to 063

U
1\

o

w

|

ek

of

R

|

T
N
| 032 to 063
. Auto Switch Mounting Position
N D-A7C1H/A80H D-F7BAL
. D-A70] | D-A73C/A80C D-F7OW | p agr D-F9C] D-FoOIW
Bore size D-A80 D-F70/J79 D-A79W B:.'J:;,g‘jvc D-A9C1V D-FOrIV B-ESEX\{-V
(mm) D-F700V/J79C D-F700WV )
s A B A B A B A B A B A B A B
- 12 95 | 10 | 10 | 105 | 7 75 | 14 | 145 | - - - - - -
16| 125 | 105 | 13 | 11 10 8 17 | 15 - - - - - -
20 | 155 | 13 | 16 | 135 | 13 | 105 | 20 | 175 | - - - - - -
25 | 155 | 13 | 16 | 135 | 13 | 105 | 20 | 175 | - - - - - -
32 18 | 135 | 185 | 14 | 155 | 11 | 225 | 18 | 17 | 125 | 21 | 165 | 20 | 155
40 13 | 19 | 135 | 195 | 105 | 165 | 175 | 235 | 12 | 18 | 16 | 22 | 15 | 21
50 11 | 215 | 115 | 22 | 85 | 19 | 155 | 26 | 10 | 205 | 14 | 245 | 13 | 235
63 | 135 | 205 | 14 | o2t 11 18 | 18 | 25 | 125 | 195 | 165 | 235 | 155 | 22.5
. Auto Switch Mounting Height (mm)
D-A7CH
D-A80H
| p.a70 |BY75 | D-A73C |D-FTOV D-FOOV | D-FIOW
/ D-A80 |B-EZ5WY| p-Asoc |p-F7owy| D-979C | D-A7SWID-ASCIV 10—y | b FeBAL
D-F7BAL
D-F7CF
D-F7NTL
U U U U U U U U U
19.5 205 26.5 23 26 22 - - -
225 235 29.5 26 29 25 = = =
245 25.5 315 28 31 27 - - -
275 28.5 34.5 31 34 30 = = =
315 32.5 38.5 35 38 34 27 29 26.5
- 35 36 42 385 415 375 30.5 325 30
\ 41 42 48 44.5 475 435 36.5 385 36
\ 475 485 54.5 51 54 50 40 42 395
1-500 @SNC






Series CQ2KW
ﬁ1 2 tO Q32 Without Auto Switch

A 012, 016 020, 025
/ 5 382 -5 Standard (Through-hole)
7 =y < 2 _ I _:'_ - |
] Pz Py /CQ2KWB
012 to 925
2'_P 2-Hthread effective depthC
Q(Conngchon port) (Opposite side, t00) 2-gN through
Y (e, k= )9
D} !_ fd
%T_Tf a b fl‘"\_D-I \g w EE::_{ =
=1 A= ) a 3
! 7 %
Piston rod @/_-_\O w
Y. = \ 2 Wich across fiats K2 cross section i
_ L B+Stroke | L+Stioke
A+25 (Stroke) |
032 -85 -
8
i s
~ 11—
N\
2-p
a _,.'-"‘(CD”:E‘:“"" port) 2-Hthread effective depth C 2-0N through
; / '—‘I (Opposite side too) /
% | N /
. , y | P
7 1 \@O) e TN &)
2l i ?,h = ; PSR ~ ; _, Rod end male thread (mm)
El e
'E]!" N (;;i"' & % S NI @0 : Bore Ad Ci Hi
i | I \.\" 2Wid1h“ ts K2 Piston rod - (mrm)
__| \ across flats L
[ | cross section | 12 58.2 9 M5
|J_G ; L] | - “E“' ) 16 62 | 10 M6
. L B+Slri:::e;2 L+Stroke L W 20 71 12 M8
— | +2 (Stroke) -
. 25 82 15 | M10X1.25
X 32 96.5 | 20.5 | M14X15
Rod end nut Rod end male thread Rod end nut.
2\ \ Bore | |, | x
/ S [ (mm)
L T o — _ 12 14 | 105
| t b 16 | 155 | 12
o | I
[oTI | lLCi ] 20 18.5 14
XL | _ 25 225 | 17.5
L1 | L1+Strok
" A1+2 (Stroke) e 32 28.5 | 235
With built-in One-touch Fitting/@32 »
— 2-06
™~ /TPiping fube 0.0}
@
PR ==
60.5 + Dimensions of @32, 5 stroke with built-in
One-touch fitting are same as 10 stroke.
Standard (mm)
Bore Stroke range
(mm) (mm) A|lB|C|D|E|F|G H I | J|KI|K2|L|M]|N P Q Th9 Wi\ z
. 12 5to 30 372(302| 6 | 6 |25 |10 |1.5 M3 32| - |52| 5 |35|155|35 M5 15 | 15 3043 | — | —
N 16 5 to 30 38|31| 8|8 |29|10|1.5 M4 38| - | 6| 6 |35][20]35 M5 15 | 20 Jpso | — | —
\ 20 5 to 50 43 34| 7 |10|36 |95 2 M5 47 | — | 8 | 8 |45(255|5.5 M5 175| 183 3045 | — | —
25 5 to 50 47 |37 |12 |12 |40 | 11 | 2 M6 52| — |10 (10| 5 | 28 |5.5 M5 19 | 15 30| — | =
5 M5
7 32 535[395( 13 | 16 | 45 | 125 2 M8 60 (45|14 |14 | 7 |34 |55 25| 21 555|495 14
10 to 50 1/8
« Refer to p.1-442 for details rod end
nut and optional bracket.
1-502 %
=74



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CDQZ K W

Q 1 2 tO 632 With Auto Switch

Standard (Through-hole)/CDQ2KWB

012, 16 020, 925
0 7
8.5 3.‘1‘3 15 . o
212 to 925 o s 1 B3
777777 7
| e M | 2
Lead wire minimum
2-H thread effective depth _M
| (Opposite  2-oN through " Auto switch
D '\Iside, too) £
— i |, 2-p
(eD %i . (Connection port)
~Z = of ;
2l Lo & 34l
@
Piston rod !
cross section = E '\ 2 Width across flats K2
:- G - ] ﬂ—‘E
L B+ Stroke |+ Stroke
L At+2(Stroke) |
232 032
Rod end male thread (mm)
Bore
2P 2H threaa_ effa_mwe depth (mm) A1 C1 H1
Piston roc:_ a /.: ..'[Cor}:ectlnn port) -{inﬁosnisnde Ioo; e 12 654 9 V5
Cross section /, / 16 72 10 M6
F 20 83 12 M8
Ch) /
~Z N1 of f = 25 92 15 M10 X 1.25
(’]‘5’ & Bd it S %] ]l 32 | 1065 205 | M14X15
& % Width Lead wire minimum'—
‘. across bendingreadius10 /) Bore L
\ flats K2 Auto switch / ) 1 X
G L D-ATIAE
L[ B+Stroke |_+Slroke‘_: 12 14 10.5
A+2 (Slroke) 16 15.5 12
Rod end nut Rod end nut 20 18.5 14
2:H1 N\ 25 225 | 17.5
Rod end male thread N e S 32 285 | 235
S 1|
Ci — Ci %
i X = LX " Auto switch
L1 L Li+Stroke D-AS/F9
A1+2(Slroke)
With built-in One-touch fitting/e32
Q 208
/(Piping tupe 0.0.)
Above auto switch: D-A73/A80.
Refer to p.1-500 for auto switch L %
mounting position and mounting
height.
Standard mm)
Bore Stroke range
(mm) (mm) A(B|C|D|E|F |G H | J|KI[K2| L|{M|N p Q S Th9 U vV | Z
12 5to 30 44413741 6 | 6 | 32]105|1.5 M3 — | —|52| 5 |35(22 (35 M5 155 | 355 15_09052 195 | 25 | —
16 5to 30 48141 8 | 8 |38 |10|1.5 M4 —|— | 6 35|28 (3.5 M5 15 | 415 20_0%52 25129 | —
20 5to 50 5546 | 7 | 10|47 |105] 2 M5 —|— | 8| 8 |45|/36|55 M5 185 | 48 13_09052 25|36 | —
25 5to 50 57147 12|12 |52 11| 2 M6 — | —|10]|10| 5 |40 |55 M5 19 | 535 15_0%52 275 | 40 | —
32 5to 50 635(495| 13| 16 | 45 |125| 2 M8 60 |45|14 |14 | 7 |34 |55 1/8 215 | 585 | 21 _09052 315 | — |14
«Refer to p.1-442 for details of rod end nut and optional
bracket.
7 -
ZSVC 1-503



Series CQ2KW/CDQ2KW
640 tO 663 With Auto Switch

(For those without auto switches, refer to dimensions tabel
because A and B dimensions vary.)

Standard (Through-hole)/CQ2KWB, CDQ2KWB

e PR . AR
{|Cannection port)

\.@oj

Both ends tapped: CQ2KWA/CDQ2KWA

Onthread R_ e Both ends tapped (mm)
N, Bore o1 -
e — (mm)
j—#__ 40 M6 | 10
ld B _F_—.H:Ll 50 M8 | 14
- 63 Mo | 18

2 Width across
flats K2

) o —
&9 g B
g it @ 1

Piston rod
cross section

L[ BeStoke
A+2 (Stroke)

.i. L+Stroke

Lead wire minim

D-AT7!,

Rod end male thread

um
bending radius 10_/
Auto switch /

AB

2-H thread effective depth C
/" (Opposite side too)
/40N through
/// 800 counter bore
i

Rod end nut Rod end nut
2-Hs N N
\ \.},“ E— \\
5 ias!
T
I Auto switch
> gl il G (o
D-AG/F9 ; .).Ej X
L1 L1+ Stroke
A1-2 (Stroke)
Rod end male thread (mm)
One-touch | Without
Bore | fiting |autoswitch| G+ | H: | Lt | X
) A1 A1
40 97 107 |20.5| M14X15|28.5|23.5
50 107.5 1175 | 26 | M18X1.5 |33.5[285
63 109 119 26 | M18X15 335|285
@63 Cylinder tube form
With built-in One-touch fitting
- " With built-in One-touch fitting (mm)
P 5t S — -
..-"(P'p'”g tube O.D.) Bore Z4 P4 v Wi
- (mm)
40 13 6 40.5 | 66.5
A 5 50 16 8 50 82
) | Yy S 63 16 | 8 |565| 95
Above auto switch: D-A73/A80.
Refer to p.1-500 for auto switch mounting position
and mounting height.
Standard (mm)
W/o W/
Bore | Stroke range |auto switch|awtoswith| ¢ | D [E| H |1 |J |Ki|K2|L|M|N| O P |a|s| T |u|z
(mm) (mm)
A|B|A|B
40 5to 50 54140 |64 |50 |13 |16 | 52 M8 69| 5 |14 |14 | 7 | 40 | 5.5|9Depth7 1/8 14 | 66 28_8_052 35| 14
50 10 to 50 56.5)|40.5(66.5|505| 15 | 20 | 64 M10 86| 7 |18 |17 | 8 | 50 | 6.6 |11 Depth8| 1/4 14 | 80 35_8_062 41|19
63 10 to 50 58 |42 | 68 | 52 | 15| 20 | 77 M10 103| 7 |18 |17 | 8 | 60 | 9 |14Depth105| 1/4 155| 93 35—8.062 475| 19
m * Refer to p.1-442 for details of rod end nut and optional bracket.
1-504 ZSVC



Compact Cylinder/Non-rotating Rod: Double Acting Double Rod Series CDQZ K W

040 to 063

Foot/CQ2KWL, CDQ2KWL

Rod end nut

="

Rodend ri,

L1+Stroke

L + Stroke __

—] Rod end male thread (mm)
———— B Without With
e auto switch | auto switch L1
(15) A1 A1
40 117 127 38.5
Special cap| / | 50 127.5 137.5 43.5
bolt s Y, 63 129 139 43.5
L A+2 (Strol
Foot (mm)
Bore Stroke range |Without auto switch| With auto switch Ll ol oy izl x |y
(mm) (mm) A|B|LS|A|B|LS
40 5 to 50 74140 |24 |84 |50 (34|17 66| 4 |33 |32|64|68|78 112 7
50 10 to 50 76.5[40.5(17.5|86.5(505(275| 18 | 9 | 5 |39 (32|79 |78 |95 |147| 8
63 10 to 50 78 |42 |16 |88 |52 |26 |18 |11 | 5 |46 |3.2| 95 [91.5(113|162| 8
Flange/CQ2KWF, CDQ2KWL
Rod end nu} H Rod end nut
@ [ ] Rod end male thread (mm)
Without With
Bore auto switch | auto switch L3 La
i) A1 A1
Lo L2+Stroke 40 107 117 38.5 28.5
. Al+2(Stroke) . _ 50 117.5 127.5 435 33.5
63 119 129 43.5 33.5
.
| "\4-aFC
B L2+5troke | b FX. |
A+2 (Stroke) FZ i
Above auto switch: D-A73/A80 Refer to p.1-500 for auto switch mounting
position and mounting height.
Flange (mm)
Without | With
g?rrne) Stro(l(:n:a)nge auto switch |auto switch | Fp | FT | FV [ EX | FZ 1 L1 | L2 | M
A|B|A|B
40 510 50 64|40 |74 |50 55| 8 |54 62|72 |17 | 7 | 40
50 10 to 50 66.5]40.5(76.5|505(/6.6| 9 |67 |76 |89 |18 | 8 | 50
63 10 to 50 68 |42 |78 52| 9 | 9 [80]92|108] 18| 8 | 60
m * Refer to p.1-442 for rod end nut and optional bracket.
7 -
& SNC 1-505



Compact Cylinder/Axial Piping: Double Acting Single Rod

Series CQP2

o012, 0616, 920, 025, 632, 640, 850, 063, 680, 100

How to Order

N Standard

Thread Port l
(232 to 100)

Rc(PT)
G(PF)

_E |

With auto switch ¢
(Built-in magnet)

E

CQP2 B
ChQP2 B

50

30

I

I

50

30

1OHO

A73| S

. _Bore size ¢
12 | 12mm
16 | 16mm
20 | 20mm
25| 25mm
7 32 | 32mm
40| 40mm
50| 50mm
63 | 63mm
80| 80mm
100 100mm

1-506

[

Auto switch

Without auto switch

* Number of auto

switches
—— T 2
_8s | 1

n n

switch model no. selection.

*Refer to table below for auto

» Body option

Standard (Rod end female thread)

Axial piping ¢ Action A C | With rubber bumper @
Mounting ¢ D | Double acting M__ | Rod end male thread
B |Through-hole *Combination of body option is possible. CM
. Note 2) Rubber bumper for air hydraulic

Style ¢ ¢ Cylinder stroke (mm) type is not available.

- Refer to standard stroke table on -
= Pneumatic p.1-507 These auto switches have been changed
H Air-hydro () Contact SMC or view www.smcworld.com

Note 1) Air-hydro tube: Bore size 620 FON=M9N FONV=MONV
to 100 FOP=M9P FOPV=M9PV
] FOB=M9B FOBV=M9BV
Applicable Auto Switches
§ Load voltage Auto switch model Lead wire® (m)
q q Electrical | §| Wiring Applicable
Style Specialfuntion entry § (output) DC AC | Perpendicular In-line 0513 |5 Nonel  Joad
= H[O]@[N
3wire (Equiv. NPN)|  — 5V — — A76H ® @&/ —|—|IC | —
v — — | 200V A72 A72H ® o —|—
< es
L Grommet A73 A73H ® |00 — | —
=S 12v 100V
: — || — — ° o —|—
B No| 2wire 5v, 12v]i00voress] A8 ASOH | @ |@|—[—| ic |Relay.
0 24v PLC
(= o |Yes| 12V — A73C — o 0o/0 0 —
onnector| g, 5V, 12V|avorless]  ABOC — e e0/0C
Diagnostic (2 colour) | Grommet |Yes — | — A79W — ® |0 —|—|—
3 wire (NPN) 5v 12V F7NV F79 ® @0~ ¢
Grommet 3 wire (PNP) Y F7PV F7P ® |0 O —
< 2 wire 12v F7BV J79 ® 0 O —
£ Connector J79C — o 00 0 —
. b . 3 wire (NPN) sV 12V F7NWV F79W ® |0 0| — c
5 eonoste Yes[gwiepnp)| 2av || — [ — F7PW | @ [@[O[—| =~ |32
z (8 colour) _ F7TBWV | J7ow | @ |@[O[—
° - 2 wire 12v J—
& |Water resistant (2 colour)| Grommet — F7BA — | ®@|O|—
With timer 3 wire (NPN) 5V 12V — F7NT — |®|O|— c
Diagnostic output (2 colour) ’ = F79F ® (0 0O|—
Latch type with diagnostic output 4 wire (NPN)
(@ colour) —_ = F7LF ® O O|—| —
*Lead wire length 0.5m --.... — (Example) ABOC ~ 5m et Z (Example) A80CZ

3m -

- L (Example) ABOCL None ----N (Example) ABOCN

*#Solid state switches marked with a "O" are manufactured upon receipt of order.

O
:



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CQP2

Rod end
male thread \_,

JIS symbol

Double acting: Single rod

A Caution

’ Snap Ring Installation/Removal

(1 For installation and removal, use an appropriate pair

of pliers (tool for installing a C snap ring).

(2) Exercise caution even when using an appropriate

pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming

detached from the tip of the pliers (tool for installing a

C snap ring) and flying away, which could injure

humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed

securely in the ring groove before supplying air.

Mounting/Removing

(1 Do not remove the hexagon socket set screw on the

side of the rod.

* Be aware that if the hexagon socket set screw is

removed with compressed air supplied to the cylinder,
an internal steel ball could fly out or the compressed
air could be discharged, leading to injury to humans or

damage to peripheral equipment.

Model
Bore size (mm) 12 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
Mounting|Thoughoess) ® | @ (@ (@ @ o[ 0|0 [ o@ | @
o | Built-in magnet [ ) o [ ) o [ ) o [ ) o o o
£ | pining |Scowinste| Ms | s | s | ws | |FPD AT AP ASPD) Aol
= Rodendmalethread | @ | ® | @ | ® | ® ©® © © | @ | ©
Rubber bumper ® o o o o o o o o o
Mounting | Through-hole (Std.) | — - [ ] [ ] o (] o o [ ] o
g Built-in magnet - - e & o o o o o o
g Piping |Screw-in style| — - M5 | M5 Ri(/:r) R:(/';T) R:(/T) R:(/T) R;(/ZT) Rg(/':;)
Rod end male thread - - e o o o o o o o
Standard Specifications
Style Pneumatic (Non-lube) Air-hydro
Fluid Air Turbine oil (1)
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Ambient and fluid temperature Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)
Rubber bumper None —
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance +(1)-0
Mounting Through-hole
Piston speed 50 to 500mm/s 5 to 50mm/s
Minimum Operating Pressure Unit: MPa
Bore size (mm) 12 16 20 25 32 40 50 63 80 100
Pneumatic (non-lube) 0.07 | 0.07 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05 | 0.05
Air-hydro - - | 0.18 | 0.18 | 0.18 | 0.10 | 0.10 | 0.10 | 0.10 | 0.10
Allowable Kinetic Energy Unit: J
Bore size (mm) 12 16 20 25 32 40 50 63 80 100
Standard type 0.022 | 0.038 | 0.055| 0.09 | 0.15 | 0.26 | 0.46 | 0.77 | 1.36 | 2.27
With rubber bumper | 0.043 |0.075| 0.11 | 0.18 | 0.29 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54
Standard Stroke
Pneumatic (Non-lube) Unit: mm Air-hydro Unit: mm
Bore size Standard stroke Bore size Standard stroke
12,16 5,10, 15, 20, 25, 30 20, 25 5,10, 15, 20, 25, 30, 35,
20.25 5,10, 15, 20, 25, 30, 35, 40, 45, 50
’ 40, 45, 50 3240 5,10, 15, 20, 25, 30, 35,
32 40 5,10, 15, 20, 25, 30, 35, ' 40, 45, 50, 75, 100
? 40, 45, 50, 75, 100 50, 63 10, 15, 20, 25, 30, 35, 40,
50, 63 10, 15, 20, 25, 30, 35, 40, 80, 100 45, 50, 75, 100
80, 100 45, 50, 75, 100

Auto Switch Mounting Bracket Part No.

Bore size Part No. Note : Applicable swlitch :
(mm) Reed switch Solid state switch
* Switch mounting screw | D-A7C], A80 D-F70, J79
1216 | g | (M3x89 D-A73C, ASOC | D-F70IV, D-J79C
20/25 * Square nut D-A700H, ASOH D-F700W, J79W
- D-F7COWV, D-F7BAL
32/40 * Switch mounting screw D-A7oW D-F700F, D-F7NTL
(M3X10¢)
50/63 BQ-2 Swi )
* Switch mounting screw
80/100 . )
* Switch mounting nut

O
5

Q Refer to p.1-427 for intermediate stroke (except air hydraulic type)

#Stainless steel mounting bolt set

The set of stainless steel mounting screws (with nut) described
below is available and can be used depending on the operating
environment. (The spacer for auto switches must be ordered
separately, as they are not included.)

BBA2: For D-A7/A8/F7/J7

The stainless steel bolts described above are used when the D-
F7BAL type switch is shipped mounted on a cylinder. When the
switches are shipped as individual parts, the BBA2 set is included.

1-507



.
\

Series CQP2
Theoretical Force EOUT E_IN Unit: N

Weight Unit: g
Bore size Operating Operating pressure (MPa) Bore size Cylinder stroke (mm)
(mm) direction 03 0.5 0.7 (mm) 5 |10 | 15|20 |25 30| 35|40 | 45 | 50 | 75 | 100
12 N o5 PR 59 12 32 (39|46 |53|60 |67 | —|—|—|—|—|—
ouT » - 79 16 54 63|72 |81 |9 |98 |—|—|—|—|—|—
N e -5 106 20 70 | 84 | 98 [ 112|126 | 140 | 154 | 168|182 [196 | — | —
16 25 102 | 117 [ 132 | 147 | 161 | 176 | 191 | 206 | 220 | 235 | — | —
out 60 101 141 32 149 | 173 | 199 | 222 | 246 | 270 | 295 | 319 | 343 | 367 | 487 | 607
20 IN 71 118 165 40 224 | 258 | 280 | 310 | 336 | 362 | 388 | 414 | 440 | 467 | 602 | 737
ouT 94 157 220 50 — | 414|455 | 496 | 538 | 579 | 620 | 662 | 703 | 744 | 949 | 1154
25 IN 113 189 264 63 — | 584|632 | 679 | 727 | 774 | 822 | 870 | 917 | 965 | 1205 | 1445
ouT 147 245 344 80 — | 1085 | 1163 | 1242 | 1320 | 1399 | 1477 | 1556 | 1634 | 1713 | 2108 | 2503
o N 181 302 422 100 — | 1894 | 1992 | 2091 | 2189 | 2087 | 2385 | 2483 | 2581 | 2679 | 3169 | 3659
ouT 241 402 563
40 IN 817 528 739 Option Weights Unit: g
out 377 628 880 Bore size (mm) | 12[16[20[25[32[40[50][ 6380 [100
50 IN 495 825 1150 Rod end male|Male thread| 1.5| 3 | 6 | 12 | 26 | 27 | 53 | 53 |120[175
ouT 589 982 1370 thread Nut 1|2 | 4|8 |17|17|32|32]49 |116
63 IN 841 1400 1960 With rubber bumper | 0 | 0 | 2| -3|-3|-7|-9|-18|-31|-56
ouT 935 1560 2180 Calculation example: CQP2B32-20DCM
@Basic weight: CQP2B32-20D «++-+++seessvesseesuesneens
80 IN 1360 2270 3170 @Additional weight: Rod end male thread -
ouT 1510 2510 3520 With rubber bumper
IN 2140 3570 5000
100
ouT 2360 3930 5500
Mounting Bolt for CQP2
Special bolt for through hole mounting of CQP2B is available as option.
How to Order: Specify the required bolts.
Example) Bolt M3 X 25 ¢ 2pcs. .
P p— Mounting bolt
E|
it =
D
Model C D | Mounting bolt Model C D | Mounting bolt Model C D | Mounting bolt
CQP2B12-5D 25 | M3X25¢ CQP2B32-5D 30 | M5X30¢ CQP2B63-10D 50 | M8X50¢
-10D 30 X 30 ¢ -10D 35 X35¢ -15D 55 X 55¢
15D | . [ 35 X35 ¢ -15D 40 X40¢ -20D 60 X 60 ¢
-20D : 40 X 40 ¢ -20D 45 X 45¢ -25D 65 X 65 ¢
-25D 45 X 45 ¢ -25D 50 X 50¢ -30D 70 X70¢
-30D 50 X 50 ¢ -30D 9 55 X 55¢ -35D | 145 | 75 X75¢
CQP2B16-5D 25 [M3X25¢ -35D 60 X 60 ¢ -40D 80 X80¢
-10D 30 X30¢ -40D 65 X 65 ¢ -45D 85 X85¢
-15D 5 35 X35 ¢ -45D 70 X70¢ -50D 90 X90¢
-20D 40 X 40 ¢ -50D 75 X75¢ -75D 125 X125¢
-25D 45 X 45 ¢ -75D 110 X110¢ -100D 150 X 150 ¢
-30D 50 X 50 ¢ -100D 135 X 135¢ CQP2B80-10D 55 | M10 X 55¢
CQP2B20-5D 25 | M5X25¢ CQP2B40-5D 35 | M5X35¢ -15D 60 X 60 ¢
-10D 30 X 30 ¢ -10D 40 X40¢ -20D 65 X 65 ¢
-15D 35 X35¢ -15D 45 X 45 ¢ -25D 70 X70¢
-20D 40 X 40 ¢ -20D 50 X 50¢ -30D 75 X75¢
-25D | .5 | 45 X 45 ¢ -25D 55 X 55¢ 35D | 15 [ 80 X80¢
-30D : 50 X 50 ¢ -30D 75 |60 X 60 ¢ -40D 85 X85¢
-35D 55 X 55 ¢ -35D : 65 X 65 ¢ -45D 90 X90¢
-40D 60 X 60 ¢ -40D 70 X70¢ -50D 95 X95¢
-45D 65 X 65 ¢ -45D 75 X75¢ -75D 130 X130 ¢
-50D 70 X70¢ -50D 80 X 80¢ -100D 155 X 155 ¢
CQP2B25-5D 30 | M5X30¢ -75D 115 X115¢ CQP2B100-10D 65 | M10 X 65 ¢
-10D 35 X35¢ -100D 140 X140 ¢ -15D 70 X70¢
-15D 40 X 40 ¢ CQP2B50-10D 45 | M6X45¢ -20D 75 X75¢
-20D 45 X 45 ¢ -15D 50 X 50¢ -25D 80 X 80¢
-25D | o | 50 X50¢ -20D 55 X 55¢ -30D 85 X85¢
-30D : 55 X 55 ¢ -25D 60 X 60 ¢ -35D | 155 | 90 X90¢
-35D 60 X 60 ¢ -30D 65 X 65 ¢ -40D 95 X 95 ¢
-40D 65 X 65 ¢ -35D | 125 [ 70 X70¢ -45D 100 X100 ¢
-45D 70 X70¢ -40D 75 X75¢ -50D 105 X105 ¢
-50D 75 X75¢ -45D 80 X80¢ -75D 140 X 140 ¢
-50D 85 X85¢ -100D 165 X 165 ¢
-75D 120 X120 ¢
-100D 145 X 145¢
1-508 2 SNC



Series CDQP2

Auto Switch Specifications

* Refer to p.6-15 for details of auto switch.

Weight Unit: g
*Basic weight: -20D- g
(mm) | 5 [10]15/20|25|30|3540|45|50|75] 100 *Additional weight: Rod end male thread--- 43g
12 [54162(69|75(82|89| - |- |—-|—-|—-]|—- With rubber bumper--- —3g
16 (9199 [107 |15 13|13 — | = | = | —=|—]|— 3309
20 | 121|135 | 147 | 161|175 | 188 | 201 | 214 | 208 | 242 | — | — Add iach weight of auto
25 | 177|190 203 117 | 230 | 244 | 257 | 270 [ 284 [ 207 | — [ 679 pyaics and mounting
32 | 217|242 | 266 | 290 | 315 | 339 | 363 | 387 | 412 | 436 | 557 | 814
40 | 319|345 | 371 (307 | 423 | 449 | 475 | 502 | 528 | 554 | 684 | 1291 Weight/Auto Switch Mounting Bracket
50 | — | 546|588 620|670 | 712|753 | 794 | 836 | 877 | 1084 | 1622 'Vt')?;g;gg Bore size W(eéght
63 | — | 764|812 (859|907 | 955 | 1002 | 1050 | 1098 | 1145 | 1384 | 2790 BQ-1 21210025 | 15
80 | — | 1377 | 1455 | 1534 | 1612 | 1691 | 1769 | 1848 | 1926 | 2005 | 2397 | 4060 ~ BQ-2 | o32to 2100 | 1.5
100 | — | 2006 | 2304 | 2492 | 2590 | 2688 | 2786 | 2684 | 2962 | 3080 | 3570
Option Weights Unit: g
Bore size (mm) 12 16 20 25 32
Rod end Male 15 3 6 12 26 .. . .
male thread [thread | Minimum Strokes for Auto Switch Mounting (mm)
Nut 1 2 4 8 17 D-A701 D-A7CH D-F700W
With rubber bumper 0 —1 -2 -3 -3 No. of D-F700V | D-A80 D-A80H D-J79W
atto switches| D-J79C | D-A73C |D-F7TOWV | pe7ry | D-A79W | pp7ppy | D-F7LF
Bore size (mm) 40 50 63 80 | 100 D-A80C D-J79 D-F79F
Rodend |Male | o7 | 53 | 53 | 120 | 175 1 5 5 10 15 15 20 25
male thread
Nut 17 | 32 | 32 | 49 | 116 2 5 10 15 15 20 20 25
With rubber bumper -7 -9 -18 —-31 -56
Construction
Auto switch Auto switch
A-A section (Rod side port) B-B section (Head side port)
Component Part Replacement Parts: Seal Kits
No. Description Material Note Bore size Kit No. Not
(1 | Cylinder tube Aluminum alloy Hard anodized (mm) Pneumatic (non-lube) Air-hydro o
@ | Piston Aluminum alloy Chromated 12 CQ2B12-PS —
. Stainless steel 212 to 925 16 CQ2B16-PS —
@ | Piston rod Carbon steel __|032 to 0100, Hard chrome plated 20 CQ2B20-PS CQ2BH20-PS
@ | Collar Aluminum bearing alloy| 12 to 40, Anodized 25 CQ2B25-PS CQ2BH25-PS | ) 0 0\ o
Aluminum alloy casting |50 to 100, Chromated, coated 32 CQ2B32-PS CQ2BH32-PS nos @
® | Snap ring Carbon tool steel Phosphate coating 40 CQ2B40-PS CQ2BH40-PS and.@,\/
(® | Bushing Lead bronze casting |Only used for @50 or larger 50 CQ2B50-PS CQ2BH50-PS
@ | Magnet — 63 CQ2B63-PS CQ2BH63-PS
Steel ball Bearing steel 80 CQ2B80-PS CQ2BH80-PS
(9 | Hex socket set screw Alloy steel Zinc chromated 100 CQ2B100-PS CQ2BH100-PS
Piston seal NBR * Seal kits are sets consisting of items (10, @) and (2, which can be ordered using the order
@ Rod seal NBR number for each cylinder bore size.
@ | Gasket NBR

O
:

1-509

/,,,

|

N



Series CQP2

Construction

O ® B ® @ 0o e @2 @

BN/

I|, ,;f / - - \ W
 ‘ A-A Section (Rod side port) B-B Section (Head side port)
- ® ©®

4 11
Rod end male thread With rubber bumper
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size Kit No. Not
@ | Cylinder tube Aluminum alloy Hard anodized (mm) Pneumatic (Non-lube) Air-hydro o
(2 | Piston * Aluminum alloy Chromated 12 CQ2B12-PS —
~ Piston rod * Stainless steel 212 to 825 16 CQ2B16-PS —
Carbon steel 932 to ¢100, Hard chrome plated 20 CQ2B20-PS CQ2BH20-PS
Aluminum bearing alloy | 12 to 840, Anodized 25 CQ2B25-PS CQ2BH25-PS
@ | Collar Aluminum alloy casting | 850 to @100, Chromated, coated 32 CQ2B32-PS CQ2BH32-PS ,:ossetq%f gt
P ® | Snap ring Carbon tool steel Phosphate coating 40 CQ2B40-PS CQ2BH40-PS d.® ’
) (® | Bushing Lead bronze casting | Only used for 850 or larger 50 CQ2B50-PS CQ2BH50-PS an :
@ | Rod end nut Carbon steel Nickel plated 63 CQ2B63-PS CQ2BH63-PS
(® | Bumper A Urethane 80 CQ2B80-PS CQ2BH80-PS
(© | BumperB Urethane 100 CQ2B100-PS CQ2BH100-PS
Steel ball Bearing steel * Seal kits are sets consisting of items (2, @ and @4, which can be ordered using the kit
11 | Hexagon socket set screw Alloy steel Zinc chromated number for each cylinder bore size.
(12 | Piston seal NBR
13 | Rod seal NBR
(% | Gasket NBR
#0n bore size 912 with rubber bumper style, piston and piston rod are integrated
(Stainless steel).
Copper Free
20— cQP2B ’ Bore size H Stroke D Specifications
T ' Action Double acting single rod
- Copper free series 012, 016, 020, 525, 632, Cylinder bore size | 012, 016, 20, 025, 032, 040, 050, 063, 080, 0100
™~ 240, 650, 063, 980, 2100 Proof Pressure 1 5MPa
:‘ Max. operating pressure 1.0MPa
' To eliminate influences of copper ions or halogen ions during Rubber bumper None
4 CRT manufacturing processes, copper and fluorine materials Piping Screw-in piping
are not used as component parts. Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable
1-510 2 SNC



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CDQP2

Mounting Bolt for CDQP2 with Auto Switch

Special bolt for through-hole of CDQP2B mounting is available as option. —_ Mounting bolt
How to Order: Specify the required bolts. ~_ |

Example) Bolt M3 X 35 ¢ 2pcs. =
 — |-g-l
. D M
Model C D |Mounting bolt Model C D [Mounting bolt Model Cc D [Mounting bolt
CDQP2B12-5D 35 | M3X35¢ CDQP2B32-5D 40 | M5X40¢ CDQP2B63-10D 60 | M8X60¢
-10D 40 X 40 ¢ -10D 45 X 45 ¢ -15D 65 X 65 ¢
-15D 55 |45 X 45 ¢ -15D 50 X50 ¢ -20D 70 X70¢
20D : 50 X50 ¢ -20D 55 X 55 ¢ -25D 75 X75 ¢
25D 55 X 55 ¢ -25D 60 X 60 ¢ -30D 80 X80 ¢
-30D 60 X 60 ¢ -30D 9 65 X 65 ¢ 350 | i, | 85 X85 ¢
CDQP2B16-5D 40 | M3X40¢ -35D 70 X70¢ -40D : 90 X 90 ¢
-10D 45 X 45 ¢ -40D 75 X75¢ -45D 95 X 95 ¢
15D 8 50 X 50 ¢ -45D 80 X 80 ¢ -50D 00 X 100 ¢
20D 55 X 55 ¢ -50D 85 X85 ¢ -75D 25 X125 ¢
25D 60 X 60 ¢ -75D 110 X110 ¢ -100D 50 X 150 ¢
-30D 65 X 65 ¢ -100D 135 X135 ¢ CDQP2B80-10D 65 | M10 X 65 ¢
CDQP2B20-5D 40 | M5X40¢ CDQP2B40-5D 45 | M5X45¢ -15D 70 X70¢
-10D 45 X 45 ¢ -10D 50 X50 ¢ -20D 75 X75 ¢
-15D 50 X 50 ¢ -15D 55 X 55 ¢ -25D 80 X80 ¢
20D 55 X 55 ¢ 20D 60 X 60 ¢ -30D 85 X85 ¢
250 | 1. | 60 X 60 ¢ -25D 65 X 65 ¢ -35D 15 [To0 X 90 ¢
-30D : 65 X 65 ¢ -30D 75 [0 X70¢ -40D 95 X 95 ¢
-35D 70 X70¢ -35D . 75 X75¢ -45D 100 X 100 ¢
-40D 75 X75¢ -40D 80 X80 ¢ -50D 105 X105 ¢
-45D 80 X 80 ¢ -45D 85 X 85 ¢ -75D 130 X130 ¢
-50D 85 X85¢ -50D 90 X90¢ -100D 155 X155 ¢
CDQP2B25-5D 40 | M5X40¢ -75D 115 X 115 ¢ CDQP2B100-10D 75 [ M10X75¢
-10D 45 X45¢ -100D 140 X140 ¢ -15D 80 X80 ¢
-15D 50 X 50 ¢ CDQP2B50-10D 55 | M6 X55¢ -20D 85 X85 ¢
20D 55 X 55 ¢ -15D 60 X 60 ¢ -25D 90 X 90 ¢
25D 95 |60 X 60 ¢ 20D 65 X 65 ¢ -30D 95 X 95 ¢
-30D : 65 X 65 ¢ -25D 70 X70¢ -35D__| 15.5 [ 100 X 100 ¢
-35D 70 X70¢ -30D 75 X75¢ -40D 05 X105 ¢
-40D 75 X75¢ 35D | 12.5 [ 80 X80 ¢ -45D 10 X110 ¢
-45D 80 X 80 ¢ -40D 85 X 85 ¢ -50D 15 X115 ¢
50D 85 X85¢ -45D 90 X 90 ¢ -75D 40 X140 ¢
-50D 95 X 95 ¢ -100D 65 X165 ¢
-75D 120 X 120 ¢
-100D 145 X145 ¢
Auto Switch Mounting Position (at Stroke End) and Mounting Height
D-A70 D-A7CH D-F7O0W D-A73C
D-A80 D-A80H D-J79W D-A80C
D-F7O0 D-F70F D-J79C
D-J79 D-F7NT
D-F7BA
=U
012 to 925
032 to 100
Auto Switch Mounting Position Auto Switch Mounting Height (mm)
D-A7LIH/ABOH Ry D-A70H/D-AS0H
; D-A701 |D-A73C/A80C Ny D-A70] | D-F70/D-J79/D-F7OW | D-A73C (D-F70V
Bore size D-A79W | D-F70F . .
| D-ABO |DAILIDISFILY D-J79W D-A80 | D-J7OWD-F7BAL | D-A80C |pD-F7rwy| D-J79C | D-ATSW
J79C D-F70WV D-F70F/D-F7NTL
A B A B A B A B U U U U U U
12 45 | 55 | 5 6 2 3 9 | 10 19.5 205 26.5 23 26 22
16 75 | 5 8 [ 65| 5 | 25| 12 | 95 225 235 29.5 26 29 25
20 75 | 65 | 8 7 5 4 12 | " 24.5 25.5 31.5 28 31 27
25 75 | 7 8 | 751 5 | 45| 12 |11.5 275 28.5 34.5 31 34 30
32 9 6 95 | 65 | 65 | 35 | 135 | 105 315 325 38.5 35 38 34
40 13 85 | 135 9 10.5 6 17.5 13 35 36 42 385 415 375
50 11 115 | 115 | 12 8.5 9 155 | 16 41 42 48 44.5 47.5 43.5
63 135 | 145 | 14 15 11 12 18 19 475 485 54.5 51 54 50
80 17.5 18 18 18.5 15 155 | 22 22.5 575 58.5 64.5 61 64 60
100 21 24 | 215 | 245|185 | 215 | 255 | 285 67.5 68.5 74.5 71 74 70

O
:



Series CQP2
Q1 2 tO 61 OO Without Auto Switch

o012 to 925

2 X 2-20

counter bore

-_zD

I

Rod end male thread

L

B+stroke

A+stroke

-MS5
(Connection port)

Rod end nut *

H thread effective depth C

' Plug

Rod end male thread (mm)

Hi |
5/ o Ci| X H1 L1
W) (mm)
ﬂu: | S 12 9 [105] M5 14
me 16 [10]|12| M6 |[155
ci | 20 12|14 M8  [185
X | 25 |15 [17.5] M10X1.25 |225
L1
Standard " (mm)
Bore Stroke range
() EE A|lB|C|D|E|E1|E2|F| H |1l |K|L|M|N| O |W
12 5 to 30 205[17 | 6 | 6 | 23|13 [ 14| 14 M3 32| 5 [35]|22|35|65Depth35| o7
16 51to 30 22 (185| 8 | 8 | 26 |15 |17 | 17 M4 38| 6 |35 28 |35 |65Depth35| 32
20 5 to 50 24 |195| 7 | 10|30 |17 [ 19 | 21 M5 47 | 8 | 45|36 |55 9Depth7 | 36
25 5 to 50 275(225| 12 | 12 | 33 [19.5] 22 | 24 M6 52110 | 5 | 40 | 55| 9Depth7 [415
4-aN through Z - 2-P H thread effective depth C
2 X 4-p0 counter bore ]. F {Connection Plu
/ port) 9
232 to 6100 . -
oL =
¥
Sw=E o Y — — —
[}
1
L B+ stroke
A+stroke -
Rod end nut*
Rod end male thread Rod end male thread (mm)
H1
Bore 1ol x| Hi | Ls
(mm)
32 205|235/ M14X 115|285
T 40 205|235 M14 X 1.5 285
50 | 2 |285|M18X 1.5(335
63 | 2 |285|M18X 1.5(335
' 80 [325/355|M22 X 1.5 435
X
) 100 [325|355| M26 X 1.5 | 435
Standard (mm)
Bore (mm) Stroke range (mm)| A | B [ C | D | E | F H I |J|K|[L|[M|N o P Q|W| Z
5 to 50 30 | 23
32 75,100 a0 (3313|1645 |17 M8 60 [105( 14 | 7 | 34 |5.5| 9 Depth 7 | Re(PT)1/8 | 8 [555| 30
5 to 50 36.5 | 295
40 75.100 2653951 13| 16 |52 | 17 M8 69 |10 |14 | 7 | 40 |5.5| 9 Depth 7 | Re(PT)1/8 | 8 | 62 | 30
10 to 50 385 | 305
50 75.100 185 [a05] 15|20 |64 |22 M10 86|13 |17 | 8 | 50 | 6.6 |11 Depth 8| Rc(PT)1/4 | 10 | 77 | 39
10 to 50 44 | 36
63 75.100 5a [ag | 15|20 77|22 M10 |103| 13 |17 | 8 | 60 | 9 |14 Depth 10.5| Rc(PT)1/4 | 10 | 90 | 39
10 to 50 535 | 435
80 75.100 635 535121 | 25|98 |26 M16  [132| 16 | 22 | 10 | 77 | 11 |17.5Depth 135| Rc(PT)3/8 |12.5[114| 48
10 to 50 65 | 53
100 75.100 75 [ 63 | 27 |30 117| 26 M20 [156(17.5| 27 | 12 | 94 | 11 |17.5Depth 135| Rc(PT)3/8 |12.5 | 1345 | 48

g

1-512

Note) Dimensions with rubber bumper are the same, as the above.
* Refer to p.1-442 for details of rod end nut and optional bracket.

O



Compact Cylinder/Axial Piping: Double Acting Single Rod Series CDQPZ

Q1 2 tO Q-l OO With Auto Switch

012 to 925

Lead wire minimum bending radius 10

Auto switch

7}

g

a
2-0N throug ’35 | l @
2X2-00 | [
count; bore | e F——J EI L B+5troke LL \_F'Ilig

' E 2-M5 e A+Stroke
(Connection port)
Rod end male thread _Rod end nut*

” f Rod end male thread (mm)
1
Above auto switch: D-A80 Refer to p.1-511 for V'_g'_‘ Bore ci| x Hi Ly
auto switch mounting position and mounting height. (1E (mm)
H —Ei — 12 |9 [0s] ™5 |14
(- 16 1012 M6 15.5
X‘ - 20 [12[14] M8 |185
T 25 15175 | M10X 1.25 | 22.5
Standard " (mm)
B Strokerange | o | B | c | D | E |E1|E2]| F H I K|L[M]|N o) s|ulw
(mm) (mm)
12 5 to 30 315/ 28| 6 | 6 |23 [ 13|14 | 14 M3 32| 5 |35|22|35|65Depth35|325|195| 27
16 5to 30 34 [305] 8 | 8 |26 |15 |17 | 17 M4 38| 6 |35| 28 |35 |65Depth3.5|37.5 (225 32
20 5 to 50 36 |315] 7 [ 10|30 |17 |19 ] 21 M5 47 | 8 |45| 36 |55 | 9Depth7 | 415|245 | 36
25 5 to 50 375[325] 12 | 12 | 33 [195] 22 | 24 M6 52 |10 | 5 | 40 | 55| 9Depth7 | 47 | 275|415
Note 1) Dimensions with rubber bumper are same as above standard type.
032 to 100
‘;‘:’:t“g’"gh\ H thread effective depth G _ K Plug
-0 Y 4L\ =
counter bore Y S
~ey /
T T
. gl — — o
[
=]
n
—
|
% /)
Auto switch /
L B+Stroke Lead wire minimum bending radius IO__,-"' |
o A+Stroke T 22
Rod end nut *
Rod end male thread /————
Rod end male thread (mm)
H Bore o x| W |Ls
/ (mm)
Above auto switch: D-A80 Refer to p.1-511 for i 32 205235 M14 X 1.5 | 285
auto switch mounting position and mounting height. N ; L 20 20:5 23:5 M14X1:5 28:5
—-H 50 26 [285|M18 X 1.5[335
hed | 63 | 2 [285|M18X1.5]35
~ x - 80 325(355 | M22 X 1.5 435
- e
| Lo 100 [325355|M26 X 1.5 [ 435
Standard —U (mm)
Bore Stokerange | A | B | c|D|E|F H l|J|K|[L|M|N| O P als|u|w|z
(mm) (mm)
32 5 to 100 40 [ 33 |13 |16 | 45| 17 M8 60 (105|114 | 7 |34 |55]| 9Depth7 | Re(PT)1/8 | 8 |64.5)31.5[555| 30
40 5to 100 46.5)395| 13 | 16 | 52 | 17 M8 69 | 10|14 | 7 |40 |55|9Depth7 | Re(PT)1/8 | 8 | 71 | 35 | 62 | 30
50 10 to 100 485)405| 15 | 20 | 64 | 22 M10 86| 13|17 | 8 |50 |6.6|11 Depth 8| Rc(PT)1/4 | 10 | 86 | 41 | 77 | 39
63 10 to 100 54 |46 |15 |20 | 77 | 22 M10 103/ 13 |17 | 8 | 60 | 9 |14 Depth 10.5| Rc(PT)1/4 | 10 | 99 [475]| 90 | 39
80 10 to 100 63.5]535| 21 | 25 | 98 | 26 M16 132| 16 | 22 | 10 | 77 | 11 |17.5Depth 135| Rc(PT)3/8 | 12,5 | 1225 | 575|114 | 48
100 10 to 100 75|63 |27 |30 |117] 26 M20 156|17.5| 27 | 12 | 94 | 11 [17.5Depth 135| Rc(PT)3/8 | 12.5 | 1435 | 67.5 | 134.5| 48
Note 1) Dimensions with rubber bumper are same as above standard type.
V -
% SNC 1-513



Compact Cylinder/Axial Piping: Single Acting Single Rod

Series CQP2

o012, 016, 020, 925, 632, 40, 650

How to Order

- cQP2 B [50H10][T

I I T 1T T ]

- [ coapz B [soH1oT][ HA73[s

| ® Number of
With auto switch auto switches
(Built-in magnet) Auto switch — 2
) L. Without auto switch S 1
Axial piping (Built-in magnet) O E—
= Refer to table below for auto switch
Mounting ® model selection.
B | Through-hole .
® Body option
Bore size ® __ | Standard
12 T2mm ® Action (Rod end female thread)
16 16mm S | Single acting/Spring return M Rod end male thread
20 20mm T |Single acting/Spring extend
25 25mm
32| 32mm ® Cylinder stroke (mm)
i%& Refer to standard stroke table on p.1-515
50 50mm
) Applicable Auto Switches
- Load voltage Auto switch model Lead wire (m) *
Style Special Electrical % Wiring Applicable
Y function entry § (Output) DC AC | Parpendicular In-line (0_5) (E) é) N(?\‘n)e load
— (quiwrﬁPN) — 5V — — A76H ® ®@|—|—|IC| —
v — — | 200V A72 A72H e |0 |—|—
- es| ] —
e Grommet 12v | 100v A73 A73H [ B 3K
2 — L — — e e —|—
3 No| 2 wire sv.12v [<100v|  A80 ASOH | o |@|—|—| ic |Fear
o 24V PLC
o o . |Yes| 12V — A73C — o o000 —
OnneCor g sv,12v | <24v |  A80C — e @eleo|C
Diagnostic (2 colour) | Grommet|Yes — — A79W — ® (0 |— | —| —
3 wire (NPN) . F7NV F79 ® @0
Grommet| |3 wire (PNP) ' F7PV F7P ® |®0|O|—
) F7BV J79 ® 0O —
2 wire 12V _—
S Connector J79C — o (o0 0
% . ; 3 wire (NPN) Sy F7ZNWV F79W ® (@0 O|— c
- iagnostic - \ — —
g (2 colour) Yes|3 Wire (PNP) | 54y _ F7PW ® 0|0 Eﬁgy,
] ) F7BWV J79W ® (0O —
] - 2 wire 12v — — —1
g Water resistant (2 colour)| o F7BA [ JKC)
With timer 3 wire (NPN) — F7NT Y .
Diagnostic output (2 colour) 1 — F79F ® 0 O|— !
Latch with diagnostic 4 wire (NPN)
output (2 colour) - T F7LF ® 00— —
. * Lead wire length  0.5m------- — (Example) A80C {570 ERRERRD Z (Example) A80CZ
\\\ e SRR L (Example) A8OCL None----N (Example) ABOCN

* Solid state switches marked with a "Q " are manufactured upon receipt of order.

1-514

O
:



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CQP2

Style
Bore size (mm) 12 16 20 25 32 40 50
Mounting Through-hole (Standard) [ ] [ ) [ ) [ J [ } [ } ]
-% Built-in magnet o [ ® o ([ J [ J ([
§ Piping Screw-in M5 | M5 M5 M5 R‘i(/F;T) Rﬁ(/';T) R";(/':T)
Rod end male thread [ ] ([ J [ J (] (] [ J ([ J

Standard Specification

Style Pneumatic (Non-lube)
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)

Ambient and fluid temperature

Rubber bumper None

Rod end thread Female thread

Rod end thread tolerance JIS class 2

Stroke length tolerance + (1)-0

Mounting Through-hole

Piston speed 50 to 500mm/s

JIS symbol Minimum Operating Pressure Unit: MPa
) ) ) _ Bore size (mm) 12 16 20 25 32 40 50
Single acting/ Single acting/
Spring return Spring extand Single acting (Spring return / Spring extend) |  0.25 0.25 0.18 0.18 0.17 0.15 0.13
) /A
I I Standard Stroke Unit: mm
Bore size Standard stroke

12
16
20 5,10
25
32
40
50 10, 20

Auto Switch Mounting Bracket Part No.

Bore size Part No. Note : Applicable switcr.1 :
(mm) Reed switch Solid state switch
12.16 * Switch mounting screw D-F70, J79
s " M3 X 8 &) D-F701V
A _ o Ba-1 | <S s n)ut D-A70), A80 D-J79C
Caution D-A73C, A8OC D-F700W, J79W
R R * Switch mounting screw | D-A7CH, A8OH D-F7O0WV

] Snap Ring Installation/Removal \ 32,40 Bap | MEX100 D-A7OW D ETBAL
(@ For installation and removal, use an appropriate pair 50 * Switch interface D-F700F

of pliers (tool for installing a C snap ring). « Switch mounting nut D-F7NTL

(2) Exercise caution even when using an appropriate

pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming «Stainless steel mounting bolt set
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After .
installing the snap ring, make sure that it is placed as they are not included.)
securely in the ring groove before supplying air. BBA2: For D-A7/A8/F7/J7

The stainless steel bolts described above are used when the D- F7BAL type switch is shipped

mounted on a cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

The set of stainless steel mounting screws (with nut) described below is available and can be used
depending on the operating environment. (The spacer for auto switches must be ordered separately,

SvVC 1-515

O



Series CQP2

- Theoretical Force Unit: N Weight Unit: g
. . . Operating pressure (MPa) ) . Cylinder stroke (mm)
\“ Action Bore size (mm) 03 05 07 Action | Bore size (mm) 5 10 15 20
| 12 21 44 66 12 33 40 — —
c 16 45 86 126 c 16 55 64 — —
— 2 20 79 142 205 g 20 68 83 — —
é’ 25 126 224 323 =2 25 103 118 —_ —_
& 32 211 372 533 (% 32 149 173 — —
@ 40 338 589 841 40 236 262 — —
50 535 928 1316 50 - 426 - 691
12 14 31 48 12 33 40 — —
- T 16 24 54 85 IS 16 55 64 —_ —
AN 2 20 71 118 165 < 20 73 87 — —
i 3 25 113 189 264 qé) 25 109 124 — —
/ g 32 181 302 422 s 32 160 180 — —
/ @ 40 317 528 739 @ 40 262 284 — —
B 50 495 825 1150 50 — 468 — 540
Mounting Bolt for CQP2 Option Weights Unit: g
Special bolt for through-hole mounting of CQP2B is available as option Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
How to Order: Specify the required bolts.
E)F?amgle) BolthS X 25 ¢ 4pcs. Rod end male thread Malo thread| 1.5 | 3 6 12 1 26 | 27 | 58
Nut 1 2 4 8 17 17 32
'fﬁvwgff'74i;li£/y@5@9999ﬁ Calculation example: CQP2B32-10SM
= = Basic weight: CQP2B32-10S -+-+++oeeeeeereeesreeeennnnenenees 1739
— Additional weight: Rod end male thread ------=--=---ssoreeeeeeeees 439
bl 2169
D =
Spring return
Model C D Mounting bolt
CQP2B12-5S 65 25 M3 X 25¢
-10S ) 30 X30¢
CQP2B16-5S 5 25 M3 X 25¢
-10S 30 X30¢
~ CQP2B20-5S 75 25 M5 X 25¢
-10S ) 30 X30¢
CQP2B25-5S 95 30 M5 X 30 ¢
-10S ) 35 X35¢
o CQP2B32-5S 9 30 M5 X 30 ¢
) -10S 35 X35¢
CQP2B40-5S 75 35 M5 X 35¢
-10S ) 40 X40¢
CQP2B50-10S 125 45 M6 X 45 ¢
-20S ) 55 X55¢
53—4 — ’_[ Mounting bolt
.G
. D
Spring extend
Model C D Mounting bolt
CQP2B12-5T 6.5 25 M3 X 25¢
-10T ) 30 X30¢
CQP2B16-5T 5 25 M3 X 25¢
-10T 30 X30¢
CQP2B20-5T 75 25 M5 X 25 ¢
-10T ) 30 X30¢
\\\ CQP2B25-5T 95 30 M5 X 30 ¢
\ -10T ) 35 X35¢
‘} CQP2B32-5T 9 30 M5 X 30 ¢
J -10T 35 X35¢
S CQP2B40-5T 75 35 M5 X 35 ¢
-10T ) 40 X40¢
CQP2B50-10T 125 45 M6 X 45 ¢
-20T ) 55) X55¢

1-516

O



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CQP2

Construction

Spring return

NN 2T
] AL
=/
A-A section (Rod side port)
Spring extend

2)

® @ 6 @ @ @ 6
\[///
I/ /7

Ne
)

=

..\
[

A-A section (Rod side port) B-B section (Head side port) Rod end male thread

Component Parts Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Contents
(1 |Cylinder tube Aluminum alloy Hard anodized 12 CQ2B12-PS
@*|Piston Aluminum alloy Chromated 16 CQ2B16-PS
Piston rod Stainless steel 212 to 925 20 CQ2B20-PS
Carbon steel 932 to @50, Hard chrome plated 25 CQ2B25-PS A set includes 4, @5 and (6.
Collar Aluminum bearing alloy | 912 to 40, Anodized 32 CQ2B32-PS
Aluminum alloy casting | @50, Chromated, coated 40 CQ2B40-PS
Snap ring Carbon tool steel Phosphate coating 50 CQ2B50-PS
Bushing Lead bronze casting Used for only 850

Return spring

Piano wire

Zinc chromated

Bronze element

Sintered metal BC

Port size Rc(PT)1/8, 1/4

0|@PPREPBEERPEE® ® | @

Snap ring Carbon tool steel

Plug with fixed orifice Alloy steel Port size M5
Steel ball Carbon steel

Hexagon socket set screw Alloy steel Zinc chromated
Rod end nut Carbon steel Nickel plated
Piston seal NBR

Rod seal NBR

Gasket NBR

*

o

Copper Free

n spring extend (T type), piston and piston rod are integrated (Stainless steel).

« Seal kits are sets consisting of items {4, @5 and (@6, which can be ordered
using the kit number for each cylinder bore size.

20—CQP2B’ Bore size H Stroke ?(M)

—l;opper free

012, 916,
240, 650

020, 925, 032,

To eliminate influences of copper ions or halogen ions during
CRT manufacturing processes, copper and fluorine materials
are not used as component parts.

O
:

Specifications

Action

Single acting single rod

Cylinder bore size

212, 916, 20, 825, 332, 040, 650

Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Rubber bumper None
Piping Screw-in piping
Piston speed 50 to 500mm/s
Mounting Through-hole
Auto switch Mountable

1-517



Series CDQP2
Auto Switch Specifications n

* Refer to p.6-15 for details of auto switch.

Minimum Strokes for Auto Switch Mounting (mm)
D.FTLV D-A70) D-A70CH D-F700W
L No. of a D-A80 g D-A80H ) D-J79W
N auoswiches | D-J7oc | D-A73c | DFOWVI p 7o | D-ATSW | b E7paL
b D-A80C D-J79 D-F79F
5 5 10 15 15 20
A = 5 10 15 15 20 20
Weight Unit: g Option Weights Unit: g
. . Cylinder stroke (mm) Bore size (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50
Action Bore size (mm)
5 10 15 20 Rod end Male thread | 1.5 3 6 12 26 27 53
12 55 63 — — male thread | Nut 1 2 4 8 17 | 17 | 32
£ 16 92 | 100 | — | — Calculation example: CDQP2B32-10SM ~ Add each weight of auto switches and
"9_')' 20 121 135 _ _ + Basic weight: CDQP2B32-108:+++-vevevene 2429 mounting brackets when auto switches are
> 25 178 191 — — + Additional weight: Rod end male thread-—-43g ~ meunted:
£ 2859
a 32 217 | 242 — —
40 323 | 349 | — — Weight/Auto Switch Mounting Bracket
50 — 558 — 641 Bracket part. Bore size Weight (g)
12 61 69 — — BQ-1 012 to 925 15
= 16 92 100 _ _ BQ-2 232 to 950 1.5
c
£ 20 126 | 140 — —
ey 25 184 | 197 | — —
£
s 32 228 | 253 — —
@ 40 349 | 375 | — —
50 — 600 — 683
Construction

Spring return Spring extend

OIGIGIFINIOIOIGLEIBIO]

Port size
M5 X 0.8

? 0 | _
Auto_éwitch Auto switch

A-A section (Rod side port) B-B section (Head side port) A-A section (Rod side port) B-B section (Head side port)

Component Parts Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Contents
(1 | Cylinder tube Aluminum alloy Hard anodized 12 CQ2B12-PS
(2) |Piston * Aluminum alloy Chromated 16 CQ2B16-PS

) Stainless steel 212 to 925 20 CQ2B20-PS
(3 |Piston rod *

Carbon steel 32 to 950, Hard chrome plated 25 CQ2B25-PS A set includes. (49, (5 and (6
@ | Collar Aluminum bearing alloy | @12 to 940, Anodized 32 CQ2B32-PS
Aluminum alloy casting | @50, Chromate, coated 40 CQ2B40-PS

(® |Snapring Carbon tool steel Phosphate coating 50 CQ2B50-PS
® |Bushing Lead bronze casting Used for only 250 * Seal kits are sets consisting of items (4, (5 and @®, which can be ordered
[72 Return spring Piano wire Zinc chromated using the kit number for each cylinder bore size.
(® |Bronze element Sintered metal BC .
© [Snap ring Carbon 100l steel Port size Rc(PT)1/8, 1/4
10 | Plug with fixed orifice Alloy steel Port size M5
() | Steel ball Bearing steel
(12 | Hexagon socket set screw Alloy steel Zinc chromated
3 | Magnet —
(19 | Piston seal NBR
@5 |Rod seal NBR
(6 | Gasket NBR

+ On spring extend (T type), piston and piston rod are integrated (Stanless steel).

1-518 % S\MC



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQP2

Mounting Bolt for CDQP2 with Auto Switch

Special bolt for through-hole mounting of CDQP2B is available

as option.

How to Order: Specify the required bolts
Example) Bolt M3 X 35 ¢ 2 pcs.

Mounting bolt

D
Spring return Spring extend
Model C D Mounting bolt Model C D Mounting bolt
CDQP2B12-5S 55 35 M3 X 35 ¢ CDQP2B12-5T 6.1 40 M3 X 40 ¢
-10S ' 40 X40¢ -10T : 45 X 45¢
CDQP2B16-5S 8 40 M3 X 40 ¢ CDQP2B16-5T 8 40 M3 X 40 ¢
-108 45 X45¢ -10T 45 X45¢ /
CDQP2B20-5S 105 40 M5 X 40 ¢ CDQP2B20-5T 105 40 M5 X 40 ¢ (
-10S ' 45 X45¢ -10T ' 45 X 45¢ |
CDQP2B25-5S 05 40 M5 X 40 ¢ CDQP2B25-5T 95 40 M5 X 40 ¢ \ }
-10S ' 45 X45¢ -10T : 45 X 45¢
CDQP2B32-5S 9 40 M5 X 40 ¢ CDQP2B32-5T 9 40 M5 X 40 ¢
-10S 45 X 45 ¢ -10T 45 X 45¢
CDQP2B40-5S 75 45 M5 X 45 ¢ CDQP2B40-5T 75 45 M5 X 45 ¢
-10S : 50 X 50¢ -10T : 50 X 50¢
CDQP2B50-10S 125 55 M6 X 55 ¢ CDQP2B50-10T 125 55 M6 X 55 ¢
-20S : 60 X 60 ¢ -20T : 65 X 65 ¢
Auto Switch Mounting position (at Stroke End) and Mounting Height ///'
D-A70 D-A700H D-F70W D-A73C D-A79W {
D-A80 D-A80H D-J79W D-A80C D-F7COWV ‘\
D-F7O0 D-F700F D-J79C D-F700V
D-J79 D-F7NTL
D-F7BAL
012 to 925
| o/
ALL Wi \\
\_
232 to 2100 [ \
A _ ﬁm AIE B
Auto Switch Mounting Position/Spring return (Spring extend) Auto Switch Mounting Height (mm) [
DoA7ey | DATCHIASOH B‘E;BQ;- DoAre | o DATHDAR || \
, - D-A73C/A80C - - D-F70] D-J79/D-F70W | D- - ~
Boresize| p-Ag0 | D078 D-AToW | DR D-A80 | D-JOWD-F7BAL | D-Agoc|p-Frowy|D-I79C |D-A7OW
D-F70V/J79C D-E7LIWV D-F70F/D-FINTL
A B A B A A B U U U U U U
12 45 | 55100 | 5 | 6105 | 2 3(7.5) 9 | 10(145) 19.5 20.5 26.5 23 26 22
16 7565) | 5(7) | 8(6) | 5575) | 5(3) | 25(45) | 12(10) | 95(115) 225 235 29.5 26 29 25
20 7.5 6.5 8 7 5 12 11 24.5 25.5 31.5 28 31 27
25 7.5 7 8 7.5 5, 4.5 12 11.5 27.5 28.5 34.5 31 34 30 -
32 9 6 9.5 6.5 6.5 3.5 13.5 | 10.5 31.5 32.5 38.5 35 38 34 /”/
40 13 8.5 13.5 9 10.5 6 17.5 13 35 36 42 38.5 41.5 37.5 |
50 11 115 115 12 8.5 9 15.5 16 41 42 48 445 47.5 43.5 \
( ): Spring extend \\

1-519

O
:



Series CQP2

o012 to 050 Spring Return  without Auto Switch

\\
| 012 to 925 . H thread effective depth G
7o)
- @7 -
1= gl BN
: Wk@gw
/ SR e
2-gN through / 1 | Q
4-00 counter bore :f)'. L B K \
— M5 A - Plug
N (Port size)
/ Rod end male thread
ﬁod end nut *
. Rod end male thread (mm)
Hi |
L (?ﬁ,;f’) ci| x| HI |Lt
AN 12
a8l 12 9 [105] M5 14
e, 10 | 12 M6 | 155
1 20 12 | 14 M8 18.5
x| 25 15 | 175 | M10X 1.25 | 225
L1
Standard (mm)
Bore A B
) T C|D|E|E1|E2|F H Il [K|L|M|N 0 w
12 255(305[22 (27| 6 | 6 231314 7 M3 32| 5 |3.5]|22|3.565Depth35| 27
16 27 |32 |235|285| 8 | 8 |26 |15|17 (85| M4 |38| 6 |3.5| 28 |3.5|65Depth35| 32
20 29 |34 |245[205| 7 |10 (30 |17 |19 |105| M5 47 | 8 |4.5| 36 |5.5|9Depth7| 36
25 325(375|275]|325] 12|12 | 33 |195]| 22 | 12 M6 52 |10 | 5 | 40 | 5.5 |9 Depth 7| 415
032 to 650
4-gN through Z P
\ 8-20 counter bore ﬁ (Port size) H thread effective depth C
(]
(=]
L B
A
Rod end male thread Rodendnut*
H1 Rod end male thread (mm)
- 0 (Ef,?rr,f) ci| x| HI |Lu
32 205 | 235 | M14 X 1.5 | 285
—H—Jﬁ 40 205|235 | M14X1.5 | 285
C1 50 26 | 285 | M18X1.5 | 335
X
L1
) Standard (mm)
™ Bore A B
\\‘ (mm) st [ 10t [ 20st | 5st [0st[20st| © | P | B | F A o A Ml ° i R
| 32 3540 | — |28 33| — | 13|16 | 45|85 M8 60 | 10514 | 7 | 34 |5.5| 9Depth7 1/8 8 |555] 30
40 415 (465 | — [345]395| — [ 13|16 |52 |85 M8 69|10 |14 | 7 |40 |55| 9Depth7 1/8 8 | 6230
4 50 — | 485585 — [ 405]505| 15|20 | 64 | 11 M10 86| 13|17 | 8 |50 |6.6| 11 Depth 8 1/4 10 | 77 | 39
+ Refer to p.1-442 for rod end nut and optional bracket.
1-520 2 SNC



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQPZ

ﬂ12 to a50 Spring Return with Auto Switch

o012 to 925

Lead wire minimum
bending radius 10

) H thread effective depth C Auto switch
w
(Rt — '
lﬁ 7
(7]
—i= _ 1
+ﬁ
2-gN through
|
4-0 counter bore | F \ g L_| 5 i Plug
E l M5 "L A 1
(Port size)

Rod end male thread Roqeng nut*

m Above auto switch: D-A73/A80 Hr Rod end male thread (mm)
Refer to p.1-519 for auto switch Bore
mounting position and mounting height. = (mm) C1] X H1 Lt
~| e 12 9 [105] M5 14
UJ 16 10 | 12 M6 |155
Ci 20 12 | 14 M8  |185
X 25 15 [17.5] M0X 125 [22.5
L1
Standard (mm)
Bore A B c|D|E|E1|E2|F H I | k|L|M|N|] O |s|u|w
(mm) 5st |10st| 5st [10st
12 36541533 38| 6 | 6 | 23|13 14| 7 M3 32| 5 [35]| 22|35 |65Depth35|325/19.5] 27
16 39 | 44 |355(405| 8 | 8 |26 | 15| 17 |85 M4 38 | 6 |35 | 28 |3.5|65Depth35|37.5|225| 32
20 41 | 46 |365|41.5] 7 | 10 [ 30 | 17 | 19 |105 M5 47 | 8 | 45|36 |55 |9Depth7|415|245| 36
25 425|475(37.5[425| 12 | 12 | 33 [195]| 22 | 12 M6 52 | 10 | 5 | 40 | 5.5 |9Depth7| 47 |275|41.5
032 to 850
4-gN through Z P
8-00 counter bore F (Port size) H thread effective depth C K Plug
-y \ I /
_g -
O —€ D =@
L) =|wlz 2 - (%]
=2 o )
Dt © | | @3¢
I |
1
i m Auto switch / HJ
M i Lead wire minimum bending radius 10 L
E A 22
Above auto switch: D-A73/A80 Rod end nut*
Refer to p.1-519 for auto switch Rod end male thread (mm)
mounting position and mounting height.
Hi Bore
T C1| X H1 L1
Rod end male thread " 32 20.5(23.5|M14X1.5|285
11 f -t 40 20.5|23.5|M14 X 1.5 |28.5
50 26 |28.5|M18 X 1.5|33.5
p—
Ci
X
L1
Standard mm)
Bore A B
(mm) 5t [10st [20st| 5st [1ost]20st| © | P | B | F H PlJd K LM N ° P R
32 45|50 | — |38 |43 | — |13 |16 |45|85| M8 60 [105]14 | 7 | 34 |5.5|9Depth7 1/8 8 [64.5[31.5(555] 30
40 515|565| — |445/495| — |13 |16 (52 (85| M8 69 |10 |14 | 7 | 40 |5.5|9Depth7 1/8 8 |71[35|62]30
50 — |585/685| — [50.5(605| 15 | 20 | 64 | 11 M10 86 |13 |17 | 8 | 50 | 6.6 |11 Depth8 1/4 10 86| 41|77 |39

O
:

« Refer to p.1-442 for rod end nut

and optional bracket.

1-521



Series CQP2
Q12 tO 650 Spring Extend without Auto Switch

012 to 625 M H thread effective depth C
- —
©
s
27 —
o Ny o T
() DRy
SZARAN> AN, 55,
/ w
2-gN through / qu) i
[
4 ter b
20 counter bore 4 £ 2 L B
M5 /| E - A
(Port size)
Rod end male thread
Rod end nut * Rod end male thread (mm)
Bore L1
Hi (mm) cr H1 5st [10st]
\ 12 9 M5 19 | 24 |105
] 16 10 M6  [20.5|255| 12
o) 20 12 M8 [235[285]| 14
Ci 25 15 | M10X1.25|27.5|32.5[17.5
L X
L1
Standard (mm)
Bore A B L
(mm) 5st [10st| 5t J10st] C | D | B | BT B2| F H V| K st frost] M| N © w
12 305(405[22 |27 | 6 | 6 | 23|13 [ 14| 7 M3 32| 5 |85[13.5) 22 | 3.5 |65Depth35| 27
16 32 | 42 |235(285| 8 | 8 |26 | 15| 17 |85 M4 38| 6 |85[13.5| 28 | 3.5 [65Depth35| 32
20 34 | 44 |245(295| 7 |10 |30 |17 | 19 |[105] M5 47 | 8 |9.5(14.5| 36 | 5.5 9Depth7 | 36
25 37.5|47.5|275|325| 12 | 12 | 33 |19.5]| 22 | 12 M6 52 | 10 | 10 | 15 | 40 | 5.5 | 9Depth7 |41.5
032 to 650
P
(Port size)
4-gN through
8-00 counter bore'\
)
8/
-\_‘
T (3
L B
A
Rod end e thread Rod end nut *
od end male threa Rod end male thread (mm)
Bore L1
Hi mm | C | X MY g THost]20st
o (7 32 20.5|23.5|M14 X 1.5(335[385| —
L 40 20.5|23.5|M14 X 1.5|33.5(385| —
_5_4,__' 50 26 |28.5|M18X 15| — 435|535
\_/
C1
X
L1
Standard (mm)
Bore A B L
(mm) 5st [10st]20st| 5st [10st]20st] © | P | B | F J | K estTrost]20st] M | N © P Q| W\ 2z
32 40 |50 | — | 28 | 33| — |13 |16 | 45|85 M8 60 |105] 14 | 12 | 17 | — | 34 | 5.5 |9 Depth 7 1/8 8 |55.5]| 30
40 46.5|56.5| — [34.5|395| — | 13 | 16 | 52 | 8.5 M8 69 | 10 | 14 | 12 | 17 | — | 40 | 5.5 |9 Depth 7 1/8 8 | 6230
50 — |58.5|785| — |40.5/50.5| 15 | 20 | 64 | 11 M10 [ 86|13 |17 | — | 18| 28 | 50 | 6.6 |11Depth8 1/4 10 | 77 | 39
= Refer to p.1-442 for rod end nut and option bracket.
- V
1-522 ZSVC



Compact Cylinder/Axial Piping: Single Acting Single Rod Series CDQPZ

012 to 950 Spring Extend  with Auto Switch

11 Lead wire minimum bending radius 10
M H thread effective depth C Auto switch
- —_—. m
! [0
2/ I
o oy A \;%
2 &L ) w&%%/w
/ @
2-oN through / J 1 —|
g;}a:g counter E @ L | B K \.PlUQ_
M5/ E - A .
(Port size)
Above auto switch: D-A73/A80
m Refer to p.1-519 for auto switch mounting
position and mounting height.
Rod end male thread Rod end nut’ Rod end male thread (mm)
Bore | oy | x| H Lt
A ,’! (mm) 5st |10st
W) 12 9 |10.5| M5 19 | 24
H-HE 16 1012 M6 [205[25.5
pep 20 12|14 | M8 [235|28.5
e H‘_‘. 25 15 [17.5[M10 X 1.25|27.5|32.5
X
m L1
Standard ~ (mm)
Bore A B L
(mm) 5st |10st| 5st | 10st oo B E =] H ! K 5st | 10st MIN 9 G| W
12 45.9(55.9(37.4(424| 6 6 [23 |13 |14 | 7 M3 32 | 5 [85|135] 22 | 3.5 |6.5Depth 3.5/ 32.5|19.5| 27
16 44 | 54 |35,5[405| 8 8 |26 |15 | 17 [ 8.5 M4 38 | 6 |85[13.5]| 28 | 3.5 |6.5Depth3.5[37.5[22.5| 32
20 46 | 56 |36.5/415| 7 |10 | 30 | 17 | 19 |105 M5 47 | 8 |9.5(145| 36 | 5.5 |9 Depth 7|141.5(24.5| 36
25 475|575|375(425| 12 | 12 | 33 |195]| 22 | 12 M6 52 | 10 | 10 | 15 | 40 | 5.5 |9 Depth 7| 47 |27.5]41.5
P
232 to 850 (Port size) z I(;Hhtr:%d effective o
2-gM through dep! K / ug
4-20 counter’, \ . i
bore !
.E_{“ /
T
a ;'Th — . w
] :r_p
i ]
- [
?“J—f\ .
L | ' Auto switch / ‘. Lead wire minimum
— "L'A— B - " bending radius 10
! A -
Above auto switch: D-A73/A80 Rod end nut*

Refer to p.1-519 for auto switch mounting
position and mounting height.

Rod end male thread (mm)

Hi /
L1
Rod end male thread Bore
%r mm) | C[ X | M [Bet[10st]20st

32 20.5|23.5|M14 X 1.5[335[385| —
40 20.5|23.5|M14 X 1.5[33.5[38.5| —

L C 50 | 26 |28.5|M18 X 15 435535
X
e S
Standard (mm)

Bore A B L
(mm) [ 5st [10st]20st| 5st [1ostl2ost] C | P | E | F [ H | V| J | K SaTrostjoost M| N | © P |Q|8 U fW/fZ
32 |50 60| — | 38|43 | — | 13| 16 | 45 | 85| M8 | 60 |105] 14 | 12 | 17 | — | 34 | 5.5 |90eph7| 1/8 | 8 | 645315555 30
40 [565(665] — |445]495] — | 13| 16 |52 85| M8 |69 |10 | 14|12 | 17 | — | 40 | 5.5 [s0eph7| /8 | 8 | 71 | 35 | 62 | 30
50 _ |685]885] — |505|605] 15| 20 | 64 | 11| M0 | 86 | 13 | 17 | — | 18 | 28 | 50 | 6.6 |11Deph8] 1/4 | 10 | 86 | 41 | 77 | 39

«Refer to p.1-442 for rod end nut and
optional bracket.

1-523

O
:



Compact Cylinder/Large Bore Size: Double Acting Single Rod

Series CQ2

0125, 6140, 6160

How to Order

E|] cq2s [125/30]DC

| 1 | [ 11 ]

- [P [E]cpQ2B [125130]/DC[ HA73[[S

l | * Number of
Thread Port auto switches
_— | Re(PT) Auto switch = 2
_E | &PhH Without auto switch S | 1
- (Built-in magnet) n n
* Refer to table below for selection
With auto switch ¢ of auto switch model no.
(Built-in magnet) .
Mounting ¢ + Body option
B Standard . — Standard (Rod end female thread)
(Through-hole and both ends tapped) ¢ Cushion M Rod end male thread
. C | Rubber bumper
Bore size ¢
125 | 125mm
140 | 140mm & Action
160 | 160mm D |Double acting
} Cylinder stroke (mm) ¢
Refer to standard stroke table on p.1-525
Applicable Auto Switches
o oot 5 y Load voltage Auto switch model Lead wire* (m) Aolicabl
Style Special function ectrical | | Wiring 05 3l5N pplicable
entry |5 | (Output) DC AC |Perpendicular| Inine | () [()|(2) (me ad
3wire (EQuUVNPN) |  — 5V — — A76H ® |®@|—|—-|IC| —
Ves — — 200V A72 A72H o 0| - |-
= Grommet A73 A73H ® 00| | —
&= 12v 100V
5 — L — — ® o - |-
7 No| 2wie | . SV.12V [i0Workssl A8O A80H ® |®|— || ic [Relay,
o Yes| v | — A73C — e |eje /0 — |PC
o Connector [—]
No! 5V, 12V |24V orless A80C —_ ® ©0/0|0 IC
Diagnostic (2 colour) | Grommet |Yes — — A79W — ® O - |-| —
3wire (NPN) &V, 12V F7NV F79 ® |00 | —-|
. Grommet 3 wire (PNP) F7PV F7P ® 0 O |-
i 2 wi F7BV J79 ® 0 0| -
wire 12V —
5 Connector J79C — ® o000
.'é Diagnostic 3 wire (NPN) 5V 12V F7NWV F79W ® 00 -/,
o 3 wire (PNP ' — -
e (2 CO|0UF) Ve wire (PNP) oav . F7PW ® 0O Relay,
s ) F7BWV J79W ® 00| - PLC
7] - 2 wire 12v —
° ater resistance (2 colour — F7BA - | @O |-
s With timer Grommet | I3 e (NPN) v 12v — F7NT - (@0 .
— Diagnostic output (2 colour, ' — F79F ® @O |-
\ Latch with diagnostic 4 wire (NPN) L
g output (2 colour) - — il ¢ |®0©
{ * Lead wire length  0.5m ----- — (Example) ABOC  5m --eeenee Z (Example) A80CZ
3m e L (Example) A8OCL None -+ N (Example) ABOCN
S # Solid state switch marked with a "O" are manufactured upon receipt of order.

1-524

O
:



Compact Cylinder/Large Bore Size: Double Acting Single Rod Series CQZ

Style
= Bore size (mm) 125 140 160
Moumingl Throughhole, Both ends tapped o o o
£ | Built-in magnet ° ° ®
E |Piping | screw-in G3/8 G3/8 G3/8
r:% Rod end male thread o o o
Rubber bumper (Standard) [ ) [ ) [ )
Specifications
Style Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)

Ambient and fluid temperature

Cushion Rubber bumper (Standard)
Rod end thread Female thread
Rod end thread tolerance JIS class 2
Stroke length tolerance i
Mounting Though-hole and both ends tapped
Piston speed 50 to 500mm/s
JIS symbol
Double acing: Single rod Standard Stroke
Bore size (mm) Standard stroke (mm)
. T 125, 140, 160 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
* Intermediate stroke
Intermediate strokes at 5mm intervals are available by using spacers with standard stroke cylinders.
Example) CQ2B125-160DC: Standard stroke cylinder
CQ2B125-175DC with 15mm width spacer inside.
Theoretical Force Unit: N
; Operating pressure (MPa
Bore size Operating direction E el ( )
(mm) 0.3 0.5 0.7
i3 IN 3376 5626 7877
ouT 3681 6135 8590
140 IN 4312 7187 10063
ouT 4618 7696 10775
160 IN 5654 9424 13194
ouT 6031 10053 14074
Weight
< Without auto switch Unit: kg
A Preca utlons Bore size Cylinder stroke (mm)
(mm) | 10 | 20 | 30 | 40 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
A 125 4 74 | 6. .2 52 717 | 7.81 A4 A1 .76 |10.41 [11.71 | 13.01
ACautlon 548 | 5 6.00 | 6.26 | 6.5 81 |8.46 |9 9.76 |10 3.0
140 6.49 | 6.78 | 7.08 | 7.38 |7.68 | 8.42 |9.17 | 9.91 {10.66 |11.40 |12.15 |13.64 | 15.13
’ Snap Ring Installation/Removal ‘ 160 | 8.96 | 9.31|9.67 |10.03 |10.39 |11.29 |12.19 [13.09 |13.99 |14.89 |15.79 [17.59 | 19.38
(D For installation and removal, use an appropriate pair i .
of pliers (tool for installing a C snap ring). Built-in magnet Unit: kg
Bore size Cylinder stroke (mm
(2) Exercise caut(ion even when USian: an approp))riate (mm) 10 20 30 40 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming 125 5.54|5.80 | 6.06 |6.32 |6.58 |7.23 | 7.87 | 8.52 | 9.17 | 9.82 |10.47 |11.77 {13.07
detached from the tip of the pliers (tool for_in_stalling a 140 6.56 | 6.85 | 7.15 | 7.45 | 7.75 | 8.49 | 9.24 | 9.98 | 10.73 | 11.47 [12.22 |13.71 |15.20
C snap ring) and flying away, which could injure 160 | 9.04 | 9.39 | 9.75 [10.11 [10.47 [11.37 |12.27 [13.17 | 14.07 | 14.97 |15.87 |17.67 |19.46
humans or damage_the peripheral equipment. After
installing the snap ring, make sure that it is placed CQ2 Large bore size/Minimum Strokes for Auto Switch Mounting  ynit: mm
securely in the ring groove before supplying air.
D-F701V D-A7C1/D-A80 D-F70WV
Number of D-J79C D-A73C/D-A80C | D-F7CIW/D-J79W D-A79W
auto switches D-F70J D-A7C0H D-F7BAL
D-J79 D-A80H D-F7NTL/D-F7LF
1 pc. 5 5 10 15
2 pcs. 5 10 15 20
%S\ 1-525



Series CQ2

Option Weights Unit: kg Mounting Bolt for CQ2
Bore size (mm) 125 140 160 Special bolt for through-hole of CQ2B is available as option.
Rod end male thread Male thread 0.31 0.31 0.48 How to Order: Specify the required bolts.
oc end male fhrea Nut 016 016 026 Example) Bolt M12 X 100 ¢ 4 pcs.
Calculation example: CDQ2B125-30DCM Add the weight of auto switches and Note 1) To install a throuah hole i Mounting bolt
+Basic weight: ~ CDQ2B125-30DC---------6.06kg mounting brackets. ote 1) b°n'”s aka ”";9 °fh Vﬁ’let’“"“; "9
+ Additional weight: Rod end male thread--0.47kg i t'i’s“;rjv;‘g: o use the flatwasher "
. . . 6.53kg Note 2) Consult SMC régarding mounting bolts Hin
Welght/AutO Switch Mountlng Bracket for strokes that exceed 100mm.
Part No. Bore size Weight (g) Usg the OA screw provided on the
cylinder tube to secure the cylinder.
BQ-2 | 0125 to 5160 1.5
Model C | D [Mounting bolt Model C | D [Mounting bolt
C0Q2B125, 140-10DC 100 | M12X100¢ _ CCQ2B160-10DC 110 | M14X110¢
-200C 110 X110¢ -20DC 120 X120¢
-300C 120 X120¢ -30DC 130 X130¢
-400C | 22.9 | 130 X130¢ -40DC | 27.7 | 140 X140¢
-500C 140 X 140¢ -50DC 150 X 150¢
-750C 165 X 165¢ -750C 175 X175¢
] -100DC 190 X190¢ -100DC 200 X200¢
Construction
Double acting/Single rod Rod end male thread
®QOOBODRNODD @ @
W e }
VBT |
o /
| |
| 1
E= Y | =1 1
== 'Ii ]. |
= L[|
1 -
m l. 1l
|__|I'_L,.|_ — IjLi—JJ.._E: S
?_gt,. .*‘i b:;
i [ u
Auto switch
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size (mm) Kit No. Note
® Cylinder tube Aluminum alloy Hard anodized 125 CQ2B125-PS
@ Head cover Casting steel Zinc chromated 140 CQ2B140-PS A set includes 2, (3 and @
® Piston Aluminum alloy casting Chromated 160 CQ2B160-PS
@ | Piston rod Carbon steel Hard chrome plated * Seal kits are sets consisting of items (12, @3 and @9, which can be ordered
® Rod cover Casting steel Zinc chromated using the kit number for each cylinder bore size.
® Snap sing Carbon tool steel Phosphate coating
@ Bumper Urethane
Bushing Lead bronze casting
©@ Wearing Resin
[ Magnet — For only CDQ21B
(D) Rod end nut Rolled steel Nickel plated
(7 Piston seal NBR
[E Rod seal NBR
@ | Tube gasket NBR
Auto Switch Mounting Bracket Part No. Rod End Nut
Bore size Applicable switch :
(mm) R LD Reed switch Solid state switch N
D-F701, J79 . f
D-F700V a NS
* Switch mounting screw | D-A7C], A80 :[ 1
125 (M3 X 100) D-A73C, A80C D-J79C iz 5
140 BQ-2 « Switch interf D-A700H. ASOH D-F700W, J79W
160 witch interface ’ D-F7O0WV Material: Rolled steel
* Switch mounting nut| D-A79W _
D-F7BAL Part No Bore size d Hielclp
D-F70F, D-F7NTL | _(mm)
[Stainless steel mounting bolt set] NT-12|125/140|M30X 1.5 | 18 | 46 |53.1| 44
The set of stainless steel mounting screws (with nut) described below is available and can be used depending NT-16| 160 |M36X15|21 | 55 [63.5| 53

on the operating environment. (The spacer for auto switches must be ordered separately, as they are not
included.)

BBA2: For D-A7/A8/F7/J7
The stainless steel bolts described above are used when the D-F7BAL type switch is shipped mounted on a
cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

1-526 2 S\MC



Compact Cylinder/Large Bore Size: Double Acting Single Rod Series CQZ

Bore size

0125, 0140, 0160

Standard (Through-hole)/CC1Q2B

2-Re(PT)3/8

The outer dimensions are the same with or without an auto switch.

H thread effective depth C

9 ey - =U /2 X 4-00B counter bore depth RB
y "
/  (Portsize) (opposite side too)
N S
- . : - il J
AN St 1 T L o
Cag o 1 ®
.. £ l/ I -
25 = Lead wire minimum ,
== | R bending radius 10 / L
f s - Auto switch @
I 1T I y i
/ ! \ | 8-OA thread depth RA
With 4 pes. | |_ B+Stroke 1
A+Stroke ' S
Re — Rod end male thread (mm)
Bore
Hi — (mm) A1 | Ct H1 Li| x
X% 125 141 | 42 [M30X1.5| 58 | 45
L i O ; O 140 141 | 42 | M30X 15| 58 | 45
i 3 :
_L.—gL d 160 155 | 47 | M36X 15| 64 50
/‘% I
|
C1 |
Above switch: D-A73/A80 Refer to below N |
for auto switch mounting position and Rod end nut B |
mounting height. Ai+Stroke I
mm)
Bore Standard strokerange | A | B | C | D | E F H J|K|L|M N OA OB | Q |[RA|RB |S | U
125 10, 20, 30, 40, 50 99 (833036 [142|24.5 M22 11 (32 |16 [114 [ 125 M14 212 [24.5|25[18.4 [162] 80
140 75, 100, 125, 150 99 |83 3036|158 |24.5 M22 10 |32 |16 |128 [12.5| M14 [21.2 |24.5|25|18.4 |177| 88
160 175, 200, 250,300 108 |91 | 33 | 40 | 178 | 27.5 M24 10 [36 [ 17 (144 [145| M16 [24.2 |27.5|28 |21.2 |[197| 98

Note 1) Attached plain washer must be used for through-hole mounting.

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A701
D-A80

Auto Switch Setting Position

D-A70H D-F7O0W
D-A80H D-J79W
D-F70 D-F70F
D-J79 D-F7NTL
D-F7BAL

o D-F70W
’ D-J79W
Bore | D-ATL]|ABOH, D-A73C, ABOC | p.p7g\y | D-F7NTL | D-F7F.D-FILF
ss |D-A8O | D-FTC3, F7OV D-E7BAL
(mm) D-J79C, J79 D-F70WV
A A A A A
125 32.5 33 30 38 37
140 32.5 33 30 38 37
160 36.5 37 34 42 41

D-A73C
D-A80C
D-J79C

Auto Switch Mounting Height (mm)
D-ATCH, D-AGOH
D-A70) | D0, D79, D-F7OW| D-A73C | D-F70V | _
D-AS0 | D7OW,DF7BAL | D-A80C | D-F7wy| P-J79C | D-A79W
D-FTCF, D-FINTL
U U U U U U
80 81 87 83.5 85.5 82.5
88 89 95 91.5 93.5 90.5
98 99 105 101.5 103.5 100.5
1-527

O
:



Compact Cylinder/Large Bore Size: Double Acting Double Rod

Series CQ2

0125, 6140, 6160

How to

Order

DC

E] cazws [125/H30

\ 11 ] I

111
DC

- [P [E]CcDQ2wB [1251-{30

Thread Port l
— | Rc(PT)
E G(PF)

With auto switch

(Built-in magnet)

Style ¢

w |

Double rod

Mounting ®

Standard

(Through-hole and both ends tapped)

__Bore size ¢
125 | 125mm
140 | 140mm
160 | 160mm

Cylinder stroke (mm)e

Refer to standard stroke table on p.1-529

A73

» Cushion

¢ Action

¢ Number of
auto switches
Auto switch e -
Without auto switch S | 1
(Built-in magnet) n n
* Refer to table below for selection
of auto switch model no.
option

C | Rubber bumper

D Double acting

Applicable Auto Switches

* Body

Standard (Rod end female thread)

Rod end male thread

- : 5 - Load voltage Auto switch model Lead wire™(m)
: ’ ectrical | 4 iring Applicable
Style Special function ent 8 Output . . 0.5 [ 3| 5 |None
1% g (Output) DC AC |Perpendicular In-line iy Ol @l w load
3Iwire (Equiv. NPN)|  — 5V — = A76H ® O - |—-|IC| —
— — | 200V A72 A72H ® |0 - | -
< Yes
o Grommet A73 A73H o o0 | —
S 12v 100V
H — || — = ®o 0| |-
b No| 2wie | . [sV,12v [<100v] —ABO ASOH | ® |@|- || ic |Relay,
8 Ves v | — A73C — o [eje]e| _|PC
Connector 55 5,12 | <24V | A8OC — o [ejo0| C
Diagnostic (2 colour) | Grommet |Yes — — A79W — ® 0 |- —
3 wire (NPN) F7NV F79 ® 0|0|-
5V, 12V IC
_ Grommet 3 wire (PNP) F7PV F7P ® 00—
) F7BV J79 ® @ O |-
2 wire 12V —
S Connector J79C — ® oo o
-‘;‘ 5 3 wire (NPN) s 1oV F7TNWV F79W ® |00 -]
» iagnostic - ) —
2 (2 colour) Ve 3 wire (PNP) oay _ F7PW ® 0O - Relay,
s ] F7BWV J79W ® 00— PLC
7} 2 wire 12v —
T |Water resistance (2 colour) — F7BA ® 0 O |-
S With timer Grommet 3 wire (NPN) = F7NT - | ®@|O |-
n 5V, 12V Ic
Diagnostic output (2 colour) — F79F ® 0 O |-
Latch with diagnostic 4 wire (NPN) _ _ e |@l0]|-| —
output (2 colour) F7LF
* Lead wire length  0.5m ------ — (Example) ABOC 5m -e-eeeeeee Z (Example) A8B0CZ

L (Example) ABOCL None -

N (Example) ASOCN

# Solid state switches marked with a "O" are manufactured upon receipt of order.

O
:



Compact Cylinder/Large Bore Size: Double Acting Double Rod Series CQZ W

Style
= Bore size (mm) 125 140 160
Moumingl Through-hole, both ends tapped (Common) [ ] [ J [ J
% Built-in magnet [ ] [ ] [ ]
£ | Piping | screw-in G3/8 G3/8 G3/8
é Rod end male thread [ ) [ ) [ ]
Rubber bumper (Standard) [ ] [ ] o
Specifications
Style Pneumatic (non-lube)
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa

Without auto switch: —10°C to 70°C (No freezing)
With auto switch: —10°C to 60°C (No freezing)
Rubber bumper (Standard)

Female thread

JIS class 2
+1.4
0

Ambient and fluid temperature

Cushion
Rod end thread
Rod end thread tolerance

Stroke length tolerance

Mounting Through-hole, both ends tapped (Common)

50 to 500mm/s

Piston speed

JIS symbol

Double acting/Double rod

Standard Stroke

Bore size (mm)

Standard stroke (mm)

125, 140, 160

10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300

Theoretical Force

A\ Precautions

A\ Caution

] Snap Ring Installation/Removal

(D For installation and removal, use an appropriate pair
of pliers (tool for installing a C snap ring).

(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Mounting

(D When removing a load, be sure to secure the wrench
flats of the piston rod on the load side.

(2) If this is done without securing the piston rod on the
load side, be aware that the coupled (screw-in)
portion of the piston rod could become loosened.

Unit: N
Bore size Operating pressure (MPa)

(mm) 0.3 0.5 0.7

125 3376 5626 7877

140 4312 7187 10063

160 5654 9424 13194
Weight
Without Auto Switch Unit: kg

Bore size Cylinder stroke (mm)

(mm) 10 | 20 30 40 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300
125 571 |6.02 [6.34 | 668 | 7.02 | 7.87 | 871 | 9.56 [10.41 [11.26 | 12.11 |13.81 | 15.50
140 6.73 | 707 | 7.43 | 7.80 | 8.18 | 9.13 |10.07 | 11.01 [ 11.96 [12.90 | 13.84 | 15.73 | 17.62
160 9.26 | 9.69 |10.12 | 10.58 | 11.04 | 12.18 | 13.33 | 14.47 | 15.62 |16.76 | 17.91 |20.20 |22.49

Built-in Magnet Unit: kg
Bore size Cylinder stroke (mm)

(mm) 10 20 30 40 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300
125 577 | 6.08 | 6.40 | 6.74 | 7.08 | 7.93 | 8.77 | 9.62 [10.47 [11.32 | 12.17 | 13.87 | 15.56
140 6.80 | 7.14 | 750 | 7.87 | 825 | 9.20 |[10.14 | 11.08 [12.03 {12.97 | 13.91 |15.80 | 17.69
160 9.34 | 9.77 [10.20 [ 10.66 |11.12 [12.26 | 13.41 | 14.55 [ 15.70 [16.84 | 17.99 |20.28 |22.57

CQ2 Large Bore Size/Minimum strokes for auto switch mounting Unit: mm
Number of g:.lj:;slajg 3:2;:?6 Dﬁf:goc B:E;Swvo-nsw
auto switches D-F700 D- A7E|I-i D-F7B AL’ D-A79W
D-J79 D-A80H D-F7NTL, D-F7LF
1 5 5 10 15
2 5 10 15 20
% SNC 1-529



Series CQ2W

Mounting Bolt for CQ2

Option Weights Unit: kg
N Bore size (mm) 125 140 160 Special bolt for through-hole mounting of CQ2WB is available as option.
| Rod end male thread Male thread area 0.62 0.62 0.96 How to Order: Specify the required bolts.
| od end male threa
| Nut 0.32 0.32 0.52 Example) Bolt M12 X 100 ¢ 4 pcs.

Calculation example: CDQ2WB125-30DCM

*Basic weight: ~ CDQ2WB125-30DC---- 6.40kg

« Additional weight: Rod end male thread-----0.94kg
7.34kg

Weight/Auto Switch Mounting Bracket

Part no. Bore size  |Weight (g)
BQ-2 | 2125 to 0160 1.5
.
Construction

Add the weight of auto switches and
mounting brackets.

Mounting bolt

Note 1) To install a through hole type mounting
bolt, make sure to use the flat washer
that is provided.

Note 2) Consult SMC regarding mounting bolts
for strokes that exceed 100mm.
Use the OA screw provided on the cylinder
tube to secure the cylinder.

Model C | D [Mounting bolt Model C | D [Mounting bolt
COQ2WB125, 140-10DC 100 | M12X100¢  COQG2WB160-10DC 110 | M14X110¢
COQ2WB125, 140-200C 110 | Mi2X110¢  COQ2WB160-20DC 120 | M14 X 120¢
CCQ2WB125, 140-30DC 120 | M12X120¢  COQ2WB160-30DC 130 | M14 X 130¢
CCIQ2WB125,140-40DC| 22.9 | 130 | M12X 130¢  CCIQ2WB160-40DC | 27.7 | 140 | M14 X 140¢
COQ2WB125, 140-500C 140 | M12X140¢  CCQ2WB160-50DC 150 | M14 X 150¢
CCQ2WB125, 140-75DC 165 | M12X165¢  CCQ2WB160-75DC 175 | M14 X 175¢
CCQ2WB125, 140-100DC 190 | M12X190¢  COQ2WB160-100DC 200 | M14X200¢

Component Parts

Double acting/Double rod

Rod end male thread

=
g

Replacement Parts: Seal Kits

No. Description Material Note Bore size (mm) Kit No. Note
® Cylinder tube Aluminum alloy Hard anodized 125 CQ2WB125-PS
- @ Piston Aluminum alloy casting Chromated 140 CQ2WB140-PS A set includes (0, (2 and (3.
® Piston rod A Carbon steel Hard chrome plated 160 CQ2WB160-PS
@ Piston rod B Carbon steel Hard chrome plated * Seal kits are sets consisting of items (), (2 and (3, which can be ordered
® Rod cover Casting Zinc chromated using the order number for each cylinder bore size.
® Snap ring Carbon tool steel Phosphate coating
0] Bumper Resin
Bushing Lead bronze casting
[©) Magnet — For only CDQ20B
Rod end nut Rolled steel Nickel plated
@ Piston seal NBR
() Rod seal NBR
@ | Tube gasket NBR
Piston gasket NBR
Auto Switch Mounting Bracket Part No. Rod End Nut
Bore size Applicable switch
(mm) Fa e i Reed switch Solid state switch o d
D-F701, J79 -
« Switch mounting screw D-A701, A80 D-F7LV _D_[ j
125 D-J79C | 1
(M3 X 10¢) D-A73C, A80C m =
140 BQ-2 T D-F700W, J79W
~ * Switch interface D-A7CH, A8OH )
N\ 160 « Switch mounting nut | D-A79W D-F7C0WV Material: Rolled steel
gnu D-F7BAL Bore size
\ No. d H|{B|C| D
| D-F700F, D-F7NTL (mm)
Q «Stainless steel mounting bolt set NT-12]125/140|M30X 15 | 18 | 46 |53.1] 44
7 The set of stainless steel mounting screws (with nut) described below is available and can be used NT-16| 160 ([M36X 15|21 |55 |63.5| 53

as they are not included.)

BBA2: For D-A7/A8/F7/J7
The stainless steel bolts described above are used when the D-F7BAL switch is shipped mounted on a
cylinder. When the switches are shipped as individual parts, the BBA2 set is included.

& S\VC

1-530

depending on the operating environment. (The spacer for auto switches must be ordered separately,




Compact Cylinder/Large Bore Size: Double Acting Double Rod Series CQZ W

0125, 0140, 0160

Standard (Through-hole)/CCIQ2WB

The dimensions are the same with or without an auto switch.

H thread effective depth C

Q 2-Re(PT)3/8 2 X 4-00B counter bore depth RB
(Port size) (opposite side, too)
T H thread 7
| effective depth C )
: | 1—4 e ST :. I':.
—@—+—F65 3 8
LT | 1] N ool
| o Lead wire minimum R
s omsoan: sl g . bending radius 10 N
| T — :‘T‘z—'g \Vw Auto switch '_”'.W 2
[ "
[8-OA tread depth RA_|
With 4pcs._|__5__ 'B+Stroke _L+Struke_
A+2(Stroke) J
Rod end male thread —
Jﬂ\J e Rod end male thread (mm)
e ) Bore
%__ —-—\T—( ] (mm) A1 | Ct H1 L | x
11 1L @ - é YL 125 [199 [ 42 | M30X1.5] 58 | 45
BRI — 140 199 | 42 | M30X1.5| 58 | 45
—— | 160 219 | 47 | M36X1.5| 64 | 50
| =1
| !t E - — |
_LJ‘ ' ‘ L o
X || X
1 | Li+Stroke
) A1+2(Stroke) A|
m Above auto switch: D-A73/A80 Refer to below for auto switch setting position and mounting height. (mm)
Bore Standard strokerange | A [B | C @ D|E H I |[J|K|L|M]|N OA OB| Q |[RA|RB|S |U
125 10,20,30,40,50 | 11583 | 30(22.5) |36 142 | M22 [190 |11 |32 |16 |114 [125 | M14 |21.2|245|25|18.4 [162 |80
140 75,100, 125,150 115 |83 | 30(22.5) | 36 | 158 M22 21010 (32 |16 |128 |12.5 M14 21.2 1245 )|25|18.4 |177 | 88
160 175,200,250,300 |45 | 91 | 33(26.5) |40 [178 | M24 |238|10 36 |17 144 [145 | Mi6 | 242|275 |28 |21.2 197 |98
Note 1) Attached plain washer must be used for through-hole mounting.
Note 2) The values in parentheses indicate the effective length of one side,
only for the 10 stroke type.
Auto Switch Mounting Position (at Stroke End) and Mounting Height
D-A70] D-A7C0H D-F700W D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-F7O0WV
D-F700 D-F700F D-J79C D-F701V
D-J79 D-F7NTL
D-F7BAL

Auto Switch Mounting Position

Auto Switch Mounting Height

(mm)
a7 | ATOH, DTow DA | 2ATCH DA .
_ |D-A70 | ABOH, D-A73C, ASOC iy - D-F70,DJ79, DFTOW | D-A73C | D-F70IV
Bore size| o' | DT, FTLV D-AT9W|D-FTNTL | D-F19F, D-F7LF D-AB0 | DN DFEAL | D.aB0G | Dy | PI79C | D-ATOW
L D-J79C, J79 D-FICIF, D-FINTL
D-F70WV
A A A A A U U U U U U

125 | 325 33 30 38 37 80 81 87 83.5 85.5 82.5

140 | 32.5 33 30 38 37 88 89 95 91.5 93.5 90.5

160 | 36.5 37 34 42 41 98 99 105 101.5 103.5 100.5
ZSNC 1531



Large Bore Compact Cylinder -
2180,0200 Oeries cQ2

™ : :
- 2180 and 2200 added to CQ2 compact cylinder series.
J
Large bore sizes Compact and light weight
2180 and 2200 Substantial reductions in dimensions and
weight compared to tie-rod type cylinders
\\\
|
Auto switches
* No protrusion from cylinder body cst
. b ted on f id
Can be mounted on four sides caQ2 Svera
Series length  |Weight kg
mm
Tl e cQa |Z°180 | 219 | 166
@ E 2200 226 20.6
2180 385 30.4
o Cs1
- 2200 390 39.5
Comparison with 100mm stroke and rod end male threads
Variations
— Series Action Type Size Standard strokes coﬁf(i)guer)gt(ijon autopéevri)tlgzr?gl%dels
10 20 30 40 50 75 100 125 150 175 200 250 300 .
cqz | |Double Singlerod| | 180 rrﬁg%g Ret'eg_szvg,tc%ge S
29 | pounera | 200 e, | | SOl wihes
Compact cylinder series
12|16 |20 | 25| 32| 40 | 50 | 63 | 80 | 100 | 125 | 140 | 160 | 180 | 200
t
(O=C =)
-
3
|
Y.

1-532 2 S\NC



Compact Cylinder/Double Acting: Single Rod

Series CQ2

2180, 2200 \

How to Order

E CQZE 18050/DC

[

l I T 1 /,
™ E/cDQ2B [1801H50]D C[ HZ76 |

] |
Thread Port
— [ Re(PT) Number of auto switches
E G(PF) l‘:l 2 pes.
1 pc.
n "n" pcs.
¢ Auto switch type -

Nil [ Without auto switch (built-in magnet cyIindeyf/‘

= Refer to the table below for auto switch models. [
|

\

With auto switch e :
(built-in magnet) ® Rod end threads
Nil |Standard (rod end female threads)
. M Rod end male threads
Mounting e
l B [ Standard (through hole/double end tapped) ‘
¢ Cushion
. l C IF{ubber bumper ‘ o
Bore size ® /
180 180mm (
200 | 200mm ¢ Action |
l D [ Double acting ‘ \
\\\
Cylinder stroke (mm) @
Refer to the standard stroke table on page 1-534
Applicable Auto Switches
) i i Load voltage Auto switch models | *Lead wire length (mm)
Type Special Electrical | Indicator| Wiring Electrical entry direction| 0.5 3 5 Applicable loads o
f t light DC AC -
unction entry | fight | (output) Perpendicular] Inine | (NI) | 1) | @
v 3wire | - | 5V - = 276 ° ° - |iCcircuit| - [
es |
Reed switch - Grommet ) 12V | 100V - Z73 [ ° ° - Relay |
2wire | 24V — ’
No 5V, 12V {100V or less - Z80 [ ) [ ] - IC circuit| PLC \
3 wire (NPN) . Y69A Y59A ° ° O |IC circuit \
- 3 wire (PNP) ' Y7PV Y7P ) ) O |IC circuit
. 2 wire 12V Y69B Y59B ® [ ¢} -
Solid state 3wire (NPN i YINW Relay,
switch Diagnostic | Grommet | Yes wire (NPN)| 24V gy qoy | = ] o o © IC circuit| "-C
indication 3 wire (PNP) Y7PWV Y7PW [ ) ) e}
(2 colour indicator) o . Y7BWV Y7BW ° ° 5
Wat Stant wire -
2 c&oe\jrrﬁmsdliscgtr:ar - Y7BA - (4 O T
= Lead wire length symbols: 0.5m ...... Nil (Example) Y69B /
R Y69BL (
Y69BZ |
=% Auto switches marked with a "O" symbol are produced upon receipt of order. \\

SVC 1-533

O



Series CQ2

Specifications
Fluid Air
Proof pressure 1.05MPa
Maximum operating pressure 0.7MPa
Minimum operating pressure 0.05MPa

Without auto switch: —10°C to 70°C (with no freezing)

Ambient and fluid temperature

With auto switch: —10°C to 60°C (with no freezing)

Lubrication Non-lube
Cushion Rubber bumper
Rod end threads Female threads

Thread tolerance JIS class 2
Stroke length tolerance +1O'4
Mounting brackets Basic type

Mounting Through hole/Double end tapped
Symbol
Double acting: Single rod Standard Strokes
: : Bore size (mm) Standard strokes (mm)
180, 200 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
* Manufacture of intermediate strokes
Intermediate strokes in 5mm increments can be manufactured by installing spacers inside standard stroke
cylinders.
Example) CQ2B180-160DC is produced by installing a 15mm spacer in a standard stroke cylinder CQ2B180-
175DC.
Minimum Strokes for Mounting of Auto Switches
D-27, 28 D-Y5, Y6, Y7 |DD-Y7OW, D-Y7BAL
2 pes. (different sides, same side) 10 5 15
180, 200
1 pc. 5 5 10
Theoretical Output/Double Acting Type
F ouT IN
Unit: N
: Operating Pressure (MPa
Bore size (mm) Operating P J (MPa)
direction 0.2 0.3 0.4 0.5 0.6 0.7
180 IN 4838 7257 9676 | 12095 | 14514 | 16933
ouT 5089 7634 10179 | 12724 | 15268 | 17812
200 IN 6032 9048 12064 | 15080 | 18096 | 21112
ouT 6283 9425 12566 | 15708 | 18850 | 21991
Do not apply loads greater than 50% of the theoretical output.
Weight Table
Unit: kg
Bee S Standard strokes (mm) With magnet |Rod end male threads
(mm) 10 20 30 40 50 75 100 125 150 175 200 250 300 |Additional weight | Additional weight
180 11.97 | 12.39 | 12.81 | 13.24 | 13.67 | 14.73 | 15.80 | 16.87 | 17.93 | 18.99 | 20.05 | 22.18 | 24.31 0.08 0.74
200 15.30 | 15.87 | 16.35 | 16.84 | 17.33 | 18.55 | 19.77 | 20.99 | 22.21 | 23.43 | 24.74 | 27.08 | 29.52 0.09 0.74
Example) CDQ2B180-100DCM
Basic weight CQ2B180-100DC 15.80kg
Additional weight  Built-in magnet 0.08kg
Rod end male threads 0.74kg

Total 16.62kg

1-534

O
:



Double Acting: Single Rod

Compact

Cylinder

Series CQ2

Construction
® @ CE%@ @ iD /9® a
7
\ W I
L
Rod end male threads
Parts list Parts list
No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy Hard anodized 11 Rod end nut Rolled steel Nickel plated
2 Head cover Castiron Nickel plated 12 | Piston seal NBR
3 Piston Aluminum alloy casting Chromated 13 | Rod seal NBR
4 Piston rod Carbon steel Hard chrome plated 14 | Tube gasket NBR
5 Rod cover Castiron Nickel plated
6 Snap ring Carbon tool steel Phosphate coated
7 Bumper Polyurethane Replacement parts: Seal kits
8 Bushing Lead-bronze casting Bore size (mm) Seal kit No. Contents
9 Wear ring Resin 180 CQ2B180-PS A set of Nos.12, 13 and 14
10 | Magnet - CDQ2B only 200 CQ2B200-PS from the table above
Mounting
Mounting/Through hole type mounting bolts are available.
How to order: Add "Bolt" in front of the bolts to be used.
(Example) Bolt M18 x 125 ¢
’@/_\/\ Note1) When mounting with through hole type mounting bolts, be
—— — sure to use the flat washers which are included.
- - I -1 Note 2) When mounting a cylinder with a stroke over 100mm, use
— % 4 —] the section A mounting threads.
A Lc.
D
Model C D Mounting bolt Model C D Mounting bolt
C (D) Q2B180- 10DC 125 M18 x 125¢ C (D) Q2B200- 10DC 135 M18x 135¢
C (D) Q2B180- 20DC 135 M18 x 135¢ C (D) Q2B200- 20DC 145 M18 x 145¢
C (D) Q2B180- 30DC 145 M18 x 145¢ C (D) Q2B200- 30DC 155 M18 x 155¢
C (D) Q2B180- 40DC 36 155 M18 x 155 ¢ C (D) Q2B200- 40DC 39 165 M18 x 165 ¢
C (D) Q2B180- 50DC 165 M18 x 165¢ C (D) Q2B200- 50DC 175 M18x 175¢
C (D) Q2B180- 75DC 190 M18 x 190 ¢ C (D) Q2B200- 75DC 200 M18 x 200 ¢
C (D) Q2B180-100DC 215 M18 x 215¢ C (D) Q2B200-100DC 225 M18 x 225 ¢
7 -
ZSVC 1-535



N

Series CQ2

Dimensions

Dimensions are the same with and without auto switches.

Width across flats 55

M36 x 1.5
T —
4
N—
21
47
50
64
29 29 2-Rc 1/2
(port size)
g ©
[S] % sm
=
o - o
£
3 S o
) 2
&/_\_/—\/ <
H S —
] | T |
I | | |
4] [ \I—
Note 1)
M 102 + Stroke 2 x 4-M22 thread depth 38
pcs.
119 + Stroke
Note 1) 2 x 4-M22 threads through for
QZOO strokes of 20mm or less.
Width across flats 55
M36 x 1.5
n :
-
\—
21
47
50
64
30 30 2-Rc 1/2
(port size)
©
g
(9]
(S} © -
(=]
>
- : o
£
3 3 o
Q
Q"+~
H — |
T T T -
I | | |
d [ \ | S—
Flat washer 109 + Strok Note 1)
4 pes. + olioxe 2 x 4-M22 thread depth 38
126 + Stroke

1-536

Note 1) 2 x 4-M22 threads through for
strokes of 20mm or less.

O

SVC

2 x 4-¢31.5 depth of counter bore 26

162
204

©

H—{L

4.5

162

M24 effective thread depth 33

204

2 x 4-931.5 depth of counter bore 26

182
226

55

182

M24 effective thread depth 33

O FTN0

226




Compact Cylinder/Double Acting: Double Rod

Series CQ2W

2180, 2200

How to Order

180—50

[

cQ2wB
T

E

1
18050

OHO
IOHO

CDQ2wWB

Z76

l

Thread Port

(963 - ©100)
— | Re(PT)
E | G(PF)

With auto switch e
(built-in magnet)

Number of auto switches

Nil 2 pcs.
S 1 pc.
n "n" pcs.

o Auto switch type

l Nil [Without auto switch (built-in magnet cyIindq/)‘

Mounting e

l B [Standard (through hole/double end tapped) ‘

. o Rod end threads
Bore size -
Nil |Standard (rod end female threads)
180 180mm
M Rod end male threads
200 200mm
¢ Cushion

l (o] [Rubber bumper‘

Cylinder stroke (mm) @
Refer to the standard stroke table on page 1-538

e Action
l D [Doubleacting‘

Applicable Auto Switches

= Refer to the table below for auto switch models.

. i : 5 Load voltage Auto switch models | Lead wire length (mm) *
Type fi E\igfr: Electrical In(ljilcr?;(or (Z\S:'nu% e ac |Electrical entry direction| 0.5 3 5 | Applicable loads
entry 9 P Perpendicular|  In-line (Nil) | (L) 2
v 3 wire — | 5V — — Z76 [J [J — |ICcircuit| —
. es
Reed switch - Grommet ) 12V | 100V — 273 [ ] [ ] [ — Relay
2 wire | 24V — ’
No 5V, 12V {100V or less| — Z80 ) ) — |ICcircuit| PLC
3 wire (NPN) vy Y69A Y59A [ ] [ ] O |IC circuit
- 5V, —
- 3 wire (PNP) Y7PV Y7P [ ] [ ] O |IC circuit
. 2 wire 12V Y69B Y59B [J [J O —
Solid state Yes [3wire (NPN)| 24V YINWV | YZNW | ® | @ | O Folay.
switch Diagnostic Grommet es vire (NPN)| 24 5V, 12V - IC circuit PLC
indication 3 wire (PNP) Y7PWV | Y7PW ) ) o
2 colour indicator) Y7BWV | Y7BW Y ° o
: 2 wire 12v —
Wat tant
(2 cglgﬂrr?r?cli?c%rt]or _ Y7BA _ [ O
= Lead wire length symbols: 0.5m ... Nil (Example) Y69B
3m...... L Y69BL
5m...... 4 Y69BZ
=% Auto switches marked with a "O" symbol are produced upon receipt of order.
V -
% SVC 1-537

\

\

-

\,



Series CQ2

Specifications
~
x‘ Fluid Air
/ Proof pressure 1.05MPa
_ Maximum operating pressure 0.7MPa
Minimum operating pressure 0.05MPa
i i Without auto switch: —10°C to70°C (with no freezing)
Ambient and fluid temperature
With auto switch: —10°C to 60°C (with no freezing)
Lubrication Non-lube type
. Cushion Rubber bumper
N Rod end threads Female thread
Thread tolerance JIS class 2
“ Stroke length tolerance +B'4
Mounting brackets Basic type
Mounting Through hole/Double end tapped
Symbol
Double acting: Double rod
Standard Strokes
T T
Bore size (mm) Standard strokes (mm)
180, 200 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
Minimum Strokes for Auto Switch Mounting
D-Z7, Z8 D-Y5, Y6, Y7 | D-Y7CIW, D-Y7BAL
2 pcs. (different sides, same side) 10 5 15
180, 200
- 1 pc. 5 5 10
) Theoretical Output/Double Acting
Unit: N
Operating pressure (MPa)
Bore Size (mm)
0.2 0.3 0.4 0.5 0.6 0.7
180 4838 7257 9676 12095 14514 16933
200 6032 9048 12064 15080 18096 21112
Do not apply loads greater than 50% of the theoretical output.
Weight Table
Unit: kg
Standard strokes (mm) With magnet |Rod end male threads
10 20 30 40 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300 |Additional weight|Additional weight
180 12.18 | 12.70 | 1323 | 13.75 | 1428 | 15,59 | 16.90 | 18.21 | 19.52 | 20.83 | 22.14 | 24.76 | 27.39 0.08 1.48
200 15.63 | 16.22 | 16.80 | 17.39 | 17.97 | 19.44 | 20.91 | 22.37 | 22.84 | 25.30 | 26.77 | 29.70 | 32.63 0.09 1.48
Example) CDQ2WB200-100DCM
_ Basic weight CQ2WB200-100DC 20.91kg
\\\ Additional weight  Built-in magnet 0.09kg
\ Rod end male threads 1.48kg
Total 22.48kg
1-538 2 SNC



Compact Cylinder :
Double Acting: Double Rod Ser es CQZ

Construction
Rod end male threads

Parts list Parts list

No. Description Material Note No. Description Material Note

1 Cylinder tube Aluminum alloy Hard anodized 11 Piston seal NBR

2 Piston Aluminum alloy casting Chromated 12 Rod seal NBR

3 Piston rod A Carbon steel Hard chrome plated 13 | Tube gasket NBR

4 Piston rod B Carbon steel Hard chrome plated 14 | Piston gasket NBR

5 Rod cover Cast iron Nickel plated

6 Snap ring Carbon tool steel Phosphate coated

7 | Bumper Polyurethane Replacement parts: Seal kits

8 Bushing Lead-bronze casting Bore size (mm) Seal kit No. Contents

9 Magnet - CDQ2B only 180 CQ2WB180-PS A set of Nos.11, 12 and 13

10 | Rod end nut Rolled steel Nickel plated 200 CQ2WB200-PS from the table above
Mounting

Mounting/Through hole type mounting bolts are available.
How to order: Add "Bolt" in front of the bolts to be used.
(Example) Bolt M18 x 125¢

= RS

Note1) When mounting with through hole type mounting bolts,
F@'/\_/\ be sure to use the flat washers which are included.
— —

Note 2) When mounting a cylinder with a stroke over 100mm,
. - I - use the section A mounting threads.
— [
L£>
D
Model (& D Mounting bolt Model (& D Mounting bolt
C (D) Q2WB180- 10DC 125 M18 x 125 ¢ C (D) Q2WB200- 10DC 135 M18 x 135 ¢
C (D) Q2WB180- 20DC 135 M18 x 135 ¢ C (D) Q2WB200- 20DC 145 M18 x 145 ¢
C (D) Q2WB180- 30DC 145 M18 x 145 ¢ C (D) Q2WB200- 30DC 155 M18 x 155 ¢
C (D) Q2WB180- 40DC 36 155 M18 x 155 ¢ C (D) Q2WB200- 40DC 39 165 M18 x 165 ¢
C (D) Q2WB180- 50DC 165 M18 x 165 ¢ C (D) Q2WB200- 50DC 175 M18 x 175 ¢
C (D) Q2WB180- 75DC 190 M18 x 190 ¢ C (D) Q2WB200- 75DC 200 M18 x 200 ¢
C (D) Q2WB180-100DC 215 M18 x 215 ¢ C (D) Q2WB200-100DC 225 M18 x 225 ¢
7 -
ZSNC 1-539



Series CQ2

Dimensions Dimensions are the same with and without auto switches.
—
\\
' Width across flats 55 Width across flats 55
/ M36 x 1.5 @_ M36 x 1.5
-~ 2180
a ~ _ B m
- b
— \—
21 21
— 47 47
N 50 50
| 64 64 + Stroke
/ 230 + 2 (strokes)
) 29 29 2-Rc 1/2 2 x 4-¢31.5 depth of counter bore 26
(port size)
/ Width across flats 36 @ L
g @ Q |
3 3 ol B \&
0wl 3
o
: : g L@ I
, o 5 N\SE /it
Ol s
o 3 TN /AT
I T — @ +
w _ll‘—l L II_ m m
Fl h Note 1) ‘
(Flat washer 2 x 4-M22 thread depth 38 36
4 pcs. ]
17 102 + Stroke ‘ 17 + Stroke 162
136 + 2 (strokes) 204 2-M24 effective thead depth 33
Note 1) 2 x 4-M22 threads through for
strokes of 20mm or less.
Width across flats 55 Width across flats 55
M36 x 1.5 @ M36 x 1.5
o — . . _ L
b -
—-— n—/
21 21
47 47
50 50
64 64 + Stroke
237 + 2 (strokes)
30 30 2-Rc12 2 x 4-31.5 depth of counter bore 26
(port size)
Width across flats 36
I
g bl N
°%
- - E g
< [aV)
g 3 8 o
~. Q
N\ _© 3
\ I T —
| 1 1
| F —1 —
/ Note 1)
/ Fl h
W 2 x 4-M22 thread depth 38 36
~ pcs. ]
17 109 + Stroke | 17 + Stroke 182
143 + 2 (strokes) 226 2-M24 effective thread depth 33

Note 1) 2 x 4-M22 threads through
for strokes of 20mm or
less.

1-540 2 S\MC



Series CQ2

Auto Switch Mounting

Auto Switches/Proper Mounting Position for Stroke End Detection

Proper mounting position (mm) @ m

Bore size (mm) A B
180 38.5 38.5
200 42 42

* Dimensions are the same for single rod and double rod.

Minimum Strokes for Mounting of Auto Switches

D-Y7OW
D-Z27, Z8 D-Y5, Y6, Y7 D-Y7BAL
2 pcs. (different sides, same side) 10 5 15
180, 200
1 pc. 5 5 10

Auto Switch Mounting

When mounting an auto switch, insert it Note) When tightening the auto switch mounting

into the cylinder's switch mounting groove screw (included with auto switch), use a
from the direction shown in the drawing watchmakers screw driver with a handle

. s . about 5 to 6mm in diameter. Also tighten
below._ After §§ttlng _'t in the deS|_red with a torque of 0.05 to 0.1N-m. As a rule, it
mounting position, tighten the switch should be turned about 90° past the point at
mounting screw which is included using a which tightening can be felt.

flat head watchmakers screw driver.

Precision screw driver

Auto switch mounting screw M2.5 x 4L
\ (installed in auto switch)

1-541



Compact Cylinder/Long Stroke: Double Acting Single Rod

Series CQ2

032, 940, 650, 063, 980, 6100

How to Order

E| caz[A][382H200]DC
\ [ | [ T1 1
DC

- [ (Elcpaz[A][32]{200]DC

Thread Port l

—A73|S

¢ Number of
auto switches

— | Re(PT) Auto switch - 2
Lﬂ Without auto switch L;
— (Built-in magnet) n n

. . * Refer to table below for selection of
With auto switch ® auto switch model no.

(Built-in magnet)

Mounting &——— * Body option
A | Both ends tapped . — | Standard (Rod end female thread)
[
L Foot B . ® Cushion M Rod end male thread
F Front flange ore size C | Rubber bumper
G Rear flange 32 32mm 63 63mm
D | Double clevis 40| 40mm 80| 80mm ¢ Action
# Mounting brackets are shipped 50 50mm 100 100mm -
not assembled with the cylinder. D |Double acting These auto switches have been changed
Cylinder stroke (mm) ® Contact SMC or view www.smcworld.com
Refer to standard stroke table on p.1-543 FON=M9ON FONV=M9INV
FOP=M9P FOPV=M9PV
. FOB=M9B FOBV=M9BV
Applicable Auto switch
Special ) § - Load voltage Rail mounting Direct mounting Lead wire*(m)
Style pecia Electrical g Wiring o5 131 5N Applicable
function entry é (output) DC AC | Perp. | Inline | Perp. | Indine | ) ||z ((,J\T)e load
(EqaiylﬁPN) —|5sv | — | — | A76H | A%V | A% | ® |®|—|—| Ic | —
Grommet|Yes —| — |200v| A72 [A7T2ZH | — | — | @ |@|—|—
S v ooy LA A7 | — | — [e |00 | —
S 2
2 N || - — | A3V | A93 | @ |[@|—|— Relay,
§ No| 2wire |4y |5Y,12V[<100V| A80 | ABOH | A%V | A% | @ |® |—|—| IC | ;.
o E 12v _— A73C — — — o 00 o —
Comecor s |<2av| AsoC | — | — | — | @ |@|@|®] c
Diagnostic (2 colour) Grommet |Yes — | — | A7TOW | — — = ® 0 —|—| —
3 wire 5V, 12V F7NV F79 — — ® (@@ O|—| IC
(NPN) 12V — = FONV| FON | @ (@ | | —| —
s . 3 wire 5V, 12V F7PV | F7P — — | @ |®|O|—| IC
. rommet
Mounting Bracket Part No. - (PNP) — | — | Fopv | Fop | @ [@]—][—
— — ® 0 O
Bore | o+ () Flange Double = ' 1ov F7BV | J79
(mm) % | clevis® . 2 wire — FBV | FoB | @ |®|—|—| —
32 [CQ-L032 | CQ-FO32 | CQ-DO32 g Comector Jic | — | — | — | e |0 @0
40 [CQ-L040 | CQ-F040 [ CQ-D040 8 Ves| 3wire |oqy|12V| _ |[FINWV| F7oW | — | — | @ |®]O | —
50 |CQ-L050 | CQ-FO50 | CQ-D050 T | Diagnostic (NF’_N> 12v — | — |FoNwv] FoNw @ |00 |Reay
63 | CQ-L063 | CQ-F063 | CQ-D063 & |  (2colour) ?PV,:'; o, 12V — | FIPW : :g - PLC
80 |CQ-L080 | CQ-F080 | CQ-D080 i [EORWVA BEORW) o Telo -
N 100 | CQ-L100 | CQ-F100 | CQ-D100 = : Grommet| | 12v F7BWV | J79W | F9BWV| FOBW _
1 oo — | FrBA| — | FoBA | — |@|O|—
I Note 1) When ordering foot brackets, 2pcs.
: should be ordered for each cylinder. With timer 3 wire (NPN) — | FINT — — — | @O |—
) Note 2) Parts attached with each brackets are With diagnostic 5V, 12V IC
as follows. ) output (2 colour) . — | FroF | — — | @ |@®|O|—
Foot, Flange/Body mounting bolt 3 wire
Double clevis/Clevis pin, Latch with diagnostic (NPN) —_ -
Body mounting bolt, output (2 colour) * F7LF - - ® 00O
C shape snap ring for axis
Note 3) A clevis pin and snap ring are packed * Lead wire length  0.5m------ — (Example) ABOC ~ 5m--eeeee- Z (Example) AB0CZ
with the double clevis. BMeeeeenens L (Example) ABOCL None----N (Example) ABOCN

* Solid state switches marked with a "Q " are produced upon receipt of order.

1-542 Z;SNC



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

JIS Symbol

Double acting single rod

Style
Bore size (mm) 32 40 50 63 80 100
% Built-in magnet o [ J o [ J [ J [ J
% Piping \Screw-in style | Re(PT)1/8| Re(PT)1/8| Re(PT)1/4| Re(PT)1/4| Re(PT)3/8| Re(PT)3/8
& | Rod end male thread [ J [ J [ J [ J [ J [ J
Specifications
Style Pneumatic (non-lube)
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa

Without auto switch —10°C to 70°C (No freezing)

Ambient and fluid temperature

With auto switch —10°C to 60°C (No freezing)

Lubrication Not required

Cushion Rubber bumper (Standard equipment)
Rod end thread Female thread

Rod end thread tolerance JIS class 2

Stroke length tolerance +B‘4

Mounting Both ends tapped
Piston speed 50 to 500mm/s
Minimum Operating Pressure Unit: MPa
Bore size (mm) 32 40 50 63 80 100
Min. operating pressure 0.05 0.05 0.05 0.05 0.05 0.05

Allowable Kinetic Energy

Unit: J

Bore size (mm) 12 16 20 25 32

40 50 63 80 | 100

A\ Precautions

A Caution

Snap Ring Installation/Removal

(1 For installation and removal, use an appropriate pair
of pliers (tool for installing a C snap ring).

(2) Exercise caution even when using an appropriate
pair of pliers (tool for installing a C snap ring),
because of the possibility of the snap ring becoming
detached from the tip of the pliers (tool for installing a
C snap ring) and flying away, which could injure
humans or damage the peripheral equipment. After
installing the snap ring, make sure that it is placed
securely in the ring groove before supplying air.

Kinetic energy | 0.043 | 0.075 | 0.11 | 0.18 | 0.29

052 | 091 | 1.54 | 271 | 4.54

Standard Stroke Unit: mm
Bore size Standard stroke
32, 40, 50, 63, 80, 100 125, 150, 175, 200, 250, 300

Intermediate Strokes (except standard strokes)

Method Spacer is attached on standard stroke body.

Exclusive body

Refer to How to Order for standard

Model No. model no.

Specify "XB10" at the end of standard
model number.

Intermediate strokes at 5mm intervals are
Method available by using spacers with standard
stroke cylinders.

Intermediate strokes at 1mm intervals are
available by using special body with
required stroke.

Bore size Stroke range

Bore size Stroke range

Stroke range
32 to 100 105 to 300

32to 100 101 to 300

Model no. : CQ2A50-165DC
Example CQ2A50-17DC with 10mm width spacer.
B dimension is 230.5mm.

Model no. : CQ2A50-165DC-XB10
Makes 165 stroke tube. B dimension is
220.5mm.

To order a spacer installed styles with intermediate strokes at 1mm intervals, consult SMC beforehand.

O
:

1-543



Series CQ2

Copper Free

Allowable Lateral Load at Rod End
| | | |

70
q w
20—CQ2A ’Bore size H Stroke ‘ DC(V) 2100 N
. 60 Mounti ientation T—
Copper Free Series ¢ 932, 940, 850, 963, fL:tuer:a:Bg renieton
280, 5100 _ \ 1N=0.102kgf
b4
. . . < 50 N
To eliminate influences of copper ions or z N
halogen ions during CRT manufacturing E \
i i B 40 280
processes, copper and fluorine materials g \ ~_
are not used as component parts. 5
e \
g 30
o
E . \\
o
20 X ™~
\
250 \\
S ifi i 10 P N T
pecifications w3 ——1 T+
Style Double acting single rod T
Bore size 932, 340, 650, 063, 280, 2100 0 100 150 200 250 300
Proof pressure 1.5MPa Stroke ST (mm)
Max. operating pressure 1.0MPa
Rubber bumper With (standard equipment)
Piping Screw-in piping
Piston speed 50 to 500mm/S
Mounting Both ends tapped
Auto switch Mountable
—== OUT l: IN
Theoretical Force Unit: N
Bore size Operating Operating pressure (MPa) Bore size Operating Operating pressure (MPa)
(mm) direction 0.3 0.5 0.7 (mm) direction 0.3 0.5 0.7
32 IN 181 302 422 63 IN 841 1400 1960
ouT 241 402 563 ouT 935 1560 2180
40 IN 317 528 739 80 IN 1360 2270 3170
ouT 377 628 880 ouT 1510 2510 3520
50 IN 495 825 1150 100 IN 2140 3570 5000
ouT 589 982 1370 ouT 2360 3930 5500
Weight Unit: g
Without Auto Switch Built-in Magnet
Bore size Cylinder stroke (mm) Bore size Cylinder stroke (mm)
(mm) 125 150 175 200 250 300 (mm) 125 150 175 200 250 300
32 754 859 965 1070 1279 1490 32 763 868 974 1079 1288 1499
40 945 1063 1180 1298 1535 1770 40 958.5 1076.5 | 1193.5 | 1311.5 | 1548.5 | 1783.5
50 1469 1650 1832 2007 2376 2739 50 1483.5 | 1664.5 | 1846.5 | 2021.5 | 2390.5 | 2753.5
63 1810 2018 2227 2438 2851 3268 63 1833.5 | 2041.5 | 2250.5 | 2461.5 | 2874.5 | 3291.5
80 3120 3456 3793 4127 4801 5474 80 3144 3480 3817 4151 4825 5498
100 4956 5374 5790 6020 7042 7875 100 4994 5412 5828 6058 7080 7913
Option Weights Unit: g
Bore size (mm) 32 | 40 | 50 | 63 | 80 | 100 Calculation example: CQ2D32-200DCM Add the weight of auto
Valotreadl 26 | 27 | &3 | 53 | 120 | 175 Basic weight: ~ CQ2A32-200DCvvv: 10709  switches and mounting
Rod end male thread Additional Weight: Rod end male thread--- 439 brackets when auto switches
Nut 17 17 32 32 49 116 Double C|ev|s151g are mounted.
Foot (including mounting bolt) 147 | 159 | 253 | 356 | 685 | 1123 12649
Front flange (including mounting bolt) | 165 198 | 348 | 534 | 1017 | 1309 WeightlAuto Switch Mounting Bracket
Rear flange (including mounting bolt) | 165 198 | 348 | 534 | 1017 | 1309 Part No. Bore size Weight (g)
Double clevis (including pin, snap ring, bolt) | 151 196 393 554 | 1109 | 1887 BQ-2 032 to 6100 15

1-544

O




Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

Construction

@@ @{@

—a
~S
e
o

lj \_Auto switch

(For only cDQ20)

Component Parts Replacement Parts: Seal Kits
Description Material Note Bore size (mm) Kit no. Contents
Cylinder tube Aluminum alloy Hard anodized 32 CQ2A32-L-PS
Piston Aluminum alloy casting Chromated 40 CQ2A40-L-PS
Piston rod Carbon steel Hard chrome plated 50 CQ2A50-L-PS .
Collar Aluminum alloy Anodized 63 CQ2A63-L-PS A setincludes @3, 13 and ®.
Base plate Aluminum alloy Anodized 80 CQ2A80-L-PS
Snap ring Carbon tool steel Phosphate coating 100 CQ2A100-L-PS
Damper A Urethane

«Seal kits are sets consisting of items 3, @ and @, which can be ordered

B EEEEEES RS E

Damper B Urethane using the kit number for each cylinder bore size.
Bushing Lead bronze casting

Wearing Resin

Rod end nut Rolled steel Nickel plated

Magnet — For only CDQ2CJA

Rod seal NBR

Piston seal NBR

Tube gasket NBR

SvVC 1-545

O



Series CQ2

032 to 950

Series CLIQ2A

The dimensions are the same with or without an auto switch.

Q 2.p Q H thread effective depth C
/(Port size) =U /’f 8-0 thread effective depth R
.‘rl T
/
i
i . o7
0y £0 D o
| 7 o ® % &
——H | Lead wire minimum
bending radius 10 Ay
Auto switch /
5L
L B+Stroke
A+Stroke
H1
I
| } ;
S
|
Above switch: D-A73/A80 Refer to p.1-550 for ~ C—};'
auto switch mounting position and mounting height. L
Rod end male thread (mm)
Bore (mm) | C1 H1 L1 X
32 20.5|M14X15 | 38.5| 23.5
40 20.5 |M14X15 | 38.5| 23.5
50 26 |[M18X15|43.5| 28.5
Both ends tapped (mm)
Bore (mm) | Strokerange(mm)] A | B | C | D | E H | J K|L|[|M (0] P Q | R S Th9 u| z
32 125 0 200 ) 625|455 | 13 | 16 | 45 M8 60 |45 |14 | 17 | 34 M6 Re(PT)1/8 (12.5| 10 |58.5 22 _8_052 315 | 14
40 250, 300 72 | 55 | 13 | 16 | 52 M8 69 | 5 14 (17 | 40 Mé Re(PT)1/8 | 14 | 10 | 66 28 _8‘052 35 | 14
50 735|555 | 15 | 20 | 64 M10 86 17 | 18 | 50 M8 Rc(PT)1/4 | 14 | 14 | 80 35 _8_062 41 | 19
Note 1) All the 125 to 200mm stroke types are in 25mm increments.
Note 2) Refer to p.1-427 for calculation of cylinder length with intermediate stroke.
FOOUCDQZL Foot mm)
Bore
L B+Stroke . (mm) A|B|L|[LI|[LD|LG|LH|LS|LT |LX|LY|LZ| X |Y
!__ 32 69.7 |455| 17 |385(6.6 | 4 | 30 |295|3.2| 57 | 57 | 71 [112|5.8
___'___ I 40 792 |55 |17 |385(|6.6 | 4 |33 |39 32|64 |64 |78 |112] 7
ﬂ — —_ 50 81.7|555( 18 [435| 9 | 5 |39 |325(3.2|79 |78 |95 |147| 8
J # Refer to p.1-442 for rod end nut and optional bracket.
ﬂ I 1 1
x|
i___ _LS+Stroke
L A+Stroke

Rod end male thread

Rod end nut

1-546

O



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

Front flange/CLIQ2F

Front flange (mm)
Bore mm)| A | B|FD|FT|FV|FX|FZ| L | L1| M
[ 1 32 62.5/455/55| 8 | 48|56 | 65| 17 |38.5| 34
=r 40 72 |55 |55| 8 | 54|62 | 72| 17 |38.5| 40
i — 50 73.5/55.5/6.6| 9 | 67|76 | 89| 18 |43.5| 50
q F —
L B+Stroke
— A+Stroke
Rod end male thread
"
=
LI //—/—
s ﬁ
Aod end nut :
b
Rear flange (mm)
Bore (mm) A
Rear flange/C1Q2G 32 70.5
—— 40 80
e —ﬂ@ & —_ ] 50 82.5
é) fa! -i' *#Dimensions except A are
Sls /_.\ L N —— same as front flange type.
L
E I
B+5troke : Fli
= A+Stroke d
Double clevis mm
Rod end thread o)
e Bore (mm)| A | B [CD|CL |CT |[CU|CW|CX | CZ
—‘:( 32 92.5(45.5/ 10 (82.5| 5 | 14|20 | 18 | 36
H_;\" 40 104 | 55 (10 |94 | 6 | 14|22 | 18 | 36
ol 50 115.5/55.5| 14 [1015| 7 | 20 | 28 | 22 | 44
Rod end nut i Bore (mm)| L | L1 N RR
= 32 [17[s85 Me 10
40 17 |38.5 M6 10
. 50 18 |43.5 M8 14
Double clevis/C[1Q2D :
*Refer to p.1-442 for rod end nut and optional bracket.
##A clevis pin and snap ring are packed with the double
CT 4N clevistype.
/ Cap bolt
I == oCD hole H10
i I axisd9

/!

= %)

L Ij B+5Stroke w LC_U
Ci+Sioke T
A+Siroke

Rod end male thread

=

Rod end nut - :

L |

O
:

1-547

TN

TN

TN



Series CQ2
063 to 0100

\\ Series CLIQ2A

The dimensions are the same with or without an auto switch.

Both ends tapped
H thread effective depth C
Q 2P .9 _ =U -0 fhread effective depth R
—‘ /{Port size)
E i — ~
- —— /€
\ E— | [
L@ - ~ AR
| % ] r ? == 3 & 3 ,I\' KELI-]—!——H— N|=|w
e —— T Fig) AU 'fiJ
p | |cadwieminmmbendngradius 10,/ __L}\.\< ~—T /\?}l_\\‘
— . Auto switch/ | (’ {J:\ N L
I ~ S I - i S W
,l_.J_|= J_! e }
5. M
L B+Stroke E J
A+Stroke s
Rod end male thread
Above auto switch: D-A73/A80 Refer to p.1-550
for auto switch mounting position and mounting height.
Rod end male thread (mm)
Bore (mm) | C1 | H1 L1 X
63 26 |MI8X15|43.5| 285
80 32.5 |M2 X 15| 53.5 | 35.5
100 32.5 [M%6 X 15|53.5| 355
Both ends tapped (mm)
Bore (mm) | Strokerange(mm) | A | B | C | D | E H | K| LM (0] P Q | R S Th9 u| z
L 63 75 |57 |15 |20 | 77| M10 |103 17 | 18 | 60 M10 c(PT)i/4 [16.5| 18 | 93 | 35 e |475 | 19
1
g0 |2 ‘3023)0“ 8 |66 | 21 |25 |98 | M16 |132 22 (20 | 77| M12 | Re(PT)38 | 19 | 22 [1125| 43 Soep |575 | 26
100 ’ 975|755 | 27 | 30 | 117 M20 [156 |65 | 27 |22 | 94 M12 Re(PT)3/8 | 23 | 22 [1825| 59 5.7, |67.5 | 26
Note 1) All the 125 to 200mm stroke types are in 25mm increments.
Refer to p.1-427 for calculation of cylinder length with intermediate stroke.
Foot/CIQ2L
FOOt mm)
L B+Stroke Bore(mm)| A | B | L |L1 [LD|LG|LH|LS |LT [LX|LY|LZ]| X | Y
| | \U_[- 63 832 |57 (18 |435|11 | 5 |46 | 31 |3.2]| 95 (915|113 |162| 9
q)kﬁm 80 975| 66 |20 |535|13 | 7 |59 | 36 |4.5|118 (114 [140 |195| 11
il | — e 100 1105|755| 22 |535|13 | 7 |71 |415]| 6 | 137|136 | 162 | 23 |125
Bk Special ’_.Jﬂ//f\ A
% cap bolt il & ' - * Refer to p.1-442 for rod end nut and optional bracket.
x v| G ||La
LS+Stroke
. A+Stroke

Rod end male thread

1-548



Compact Cylinder/Long Stroke: Double Acting Single Rod Series CQZ

Front flange/CIQ2F

1=

i
BE+Siroke

=

F1l
[

A+Stroke

Rod end male thread

Rod end nut

Rear flange/C1Q2G

K.
\4-0FD

ﬁlod e‘-jnd male
rea
W?W

Rod end nut /

Double clevis/C1Q2D

i +
CXiis
cz3:

Rod end male thread

Special cap bolt

Special cap bolt

Cap bolt
aCD hale H10

L Sj’l“—lt‘!i-snnke = ']J

Front flange (mm)
Bore (mm)| A | B |FD [FT |FV |[FX|FZ | L |L1 | M
63 75 (57| 9| 9 |80|92 (108| 18 |43.5| 60
U'E;M \ 80 |86 (66|11 11|99 [116]134| 20 |53.5] 77
| ll“‘ll_ | 100 97.5(75.5] 11 | 11 |117[136 [154| 22 |53.5| 94
| L Fx- | |\4oFD
— EZ .
Rear flange (mm)
— = Bore (mm) A
63 84
80 97
= __J = 100 108.5
L U B+Stroke 3 FTl *Dimensions except A are
| A+Siroke same as front flange type.
cT

:axls d9
. Double cIeV|s

CL +5Stroke

A+Stroke

O
:

) (mm)
Bore (mm) B |CD|CL|CT|CU|CW|CX|CZ
63 119 | 57 |14 (105| 8 | 20| 30 | 22 | 44
80 142 | 66 |18 |124 | 10 | 27 | 38 | 28 | 56
100 164.5|75.5|22 [|1425| 13 | 30 | 45 |32 | 64
Bore (mm)| L | L1 N RR
63 18 [43.5 M10 14
80 20 [53.5 M12 18
100 22 |53.5 M12 22

*Refer to p.1-442 for rod end nut and optional bracket.
m**A clevis pin and snap ring are packed with the double clevis.

1

-549

e RS

TN

,/r\\



Series CDQ2
Auto Switch Specifications L1

* Refer to p.6-15 for of auto switch specifications.

Standard Specifications

How to Order

Fluid Air Refer to p.1-542 for "How to Order"
Amblent and —-10°C to 60°C (No freezing) with auto switch.
= fluid temperature
L= Other specifications are same as one on p.1-543
Auto Switch Mounting Position (at Stroke End) and Mounting Height
— D-A70 D-A73C
~ D-A80 D-A80C E
,‘ D-J79C :
A =
D-A7C0H D-F7O0W D-A79W
D-A80H D-J79W D-F7OWV
D-F7O0 D-F70OF D-F7OOIV
D-J79 D-F7NTL ]
D-F7BAL &_E o iﬂ
D-AsO] D-A90CIV D-FOOW
D-FoOI D-FoOIV D-FSBAL
D-FoCOWV
B
l_—l—v—l—:mj[_;
ey
A
. Auto Switch Mounting Position Auto Switch Mounting Height (mm)
D-A70H D-A7CH
D-ASOH (D40
D-F70W D-F70
D-A70O Bﬁ;gg D-F7BAL D-A90 | D-FOO0 |D-F9OW D-A70 D-J79 D-A73C |D-F70V D-F90IV |D-FOIV
. i = . g g . - . g i _ i H Y
Bore | p.ago | p-F7 | D-A79W | DFTUF | b Aot v| D-For1 v | D-FeCwWY D-AB0 [PF70W (p_agoc |p.Frowy| D-79C [P-ATOW D-ASOV|p coryyy i FoBaL
size D-J79W D-J79W
D-J79 D-F7BAL
(mm) D-F70V D-Frowy D-F7BAL
D-J79C D-F70F
D-F7NTL
A|lB|A|B|A|B|A|B|A|B|A|B|A|B U U U U U U U V] U
32 [951(17.5/10 |18 | 7 | 15| 14 | 22 |8.5 [16.5/12.5/20.5(11.5{19.5 31.5 32.5 38.5 35 38 34 27 29 26.5
40 | 13 [23.5|13.5| 24 |10.5| 21 |17.5| 28 | 12 |22.5| 16 |26.5| 15 [25.5 35 36 42 38.5 41.5 37.5 30.5 32.5 30
50 |11 | 24 |11.5|24.5/8.5 |21.5(15.528.5| 10 |23 | 14 | 27 | 13 | 26 41 42 48 44.5 47.5 43.5 36.5 38.5 36
63 [13.5|25.5| 14 | 26 | 11 | 23 | 18 | 30 |12.5[24.5|16.5|28.5(15.5(27.5 47.5 48.5 54.5 51 54 50 40 42 39.5
80 |16.5(31.5/ 17 | 32 | 14 | 29 | 21 | 36 |15.5|30.5/19.5|34.5/18.5|33.5 57.5 58.5 64.5 61 64 60 50 52 49.5
100 |19.5| 38 | 20 [38.5| 17 [35.5| 24 |42.5|18.5| 37 |22.5| 41 |21.5| 40 67.5 68.5 74.5 71 74 70 60 62 59.5
Auto Switch Mounting Bracket Part No.
Bore size | part No Note Applicable switch
- (mm) ’ Reed switch Solid state switch x«Mounting screw set made by stainless steel
™ Following stainless steel mounting screw set (included nut)
\\‘ D-F703, J79 is provided. Use them with accordance in environment.
| 32,40 eSwitch mounting screw D-A701, A80 B'FDX (Auto SWItChégfg.a ge ISDTX;;R(;';E;?%OMH it separately.)
: M3 X 0.5 X 10¢) D-A73C, A8OC -J79 < For 7 .
50, 63 BQ-2 (S itch interf DA7DI’-I ASOH D-F70OW, J79W When D-F7BAL mounted on cylinder is required, the
4 80. 100 .Sw!tch nte a;pe t D-A79W’ D-F7OWV stainless steel screw mentioned above is used at
’ eswitch mounting nu D-F7BAL shipping. When auto switch unit is shipped, BBA2 is
D-F7 OF, D-F7NTL attached.
1-550 & S\VC






Compact Cylinder/Anti-lateral Load

Series CQ2

032, 940, 650, 063, 980, 6100

How to Order

~ Standard

E

Thread Port
_— | Re(PT)
G(PF)

E

With auto switch @

l

(Built-in magnet)

Mounting e

cQ2
CDQ2

32—30
I I
3230

{NDHW

Through-hole (Standard)

Both ends tapped

Foot

Front flange

Rear flange

O®m|r|>w

Double clevis

S | Anti-lateral load

Style ®

# Mounting brackets are shipped
not assembled with the cylinder.

Mounting Bracket Part No.

Bore size
_ 32| 32mm
_ 40| 40mm
_50| 50mm
_63| 63mm
80| 80mm
100 | 100mm

Bore | oot Flange |Double clevis
(mm)
32 [CQ-L032 |CQ-F032 |CQ-D032
40 |[CQ-L040 |CQ-F040 |CQ-D040
50 |CQ-L050 |CQ-F050 |CQ-D050
63 |CQ-L063 |CQ-F063 |CQ-D063
80 |[CQ-L080 |CQ-F080 |CQ-D08O
N 100 |CQ-L100 |CQ-F100 |CQ-D100

1-5652

Note 1) When ordering foot brackets, 2pcs.
should be ordered for each cylinder.
Note 2) Parts attached with each brackets
are as follows. Foot,
Flange/Body mounting bolt
Double clevis/Clevis pin, C shape
snap ring for axis, Body mounting

bolt

Cylinder stroke (mm)®
Refer to standard stroke table
on p.1-553

1OHO
1OHO

A73

Auto switch

Without auto switch
(Built-in magnet)

o Number of auto

switches
= | 2
s | 1
n n

*Refer to table below for auto switch

model no. selection.

e Body option

Standard (Rod end female thread)

D Double acting

Applicable Auto Switches

® Cushion M Rod end male thread
(o] [ Rubber bumper
® Action

These auto switches have been changed
Contact SMC or view www.smcworld.com

FON=MON  FONV=MINV
FOP=M9P FOPV=M9PV
. FOB=M9B  FOBV=M9BV

S Load voltage Rail mounting Direct mounting Lead wire*(m)
Style | Special function Eleczrical S Wiring 05 | 3] 5 [Nowe API?"C?:‘UE
ey |8 (Output) DC AC | Perp. | In-line | Perp. | In-ine |y |(1)|z)|(N) oa
(Eq?‘i‘\'/l_lrzepN) —lsv| _ | _— |A7eH| Aoev | A%6 | ® |@| || IC | —
£ Yes — | — Jo0ov | Aa72 [Aa72n | — | — | @ [@] |-
= Grommet A73 A73H _ _ o | o|eo|-|—
E — L 12v | 100V = = A93V A93 e |0 |- Relay,
8 No| 2 wire |24Vv|5V,12V[<100v | A80 A80H A90V A90 e (| -|-|IC PLC
'S Yes! 12v — A73C = = = o | o0 0| —
Comectr [ sv,1v| <2av | Asoc | — | — — [ e|e|e|e|ic
Diagnostic (2 colour)| Grommet |Yes| — — A79W — — — e (0| - |- |
3 wire 5V, 12V F7NV F79 = = ® |®/O|-| IC
(NPN) 12V — — | FONV | FON | @ (@] - |- | —
Grommet 3 wire 5V, 12V Fev | F7p | — —_ | elelol-]1c
- (PNP) — — | Fopv | Fop | @ |@| |-
S F7BV | J79 — — | e |e|o]-
L ) 12v
s 2 wire — — | FeBV | FoB | @ |[@| - |- | —
g Connector — J79C — — — o (o|lo|e@®
g Ves| 3wire |pgy|5V,12v FZNWV | F7oW | — _ | e|e]o]-
- oi ) (NPN) 12V = — |Fonwv| Fonw | @ [@[O | - Relay,
‘s aonoste 3 wire 5V, 12V — |Few | — — | e|elo|-|'C|rc
8 (2 colour) :
(PNP) — | — [ropwv|Fopw | @ |@|O] -
Grommet 2 wire 12v F7BWV | J79W |FOBWV| FoBW | @ |® O |- |
Wa(f::;?jfrt)am — | FBA| — |FeBA| - |-|O]-
With timer 3 wire (NPN) = F7NT — = - |=-lo|-
Diagnostic 5V, 12v _ — . _ °lelol- IC
output (2 colour) 4 wire
e wo| = = e = = | elelo-
*Lead wire length 0.5m.--- — (Example) A80OC BMeevevenens Z (Example) A80CZ
] RN L (Example) A80OCL None:--e-ee N (Example) A8OCN

#Solid state switches marked with a "O" are manufactured produced upon receipt of order.

& S\VC



JIS symbol

Double acting/Single rod

/A Precautions

/A Caution
| Snap Ring Installation/Removal |

(DFor installation and removal, use an
appropriate pair of pliers (tool for installing a C
snap ring).

(DExercise caution even when using an
appropriate pair of pliers (tool for installing a C
snap ring), because of the possibility of the
snap ring becoming detached from the tip of the
pliers (tool for installing a C snap ring) and
flying away, which could injure humans or
damage the peripheral equipment. After
installing the snap ring, make sure that it is
placed securely in the ring groove before
supplying air.

Compact Cylinder/Anti-lateral Load Series CQZ

Style

Bore size(mm)

Mounting Thioughvhol (standard)

Both ends tapped

Built-in magnet

Screw-in piping

Rc(PT)1/8 1/8

-~

Rc(

-

Rc(PT)1/4 1/4

-~

Rc(

-

Rc(

-~

3/8

Pneumatic

Rod end male thread

With rubber bumper (Standard)

IOIEOOO
oo eeoe0:3

IOIEOOOE
OO
— w
T (-]
T ER X XE

Specifications

Style Pneumatic (non-lube) type
Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Ambient and
fluid temperature

Without auto switch: —10°C to 70°C (No freezing)

With auto switch: —10°C to 60°C (No freezing)

Rubber bumper

Standard equipment

Rod end thread

Female thread

Rod end thread tolerance

JIS class 2

Stroke length tolerance

+0.1
0

Mounting

Through-hole

Piston speed

50 to 500mm/s

Minimum Operating Pressure Unit: MPa
Bore size(mm) 32 40 50 63 80 100
Pneumatic (non-lube) 0.05 0.05 0.05 0.05 0.05 0.05

Standard Stroke Unit: mm

Bore size(mm) Standard stroke
32, 40 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
50, 63, 80, 100 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
Theoretical Force Unit: N
Bore size Operating direction Operating pressure(MPa)
(mm) 0.3 0.5 0.7
32 IN 181 302 422
ouT 241 402 563
40 IN 317 528 739
ouT 377 628 880
50 IN 495 825 1150
ouT 589 982 1370
63 IN 841 1400 1960
ouT 935 1560 2180
80 IN 1360 2270 3170
ouT 1510 2510 3520
100 IN 2140 3570 5000
ouT 2360 3930 5500

Allowable Kinetic Energy Unit: J

Bore size(mm) 12 16 20 25 32 40 50 63 80 100

Kinetic energy 0.043 | 0.075 | 0.11 0.18 | 0.29 | 0.52 0.91 154 | 2.71 4.54

Auto Switch Mounting Bracket Part No.

f Applicable switch
Bcz:ﬁril)ze Part No. Note Reed switch Solid state switch
D-F701, J79
 Switch mounting screw | D-A7(1, A80 D-F700V
32040550 | | (MBX 109 D-A73C, A80C g:g;%(\:lv 7o
63/80/10 « Switch interface D-A7CH, A8OH ¢
) ) D-F7OWV
 Switch mounting nut | D-A79W D-F7BAL
D-F700F
Z;SVC 1-553

|

\

\,



Series CQ2

Rod End Allowable Load

“‘ Without auto switch

300

o100
200

100

/
S
Allowable lateral load W (N)
Q

Stroke St (mm)

e S S R
0 10 20 30 40 50 60 70 80 90 100

With auto switch

Allowable lateral load W (N)

|

300

200

100

0

12100

lo80

lo63

le50
240

e

o

e S Y
10 20 30 40 50 60 70 80 90 100

Stroke St (mm)

WEIth Unit: g
B g Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 142 163 184 204 225 246 267 287 308 329 482 587
40 224 247 270 293 316 339 362 386 409 432 616 736
50 — 400 436 472 508 545 581 617 653 690 982 1170
63 — 589 630 671 712 753 794 835 876 916 1264 1475
80 — 1079 1147 1215 1282 1350 1418 1486 1554 1622 2194 2528
100 — 1863 1953 2044 2135 2226 2316 2407 2498 2589 3393 3853
Option Weights Unit: g
~ Bore size 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
Male thread 26 27 53 53 120 175
Rod end male thread
Nut 17 17 32 32 49 116
o Foot (including mounting bolt) 143 155 243 324 696 1062
Front flange (including mounting bolt) 180 214 373 559 1056 1365
Rear flange (including mounting bolt) 165 198 348 534 1017 1309
Double clevis (including pin, snap ring, bolt) 151 196 393 554 1109 1887

Calculations

Standard

Calculation example: CQ2DS32-20DCM

*Basic weight : CQ2BS32-20DC-

*Additional weight: Both end tapped:----

Rod end male thread:----- 43g
Double clevis:-«««--veeeeuuee 151g
4049

1-554

O
:



Construction

Compact Cylinder/Anti-lateral Load Series CQZ

Rod end male thread

a0

\

Component Parts

® @

P
!

Replacement Parts: Seal Kits

e
]

/9/2

-

No. Description Material Note Bore size (mm) Kit No. Contents

[©) Cylinder tube Aluminum alloy Hard anodized 32 CQ2B32-PS

@ Piston Aluminum alloy Chromated 40 CQ2B40-PS

® | Piston rod Carbon steel Hard chrome plated 50 CQ2B50-PS )

@ | Collar Aluminum alloy Anodized 63 Cazpes-ps | A Setinoludes 1), (Z.and 13
® Snap ring Carbon tool steel Phosphate coating 80 CQ2B80-PS

® Bumper A Urethane 100 CQ2B100-PS

@ | BumperB Urethane «Seal Kits are sets consisting of items @, (2 and @3, which can be ordered
® | Bushing Lead bronze casting using the kit number for each cylinder bore size.

© | Wearing Resin

Rod end nut Carbon steel Nickel plated

@ | Rod seal NBR

@ | Piston seal NBR

@3 | Tube gasket NBR

O

1-555



Series CDQ2
Auto Switch Specifications L1

* Refer to p.6-15 for auto switch specifications.

‘; - Standard specifications How to Order
— == - N
‘ T Stylle Pneumatlcl(non lube) Refer to p.1-552 for “How to Order”
_ s i Fluid Air . )
‘/ Ambient and with auto switch.
T = fluid temperature —10° to 60°C (No freezing)
! / Other specifications are same as one on p.1-553
\l..‘ /
- N Weight Unit: g OptiOI‘I Weights Unit: g
| Bore Cylinder stroke Bore size(mm) 32 | 40 | 50 | 63 | 80 | 100
/ (mm) | 5 | 10 | 15| 20 | 25 | 30 | 35 | 40 | 45 | 50 | 75 | 100 Both ends tapped 6 6 6 | 19 | 45 | 45
_ i 32 201 | 222 | 243 | 263 | 284 | 305 | 326 | 346 | 367 | 388 | 493 | 598 Rod end 26 27 53 53 120 | 175
40 | 300|323 |347 (370|393 | 416 | 439 | 462 | 485 | 508 | 628 | 748 Male thread | 26 | 27 | 53 | 53 | 120 | 175
Rod end male thread
50 — | 518 | 554 | 590 | 626 | 663 | 699 | 735 | 771 | 808 | 996 |1184 Nut 17 | 17 | 32 | 32 | 49 | 116
63 — | 748 | 788 | 829 | 870 | 911 | 952 | 993 |1034|1075|1286|1497 Front flange (included mounting bolt) | 143 | 155 | 243 | 324 | 696 | 1062
80 — |1340|1408|1476|1543({1611|1679|1747|1815|1883|2217|2552 Rear flange (included mounting bolt) | 165 | 198 | 348 | 534 | 1017 | 1309
100 — |2242|2333|2424|2514|2605|2696|2787|2877 (2968|3428 | 3888 Double clevis (included pin, snap ring, bolt) 151 | 196 | 393 | 554 | 1109 | 1887
. f Add the weight of auto switches and mounting brackets
With auto switch when auto switches are mounted.
Calculation example: CDQ2DS32-20DCM
*Basic weight: CDQ2BS32-20DC-+--«++-xeesveee . . .
-Additional weight: Both ends tapped Weight/Auto Switch Mounting Bracket
Rod end male thread-------- 43¢ Mounting bracket |Cylinder bore size Weight(g)
Double clevig:- «-ceeeeeeerennns 1519 BQ-2 232 to 650 15
4639
Construction
@)
Rod end male thread
Auto switch
Component Parts Replacement Parts: Seal Kits
No. Description Material Note Bore size(mm) Kit No. Contents
@ | Cylinder tube Aluminum alloy Hard anodized 32 CQ2BS32-PS
@ | Piston Aluminum alloy Chromated 40 CQ2BS40-PS
® Piston rod Carbon steel Hard chrome plated 50 CQ2BS50-PS .
12, @3 .
@ | Collar Aluminum alloy Anodized 63 CQ2BS63-PS A setincludes @2, @ and @
® | Snapring Aluminum alloy Phosphate coating 80 CQ2BS80-PS
® Bumper A Urethane 100 CQ2BS100-PS
BN @ | BumperB Urethane : = Seal kits are sets consisting of items (2, (3 and (4, which can be ordered
N\ Bushing Lead bronze casting using the kit number for each cylinder bore size.
! ® | Wearing Resin
“ [ Magnet -
@ | Rod end nut Carbon steel
- @ | Rod seal NBR
@3 | Piston seal NBR
@ Tube gasket NBR
1-556 ZS\VC



Compact Cylinder/Anti-lateral Load Series CDQZ

Auto Switch Mounting Position (at Stroke End) and Mounting Height

D-A90 D-A9C1V D-FOOW
D-Fo[] D-FoOIV D-F9BAL
D-FOOWV
B
—l'_l_l_tadl:
v, B gy
A3 -Gt
LA
D-A70] D-A7C0H D-F7TO0W D-A73C D-A79W
D-A80 D-A80H D-J79W D-A80C D-E700WV
D-F70 D-F700F D-J79C D-E700V
D-J79  D-F7NTL
D-F7BAL
L
| 700 s
Auto Switch Mounting Position (mm)
D-F700W
gj;:?cgl:;)? D-F7BAL D-A9] D-FOI D-FOCIW
Bore size D-A701/A80 D-F700/D-J79 2T g-Fﬂ:‘\; D-A9CIV D-FoOIv I:D)-:?EXVLV
(mm) D-F701V/D-J79C SIS A7)
D-F700WV
A B A B A B A B A B A B A B
32 15 10 15.5 10.5 125 75 19.5 145 14 9 18 13 17 12
40 18.5 13 19 13.5 16 10.5 23 17.5 17.5 12 21.5 16 20.5 15
50 16 16.5 16.5 17 13.5 14 20.5 21 15 15.5 19 19.5 18 18.5
63 18.5 19.5 19 20 16 17 23 24 17.5 18.5 21.5 22.5 20.5 21.5
80 21.5 24 22 24.5 19 21.5 26 28.5 20.5 23 24.5 27 23.5 26
100 24.5 30.5 25 31 22 28 29 35 23.5 29.5 27.5 33.5 26.5 32.5
Auto Switch Mounting Height (mm)
D-A7HC1/A80H
D-F70/D-J79DF7TOW | D-A73C |D-F700V D-FOOV | D-FoOW
Boresize | D-ATLVABO | o 170w/D-F7BAL D-A8oC |p-F7owy | DJ79C | D-A79W | D-ASCIV | p cormwy | p-FoBAL
(mm) D-F700F/D-F7NTL
U U U U U U U U U
32 315 32.5 38.5 35 38 34 27 29 26.5
40 35 36 42 38.5 41.5 37.5 30.5 32.5 30
50 41 42 48 445 47.5 43.5 36.5 38.5 36
63 47.5 48.5 54.5 51 54 50 40 42 39.5
80 57.5 58.5 64.5 61 64 60 50 52 49.5
100 67.5 68.5 74.5 71 74 70 60 62 59.5

1-5657

O
:



Series CDQ2
ﬂ32 tO Qso With Auto Switch

their A and B dimensions will differ.

For those without auto switches, refer to the dimension chart because

Through-hole/CQ2BS, CDQ2BS Both ends tapped: CQ2AS/CDQ2AS

/ Oithread _R_ _R_ Both ends tapped imm)
Bore
\ (mm) O1 R
= - 32 M6 10
40 M6 10
M] i 50 M8 | 14
N H thread effective depth C
| Q 2.p F 4-gN through
‘ [ (Port size) . 8-00 counter bore
i B
/ F—
i — BT -
N i k== Q
Lead wire minimum
bending radius 10 / @
Auto switch 2/ B
D-A7/A8 K
M
L B+Stroke E J
A+Stroke S
Rod end male thread
Rod end male thread (mm)
al Bore Ci| X H1 L1
S (mm)
) ‘XF 32 20.5(23.5| M14X 1.5 [285
Alo Swich - 40 [205[235|M14X15 [285
ﬁ.= 50 26 |28.5| M18 X 1.5 |33.5
Rod end nut Ci1
X
L1
(mm)
Without With
Bore |Stroke range | auto switch | auto switch c 5 E F - ! ] % 1 ¥ N . 5 s 5 ul 2
(mm) (mm) A B A B
32 S10%0 |40 |33 50 | 43 | 13 | 16 | 45 | 7.5 M8 60 | 45| 14 | 7 | 34 | 5.5 |9Depth 7 |Re(PT)1/8| 10.5 | 58.5 | 31.5 | 14
75,100 | 50 | 43 : : : epth 7/ Re(PT) 2 992 1 3.
40 S10%0 |465 1399 56.5|495| 13 | 16 | 52 | 8 M8 69 | 5 [ 14 | 7 | 40 | 55 |9Depth7 [Re(PT)1/8| 11 | 66 | 35 | 14
75,100 | 56.5 | 495 | 00| : ER0 | EL
50 101080 | 485 | 405 585 |505| 15 | 20 | 64 [105| Mi0 | 86 | 7 | 17 | 8 | 50 | 6.6 |11 Depth 8/Re(PT)1/4| 10.5 | 80 | 41 | 19
75,100 | 585|505 | = | ' : epth 8| Re(PT) :
N
/’/
1-558 4 S\VC



Compact Cylinder/Anti-lateral Load Series CDQZ

Foot/CQ2L, CDQ2L Foot (mm)
Bore Stroke range | Without auto switch | With auto switch L L1 | b
(mm) (mm) A| B|LS|A|B|LS
510 50 5721 383 | 17
32
L B+Stoke 75,100 672 43 | 27 672 | 43 | 27 | 17 | 385 | 6.6
| 5 to 50 63.7 | 39.5 | 23.5
40
S 10 to 50 66.7 | 405 | 17.5
=0 bolt 50
5 N 75, 100 767 1505 | 275 76.7 | 505|275 | 18 [435| 9
Bore Stroke range
e " (mm) (mm) LG |LH | LT | LX | LY [ LZ | X X
T L§+Stroke 5 to 50
ks 32 75, 100 4 |30 |82]|57 |57 |71 11258
7 40 5’5101%% 4 |33 (3264|6478 |112] 7
\ :
faeirs 1010 50
vuium 50 75700 1 5 |39 |32|79 |78 |95 147 8
Rod end nut ThE
13 Front flange (mm)
Bore Stroke range | W/o auto switch | W/ auto switch
Front flange/CQ2F, CDQ2F () () R REE
5 to 50 50 | 33
32
75, 100 60 | 43 60| 43
5to 50 56.5 | 39.5
40
| 75,100 | 665 | 49.5 | 200 | 495
10 to 50 58.5 | 40.5
50
75, 100 68.5 | 50.5 685505
Bore Stroke range
M BeStroke i (mm) FD|FT |FV [FX |[FZ | L | Lt | M
A+ Stroke 5 to 50
32
75,100 55| 8 48 | 56 | 65 | 17 [ 385 | 34
5 to 50
40
75. 100 55| 8 |54 |62 | 72|17 |385| 40
10 to 50
50
Rod end nut 75.100 66| 9 |67 |76 | 89 | 18 |435| 50
Rear flange (mm)
Bore Stroke range | W/o auto switch | W auto switch
Rear flange/CQ2G, CDQ2G (mm) (mm) A . L | L
5to 50 48
32
E o0 | s | % | 7%
- ; 5 to 50 54.5
£ = 40
= - 75, 100 64.5 64.5 7| %S
R 10 to 50 57.5
; P 50
\4-0FD L] | B+Stroke 75, 100 67.5 67.5 8 |35
| A+Stroke | +Dimensions except A, L and L1
( are same as front flange type. )

Rodendnut /| | | L Double clevis (mm)

Bore Stroke range |Without auto switch| With auto switch co | et
Double clevis/CQ2D, CDQ2D R T e B e
B LT Ar e
, /acgﬁﬁfﬁi 0 75,100 | 885 | 495 | 785 00 | 495|785 10 | 6
T axis
= M = e e P
=i (Bn?rrf) S":(k;ﬁn:zge culcw|cx |cz| L | L N |RR
CRETE 32 75’0100 14 |20 |18 |36 | 7 |285] Me | 10
40 755t‘°1%% 14 |22 (18 |36 | 7 |285] Me | 10
50 172’“:58 20 |28 |22 |44 | 8 [335| M8 14

#Refer to p.1-442 for rod end nut and optional bracket.
*Clevis pin and snap ring are packed with the double clevis.

SVC

Rod end nut

1-559

O



Series CDQ2

g63 tO 61 00 With Auto Switch

For those without auto switches, refer to the dimension chart
because their A and B dimensions will differ.

Through-hole/CQ2BS, CDQ2BS

2-p F

[(Portsize) | |

B+Stroke

A+Stroke

Both ends tapped: CQ2AS/CDQ2AS

O+ thread

R

R

Both ends tapped (mm)

Rod end male thread

Lead wire minimum
bending radius 10

Bore

(mm) O1 R
63 M10 18
80 M12 22

100 M12 22

H thread effective depth C

4-pN through
8-00 counter bore

Hi
\_ Q Rod end male thread (mm)
% 3?53 ci1| X H1 L1
;t:i’ 63 26 |28.5| M18X 1.5 |33.5
80 32.5(355| M22X 1.5 [43.5
Rod end nut c 100 325|355| M26 X 1.5 |43.5
Auto switch X
D-A9/F9 L1
(mm)
Bore |Stroke range Witr_wl.]t With
| auto switch|autoswitch| ¢ | D | E | F | H | I | J | K| L|M|N| O | P |Q|S|U]|Z
(mm) | (mm) A TB[A]B
10t0 50 | 54 | 46
63 75,100 | 64 | 56 64 | 56 | 15 | 20 | 77 | 105| M0 [103| 7 | 17 | 8 | 60 | 9 | t14Depthto5 [Re(PT)1/4| 15 | 93 | 47.5 | 19
80 101050 1 635 | 935 735|635 21 | 25 | 98 | 125| M6 |132| 6 | 22 | 10 | 77 | 11 |175Dein135[Re(PT)38| 16 | 1125 | 57.5 | 26
75,100 | 73.5 | 63.5
100 101050 | 75 | 63 85 | 73 | 27 | 30 | 117 | 13 | M2 |156| 6.5 | 27 | 12 | 94 | 11 |175Depin135|Re(PT)3/8| 23 | 1325 | 675 | 26
75,100 | 85 | 73
1-560 ZS\VC



Compact Cylinder/Anti-lateral Load Series CDQZ

Foot/CQ2L, CDQ2L

Foot (mm)
Bore Stroke range | Without auto switch | With auto switch
L__ B+Stroke
. (mm) (mm) AlBJis|A]B[is] - |"
10 to 50 722 | 46 | 20
63 822 | 56 | 30 | 18 | 435
Special cap 75, 100 822 | 56 | 30
bolt 10 to 50 85 | 535 | 235
80 d : d
75. 100 95 635 335 95 | 63.5[335| 20 | 535
= | 10 to 50 98 | 63 | 29
o Bx]le 100 75,100 108 o5 |55 ] 108| 73 | 39 | 22 |535
| ‘S | Bore | Stokerange 1\ | ol | i | Ly |z | x|y
A+Stroke (mm) (mm)
63 1010 50 95 [915| 113|162 | 9
75,100 11 5 46 | 3.2 . .
10 to 50
80 75,100 13 | 7 | 59 | 45 (118 | 114|140 | 195 | 11
10 to 50
Rod end nut 100 75,100 13 7 71 6 [ 137|136 | 162 | 23 | 125
Front flange (mm)
Bore Stroke range | W/o auto switch | W/ auto switch
(mm) (mm) A|B|A|B
10 to 50 64 | 46
pS— 63 75, 100 74 |56 | /4| %
10 to 50 73.5 | 535
80 i ’
B i 75,100 |835 635 | o0 | 3%
| ==——_ | 10 to 50 85 | 63
I 1
. — 00 75, 100 95 | 73 o
L=+ B+Stroke
] Bore Stroke range
A+Stroke EZ (mm) (mm) FD | FT | FV | FX | FZ L L1 M
/ 10 to 50
[ 63 .
'. 75. 100 9 9 | 80| 92 |108| 18 | 435 | 60
LE 10 to 50
80 134 | 20 | 535 | 77
I 75. 100 11 11 99 | 116 | 13 3
; 10 to 50
Rod end nut 100 1 154 | 22 . 4
75. 100 11 11 | 117 (136 | 15 535 | 9
Rear flange (mm)
i Bore Stroke range | W/oauto switch | W/ auto switch Ll
aee— (mm) (mm) A A
i 10 to 50 63
] 63
lﬁb 75,100 73 73 8 |335
[ 10 to 50 74.5
t 80 4. 10 | 435
Ll B+Stroke F 75, 100 84.5 i
A+Stroke 10 to 50 86
100 .
75.100 9% 96 12 | 435
(*Dimensions except A, L and L1)
are same as front flange type.
Double clevis (mm)
Bore Stroke range |Without auto switch | With auto switch
(mm) (mm) A | B |[CL|A|B]|CL
et 4N 63 10 to 50 98 | 46 | 84
[ /Capbolt 75, 100 108 | 56 | 94 108156 | 94
EI{F 4CD hole H10 101050 | 1195 53.5 [1015
T L 80 L d d
—— 85,09 75,100 | 1205|635 [1115] 200 | 638 | 1115
= 10t050 | 142 | 63 | 120
e 100
I_'—__,i—_—'f 75, 100 152 | 73 [ 130 152 | 73 | 130
— [leu Stroke range
U Bestroke | o m Bore 9 lcoleT|culew|ex|cz| L [L1| N |RR
CL+Stroke (mm) (mm)
A+Stroke 10 to 50
63 75. 100 14| 8 [20(30 (22|44 | 8 |335| M0 14
10 to 50
_ |' 80 75,100 18 (10 |27 | 38 |28 | 56 | 10 435 M12 18
Hm 10 t
[jj?f [ 100 0to 50 22113 |31|45|32 |64 |12 [435 Mi2 22
) \ 75, 100
o / *Refer to p.1-442 for rod nut and optional bracket.
Rod gnd niit, LA. *Clevis pin and snap ring are packed with the double clevis type. 1 _561
ZSNC



)

1-562




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <FEFFd5a5c0c1b41c0020c778c1c40020d488c9c8c7440020c5bbae300020c704d5740020ace0d574c0c1b3c4c7580020c774bbf8c9c0b97c0020c0acc6a9d558c5ec00200050004400460020bb38c11cb97c0020b9ccb4e4b824ba740020c7740020c124c815c7440020c0acc6a9d558c2edc2dcc624002e0020c7740020c124c815c7440020c0acc6a9d558c5ec0020b9ccb4e000200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee563d09ad8625353708d2891cf30028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f003002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c4fbf65bc63d066075217537054c18cea3002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


